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�EE?54>64=<5 >E=>6 >4DF>7D4D<<. �=4>><EF6> E <=F5DD5=E>< ArcMap. �>546?5=<5 44==OE 
6 ArcMap. �>?NG5=<5 < >F>?NG5=<5 >F>5D465=<O E?>56. %<<6>?O E?>56 6 ArcMap. �7GG5-

=<5 <4ELF454, <45=F<D<>4F<O >5N5>F>6 6 ArcMap. 

� MF>< G?D46=5=<< �O: 

- �7<5=<F5 ?4D4<5FDO >F>5D465=<O ArcCatalog 

- %>744F<F5 ?>4>?NG5=<5 > ?4?>5 (OD?O>) E 44==O<< 

- �D>E<>FD<F5 75><5FD<N < 4FD<5GFO >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 6 ArcCatalog 

- �D>E<>FD<F5 <5F444==O5 >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6. 
- �D>E<>FD<F5 < <7<5=<F5 E6>=EF64 >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 

- %>>?<DG5F5 < 6EF46<F5 >?4EEO ?D>EFD4=EF65==OE >5N5>F>6 6 547O 75>44==OE. 
 

1.�4?GEF<F5 ArcCatalog � �=EFDG<5=FO ��?F<< � >F>D>=F5 74>?44>G �5M<5 � >F>?NG<F5 6E5 
D?46><, >D><5 �>4>?NG5=<O ?4?>> < $57G?LF4FO ?><E>4 � >F>?NG<F5 D?46>> %>DOFL D4EL<-
D5=<O D4=?>6 � ��. 
2. -5?>=<F5 =4 >=>?>5 �>4>?NG<FLEO > ?4?>5 � ?5D5=4<F5 > %:\Student\DESK2 < M5?>=<F5 =4 
?4?>5 DESK2, GF>5O 6O45?<FL 5U � ��. &5?5DL 6O <>65F5 ?>?GG<FL 4>EFG? > MF>= ?4?>5 6 
ArcCatalog >4=<< M5?G>><. �4?55 D4E>D>=F5 ?4?>G Exercise02 � Canada.gdb. �4==4O 5474 75>-
44==OE E>45D6<F F>G5G=O5, ?<=5==O5 < ?>?<7>=4?L=O5 >?4EEO ?D>EFD4=EF65==OE >5N5>F>6, 
=45>D D4EFD>6OE 44==OE < F45?<FG. -F< <EF>G=<>< 44==OE 6<4=O 6 >5?4EF< >F>5D465=<O. 
�>?GG5=<5 ?D>EFD4=EF65==>= < 4FD<5GF<6=>= <=D>D<4F<< > 44==OE 6 ArcCatalog. 

1. Canada.gdb �Province.�4 M>D4=5 >F>5D47<FEO >5D475F 44==OE < <=D>D<4F<O > D4=?5. �F-
>D>=F5 74>?44>G �D>E<>FD 745 <>6=> <7GG<FL 44==O5. 

2. �E?>?L7GO <=EFDG<5=F �45=F<D<F<D>64FL ?D>E<>FD<F5 ??>M44L �D<F4=E>>= 

�>?G<5<< 6 >644D4F=OE <5FD4E. 
3. �7<5=<F5 F<? ?D>E<>FD4 E �5>7D4D<O =4 &45?<FG. �O G6<4<F5 74?<E< 6 

4FD<5GF<6=>= F45?<F5 Province . �4644O 74?<EL E>>F65FEF6G5F >5N5>FG =4 >4DF5 

4. -5?>=<F5 ?D46>= >=>?>>= =4 747>?>6>5 ?>?O SQKM. -5?>=<F5 %>DF<D>64FL 

?> 6>7D4EF4=<N. �4>4O E4<4O 5>?LL4O ?D>6<=F<O <?< F5DD<F>D<O 6 �4=445? -5?>=<F5 ?D46>= 
>=>?>>= =4 747>?>6>5 ?>?O POP 2001 < M5?>=<F5 %F4F<EF<>4 � %>>?L>> 6E57> ?N45= ?D>6<-
64?> 6 �4=445 6 2001 7>4G? 

5. � 45D565 >4F4?>74 M5?>=<F5 =4 =45>D5 D4EFD>6OE 44==OE Elev. �D>E<>FD<F5 

57> 75>7D4D<N, 74F5< ?D>E<>FD<F5 F45?<FG. � F45?<F5 ?>?5 VALUE E>45D6<F >FE>DF<D>64=-
=O5 7=4G5=<O >F<5F>> D5?L5D4. �>?5 COUNT �����/���& �4<, E>>?L>> OG55> D4EFD4 E>-
45D6<F E>>F65FEF6GNM55 7=4G5=<5 GD>6=O D5?L5D4. -5?>=<F5 =4 >=>?>5 �>E?54=OO 74?<EL, 
GF>5O =4=F< E4<GN 6OE>>GN >F<5F>G D5?L5D4 6 �4=445. 

�5F444==O5 -  MF> <=D>D<4F<O > 44==OE, >>F>D4O D4E>DO645F E6545=<O >5 <EF>G=<>5 
44==OE. 
1. -5?>=<F5 =4 >?4EE5 ?D>EFD4=EF65==OE >5N5>F>6 Mjcities � >F>D>=F5 

74>?44>G <5F444==O5. �5F444==O5 E>45D64F >?<E4F5?L=GN, ?D>EFD4=EF65==GN < 4FD<5GF<6=GN 
>4F57>D<<, >D74=<7>64==O5 E ?><>MLN E<=<E 74>?44>>.  

2. �D>GF<F5 >?<E4=<5 44==OE (D4745?O �D4F>> (Abcstract), �47=4G5=<(Purpose)  

< 4>?>?=<F5?L=4O <=D>D<4F<O (Supplementary Information) 

 

�7GG5=<5 E6>=EF6 >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6. 
� MF>< L475 6O G6<4<F5 >4> ?>?GG<FL 4>EFG? > E6>=EF64<, >>F>DO5 >?D545?ONF 44==O5. �5>>F>-
DO5 <7 =<E <>6=> <7<5=<FL 6 ?N5>5 6D5<O, 4 4DG7<5 GEF4=46?<64NFEO >4<= D47. 

1. -5?>=<F5 =4 >?4EE5 ?D>EFD4=EF65==OE >5N5>F>6 Natlpark.�D>E<>FD<F5 57>  
F45?<FG. �5D4F<F5 6=<<4=<5 =4 ?>?5 Country E> 7=4G5=<5< Canada 4?O >464>= 74?<E<. -F4 <=-
D>D<4F<O =5 >G5=L ?>?57=4,F4> >4> 6O G65 7=45F5, GF> D45>F45F5 E 44==O<< 4?O �4=44O. 

2. �F>D>=F5 74>?44>G %>45D64=<5 � M5?>=<F5 ?D46>= >=>?>>= =4 >?4EE5  



4 

 

?D>EFD4=EF65==OE >5N5>F>6 Natlpark � %6>=EF64 � >F>D>=F5 74>?44>G �5M<5 � ?D<E6>=F5 ?E56-
4>=<< >?4EEG Natlpark- �4F<>=4?L=O5 ?4D>< � �D<<5=<FL. �>744 6O 4>546<F5 MF< 44==O5 6 
ArcMap, <<O E?>O 46F><4F<G5E>< 5G45F GEF4=>6?5=> >4> �4F<>=4?L=O5 ?4D><. 

3. �F>D>=F5 74>?44>G �>?O. �O G6<4<F5 <<O >464>7> 4FD<5GF<6=>7> EF>?5F4 <  
57> F<? 44==OE. '65 7444==O5 <<O ?>?O < 57> F<? 44==OE =5 <>7GF 5OFL <7<5=5=O. 

4. -5?>=<F5 =4 ?DO<>G7>?L=<>5 DO4>< E ?>?5< Country � =46<<F5 Delete, 

GF>5O G44?<FL ?>?5 <7 E?<E>4. 
5. �D>E<>FD<F5 F45?<FG- ?>?5 Country < 57> 7=4G5=<O G44?5=O. 

�D>E<>FD 44==OE 6=5 547O 75>44==OE. 
� MF>< L475 6O ?D>E<>FD<F5 44==O5 =5 <7 547O 75>44==OE, 6>?NG4O L5=?-D4=?O, D4=?O E?>56 < 
4>>G<5=FO >4DFO. ,5=?-D4=?O � MF> >?4EEO ?D>EFD4=EF65==OE >5N5>F>6. �4> < >?4EEO ?D>-
EFD4=EF65==OE >5N5>F>6 6 5474E 75>44==OE, >=< ED4=OF 75>7D4D<G5E><5 >5N5>FO, F4><5 >4> F>G-
><, ?<=<< < ?>?<7>=O. $4=?O E?>56 =5 ED4=OF 75>7D4D<G5E><5 44==O5, >4=4>> >=< ED4=OF E6>=-
EF64 >F>5D465=<O 75>7D4D<G5E><E 44==OE. �>>G<5=F >4DFO � MF> D4=? ArcMap, E>EF>OM<= <7 
=45>D4 E?>56. 

1. �O55D<F5 L5=?-D4=? Areacode, >>F>DO= ?D54EF46?O5F 7D4=<FO 7>=  
F5?5D>==OE >>4>6 6 �4=445(6O <>65F5 >F?<G<FL L5=?-D4=? ?> 57> 75?5=>= <>>=>5 <?< 57> D4E-
L<D5=<N .shp) 

2. -5?>=<F5 =4 D4=?5 E?>O Elevation (6O <>65F5 >F?<G<FL D4=? E?>O ?> 57>  
65?F>= <>>=>5 6 6<45 D><5<>4 <?< D4=?>6><G D4EL<D5=<N .lyr) �D>E<>FD<F5 57> 75>7D4D<N < 
F45?<FG. 
$4? E?>O 6 45=EF6<F5?L=>EF< =5 ED4=<F ?D>EFD4=EF65==O5 <?< 4FD<5GF<6=O5 44==O5, >= ED4=<F 
F>?L>> =45>DO E<<6>?>6 < E6>=EF64 >F>5D465=<O, E6O74==O5 E >?D545?5==O< >?4EE>< ?D>EFD4=-
EF65==OE >5N5>F>6 <?< =45>D>< D4EFD>6OE 44==OE. $4=?O E?>56, 6 >F?<G<5 >F >?4EE>6 ?D>-
EFD4=EF65==OE >5N5>F>6, 6> 6D5<O ?D>E<>FD4 6O7?O4OF F4>, >4> >=< 5G4GF 6O7?O45FL =4 >4DF5. 

3. �O55D<F5 E6>=EF64 4?O D4=?4 E?>O Elevation.lyr. %6>=EF64 D4=?4 E?>O F>G=>  
F4><5 65, >4> < E6>=EF64 E?>O 6 ArcMap. �4<=EF65==>5 >F?<G<5 6 F><,GF> D4=? E?>O =5 ED4=<FEO 6 
4>>G<5=F5 >4DFO. �= <>65F 5OFL 4>546?5= 6 ?N5>= 4>>G<5=F >4DFO, GF>5O 64< =5 =G6=> 5O?> 
E=>64 E>74464FL =45>D E<<6>?>6 E?>O. 

4. � 45D565 >4F4?>74 M5?>=<F5 =4 CanadaMap.mxd >4<= D47. �4<=EF65==O= <  
6>7<>6=O= E?>E>5 ?D>E<>FD4 4?O 4>>G<5=F4 >4DFO � MF> �5>7D4D<O. � 4>>G<5=F5 >4DFO 6O E>-
5<D45F5 <=>7> D47?<G=OE E?>56 6 >4=G 74>>=G5==GN >4DFG. 

5. -5?>=<F5 ?D46>= >=>?>>= =4 CanadaMap.mxd < 6O55D<F5 'EF4=>6<FL  
<EF>G=<> 44==OE. -F>F 4>>G<5=F >4DFO E>45D6<F >4<= DD5=< 44==OE, =47O645<O= Layers. 

$D5=< 44==OE E>45D6<F E5<L E?>56. %?>< EEO?4NFEO =4 <EF>G=<>< 44==OE =4 4<E>5. �<4?>7>6> 
>>=> 'EF4=>6<FL <EF>G=<>< 44==OE <>6=> <E?>?L7>64FL 4?O F>7>, GF>5O >?D545?<FL, =4 >4>>= 
<EF>G=<> 44==OE EEO?45FEO E?>=. 

6. $4EL<DLF5 EF>?55F &5>GM<= <EF>G=<> 44==OE F4>, GF>5O 6<45FL 65EL ?GFL >  
44==O< �4 44==O5 <7 E>>?L><E 547 75>44==OE EEO?4NFEO E?>< 6 CanadaMap.mxd? 

-F> E>65DL5==> =>D<4?L=>, 5E?< 4>>G<5=F >4DFO EEO?45FEO =4 44==O5 <7 D47?<G=OE 547 75>44=-
=OE, D47?<G=OE ?4?>> < 4465 D47?<G=OE >><?LNF5D>6. 
'?D46?5=<5 D4=?4<<. 

1. -5?>=<F5 =4 5475 75>44==OE World � %>45D64=<5 

2. -5?>=<F5 =4 >?4EE5 ?D>EFD4=EF65==OE >5N5>F>6 Lakes, GF>5O 6O5D4FL 57> <  
E45?4FL D544>F<DG5<O< <<O. �5D5<<5=G=F5 6 WorldLakes. (�>744 6O E>>?<DG5F5 MF>F >?4EE ?D>-
EFD4=EF65==OE >5N5>F>6 6 547G 75>44==OE Canada, MF> =>6>5 <<O 5G45F ?>OE=OFL, GF> MF< >5N5>-
FO ?>>DO64NF F5DD<F>D<N 6E57> <<D4, 4 =5 F>?L>> �4=44O.)  

3. �5D5<<5=G=F5 Rivers 6 WorldRivers. 

4. �O45?<F5 6E5 G5FOD5 >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 6 5475 75>44==OE  
World < ?5D5F4M<F5 MF< >?4EEO 6 547G 75>44==OE Canada. &5< E4<O< 6O E>>?<D>64?< >?4EEO 
?D>EFD4=EF65==OE >5N5>F>6 6 4DG7GN 547G (5E?< <E =5 6<4=> 74=4<F5 6 <5=N �<4-�5=>6<FL) 

5. �5D5F4M<F5 L5=?-D4=? Areacode 6 547G 75>44==OE Canada. �D< MF><  
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>F>5D47<FEO E<<6>? 74?D5F4, ?>>47O64NM<=, GF> 6O =5 <>65F5 =4?DO<GN >>?<D>64FL L5=?-D4=? 
6 547G. 

 

�45>D4F>D=4O D45>F4 72 

�E?>?L7>64=<5 74>?44>> 4?O =46<74F<< 6 ArcMap. �46<74F<O 6 4DG7>5 <5EF>?>?>65=<5. 
�>?GG5=<5 4>?>?=<F5?L=>= <=D>D<4F<<, <E?>?L7GO <=EFDG<5=F �45=F<D<F<D>64FL. 

� MF>< G?D46=5=<< 6O: 
-<7<5=<F5 ?GF< > <EF>G=<>4< 44==OE E?>56 ArcMap 

- <7<5=<F5 6<4<<>EFL, ?>DO4>>>F>5D465=<O < =45>D E<<6>?>6 4?O E?>56 

- 4>546<F5 E?>< > >4DF5 ArcMap 

- <45=F<D<F<DG5F5, =4=45F5 < <7<5D<F5 >5N5>FO >4DFO 

-6O55D<F5 ?>4<=>65EF64 >5N5>F>6 4?O 4=4?<74. 
1. �F>D>=F5 ArcCatalog - CanadaMap.mxd. � F45?<F5 E>45D64=<O ?5D5G<E?5=O E?>< >4DFO. �D4E-
=O= 6>E>?<F4F5?L=O= 7=4> 6>7?5 E?>O $5>< >7=4G45F, GF> E?>= =5 6<4<F >?4EE ?D>EFD4=EF65==OE 
>5N5>F>6, =4 >>F>DO= >= <7=4G4?L=> EEO?4?EO. (&4> >4> ?D><7>L?> ?5D5<<5=>64=<5 E?>O Rivers 6 
WorldRivers) 

2. -5?>=<F5 ��� =4 E?>5 $5>< � �4==O5 � �>EEF4=>6<FL <EF>G=<> 44==OE � ?5D5=4<F5 
%:\Student\DESK2\Exercise02\Canada.gdb- 6O45?<F5 WorldRivers � �>546<FL. (&4><< >5D47>< �O 
6>EEF4=>6<?< ?GFL > 44==O< < D5>< >F>5D464NFEO =4 >4DF5) 
3. -5?>=<F5 =4 E?>5 %FD4=O 07 � %6>=EF64 � �EF>G=<>. �45EL =5F =5>5E>4<<>EF< 6>EEF4=46?<-
64FL <EF>G=<> 44==OE, => 6O <>65F5 6<45FL 6 EFD>>5 �GFL, GF> E?>=  - EEO?45FEO =4 >?4EE ?D>-
EFD4=EF65==OE >5N5>F>6 6 5475 75>44==OE World. �45EL 6O ?><5=O5F5 ?GF< 

4. �EF>G=<>- 'EF4=>6<FL <EF>G=<> 44==OE � ?5D5=4<F5 > 5475 75>44==OE Canada. -5?>=<F5 =4 
Cntry07 ��>546<FL. '554<F5EL, GF> ?GF< >5=>6?5=O 6 EFD>>5 �GFL � �� 

5. �D>45?4=F5 MF< 65 L47<, <7<5=<6 4?O E?>O �<D30 ?GFL =4 547G 75>44==OE Canada(World30) 

6.'44?<F5 E?>= �?_4>D>7<. 
7. �5D5<<5=G=F5 E?>= �D_7>D>44 =4 <<O �DG?=O5 7>D>44. %FD4=O07 6 %FD4=O, �<D30 =4 �>54-
=O. 
8. �7 ArcCatalog <7 547O 75>44==OE Canada E?>= Natlpark 6 ArcMap =4 >F>5D465=<5 >4DFO => =5 6 
F45?<FG E>45D64=<O. � D57G?LF4F5 E?>= 4>546?5= 6 F45?<FG E>45D64=<O < >F>5D465= =4 >4DF5. 
�4<5FLF5, GF> E>FO <<O >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 =47O645FEO Natlpark, <<O E?>O 6 
ArcMap ��4F<>=4?L=O5 ?4D><. 
9. �7<5=<F5 E<<6>? 4?O E?>O �4F<>=4?L=O5 ?4D>< =4 LeafGreen. 

10.�5D5F4M<F5 E?>= �>44 ?>65DE E?>O �4F<>=4?L=O5 ?4D><. 
11. � ArcCatalog 6O55D<F5 Elevation.lyr. '554<F5EL, GF> 6O 6O5D4?< 65?FO=, D><5>6<4=O= D4=? 
E?>O. �5D5F4M<F5 < >EF46LF5 D4=? E?>O =4 >F>5D465=<< ArcMap. �>G5<G E?>= Elevation =5 >F>5-
D4645FEO =4 >4DF5? 

�4> =47O645FEO =45>D D4EFD>6OE 44==OE =4 >>F>DO= EEO?45FEO E?>= Elevation? 

12.�5D5F4M<F5 E?>= Elevation ?DO<> ?>4 E?>= $5>< 

13. 'EF4=>6<F5 E?54GNM<= ?>DO4>> E?>56: 
-�DG?=O5 7>D>44 

-�>44 

-�4F<>=4?L=O5 ?4D>< 

-�D>6<=F<< 

-$5>< 

- Elevation 

-%FD4=O 

-�>54=O 

14.-5?>=<F5 =4 E?>5 �D>6<=F<O ��O5>D E<<6>?4- &65F 74?<6>< � <7<5=<F5 =4 �5F &65F4. &5-
?5DL 6O 6<4<F5 7D4=<FO ?D>6<=F<= < E?>= Elevation F>65 6<45=. 
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15. -5?>=<F5 =4 <5=N �4>?44>< - �4=444  - �7<5D<FL � �7<5D<FL 4?<=G � �O5D4FL 54<=<FO � 

G>46<F5 D4EEF>O=<5 � ?5D5<5M4=F5 G>474F5?L <OL< =44 >4DF>= < <E?>?L7G=F5 ?>4E>47>< >4DFO, 
GF>5O =4=F< 7>D>44 Whitehorse < St. Johns. 

16. -5?>=<F5 =4 Whitehorse. �5D5<5EF<F5 G>474F5?L <OL< =4 St. Johns < 46464O M5?>=<F5 GF>5O 
7465DL<FL <7<5D5=<5. $4EEF>O=<5 <564G 46G<O 7>D>44<< ?>>474=> 6 >>=5 �7<5D<FL. �=4G5=<5 
4>?6=> 5OFL ?D<5?<7<F5?L=> 5,140 ><?><5FD>6 

17. � >>=5 <7<5D<FL M5?>=<F5 =4 >=>?>5 %5D>E D57G?LF4F>6 

%>744=<5 6O5>D>> >5N5>F>6 < 74?<E5=. 
1. �4 ?4=5?< <=EFDG<5=F>6 6O55D<F5 �O5D4FL >5N5>FO 

2. $4EFO=<F5 ?DO<>G7>?L=<> =44 ?N5O< >DG?=O< 7>D>4><, GF>5O 6O5D4FL  
57>.-F>F 6O5D4==O= 7>D>4 6O45?5= =4 >4DF5 => F4>65 6O45?5=O >5N5>FO <7 4DG7<E E?>56 F4><E 
>4> �D>6<=F<O, %FD4=O < �>54=O. 

3. -5?>=<F5 =4 >=>?>5 �G<EF<FL 6O5D4==O5 >5N5>FO 

4. �F>D>=F5 74>?44>G �O5>D>4 6=<7G F45?<FO E>45D64=<O. �E?< F4>>= 74>?44>< 

=5F, 4 5EFL F>?L>> �F>5D465=<5 < �EF>G=<>, =5>5E>4<<> 4>546<FL 74>?44>G �O5>D>4 (�=-
EFDG<5=FO � �?F<< � &45?<F4 E>45D64=<O � ?>EF46LF5 74?>G>G DO4>< E �O5>D>4 6 �4>?44>4E 
F45?<FO E>45D64=<O. �N5>= E?>= 6>7?5 >>F>D>7> EF><F D?46>> 4>EFG?5= 4?O 6O5>D><. �> 
G<>?G4=<N 6E5 E?>< 4>EFG?=O 4?O 6O5>D><. 
5. �F>?NG<F5 6E5 E?><, >D><5 �DG?=O5 7>D>44. �EF46?OO <=EFDG<5=F �O5D4FL  
>5N5>FO 4>F<6=O<, D4EFO=<F5 ?DO<>G7>?L=<> =44 ?N5O< >DG?=O< 7>D>4><. �O5D4==O= 7>-
D>4 6O45?5= =4 >4DF5, < =<>4><E 4DG7<E >5N5>F>6 5>?LL5 =5 6O5D4=>. �O5D4==O= 7>D>4 6O-
45?5= =4 >4DF5 < =<>4><E 4DG7<E >5N5>F>6 5>?LL5 =5 6O5D4=>. � F45?<F5 E>45D64=<O 74>?44-
>4 �O5>D>4 ?>>47O645F, GF> >4<= >5N5>F 6O45?5= 6 E?>5 �DG?=O5 7>D>44 

6. -5?>=<F5 �G<EF<FL 6O5D4==O5 >5N5>FO. '45D6<64O Shift, M5?>=<F5 =4  
Whitehorse, Yellowknife < Iqaluit. &5?5DL D4EFO=<F5 ?DO<>G7>?L=<> 6O5>D><, >>F>DO= 5G45F 
6>?NG4FL 6E5 7>D>44-EF>?<FO N6=55 60-= ?4D4??5?< < <E>?NG4FL E565D=O5 7>D>44. �> G<>?-
G4=<N, >>744 6O 45?45F5 =>6GN 6O5>D>G, EGM5EF6GNM4O 6O5>D>4 >G<M45FEO 

7. �F>D>=F5 F45?<FG 4FD<5GF>6 4?O E?>O �DG?=O5 7>D>44. �4?<E<,  
E>>F65FEF6GNM<5 6O5D4==O< >5N5>F4<, 6O45?5=O 6 F45?<F5. 
8. � F45?<F5 4FD<5GF>6 M5?>=<F5 ?D46>= >=>?>>= =4 747>?>6>5 ?>?O CSD_POP01  

< 6O55D<F5 %F4F<EF<>4. �4>>5 ED54=55 G<E?> 6<F5?5= 6 7>D>44E-EF>?<F4E, >>F>DO5 ?564F 
N6=55 60-= ?4D4??5?<? �4>D>=F5 >>=> %F4F<EF<>4 6O5>D><. �=<7G F45?<FO 4FD<5GF>6 M5?>-
=<F5 �?F<< � ���- �5D5>?NG<FL 6O5>D>G. &5?5DL 5G4GF 6O5D4=O F>?L>> F5 74?<E<, >>F>DO5 
=5 5O?< 6O5D4=O 4> MF>7>. �D>E<>FD<F5 6O5>D>G =4 >4DF5 >F>46<=G6 F45?<FG 

9. $4=?-%>ED4=<FL >4> - %:\Student\DESK2\Exercise02 <7<5=<F5 <<O 4>>G<5=F4  
>4DFO =4 CanadaElevation. 

 

�45>D4F>D=4O D45>F4 73 

$>D<<D>64=<5 F<DD>6>= >4DFO, >5M55 7=4>><EF6> E ?D>F5EE>< F<DD>64=<O >4DF, 
<7GG5=<5 F5E=>?>7<< 4<7<F4?<74F<< >4DF, <7GG5=<5 F5E=>?>7<< D4EFD>6>= 65>F>D<74F<< 

>4DF. 
� MF>< G?D46=5=<< 6O: 
" �D<5?<7<F5EL > M>EF5=FG >?D545?5==OE >5N5>F>6 < E?>56. 
" %>7444<F5 74>?44>G. 
" %>7444<F5 >?D545?ONM<= 74?D>E 4?O E?>56. 
" 'EF4=>6<F5 4<4?47>= <4ELF45>6 4?O E?>O. 
" �<?>DF<DG5F5 E<<6>?O <7 >4=>7> E?>O >4DFO 6 4DG7>=. 
" %>7444<F5 E?>= 6O5>D>< < <7GG<F5 57> E6>=EF64. 
" %>7444<F5 E>EF46=>= E?>=. 
" %>ED4=<F5 E?>= >4> D4=? E?>O. 
" �D>E<>FD<F5 D4=? E?>O 6 ArcCatalog. 

" �>546<F5 D4=? E?>O 6 >4DFG. 
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" �E?< E>F<F5, E45?45F5 E?>= G4EF<G=> ?D>7D4G=O<.  
 

1. ArcMap � Student\DESK2\Exercise03 \ CanadaLayers.mxd 

2. �4>?44>G <>6=> E>744FL 4?O ?N5>7> M>EF5=F4 >4DFO, >>F>DO= 6O E>F<F5 E>ED4=<FL, 
GF>5O ?>F>< > =5<G 65D=GFLEO. �4>?44>< E>744NFEO 4?O >?D545?5==>7> DD5=<4 44==OE, => <E 
<>6=> E>ED4=<FL 6 D4=? < 4>546<FL 6 4DG7<5 4>>G<5=FO >4DFO 

-5?>=<F5 <=EFDG<5=F '65?<G<FL � D4EFO=<F5 ?DO<>G7>?L=<> =44 7>D>4>< <?< 4DG7<< 
<5EF>< >4DFO � �4>?44>< � %>744FL � �D<E6>=F5 <<O ��� � �D>65DLF5 >4> >=4 D45>F45F (�=-
EFDG<5=FO- �>?=O= M>EF5=F � �4>?44>< � 6O55D<F5 E6>N 74>?44>G. 

 

%>744=<5 >?D545?ONM57> 74?D>E4 

 

� MF>< L475 6O 6>?NG<F5 E?>= �MD>?>DFO, 74F5< =4?<L<F5 >?D545?ONM<= 74?D>E, GF>-
5O >F5D>E<FL =55>?LL<5 <5EF=O5 4MD>?>DFO. 

¥ �5D5=4<F5 > ?>?=><G M>EF5=FG. 
¥ �>?NG<F5 E?>= �MD>?>DFO < ?5D5<<5=G=F5 57> 6 �E5 4MD>?>DFO. �4DF4 6EO 74>DOF4 
4MD>?>DF4<<. 
¥ -5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �E5 �MD>?>DFO < 6O55D<F5 �F>DOFL F45?<FG 4F-

D<5GF>6 ( Open Attribute Table).   

�4> 6<4=> 6 EFD>>5 E>EF>O=<O 6=<7G F45?<FO, 6 MF>< E?>5 356 >5N5>F>6. 
¥ �FE>DF<DG=F5 74?<E< ?> ?>?N DESCRIPTION 6 ?>DO4>5 6>7D4EF4=<O.  
�>4E>47>4: -5?>=<F5 ?D46>= >=>?>>= =4 <<5=< ?>?O < 6O55D<F5 %>DF<D>64FL ?> 6>7D4E-
F4=<N (Sort Ascending). 

¥ �D>>DGF<F5 F45?<FG 6=<7. 
 

�>?D>E 2: %>>?L>> G=<>4?L=OE 7=4G5=<= 6 ?>?5 DESCRIPTION? 

________________________________________________________ 

 

�O =4?<L5F5 >?D545?ONM<= 74?D>E, >>F>DO= G>465F ArcMap >F>5D464FL F>?L>> <564G-
=4D>4=O5 < <G=<F<?4?L=O5 4MD>?>DFO, F> 5EFL =5 >F>5D464FL <5?><5 4MD>?>DFO. 

¥ �4>D>=F5 F45?<FG. 
¥ -5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �E5 4MD>?>DFO < 6O55D<F5 %6>=EF64 (Properties). 

¥ � 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties) >F>D>=F5 74>?44>G �?D545?O-
NM<= 74?D>E (Definition Query). 

¥ -5?>=<F5 �>=EFDG>F>D 74?D>E>6 (Query Builder). 

�45EL 6O <>65F5 E>744FL SQL 6OD465=<5, <E?>?L7GO <<5=4 ?>?5=, ?>7<G5E><5 >?5D4F>DO 
< 7=4G5=<O 4FD<5GF>6, GF>5O >FD<?LFD>64FL 4MD>?>DFO, >>F>DO5 6O =5 E>F<F5 6<45FL. 
¥ � 65DE=5< ?>?5 E <<5=4<< ?>?5= 46464O M5?>=<F5 =4 «DESCRIPT». 

�<O 4>546?5=> 6 ?>?5 6OD465=<O 6=<7G. 
 

¥ � =45>D5 >=>?>> M5?>=<F5 =4 >?5D4F>D5 �5 D46=> (Not Equal To). 

¥ -5?>=<F5 >=>?>G �>?GG<FL 7=4G5=<O (Get Unique Values). 

¥ �6464O M5?>=<F5 «Other airport». 

¥ -5?>=<F5 �� 6 �>=EFDG>F>D5 74?D>E>6 (Query Builder). 

¥ -5?>=<F5 �D<<5=<FL (Apply) 6 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties)  < 
G55D<F5 57> E >4DFO. %5=G4E =4 >4DF5 >F>5D464NFEO F>?L>> <564G=4D>4=O5 < <G=<F<?4?L=O5 
4MD>?>DFO. 

�5D5<<5=G=F5 E?>= >5D4F=> 6 �MD>?>DFO. 
 

'EF4=>6>4 4<4?47>=4 <4ELF45>6 4?O E?>O �MD>?>DFO 

�>7<>6=>, =5F =5>5E>4<<>EF< 6<45FL 4MD>?>DFO 6> 6E5E <4ELF454E >4DFO. � MF>< L475 
6O GEF4=>6<F5 4<4?47>= <4ELF45>6 F4>, GF>5O 4MD>?>DFO >F>5D464?<EL ?D< >DG?=OE. 
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¥ � 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties) >F>D>=F5 74>?44>G �5M<5 
(General). 

¥ � >5?4EF< �<4?47>= <4ELF45>6 (Scale Range) 6O55D<F5 >?F<N �5 ?>>47O64FL E?>= 
6 4<4?47>=5 <4ELF45>6 (Don�t show layer when zoomed). 

¥ � ?>?5 �5?LG5 (Out beyond) =455D<F5 5000000. 
 

 

 

 

¥ -5?>=<F5 ��. 
�MD>?>DFO <EG57?< E >4DFO. � F45?<F5 E>45D64=<O DO4>< E> E?>5< �MD>?>DFO >>>L>> 

4?O >F<5F>< EF4?> E5DO<. -F> 7=4G<F, GF> E?>= 6>?NG5=, => =56<4<< <7-74 GEF4=>6>< 4<4?47>=4 
<4ELF45>6. 

 

�>?D>E 3: � >4>><G 4DG7><G E?>N =4 >4DF5 ?D<<5=5= 4<4?47>= <4ELF45>6? � >4>>< 
<4ELF455 5G4GF >F>5D464FLEO >5N5>FO MF>7> E?>O? 

______________________________________________ 

 

¥ '65?<GLF5 >5?4EFL >4DFO, 745 F>G=> 4>?65= 5OFL 4MD>?>DF (=4?D<<5D, >5?4EFL 6>7-
?5 �FF46O). '554<F5EL, GF> ?D< <4ELF455 >DG?=55, G5< 1:5 000 000 4MD>?>DFO >F>5D464NFEO. 

¥ �5D5=4<F5 > ?>?=><G M>EF5=FG. 
 

�>546?5=<5 E?>O < =4?<E4=<5 4DG7>7> >?D545?ONM57> 74?D>E4 

 

� MF>< L475  6O 4>546<F5 =>6O= E?>= 6 >4DFG < =4?<L<F5 >?D545?ONM<= 74?D>E, >>F>-
DO= 5G45F <E?>?L7>64FL G<E?>6O5 4FD<5GFO, 4 =5 4FD<5GFO E >4F57>D<O<<. 

¥ �4 ?4=5?< <=EFDG<5=F>6 %F4=44DF=O5 (Standard) M5?>=<F5 =4 >=>?>5 �>546<FL 
44==O5 (Add Data). 

¥ � 4<4?>7>6>< >>=5 �>546<FL 44==O5 (Add Data) ?5D5=4<F5 > 64L5= ?4?>5 
\Student\DESK2\Exercise03. 

¥ �6464O M5?>=<F5 =4 Canada.gdb, GF>5O D4E>DOFL 55. 
¥ -5?>=<F5 =4 E?>5 Water (6>4=O5 >5N5>FO), GF>5O 6O45?<FL 57>, 74F5< M5?>=<F5 

�>546<FL (Add). 

%?>= Water E?<L>>< ?>4D>5=O= 4?O >4DFO EFD4=O, E>FO F4>4O 45F4?<74F<O <>65F 5OFL 
?>?57=>= ?D< >DG?=OE <4ELF454E. 

�D><5 F>7>, E<<6>? ?> G<>?G4=<N 4?O E?>O Water, 6>7<>6=>, =5?>4E>4OM<=. �E?< >7UD4 
?>>474=O D>7>6O< F65F><, =5 6>?=G=F5EL - E>>D> 6O MF> <E?D46<F5. 

¥ -5?>=<F5 ?D46>= >=>?>>= =4 E?>5 Water < 6O55D<F5 %6>=EF64 (Properties). 

¥ �4 74>?44>5 �5M<5 6654<F5 =>6>5 <<O 4?O MF>7> E?>O � �>4=O5 >5N5>FO. 
¥ �F>D>=F5 74>?44>G �?D545?ONM<= 74?D>E (Definition Query) < M5?>=<F5 �>=EFDG>-

F>D 74?D>E>6 ( Query Builder). 

%>744=F5 6OD465=<5, ?>>474==>5 =4 E?54GNM5< D<EG=>5. �455D<F5 G<E?>6>5 7=4G5=<5 
(=5 ?OF4=F5EL 6O5D4FL 57> <7 E?<E>4 '=<>4?L=O5 7=4G5=<O (Unique Values). 

-5?>=<F5 �� 6 >5><E >F>DOFOE 4<4?>7>6OE >>=4E. 
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�55>?LL<5 6>4>5<O <EG57?< E >4DFO. 
 

%D46=5=<5 E?>56 �>4=O5 >5N5>FO < �75D4 

 

� MF>< L475 6O 6<7G4?L=> ED46=<F5 >5N5>FO 6 E?>5 �>4=O5 >5N5>FO E >5N5>F4<< 6 E?>5 
�7UD4. 

¥ �5D5=4<F5 > 74>?44>5 �>?LL>5 <54656L5 >75D>. 
¥ '554<F5EL, GF> E?>= �>4=O5 >5N5>FO =4E>4<FEO  6OL5 E?>O �7UD4 6 F45?<F5 E>-

45D64=<O. 
¥ �>?NG<F5 < >F>?NG<F5 E?>= �>4=O5 >5N5>FO =5E>>?L>> D47. 
%?>= �>4=O5 >5N5>FO >F>5D464NF <=>7> F4><E 65 >5N5>F>6, GF> < E?>= �7UD4, => 5>?55 

?>4D>5=>. ( �= F4>65 ?>>47O645F <=>7> F4><E 65 >5N5>F>6, GF> < 6 E?>5 $5>< � >4> ?>?<7>=O, 4 
=5 >4> ?<=<<). 

�4< =5 =G6=>, GF>5O E?>< �>4=O5 >5N5>FO < �7UD4 ?>-D47=><G >F>5D464?< >4=< < F5 65 
>5N5>FO >4=>6D5<5==>. 'F> 6O 4>?6=O E45?4FL? �4=> <7 D5L5=<= � GEF4=>6<FL 4>?>?=<F5?L=O5 
4<4?47>=O <4ELF45>6, GF>5O E?>= �7UD4 >F>5D464?EO F>?L>> 6 <5?><E <4ELF454E, 4 E?>= �>4-
=O5 >5N5>FO � F>?L>> 6 >DG?=OE. 

�>?55 ?D>EF>= 6OE>4 � 6O5D4FL >4<= <7 E?>56 >4> 5>?55 ?>4E>4OM<= 4?O 64L5= >4DFO. 
� MF>< E?GG45 6O 6O5<D45F5 E?>= �>4=O5 >5N5>FO. �4=4>>, ?5D54 F5<, >4> <7546<FLEO >F 

E?>O �7UD4, 6O ?D<<5=<F5 57> E<<6>? > E?>N �>4=O5 >5N5>FO. 
 

�<?>DF E<<6>?4 E?>O �7UD4 

 

�O E>F<F5 ?D<E6><FL E?>N �>4=O5 >5N5>FO F4>>= 65 E<<6>?, >4>>= 6O <E?>?L7>64?< 
4?O E?>O �7UD4. �4<= <7 E?>E>5>6 E45?4FL  MF> � >F>DOFL E6>=EF64 E?>O �7UD4, 74?<E4FL ?4D4<5F-
DO E<<6>?4 =4 ?<EF<>5 5G<47< < 74F5< ?D<<5=<FL MF< ?4D4<5FDO > E?>N �>4=O5 >5N5>FO. � EG4-
EFLN, 5EFL 5>?55 5OEFDO= ?GFL. 

¥ �5D5=4<F5 > ?>?=><G M>EF5=FG. 
¥ -5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �>4=O5 >5N5>FO < �O55D<F5 %6>=EF64 (Proper-

ties). 

¥ �F>D>=F5 74>?44>G %<<6>?O (Symbology). 

¥ -5?>=<F5 =4 �<?>DF (Import) 6 ?D46>< 65DE=5< G7?G, GF>5O >F>DOFL 4<4?>7>6>5 
>>=> �<?>DF E<<6>?>6 (Import Symbology). 

¥ �7 6O?444NM57> E?<E>4 %?>= (Layer) 6O55D<F5 �7UD4, GF>5O <<?>DF<D>64FL E<<-
6>?O <7 MF>7> E?>O. 

 
 

¥ -5?>=<F5 ��, 74F5< �� 6 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties). 

¥ �E?< =5>5E>4<<>, 6>?NG<F5 E?>= �>4=O5 >5N5>FO. 
' E?>O �>4=O5 >5N5>FO F>G=> F4>>= 65 E<<6>?, >4> < G E?>O �7UD4. 

 

%>744=<5 E?>O 6O5>D>< 

 

&5?5DL <>6=> 5O < G44?<FL �7UD4 <7 >4DFO, => =44> >>5-GF> ?D>65D<FL. 
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¥ �F>?NG<F5 E?>= �7UD4. 
�O =5 74<5G45F5, GF> G57>-F> =5 E64F45F F4<, 745 =4E>4OFEO �5?<><5 �75D4? �>744 E?>= 

�75D4 >F>?NG5=, >75D> �<G<74= <EG5745F. %?>= �>4=O5 >5N5>FO =5 6>?NG45F =<>4><E >5N5>F>6 
74 ?D545?4<< �4=44O. 

�O =5 E>F<F5, GF>5O >75D> �<G<74= <EG57?> E 64L5= >4DFO. 
¥ �>?NG<F5 E?>= �75D4. 
¥ -5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �75D4, G>46<F5 �O5>D>4 (Selection) 6O55D<F5 

%45?4FL F>?L>> MF>F E?>= 4>EFG?=O< 4?O 6O5>D>< (Make This The Only Selectable Layer). 

¥ % ?><>MLN <=EFDG<5=F4 �O5D4FL >5N5>FO (Select Features) 6O55D<F5 >75D> �<G<-
74=. 

 
¥ -5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �75D4, G>46<F5 �O5>D>4 (Selection) < 6O55D<F5 

%>744FL E?>= <7 6O5D4==OE >5N5>F>6 (Create Layer Selected Features). 

�>6O= E?>= �75D4 6O5>D>4 4>546?5= 6 F45?<FG E>45D64=<O E65DEG. 
¥ �G<EF<F5 6O5D4==O5 >5N5>FO. 
 

�7GG5=<5 E?>O �75D4 6O5>D>4 

 

%?>= 6O5>D>< =5 >F?<G45FEO >F >4>>7>-?<5> E?>O. �= =5 746<E<F >F E?>O, <7 >>F>D>7> 5O? 
E>744=. � MF>< L475 6O <7GG<F5 E6>=EF64 E?>O �75D4 6O5>D>4. 

¥ -5?>=<F5 =4 E?>5 �75D4 6O5>D>4 < >F>D>=F5 F45?<FG 4FD<5GF>6. 
�=4 ?>>47O645F >4=G 74?<EL, >75D> �<G<74=. 
¥ �4>D>=F5 F45?<FG 4FD<5GF>6. 
¥ -5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �75D4 6O5>D>4 < >F>D>=F5 57> E6>=EF64. 
¥ �F>D>=F5 74>?44>G �EF>G=<> (Source).  

%?>= �75D4 6O5>D>4 EEO?45FEO =4 >?4EE ?D>EFD4=EF65==OE >5N5>F>6 WorldLakes 6 5475 
75>44==OE Canada. -F> F>F 65 >?4EE >5N5>F>6, =4 >>F>DO= EEO?45FEO E?>= �75D4. 
¥ �F>D>=F5 74>?44>G �5M<5 (General). 

¥ �7<5=<F5 <<O E?>O  E �75D4 6O5>D>4 =4 �75D> �<G<74=. 
¥ �F>D>=F5 74>?44>G %<<6>?O (Symbology). 

¥ �<?>DF<DG=F5 E<<6>? <7 E?>O �75D4. -5?>=<F5 �� 6 4<4?>7>6>< >>=5 �<?>DF 
E<<6>?>6 (Import Simbology). 

¥ -5?>=<F5 �� 6 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties).  

� F45?<F5 E>45D64=<O ?5D5F4M<F5 E?>= �75D> �<G<74= ?DO<> ?>4 E?>= �>4=O5 >5N5>-
FO. 
¥ -5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �75D4 < 6O55D<F5 '44?<FL (Remove). 

�O E45?4?< F4>, GF> 6E5 >75D4 =4 >4DF5 6O7?O4OF >4> >5N5>FO >4=>7> E?>O. 
 

%>744=<5 E>EF46=>7> E?>O 

 

� MF>< L475 6O E>7444<F5 E>EF46=>= E?>= < E?>56 �>4=O5 >5N5>FO, �75D> �<G<74= < 
NovaScotia Water Bodies (6>4=O5 >5N5>FO �>6>= ,>F?4=4<<). 

¥ � F45?<F5 E>45D64=<O M5?>=<F5 =4 E?>5 �>4=O5 >5N5>FO, GF>5O 6O45?<FL 57>. 
¥ '45D6<64O >?46<LG Ctrl=4 >?46<4FGD5, M5?>=<F5 =4 E?>OE �75D> �<G<74= < �>4>-

5<O �>6>= ,>F?4=4<< F4>, GF>5O 6E5 FD< E?>O 5O?< 6O45?5=O. 
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¥ -5?>=<F5 ?D46>= >=>?>>= =4 6O45?5==OE E?>OE < 6O55D<F5 �DG??<D>64FL (Group). 

¥ �>6O= E>EF46=>= E?>= (New Group Layer)?>O6<?EO 6 F45?<F5 E>45D64=<O.  

 
 

&D< E?>O =5 ?>F5DO?< E6><E <=4<6<4G4?L=OE >E>55==>EF5= <?< E6>=EF6, => >=< ?D<>5-
D5?< =5>>F>DO5 7DG??>6O5 E6>=EF64, >>F>DO5 6?<ONF =4 6E5E =<E. 

¥ �5D5<<5=G=F5 �>6O= E>EF46=>= E?>= 6 �>44. 
¥ �F>?NG<F5 E>EF46=>= E?>= �>44. 
�D<<5G4=<5: %>?44O645FEO 6?5G4F?5=<5, GF> 6O 6E5 D46=> 6<4<F5 G4EF< >75D, => =4 E4-

<>< 45?5 MF> E?>= �>54=, >F>5D464NM<=EO E=<7G. 
�5N5>FO ?>4E?>56 E>EF46=>7> E?>O =5 >F>5D464NFEO, E>FO >464O= E?>= >F45?L=> 6>?N-

G5=. �>744 6<4<<>EFL E>EF46=>7>  E?>O >F>?NG5=4, 6E>4OM<5 6 57> E>EF46 ?>4E?>< =5 >F>5D464-
NFEO. 

¥ � F45?<F5 E>45D64=<O 6>7L<<F5 E?>= $5>< < ?5D5F4M<F5 57> 6 E>EF46=>= E?>= �>44, 
=44 ?>4E?>5< �>4=O5 >5N5>FO. $5>< <EG57?<. �>4E?>= $5>< E5=G4E O6?O5FEO G4EFLN E>EF46=>7> 
E?>O < ?>4G<=O5FEO 57> E6>=EF64<. 

¥ �>?NG<F5 E>EF46=>= E?>= �>44. 
¥ �F>?NG<F5 ?>4E?>= $5><. 

�>744 6<4<<>EFL E>EF46=>7> E?>O 6>?NG5=4, GG4EF6GNM<5 E?>< <>7GF >F>5D464FLEO <?< 
=5F 6 746<E<<>EF< >F F>7>, 6>?NG5=O <?< =5F <E D?46>< 6<4<<>EF<. 

�D<<5G4=<5:  �>4E?>< 6 E>EF46=>< E?>5 >5OG=> <<5NF >5MGN F5<4F<>G, =4?D<<5D 6>4-
=O5 D5EGDEO <?< FD4=E?>DF. �> =5 =44> 7DG??<D>64FL E?>< F>?L>> =4 >E=>65 <E F5<4F<G5E>>= 
E6O7<. �>?55 646=O< O6?O5FEO F>, 5G45F ?< ?>?57=O< G?D46?5=<5 <E >5M5= 6<4<<>EFLN <?< 4<4-
?47>=>< <4ELF45>6. 

¥ �>?NG<F5 ?>4E?>= $5>< >5D4F=>. 
 

�D<E64<64=<5 E<<6>?>6 E?>N 

� MF>< L475 6O ?D<E6><F5 E<<6>?O 4?O E?>O <5EF=OE ?4D>>6. -F>F L47 O6?O5FEO ?>47>-
F>6<F5?L=O< 4?O E>ED4=5=<O E?>O >4> D4=?4 =4 4<E>5. 

¥ -5?>=<F5 =4 >=>?>5 �>546<FL 44==O5 (Add Data). 

¥ � 4<4?>7>6>< >>=5 �>546<FL 44==O5 (Add Data) ?5D5=4<F5 > ?4?>5 
\Student\DESK2\Exercise03, 46464O M5?>=<F5 =4 Canada.gdb, GF>5O D4E>DOFL 55 < 4>546LF5 
Provpark 6 >4DFG.  

-F>F E?>= E>45D6<F <5EF=O5 ?D<D>4=O5 ?4D><, >>F>DO5 >5E?G6<64NFEO =4 GD>6=5 ?D>-
6<=F<=, 6 >F?<G<< >F =4F<>=4?L=OE ?4D>>6 D545D4?L=>7> ?>4G<=5=<O, >>F>DO5 G65 5EFL =4 >4D-
F5. 

¥ � F45?<F5 E>45D64=<O ?5D5F4M<F5 E?>= Provpark ?DO<> ?>4 E?>= �4F<>=4?L=O5 
?4D><. 

¥ �7<5=<F5 <<O E?>O E Provpark =4 �5EF=O5 ?4D><. &5?5DL 6O <7<5=<F5 E<<6>?, ?D<-
E6>5==O= E?>N ?> G<>?G4=<N. 

¥ �F>D>=F5 E6>=EF64 E?>O �5EF=O5 ?4D>< < >F>D>=F5 74>?44>G %<<6>?O (Symbology). 

 

�F>D>=F5 >>=> 6O5>D E<<6>?4 - &65F 74?<6>< -6O55D<F5 MediumKeylime � &65F >>=FGD4 
�6O55D<F5 LeafGreen  - ��. 
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%>ED4=5=<5 E?>O >4> D4=?4 E?>O 

 

� MF>< L475 6O E>ED4=<F5 E?>= �5EF=O5 ?4D>< >4> D4=? E?>O. 
¥ � F45?<F5 E>45D64=<O M5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �5EF=O5 ?4D>< < 6O55D<-

F5 %>ED4=<FL >4> D4=? E?>O (Save As Layer File). 

¥ � 4<4?>7>6>< >>=5 %>ED4=<FL E?>= (Save Layer) ?5D5=4<F5 > ?4?>5 
\Student\DESK2\Exercise03. 

�D<E6>=F5 <<O �5EF=O5 ?4D><.lyr � E>ED4=<FL. 
¥ � <5=N $4=? (File) 6O55D<F5 %>ED4=<FL >4> (Save As). 

¥ � 4<4?>7>6>< >>=5 %>ED4=<FL >4> (Save As) ?5D5=4<F5 > 
?4?>5\Student\DESK2\Exercise03. 

¥ �47>6<F5 D4=? MyCanadaLayers < M5?>=<F5 %>ED4=<FL (Save). 

¥ %65D=<F5 6=<7 ArcMap. 

 

�D>E<>FD D4=?4 E?>O 6 ArcCatalog 

 

�4?GEF<F5 ArcCatalog � D4E>D>=F5 ?>4>?NG5=<5 ?4?>< Student\DESK2\Exercise03. $4=? 
E?>O >F>5D4645FEO 6 ?4?>5 Exercise03. 

�D<<5=5=<5 ?D>7D4G=>EF< <?< >F<O6>< D5?L5D4 4?O D4EFD>6>7> E?>O. 
� MF>< L475 6O 4>546<F5 D4=? E?>O 6 >4DFG D5?L5D4 �4=44O. �O ?D<E6><F5 7=4G5=<5 

?D>7D4G=>EF< D4EFDG D5?L5D4, GF>5O E45?4FL ?4D>< >FG5F?<6> 6<4<<O<<. �O F4>65 E>7444<F5 
>F<O6>G D5?L5D4 4?O E?>O D5?L5D4. 

¥ �>EEF4=>6<F5 ArcMap. 

¥ � <5=N $4=? (File) 6O55D<F5 �F>DOFL (Open). 

¥ � 4<4?>7>6>< >>=5 �F>DOFL (Open) ?5D5=4<F5 > ?4?>5 Student\DESK2\Exercise03 < 
>F>D>=F5 CanadaElevation.mxd. 

¥ �>546LF5 E?>= �5EF=O5 �4D><.lyr <7 6OL5= ?4?>< \Student\DESK2\Exercise03 6 
>4DFG. %?>= 4>546?5= =4 >4DFG 6<5EF5 E ?D<E6>5==O<< E<<6>?4<<. 

¥ �F>D>=F5 E6>=EF64 E?>O �5EF=O5 ?4D>< < >F>D>=F5 74>?44>G �EF>G=<> (Source). 

 $4=? E?>O EEO?45FEO =4 >?4EE ?D>EFD4=EF65==OE >5N5>F>6 Provpark, F4> 65, >4> ?N5>= 
E?>= >4DFO 4>?65= EEO?4FLEO =4 >?4EE >5N5>F>6. �>E?5 F>7>, >4> >= 5O? 4>546?5= =4 >4DFG, =<G5-
7> =5 >F?<G45F 57> >F 4DG7<E E?>56. 

¥ -5?>=<F5 �F<5=4 (Cancel) 6 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties). 

¥ � F45?<F5 E>45D64=<O ?5D5F4M<F5 E?>= �5EF=O5 ?4D>< ?>4 E?>= �D>6<=F<<. 
¥ �F>D>=F5 E6>=EF64 E?>O �OE>F4 D5?L5D4 < >F>D>=F5 74>?44>G �F>5D465=<5 

(Display). 

¥ 'EF4=>6<F5 ?D>7D4G=>EFL 35%. 
�F>D>=F5 74>?44>G %<<6>?O � GEF4=>6<F5 74?>G>G 4?O >?F<< �E?>?L7>64FL MDD5>F >F-

<O6>< � ��. 
 

%?>= �OE>F4 D5?L5D4 EF4? G4EF<G=> ?D>7D4G=O<, 45?4O >5N5>FO ?4D>>6 >FG5F?<6> 6<4<-
<O<<. �464 D47?<G<<O= MDD5>F >F<O6>< 445F E?>N 5>?55 D54?L=O= 6<4. 

�D<<5G4=<5: �D>7D4G=>EFL G4M5 6E57> ?D<<5=O5FEO > D4EFD>6O< E?>O<, >>F>DO5 O6?O-
NFEO D>=>< 4?O 65>F>D=OE 44==OE, => > 65>F>D=O< E?>O< F>65 <>6=> ?D<<5=OFL ?D>7D4G=>EFL 
F4><< 65 E?>E>5><. 

¥ %>ED4=<F5 4>>G<5=F >4DFO 6 ?4?>5 \Student\DESK2\Exercise03 ?>4 <<5=5< MyCan-

ada Elevation. 

¥ �4>D>=F5 ArcMap. 

 

�4>?NG5=<5 
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�=EFDG<5=FO < >><4=4O =46<74F<<, <E?>?L7G5<O5 6 E>G5F4=<< E 74>?44>4<<, ?><>74NF 
64< G?D46?OFL >F>5D465=<5< >4DFO < 45?4NF ?D>M5 6>76D4F > <=F5D5EGNM<< 64E >5?4EFO< >4D-
FO. 

' 6E5E ��% 44==OE 5EFL 4<4?47>= =4<5>?55 ?>4E>4OM<E <4ELF45>6 ?D>E<>FD4. �4 
>DG?=><4ELF45=>= >4DF5 =5F E<OE?4 ?>>47O64FL 7>D>4 >4> F>G>G. �4 >4DF5 5>?LL>= EFD4=O =5F 
E<OE?4 ?>>47O64FL 6<?O5 >64DF4?O >4> ?>?<7>=O. �O <>65F5 <E?>?L7>64FL GEF4=>6>< 4<4?47>-
=>6 <4ELF45>6, GF>5O 64L< 44==O5 >F>5D464?<EL 6 ?>4E>4OM<E <4ELF454E. �>4E>4OM<= 4<4?4-
7>= <4ELF454 746<E<F >4> >F ?D<D>4O 44==OE, F4> < >F >>?<G5EF64 4G5?<DGNM<E E?>56 =4 >4DF5. 

�=>744 6 E?>5 5>?LL5 >5N5>F>6, G5< 6O E>F<F5 ?>>474FL. &4>>5 <>65F ?D><7>=F< <7-74 
F5<4F<>< 64L5= >4DFO <?< ?> MEF5F<G5E><< E>>5D465=<O<. �4?D<<5D, 6 E?>5 4MD>?>DF>6 6O E>-
F<F5 ?>>474FL F>?L>> F5 4MD>?>DFO, 6 >>F>DOE 5EFL 74>GE>G=O5, ?D54>EF46?ONM<5 45L56O= 746-
FD4> ( 6O =4=>E<F5 =4 >4DFG =55>?LL<5 D5EF>D4=O, 745 5EFL E><4><). � E?>5 >7UD 5G45F 7?7D><>6-
44FL >4DFG <5?><<< 45F4?O<<). 

�E?>?L7>64=<5 G65 E>744==OE E<<6>?>6 � MF> >G5=L F5==O= E?>E>5 M>>=><<FL 6D5<O 
?D< E>744=<< >4DF. � >4DF5 6O <>65F5 E45?4FL MF>, <<?>DF<D>646 E<<6>?O <7 >4=>7> E?>O 6 4DG-
7>=. �>?55 L<D>>> ?D<<5=<<>5 D5L5=<5 � MF> E>ED4=<FL E?>= >4> D4=? E?>O <?< E>744FL D4=? 
E?>O =5?>ED54EF65==> 6 ArcCatalog. $4=?O E?>56 <>7GF 5OFL 4>546?5=O 6 ?N5>= 4>>G<5=F >4D-
FO, < <E E<<6>?O F>65 <>6=> <<?>DF<D>64FL 6 4DG7<5 E?><. 

%>EF46=O5 E?>< ?>76>?ONF 64< >?F<<<7<D>64FL F45?<FG E>45D64=<O, >>F>D4O E>45D6<F 
<=>7> E?>56. �5OG=> E?>< 6 E>EF46=>< E?>5 F5<4F<G5E>< E6O74=O < <<5NF >5M<5 E6>=EF64 >F>5-
D465=<O, F4><5 >4> >5M<= 4<4?47>= <4ELF45>6 <?< 7=4G5=<5 ?D>7D4G=>EF<. 

 

 

 

 

 

 

�45>D4F>D=4O D45>F4 74 

�7=4>><?5=<5 E =4<5>?55 D4E?D>EFD4=5==O<< 6 $>EE<< 65>F>D<74F>D4<< EazyTrace, F<D-
D>64=<5 DD47<5=F4 >4DFO E <E?>?L7>64=<5< 65>F>D<74F>D4. 

 

%<<6>?O ?D<E64<64NFEO >5N5>F4< =4 >E=>65 6O5D4==>7> 4FD<5GF4. � MF>< G?D46=5=<< 
6O ?D<E6><F5 E<<6>?O ?D>6<=F<O< < 7>D>44< 6 E>>F65FEF6<< E >4F57>D<O<< D47?<G=OE 4FD<5G-
F>6. 

� MF>< G?D46=5=<< 6O: 
÷ �D<E6><F5 >464><G >5N5>FG E<<6>? E G=<>4?L=O< F65F><; 
÷ �7<5=<F5 F65F>6GN EE5<G 4?O E?>O; 
÷ �7<5=<F5 F65F4 >F45?L=OE >5N5>F>6; 
÷ %>7444<F5 E6>= ?>?L7>64F5?LE><= F65F; 
÷ �FD544>F<DG5F5 D4745?O < ?>4?<E< E<<6>?>6 6 F45?<F5 E>45D64=<O; 
÷ �D<E6><F5 E<<6>?O >5N5>F4< 6 E?>5 ?> F<?G; 
÷ �7<5=<F5 E<<6>?O-<4D>5DO, ?D<E6>5==O5 >5N5>F4<; 
÷ �O55D<F5 =5 ?D<E64<64FL E<<6>?O >?D545?5==O< >5N5>F4< 6 E?>5; 
÷ %7DG??<DG5F5 =45>D 7=4G5=<= 4?O F>7>, GF>5O D45>F4FL E =<<< >4> E >4=<< 7=4G5-

=<5<; 
÷ �>?>?=<F5?L=>, ?D<E6><F5 E<<6>?O, <E?>?L7GO 5>?55 >4=>7> 4FD<5GF4. 
�4?GEF<F5 ArcMap < >F>D>=F5 Canada.mxd <7 64L5= ?4?>< \Student\DESK2\Exercise04. 

�E?< =5>5E>4<<>, D4765D=<F5 >>=> ArcMap. 

� MF>< L475 6O <E?>?L7G5F5 4FD<5GF <<5=< 4?O F>7>, GF>5O ?D<E6><FL >464>= ?D>6<=-
F<< < F5DD<F>D<< �4=44O G=<>4?L=O= F65F. 

�> G<>?G4=<N, ArcMap ?D<E64<645F >4<=4>>6O5 E<<6>?O 6E5< >5N5>F4< 6 E?>5 ( 
=4?D<<5D, >4> 65?FO= F65F 6 44==>< ?D<<5D5). �E?< ?D>6<=F<< < F5DD<F>D<< O6?ONFEO D>=>6O< 
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E?>5< 4?O 4DG7<E >5N5>F>6, F> =465D=>5 MF> E>D>L>. �> 5E?< F5?LN O6?O5FEO ?D<6?5GL 6=<<4=<5 
> ?D>6<=F<O< < F5DD<F>D<O<, F> 6>7<>6=> 6O 74E>F<F5, GF>5O >4644O >F>5D464?4EL E6><< F65-
F><. 

%<<6>?O ?D<E64<64NFEO =4 >E=>65 4FD<5GF>6. %?54>64F5?L=>, GF>5O 44FL >464>= ?D>-
6<=F<< < F5DD<F>D<< E6>= F65F, 64< =G65= 4FD<5GF E G=<>4?L=O< 7=4G5=<5< 4?O >464>7> >5N5>-
F4. �5OG=> MF> <<O <?< 4FD<5GF ID. 

¥ � F45?<F5 E>45D64=<O M5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �D>6<=F<< < >F>D>=F5 
57> F45?<FG 4FD<5GF>6.  

� =5= 5EFL =5E>>?L>> 4FD<5GF>6, E >>F>DO<< <>6=> D45>F4FL. �4< ?>4E>4<F 4FD<5GF 
NAME. 

¥ �4>D>=F5 F45?<FG 4FD<5GF>6. 
¥ � F45?<F5 E>45D64=<O 46464O M5?>=<F5 =4 E?>5 �D>6<=F<<, GF>5O >F>DOFL 4<4-

?>7>6>5 >>=> %6>=EF64 E?>O (Layer Properties). 

¥ -5?>=<F5 =4 74>?44>5 %<<6>?O (Symbology). 

� E?<E>5 �>>474FL 6O55D<F5 �4F57>D<< � GEF4=>6<F5 �>?5 7=4G5=<= �>546<FL �E5. 
�<5=4 >464>= ?D>6<=F<< < F5DD<F>D<< 4>546?5=O < >464><G ?D<E6>5= G=<>4?L=O= 

F65F. �4<5FLF5, GF> <<5=4 ?>6F>DONFEO 46464O. �>4 747>?>6>>< �=4G5=<5 (Value) <<5=4 6E5744 
E>6?444NF E F45?<F5= 4FD<5GF>6. �>4 747>?>6>>< �>4?<EL (Label) <<5=4 <>7GF D544>F<D>64FLEO 
4?O >F>5D465=<O 6 F45?<F5 E>45D64=<O. 

&65F4 55DGFEO <7 F5>GM5= &65F>6>= EE5<O (Color Ramp) (E>>D5= 6E57> ?4EF5?L=OE F>-
=>6). 

�4< ?D54?4745FEO <=>7> F65F>6OE EE5< =4 6O5>D. �4 44==O= <><5=F 6O 5G45F5 <E?>?L-
7>64FL EE5<G Basic Random. 

¥ -5?>=<F5 ?D46>= >=>?>>= =4 ?>?>E>5 
&65F>6>= EE5<O (Color Ramp) (M5?>4FL =44> =4 E4<>= ?>?>E>5, 4 =5 =4 EFD5?>5 6O?444NM57> 
E?<E>4). 

�O55D<F5 �D4D<>4 � 6O55D<F5 BasicRandom���� ?> <<5=< EE5<O � �D4D<>4 � 6 EF>?5-
F5 %<<6>? >F>?NG<F5 D?46>> 6>7?5 «6E5 4DG7<5 7=4G5=<O». 

�O 4>546<?< 6E5 7=4G5=<O <7 F45?<FO, >>744 6O M5?>=G?< �>546<FL 6E5 7=4G5=<O (Add 

All Values), F4> GF> G 64E =5 5G45F 4DG7<E 7=4G5=<= 4?O ?D<E64<64=<O E<<6>?4. 
¥ -5?>=<F5 �D<<5=<FL (Apply) < >F>46<=LF5 4<4?>7>6>5 >>=> %6>=EF64 E?>O (Layer 

Properties) E >F>5D465=<O >4DFO. 
� F45?<F5 E>45D64=<O >464>= ?D>6<=F<< < F5DD<F>D<< E>>F65FEF6G5F E6>= F65F. �4 >4D-

F5 >=< >F>5D465=O E>>F65FEF6GNM<<< F65F4<<. 
 

�>546?5=<5 D4745?4 6 F45?<FG E>45D64=<O 

� MF>< L475 6O 4>546<F5 747>?>6>< > E?>N �D>6<=F<<, GF>5O >FD47<FL =4?<G<5 7DG?? 
?D>6<=F<= < F5DD<F>D<=. �O F4>65 E>ED4=<F5 >4DFG E =>6O< <<5=5<, GF>5O E>ED4=<FL 64LG D4-
5>FG 6 F5>GM5< E>EF>O=<<. 

� 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties) 4>?6=O >EF464FLEO 6O45?5==O<< 
FD< F5DD<F>D<<. 

¥ -5?>=<F5 ?D46>= >=>?>>= =4 ?N5>= <E 6O45?5==OE EFD>>. � >>=F5>EF=>< <5=N 
G>46<F5 �><5EF<FL 6 D4745? (Move to Heading) < 6O55D<F5 �>6O= D4745? (New Heading). 

¥ � 4<4?>7>6>< >>=5 �>6O= D4745? (New Heading) =455D<F5 &5DD<F>D<< < M5?>=<F5 
��. 

¥ �D>>DGF<F5 665DE >>=4. � EF>?5F5 �>4?<EL (Label) M5?>=<F5 =4 EGM5EF6GNM5< 74-
7>?>6>5 D4745?4 NAME, GF>5O E45?4FL 57> D544>F<DG5<O<. �455D<F5 6<5EF> =57> �D>6<=F<<. 

¥ -5?>=<F5 �� 6 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties). 

%5=G4E F45?<F4 E>45D64=<O >FD4645F 64LG F65F>6GN EE5<G. 
¥ � <5=N $4=? (File) 6O55D<F5 %>ED4=<FL >4> (Save As). 

¥ %>ED4=<F5 4>>G<5=F >4DFO 6 ?4?>5 \Student\DESK2\Exercise04 ?>4 <<5=5< Cana-

daProvinces. -5?>=<F5 ��. 
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�>546?5=<5 E?>O >DG?=OE 7>D>4>6 

� MF>< L475 6O 4>546<F5 E?>= >DG?=OE 7>D>4>6 =4 >4DFG. 
¥ -5?>=<F5 =4 >=>?>5 �>546<FL 44==O5 (Add Data). 

¥ � 4<4?>7>6>< >>=5 �>546<FL 44==O5 (Add Data) ?5D5=4<F5 > ?4?>5 

\Student\DESK2\Exetcise04, 46464O M5?>=<F5 =4 Canada.gdb, GF>5O D4E>DOFL 55, < 4>546LF5 
Mjcities 6 >4DFG. 

¥ %?>= Mjcities  4>546?5= =465DE F45?<FO E>45D64=<O E E<<6>?>< ?> G<>?G4=<N. 
%<<6>? ?> G<>?G4=<N 6E5744 >4<=4>>6O=, => 57> F65F <>65F 5OFL D47=O<. 
�D<<5G4=<5: �>744 6O 4>546?O5F5 E?>= 6 >4DFG, 57> ?>?>65=<5 6 F45?<F5 E>45D64=<O 

>?D545?O5FEO F<?>< >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6. %?>< 4>546?ONFEO 6 E?54GNM5= ?>DO4>5 
E65DEG 6=<7: F>G><, ?<=<<, ?>?<7>=O, D4EFDO. 

¥ �5D5<<5=G=F5 E?>= Mjcities 6 �DG?=O5 7>D>44. 
&4> >4> >EF46LGNEO G4EFL G?D46=5=<O <O 5G45< 74=<<4FLEO E<<6>?4<< 4?O 7>D>4>6, 6O 

E5=G4E <>65F5 ?D<E6><FL ?D>6<=F<O< >4<=4>>6O= E<<6>? < E>ED4=<FL 4>>G<5=F >4DFO ?>4 4DG-
7<< <<5=5<. 

¥ %>ED4=<F5 4>>G<5=F >4DFO >4> CanadaMajorCities. �5?45FEO MF> F4> 65, >4> 5O?> 
>?<E4=> 6 >>=F5 ?D54O4GM57> L474. 

¥ � F45?<F5 E>45D64=<O 46464O M5?>=<F5 =4 E?>5 �D>6<=F<<, GF>5O >F>DOFL 57> 
E6>=EF64. �E?< =5>5E>4<<>, M5?>=<F5 =4 74>?44>5 %<<6>?O (Symbology). 

¥ � >>>L>5 �>>474FL (Show) M5?>=<F5 =4 E?>E>55 �D>EFD4=EF65==O5 >5N5>FO (Fea-

tures). 

-5?>=<F5 =4 E<<6>?5 (F65F=>= ?DO<>G7>?L=<>), GF>5O >F>DOFL >>=> �O5>D E<<6>?4 
(Symbol Selector). � >>=5 �O5>D E<<6>?4 (Symbol Selector) M5?>=<F5 =4 >644D4F<>5 &65F 74?<6>< 
(Fill Color) < 6O55D<F5 Yucca Yellow (EFD>>4 1, EF>?55F 5). 

-5?>=<F5 �� 6 >>=5 �O5>D E<<6>?4 (Symbol Selector) < 6 4<4?>7>6>< >>=5 %6>=EF64 
E?>O (Layer Properties). 

 

�D<E6>5=<5 E<<6>?>6 7>D>44< ?> F<?G 

 

� MF>< L475 6O ?D<E6><F5 E<<6>?O  >DG?=O< 7>D>44< 6 E>>F65FEF6<< E F5<, O6?ONFEO ?< 
>=< EF>?<F4<< <?< =5F. 

¥ �F>D>=F5 F45?<FG 4FD<5GF>6 4?O E?>O �DG?=O5 7>D>44. %>65F: -5?>=<F5 ?D46>= 
>=>?>>= =4 <<5=< E?>O 6 F45?<F5 E>45D64=<O < 6O55D<F5 �F>DOFL F45?<FG 4FD<5GF>6 ( Open At-

tribute Table).   

� ?>?5 Capital EF>OF 7=4G5=<O Y  <?< N, >>F>DO5 G>47O64NF, O6?O5FEO ?< 7>D>4 EF>?<F5=. 
-F< 7=4G5=<O =5 D47?<G4NF EF>?<FG ?D>6<=F<< <?< F5DD<F>D<< >F D545D4?L=>= EF>?<FO �FF46O, 
=> 6 44==>< E?GG45 MF> =5646=>. 

¥ �4>D>=F5 F45?<FG 4FD<5GF>6. 
¥ �6464O M5?>=<F5 =4 E?>5 �DG?=O5 7>D>44, GF>5O >F>DOFL 57> E6>=EF64. �E?< 

=5>5E>4<<>, M5?>=<F5 =4 74>?44>5 %<<6>?O ( Symbology). 

¥ � >>=5 �>>474FL (Show) M5?>=<F5 �4F57>D<< (Categories). 

¥ 'EF4=>6<F5 6 �>?5 7=4G5=<= (Value Field) CAPITAL < M5?>=<F5 �>546<FL 6E5 (Add 

All Values).  

�>546?5=O 464 7=4G5=<O: N 4?O �5F (No) < 4?O �4 (Yes). ' MF<E 7=4G5=<= >4<=4>>6O5 
E<<6>?O 7=4G>>6, => D47=O5 F65F4. &65F4 55DGFEO <7 F5>GM5= F65F>6>= EE5<O. 

 %?D464 >F EF>?5F4 �>4?<EL (Label) 5EFL EF>?55F '<E?> (Count), >>F>DO= ?>>47O645F, 
E>>?L>> >5N5>F>6 <<5NF >464>5 7=4G5=<5. 

¥ �E5 7=4G5=<O 6 ?>?5 4>546?5=O, F4> GF> >F>?NG<F5 <6E5 4DG7<5 7=4G5=<O>(<all other 

values). 

¥ -5?>=<F5 �D<<5=<FL (Apply) < >F>46<=LF5 4<4?>7>6>5 >>=> %6>=EF64 E?>O (Layer 

Properties) E >4DFO. 
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%<<6>?O >5=>6?5=O =4 >4DF5 < 6 F45?<F5 E>45D64=<O, => ?>>4 MF> 5M5 =5 >G5=L ?>=OF=>. 
 

�7<5=5=<5 E<<6>?>6 4?O 7>D>4>6 

 

� MF>< L475 6O 6O55D5F5 5>?55 ?>4E>4OM<5 E<<6>?O 4?O 7>D>4>6. 
¥ � 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties) 46464O M5?>=<F5 =4 E<<6>?5 

4?O 7=4G5=<O N. 

¥ � >>=5 �O5>D E<<6>?4 (Symbol Selector) M5?>=<F5 =4 E<<6>?5 Circle2 6 >>=5 ?D>-
>DGF><.  

�7<5=<F5 57> F65F =4 Seville Orange (EFD>>4 4, EF>?55F 4). 
 �>4 F65F>< 5EFL ?>?5, >>F>D>5 ?>76>?O5F 64< 744464FL D47<5D E<<6>?4. 
¥ �7<5=<F5 D47<5D E 18 F>G5> =4 8. 
 

¥ -5?>=<F5 �� 6 >>=5 �O5>D E<<6>?4 (Symbol Selector)/ 

 

¥ �6464O M5?>=<F5 =4 E<<6>?5 4?O 7=4G5=<O Y. 

 

¥ � >>=5 �O5>D E<<6>?4 (Symbol Selector) M5?>=<F5 =4 E<<6>?5 Star3 6 >>=5 ?D>-
>DGF><. �7<5=<F5 57> F65F =4 Poinsettia Red (EFD>>4 4, EF>?55F 2). �7<5=<F5 57> D47<5D =4 14 F>-
G5> < M5?>=<F5 ��. 

 

¥ -5?>=<F5 �D<<5=<FL (Apply) 6 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties). 

% F4><<< E<<6>?4<< 5G45F ?57>> >F?<G<FL EF>?<FO >F 6E5E >EF4?L=OE 7>D>4>6. �>4?<E< 6 F45-
?<F5 E>45D64=<O <>6=> G?GGL<FL. �=4G5=<O N < Y  ?>=OF=O =5 4?O 6E5E. � F><G 65, 6>7<>6=>, 
?GGL5 E=4G4?4 ?>?GG<FL E?<E>> EF>?<F. 

 

'?>DO4>G<64=<5 7=4G5=<= < D544>F<D>64=<5 ?>4?<E5= 

� MF>< L475 6O ?5D5<5EF<F5 EF>?<FO 6OL5 >EF4?L=OE 7>D>4>6 6 F45?<F5 E>45D64=<O. 
�O F4>65 >FD544>F<DG5F5 ?>4?<E< 7=4G5=<=, GF>5O E45?4FL <E 5>?55 ?>=OF=O<<.  

� 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties) 7=4G5=<5 Y 4>?6=> 5OFL 4> E<E ?>D 
6O45?5=>. %?D464 6 4<4?>7>6>< >>=5 465 >=>?>< E> EFD5?>4<<. %FD5?>4 665DE 4>?6=4 5OFL G5D-
=>=, ?>>47O64O, GF> 6O <>65F5 ?5D5<5EF<FL 7=4G5=<5 665DE. 

¥ � 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties) M5?>=<F5 =4 EFD5?>5 665DE. 
�=4G5=<5 Y ?5D5<5M45FEO =44 N. 

¥ � EF>?5F5 �>4?<EL (Label) (=5 6 EF>?5F5 �=4G5=<5 (Value)), M5?>=<F5 =4 Y , GF>5O 
E45?4FL 57> D544>F<DG5<O<. �4<5=<F5 ?>4?<EL =4 %F>?<FO < =46<<F5 Enter.  

&5?5DL ?>4?<EL N 46F><4F<G5E>< EF4=5F D544>F<DG5<>= . 
¥ �4<5=<F5 ?>4?<EL N =4 �5-%F>?<FO < M5?>=<F5 745-=<5G4L =4 55?>< ?D>EFD4=EF65 

?>4 ?>4?<ELN. % F4><<< ?>4?<EO<< 747>?>6>> D4745?4 G65 =5 =G65=. 
¥ � EF>?5F5 �>4?<EL (Label) M5?>=<F5 =4 D4745?5 CAPITAL. �46<<F5 >?46<LG De-

lete, GF>5O G44?<FL 57>, < M5?>=<F5 745-=<5G4L =4 55?>< ?D>EFD4=EF65 ?>4 ?>4?<EO<<. 
-5?>=<F5 �D<<5=<FL. 
  

�7<5=5=<O >FD47<?<EL 6 F45?<F5 E>45D64=<O. �4<5FLF5, GF> >F>5D465=<5 >4DFO =5 <7<5-
=<?>EL � EF>?<FO =5 >5O74F5?L=> >F>5D464NFEO =44 >EF4?L=O<< 7>D>44<<. � MF>< <4ELF455 ?> 
>D4==5= <5D5 465 EF>?<FO, �FF464 < &>D>=F>, 74>DOFO 4DG7<<< 7>D>44<<. 

�D<<5G4=<5: �>DO4>>, 6 >>F>D>< >F>5D464NFEO >5N5>FO 6 E?>5, >?D545?O5FEO ?>DO4>>< 
74?<E5= 6 F45?<F5. -F>F ?>DO4>> <>65F 5OFL <7<5=5=  E ?><>MLN F4> =47O645<OE GD>6=5= E<<-
6>?>6, => MF> G65 6OE>4<F 74 D4<>< 44==>7> >GDE4. 

 

'44?5=<5 7=4G5=<= <7 =45>D4 E<<6>?>6 

� MF>< L475 6O G6<4<F5, >4> <7<5=<FL =45>D E<<6>?>6, G44?<6 7=4G5=<O. 
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¥ � 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties) M5?>=<F5 =4 E<<6>?5 4?O 7=4-
G5=<O N, GF>5O 6O45?<FL EFD>>G. 

¥ -5?>=<F5 '44?<FL (Remove).  

�=4G5=<5 <EG57?> <7 74>?44>< %<<6>?O (Symbology). 

¥ -5?>=<F5 �D<<5=<FL (Apply).  

�4 >4DF5 >F>5D465=O F>?L>> 7>D>44-EF>?<FO. �EF4?L=O5 7>D>44 =5 5O?< G44?5=O <7 
>?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 � >=< ?D>EF> E5=G4E =5 <E?>?L7GNFEO. 

¥ � EF>?5F5 %<<6>? (Symbol) 6>?NG<F5 D?46>> <6E5 4DG7<5 7=4G5=<O>(<all other val-

ues>) < M5?>=<F5 �D<<5=<FL (Apply).  

&5?5DL 6E5 >DG?=O5 7>D>44 E=>64 >FD<E>64=O ?> G<>?G4=<N, ?D<E6>5==O< 6E5< 4DG7<< 
7=4G5=<O< (MF>F E<<6>? ?> G<>?G4=<N <>6=> ?><5=OFL E ?><>MLN >>=4 �O5>D E<<6>?4 (Symbol 

Selector) >4> ?N5>= 4DG7>=). 
¥ �E?< 6O E>F<F5 ?D<E6><FL E<<6>?O E?>N �DG?=O5 7>D>44 =4 >E=>65 =5E>>?L><E 

4FD<5GF>6, ?D<EFG?4=F5 > E?54GNM5<G 4>?>?=<F5?L=><G L47G. �?< 74>D>=F5 4<4?>7>6>5 >>=> 
%6>=EF64 E?>O (Layer Properties), E>ED4=<F5 64LG >4DFG < 74>D>=F5 ArcMap. 

 

�D<E6>5=<5 E<<6>?>6 =4 >E=>65 =5E>>?L><E 4FD<5GF>6 

 

� MF>< L475 6O G6<4<F5, >4> ?D<E6><FL E<<6>?O, <E?>?L7GO 5>?55 G5< >4<= 4FD<5GF. �?O 
G57> MF> =G6=>? �>?GEF<<, 6O E>F<F5 >F?<G4FL EF>?<FO >F 4DG7<E 7>D>4>6 < ?D< MF>< D4=6<D>-
64FL =5 O6?ONM<5EO EF>?<F4<< 7>D>44 ?> G<E?5==>EF< =4E5?5=<O. �?< ?D54?>?>6<<, GF> ?>E?5 
D4745?5=<O EF>?<F < =5 EF>?<F, 6O E>F5?< ?D<E6><FL D47=O5 E<<6>?O 4?O EF>?<F F5DD<F>D<= < 
?D>6<=F<= < D545D4?L=>= EF>?<FO. 

-F> 5G45F 64L<< 7444=<5<. �4> 5O?> 74<5G5=> 6OL5, =5F >?D545?5==>7> 7=4G5=<O 4FD<-
5GF4, =4 >E=>65 >>F>D>7> <>6=> E45?4FL MF> D4745?5=<5, => F4> >4> 6O 7=45F5 =4764=<5 D545D4?L-
=>= EF>?<FO �FF464, 6O <>65F5 <E?>?L7>64FL 4FD<5GF NAME. 

� >>=5 �>>474FL (Show) ?>4 �4F57>D<O<< (Categories) <7<5=<F5 >?F<N E<<6>?4 E '=<-
>4?L=O5 7=4G5=<O (Unique values) =4 '=<>4?L=O5 7=4G5=<O, <=>7> ?>?5= (Unique values, many 

fields). 

�>EFG?=> FD< ?>?O 7=4G5=<=. �5D6>5 ?>?5 ?> G<>?G4=<N NAME ( ' 64E ?>?5 ?> G<>?G4-
=<N <>65F 5OFL 4DG7<<). 

¥ �7<5=<F5 GEF4=>6>G 6 ?5D6>< =<E?444NM5< E?<E>5 �>?O 7=4G5=<= (Value Fields) 

=4 %APITAL. 

¥ 'EF4=>6<F5 6> 6F>D>< 6O?444NM5< E?<E>5 �>?O 7=4G5=<= (Value Fields) NAME. 

¥ -5?>=<F5 �>546<FL 7=4G5=<O (Add Values) (=5 �>546<FL 6E5 (Add All Values)). 

� 4<4?>7>6>< >>=5 �>546<FL 7=4G5=<O (Add Values) >F>5D464NFEO 6E5 >><5<=4F<< 7=4-
G5=<= 46GE 6O5D4==OE ?>?5=. � >464>= 74?<E< E=4G4?4 <45F 7=4G5=<5 <7 CAPITAL, ?>F>< 7=4-
G5=<5 <7 NAME. 

 

� =4L5< E?GG45 64< <=F5D5E=O E<<6>?O F>?L>> 4?O EF>?<F. 
¥ � >>=5 ?D>>DGF>< ?D>?GEF<F5 6E5 N, ?>>4 6O =5 4>=45F5 4> Y. 

¥ -5?>=<F5 =4 Y, Charlottetown, GF>5O 6O45?<FL. 
¥ �D>>DGF<F5 6=<7 E?<E>4. 
¥ '45D6<64O >?46<LG Shift, M5?>=<F5 =4 Y, Yellowknife. 

¥ �D>>DGF<F5 <54?5==> 665DE, GF>5O G554<FLEO, GF> 6O45?5=O 6E5 EF>?<FO, ?D<G5< 
F>?L>> EF>?<FO. 

-5?>=<F5 ��. 
� E?<E>5 E<<6>?>6 ?>O6<?<EL F>?L>> 6O5D4==O5 7=4G5=<O. 
�464>= ?4D5 7=4G5=<= ?D<E6>5= G=<>4?L=O= F65F 6 E>>F65FEF6<< E F5>GM5= F65F>6>= 

EE5<>=. �O =4 65DE=5< ?GF<, => ?>>4 =5 ?>?GG<?< 65?45<O= D57G?LF4F. �O E>F<F5, GF>5O 6E5 
EF>?<FO ?D>6<=F<= < F5DD<F>D<= 5O?< E7DG??<D>64=O < >FD<E>64=O >4=<< E<<6>?><, 4 G EF>-
?<FO 7>EG44DEF64 (�FF46O) 5O? E6>= E<<6>?. 
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¥ � EF>?5F5 �=4G5=<5 (Value) M5?>=<F5 Y, Ottawa, GF>5O 6O45?<FL 55. 
¥ -5?>=<F5 =4 EFD5?>5 665DE 6 ?D46>= G4EF< 4<4?>7>6>7> >>=4, GF>5O ?5D5<5EF<FL 

�FF46G 665DE E?<E>4 (EFD5?>4 EF4=5F =54>EFG?=>=, >>744 6O 4>EF<7=5F5 65DE4).  
&5?5DL 6O E7DG??<D>64?< EF>?<FO F5DD<F>D<= < ?D>6<=F<= < ?D<E6><F5 << E<<6>?. 
¥ � EF>?5F5 �=4G5=<5 (Value) M5?>=<F5 Y,Charlottetown, GF>5O 6O45?<FL MF>F 7>D>4. 

�D>>DGF<F5 6=<7 E?<E>4. '45D6<64O >?46<LG Shift, M5?>=<F5 Y,Yellowknife. 

¥ �D>>DGF<F5 665DE < G554<F5EL, GF> 6E5 7=4G5=<O, 74 <E>?NG5=<5< Y, Ottawa, 6O45-
?5=O. 

¥ -5?>=<F5 ?D46>= >=>?>>= =4 ?N5>= 6O45?5==>= 74?<E<  < 6O55D<F5 �DG??<D>64FL 
7=4G5=<O. 

¥ �6464O M5?>=<F5 =4 E<<6>?5 4?O 7=4G5=<O Y, Charlottetown < F4. � >>=5 �O5>D 
E<<6>?4 (Symbol Selector) E45?4=F5 E<<6>? Star 3 , Poinsettia Red (EFD>>4 4, EF>?55F 2), 14 F>G5>. 
-5?>=<F5 ��. 

¥ �6464O M5?>=<F5 =4 E<<6>?5 4?O 7=4G5=<O Y, Ottawa. 'EF4=>6<F5 4?O =57> E<<6>? 
Star 3, Lapis.  

Lazuli (EFD>>4 4, EF>?55F 10), 18 F>G5>. -5?>=<F5 ��. 
¥ � EF>?5F5 �>4?<EL (Label) <7<5=<F5 ?>4?<EL Y, Ottawa =4 %F>?<F4 7>EG44DEF64. 

�7<5=<F5 ?>4?<E< Y, Charlottetown; < F.4. =4 %F>?<FO �D>6<=F<=. 
¥ '44?<F5 747>?>6>< CAPITAL, NAME. 

¥ � EF>?5F5 %<<6>? (Symbol) >F>?NG<F5 D?46>> <6E5 4DG7<5 7=4G5=<O>(<all other 

values>). 

�>?D>E 1: �E?< D?46>> <6E5 4DG7<5 7=4G5=<O >(<all other values>) >EF4=5FEO 6>?NG5=-
=O<, >4><5 5M5 7>D>44 5G4GF >F>5D464FLEO =4 >4DF5? 

_______________________________________________________________ 

¥ -5?>=<F5 �� 6 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties).  

�4DF4 < F45?<F4 E>45D64=<O >FD464NF =45>D E<<6>?>6, >>F>DO= 6O ?D<E6><?<. 
¥ �4 ?4=5?< <=EFDG<5=F>6 %F4=44DF=O5 (Standard) M5?>=<F5 =4 >=>?>5 %>ED4=<FL 

(Save). 

¥ �4>D>=F5 ArcMap. 

  

�4>?NG5=<5 

�>744 ?>?<7>=4?L=O< >5N5>F4< ?D<E64<64NFEO E<<6>?O ?> >4F57>D<O< =4 >E=>65 4FD<-
5GF>6, >=< >5OG=> >F?<G4NFEO ?> F65FG. � ArcMap 5EFL =5E>>?L>> G65 7>F>6OE F65F>6OE EE5<. 
�O <>65F5 <7<5=<FL F65F>6GN EE5<G 6 F5?>< <?< >F45?L=O= F65F, ?D<E6>5==O= >5N5>FG, >4> 
?>65?45F5. 

�>744 F>G5G=O< >5N5>F4< ?D<E64<64NFEO E<<6>?O ?> >4F57>D<O< =4 >E=>65 4FD<5GF4, 
>=< <>7GF >F?<G4FLEO D47=O<< 7=4G>4<<, D47<5D4<< 7=4G>>6, F65F>< <?< >4><<-F> >><5<=4F<O< 
6E5E FD5E ?4D4<5FD>6. �O <>65F5 <7<5=<FL ?D<E6>5==O5 >5N5>F4< E<<6>?O-<4D>5DO < F65F4 6 
?N5>= <><5=F. 

� F45?<F5 E>45D64=<O ?>>474=O E<<6>?O, ?D<E6>5==O5 >464><G G=<>4?L=><G 7=4G5=<N 
4FD<5GF4. �O <>65F5 <7<5=<FL ?>DO4>>, 6 >>F>D>< 7=4G5=<O ?5D5G<E?5=O 6 F45?<F5 E>45D64=<O, 
4 F4> 65 < >?<E4=<O 7=4G5=<=. 

�5F =5>5E>4<<>EF<, 4 <=>744 MF> < =565?4F5?L=> E<<6>? >464><G 7=4G5=<N 4FD<5GF4. 
�E?< 6O D5L<?< =5 ?D<E64<64FL E<<6>? >F45?L=><G 7=4G5=<N, >5N5>FO E F4><< 7=4G5=<-

5< =5 5G4GF >F>5D464FLEO =4 >4DF5. 
%<<6>?O >4F57>D<= >5OG=> <E?>?L7GNF >4<= 4FD<5GF => F4>65 <>7GF 5OFL >E=>64=O =4 

46GE <?< 4465 FD5E ?>?OE. �E?< E<<6>? <E?>?L7G5F =5E>>?L>> 4FD<5GF>6, ?> >F45?L=><G E<<6>?G 
?D<E64<645FEO >464>= G=<>4?L=>= >><5<=4F<< 4FD<5GF>6. 
 

�45>D4F>D=4O D45>F4 7 5 
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'EF4=>6>4 >4DF>7D4D<G5E><E E6>=EF6 (?4D4<5FDO ?D>5>F<<, >>>D4<=4F=4O ?D<6O7>4 
< FD4=ED>D<<D>64=<5) 

1�4?GEF<F5 ArcMap < ?5D5=4<F5 6 >4F4?>7 \Student\DESK1\Exercise07 

2. Yellowstone_NP_07.mxd 

3. �>546LF5 44==O5 \Student\DESK1\Database/ �6464O M5?>=<F5 =4 5475 75>44==OE 
Yellowstone_07 4?O ?D>E<>FD4 55 E>45D64=<O. -5?>=<F5 =4 Quadmt_Elev � �>546<FL 

4. �5D5<5EF<F5 E?>= Quadmt_Elev 6OL5 E?>O �D4=<FO ?4D>4. (�5D4F<F5 6=<<4=<5, GF> E?>= D5-
?L5D4 ?>O6<?EO 6 6<45 G5D=>-55?>7> ?DO<>G7>?L=<>4 6 E565D>-74?44=>= G4EF< ?4D>4) 
5. �4=4<F5 6 F45?<F5 E>45D64=<O >F65F =4 E?54GNM<= 6>?D>E: �4>>6> =4<<5=LL55 < =4<5>?LL55 
7=4G5=<5 6OE>F 6 D4EFD>6>< E?>5? 

6. �F>D>=F5 4?O D4EFD>6>7> E?>O %6>=EF64 E?>O � �5M<5- ??><5=O=F5 <<O E?>O =4 $��,�$ 
��''����� ����%&�. � �D<<5=<FL. 
7. �F>D>=F5 74>?44>G %<<6>?O. � F5=FD5 4<4?>7>6>7> >>=4 ?> G<>?G4=<N 6O5D4=4 G5D=>-55?4O 
F65F>64O L>4?4. &65F4 ?> <5D5 G65?<G5=<O 6OE>FO ?>EF5?5==> <7<5=ONFEO >F G5D=>7> > 55?><G. 
� ?56>= G4EF< 4<4?>7>6>7> >>=4 6O5D4= <5F>4 $4EFO6>4. -F>4 <5F>4 4>EFG?=O= F>?L>> 4?O D4EF-
D>6 < E>7445F ??46=O= ?5D5E>4 >F >4=>7> F65F4 > 4DG7><G 

8. -5?>=<F5 ��� =4 E4<>= F65F>6>= L>4?5 < M5?>=<F5 =4 E?>65 7D4D<>4, GF>5O >F>?NG<FL 
>F>5D465=<5 7D4D<><. �O 6<4<F5 =4764=<5 F5>GM5= F65F>6>= L>4?O � 6O55D<F5 L>4?G 
Elevation#1. 

�G45F ?D<<5=5=4 =>64O F65F>64O L>4?4. �=4G5=<O 6OE>F >F>5D464NFEO ?5D5E>4>< >F 7>-
?G5>7> F65F4(=4<<5=LL57> 7=4G5=<O) > 65?F><G, 75?5=><G, >D4E=><G, >>D<G=56><G, E5D><G < 
7465DL45FEO 55?O<(=4<5>?LL<5 7=4G5=<O) 

11.1�?D545?5=<5 7=4G5=<= 6OE>F. 
1. �F>D>=F5 74>?44>G �7GG45<4O >5?4EFL. 
� F45?<F5 E>45D64=<O >F>?NG<F5 E?>< (�E=>6=O5 4>D>7<, >E=>6=O5 D5><, >E=>6=O5 >75D4). 
�>?NG<F5 E?>< (G44?5==O5 <5EF4 4?O EF>O=><, FD>?O, 4>D>7< ?>4D>5=>, D5>< ?>4D>5=>, >75D4 
?>4D>5=>) 
2. -5?>=<F5 <=EFDG<5=F �45=F<D<F<D>64FL � 6O55D<F5 $5?L5D <7GG45<>= >5?4EF< � >?D545?<F5 
=4 >4DF5 =5>>F>DO5 <5EF>?>?>65=<O 6 ?D545?4E M>EF5=F4 D4EFD>6>7> E?>O. �?O <5EF, 745 6O M5?-
>45F5 6O 6<4<F5 7=4G5=<O 6OE>F. 

11.2. �>546?5=<5 D4EFD4 4MD>D>F>E=<<>4. 
1. �>546LF5 D>F>7D4D<N Quadmt_photo <7 547O 75>44==OE Yellowstone_07 

2. '4>EF>65DLF5EL, GF> =>6O= E?>= ?>O6<?EO 6 F45?<F5 E>45D64=<O ED47G =44 E?>5< 6OE>F < GF> 
>= >F>5D465= 6 >5?4EF< >F>5D465=<O >4DFO. �E?< MF> =5 F4>, ?5D5F4M<F5 57> 6 ?D46<?L=GN ?>7<-
F<N. 
3. '554<F5EL, GF> <<O E?>O Quadmt_photo ?>4E65G5=> 6 F45?<F5 E>45D64=<O. �E?< =5F, M5?>=<F5 
=4 =5< >4<= D47 4?O 57> ?>4E65G<64=<O. 
4. �5D5<<5=G=F5 E?>= =4 %����� ��''����� ����%&�. 

11.3. �?D545?5=<5 6OE>F G44?5==OE >5<?<=7>6. 
�5?4EFL <EE?54>64=<O 6>?NG45F 6 E55O E5<L G44?5==OE ??>M44>> 4?O EF>O=><(<4?5=L><5 F>G>< 
EF>O=>> D4E?>?>65=O =4 >>=F4E >F65F6?5=<= 7>D=OE FD>?). � MF>< L475 6O <E?>?L7G5F5 E?>= $5-
?L5D <7GG45<>= >5?4EF< 4?O ?><E>4 6OE>F MF<E ??>M44>>. �MD>D>F>E=<<>> ?>E?G6<F E>D>L<< 
D>=>< 4?O 64L<E 65>F>D=OE 44==OE. 

�F>D>=F5 F45?<FG 4FD<5GF>6 4?O E?>O '44?5==O5 

�45>D4F>D=4O D45>F4 76 

 

%>744=<5 < 6<7G4?<74F<O >4DF>7D4D<G5E><E F<DD>6OE <>45?5= 75>?>?5=: <7>?<=<<, ?>-
E?>==4O >>D4E>4, FD5E<5D=O5 4<47D4<<O, 4=4?<F<G5E>4O >F<O6>4 6 Eazy Trace. Eazy 

Trace 

%>744=<5 >><?>=>6>< >4DFO. 
1. �4?GEF<F5 ArcMap  

2. �4G4FL D45>FG E EGM5EF6GNM5= >4DF>= < ?D5=4<F5 6 >4F4?>7 \Student\DESK1\Exercize05  
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3. �F>D>=F5 Election_Map.mxd 

4. �O55D<F5 74>?44>G �%� %��������/� ,&�&/. 
5.1. $45>F4 E DD5=<4<< 44==OE �464=< < �?OE>4. 

� MF>= D45>F5 6O 4>546<F5 44==O5 6> DD5=<O 44==OE �464=< < �?OE>4 < <7<5=<F5 6<4 4?O >F>5-
D465=<O <E 6 D47=OE M>EF5=F4E. 

1. �O45?<F5 2 E?>O ,F4FO < $57G?LF4FO 6O5>D>6 . 
2. %>>?<DG=F5 6O45?5==O5 E?>< 6> DD5=< 44==OE �464=< 

3. �=4?>7<G=> 6EF46LF5 E?>< 6> DD5=< 44==OE �?OE>4. 
4. �>F<6<7<DG=F5 DD5=< 44==OE �464=< (���  =4 DD5=<5 44==OE � �>F<6<7<D>64FL) 
5. �4 ?4=5?< <=EFDG<5=F>6 M5?>=<F5 =4 <=EFDG<5=F5 '65?<G<FL < ?D<5?<7LF5EL > LF4FG �4-

64=<. 
6. �D>E<>FD<F5 ?>4D>5=> 4=4?>7<G=> LF4F �464=< < �?OE>G. 

 

5.2. %D46=5=<5 6<44 44==OE < 6<44 >><?>=>6><. 
����%�&, � &�&$��,!!! 

�O E>F<F5, GF>5O >4DFG <>7?< <E?>?L7>64FL 4DG7<5 ?N4<, ?>MF><G =G6=> E>ED4=<FL >4DFG 
6 7D4D<G5E>>< D>D<4F5, GF>5O 55 <>6=> 5O?> >F?D46<FL ?> M?5>FD>==>= ?>GF5 <?< 4>54-
6<FL 6 >FG5F. �O ?D>45?45F5 MF>, E>7446 >><?>=>6>G >4DFO 6 6<45 >><?>=>6><. � 44==>< 
L475 6O >7=4>><<F5EL E �<4>< >><?>=>6>< < G6<4<F5 57> >F?<G<O >F �<44 44==OE. � 6<45 
>><?>=>6>< <>6=> E>74464FL 4?O >4DFO >><?>=>6>G < 4>546?OFL F4><5 M?5<5=FO >4DFO, 
>4> EFD5?>4 E565D4, ?575=44 < =4764=<5. � 6<45 >><?>=>6>< 6E5 DD5=<O 44==OE <7 F45?<-
FO E>45D64=<O >5N54<=5=O 6 >4=>= >><?>=>6>5. �4?D<<5D, 5E?< 6 F45?<F5 E>45D64=<O 
>4<= DD5=< 44==OE, F> 6 >><?>=>6>5 5G45F >4=4 >4DF4; 5E?< 6 F45?<F5 E>45D64=<O FD< 
DD5=<4 44==OE, F> 6 >><?>=>6>5 5G45F FD< >4DFO 

1. -5?>=<F5 =4 >=>?>5 �<4 >><?>=>6>< 4?O ?5D5>?NG5=<O 6 �<4 >><?>=>6><. 
�<4 >><?>=>6>< >F?<G45FEO >F �<44 44==OE. �D< MF>< =4 M>D4=5 ?>O6?O5FEO 4 D4<><. 
�4<5>?LL4O <7 =<E � 6<DFG4?L=4O EFD4=<F4, =4 >>F>D>= 6O E>7445F5 >><?>=>6>G. �O6>-
4<FLEO =4 ?5G4FL 5G4GF F>?L>> M?5<5=FO, =4E>4OM<5EO 6=GFD< 6<DFG4?L=>= EFD4=<FO. 
�EF4?L=O5 FD< D4<>< E>45D64F DD5=<O 44==OE � 6 =4L5< E?GG45 �>=F<=5=F4?L=O5 %,�, 
�464=< < �?OE>4. 

5.3. $45>F4 6 6<45 >><?>=>6><. 
1. -5?>=<F5 =4 DD5=<5  44==OE �?OE>4 6 >5?4EF< >F>5D465=<O >4DFO, GF>5O 57> 6O5D4FL < ?5-
D5<5EF<F5 57> 6 ?D46O= 65DE=<= G7>? 6<DFG4?L=>= EFD4=<FO. 
2. �5D5<5EF<F5 DD5=< 44==OE �464=< 6 ?56O= =<6=<= G7>? 6<DFG4?L=>= EFD4=<FO. 
3. -5?>=<F5 =4 DD5=<5 44==OE �>=F<=5=F4?L=O5 %,� 6 >5?4EF< >F>5D465=<O >4DFO 

4. �?O G65?<G5=<O DD5=<4 44==OE M5?>=<F5 =4 5<DN7>6>< >644D4F<>5 6 >4=>< <7 G7?>6 < ?5D5-
F4M<F5 57>. 
5. �4 ?4=5?< <=EFDG<5=F>6 M5?>=<F5 =4 >=>?>5 �>?=O= M>EF5=F 4?O >F>5D465=<O 6E5E >5N5>-
F>6 DD5=<4 44==OE �>=F<=5=F4?L=O5 %,� 

�E?>?L7GO <=EFDG<5=F '65?<G<FL =4 ?4=5?< <=EFDG<5=F>6 ?D<5?<7LF5EL > >>=F<=5=F4?L=O< 
LF4F4<. 
6.�D<5?<7LF5EL > LF4FG �LN-�>D> 

7. �5D5<5EF<F5EL =4 74?44 > >5?4EF< �5?<><E >75D. 
8. �5D=<F5EL =4744 > M>EF5=FG >>=F<=5=F4?L=OE  LF4F>6. 
9. � ?4=5?< <=EFDG<5=FO M5?>=<F5 =4 <=EFDG<5=F5 �O5D4FL M?5<5=FO. 
10. �7<5=<F5 D47<5DO < ?5D5<5EF<F5 DD5=<O 44==OE F4><< >5D47><, GF>5O >=< D47<5EF<?<EL =4 
6<DFG4?L=>= EFD4=<F5. 

 

5.4. �>546?5=<5 M?5<5=F>6 >4DFO 6 >><?>=>6>G >4DFO 

1. �EF46>4 � %FD5?>4 E565D4 � ?><5EF<F5 6 G7>? =4 6<DFG4?L=>= EFD4=<F5 

2. �EF46>4 � �47>?>6>> � 6654<F5 $57G?LF4FO 6O5>D>6 �D57<45=F4 2004 7>44. 
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3. �EF46>4 � �575=44 (� <4EF5D5 ?575=4O 6O <>65F5 E>744FL ?575=4G, G>47O64O E?>< E>45D6<<>7> 
>4DFO) 
4. -5?>=<F5 �4?55 � ?>>4 =5 4>=45F5 4> ?>E?54=5= ?4=5?< 6 �4EF5D5 ?575=4O � �>F>6>. 
5. �5D546<=LF5 ?575=4G 6 G7>? >4DFO 

 

5.5. �D<<5=5=<5 L45?>=4 > >><?>=>6>5 >4DFO. 
1. �4 ?4=5?< �><?>=>6>4 6O55D<F5 <=EFDG<5=F �7<5=<FL >><?>=>6>G 

2. �O55D<F5 74>?44>G �5M<5 � ?5D5=4<F5 6 >4F4?>7 \Student\DESK1\Exercise05. 

3. �O55D<F5 L45?>= LandscapeClassic3DataFrames.mxt M5?>=<F5 =4 �464=< < =46<<F5 �65DE 6=<-
7G 4<4?>7>6>7> >>=4. 
4. -5?>=<F5 =4 �?OE>4 < M5?>=<F5 �65DE. �>=F<=5=F4?L=O5 LF4FO 4>?6=O F5?5DL 5OFL DO4>< E 
=><5D>< 3. 
5. �>F>6>. �O5D4==O= 64<< L45?>= ?D<<5=5= > >><?>=>6>5. &5?5DL >><?>=>6>4 E>45D6<F >4DFG 
E =5E>>?L><<< M?5<5=F4<< >4DFO, 6>?NG4O ?575=4G, 747>?>6>>, FD< <4ELF45=OE ?<=5=><. 
6. �4 ?4=5?< �><?>=>6>4 6O55D<F5 >=>?>G '65?<G<FL (MF>F <=EFDG<5=F G65?<G<FL E ?4=5?< >><-
?>=>6>4 >F?<G45FEO >F 4=4?>7<G=>7> =4 ?4=5?< �=EFDG<5=FO. �= G65?<G<645F 6<DFG4?L=GN 
EFD4=<FG, =4 >>F>D>= D4E?>?>65=4 >><?>=>6>4, 4 <=EFDG<5=F '65?<G<FL ?4=5?< �=EFDG<5=FO, 
G65?<G<645F >5N5>FO 6> DD5=<5 44==OE) 
7. �D<5?<7LF5EL > ?575=45 =4 >><?>=>6>5. 
8. �4 ?4=5?< �=EFDG<5=FO � 6O55D<F5 <=EFDG<5=F �O5D4FL M?5<5=FO � M5?>=<F5 =4 ?575=45. 
9. �5D5<5EF<F5 < <7<5=<F5 D47<5DO ?575=4O F4><< >5D47><, GF>5O >=4 =4E>4<?4EL 6 ?D545?4E 
?56>= EF>D>=O >>D<G=56>= D4<><. 
 

5.6. %>ED4=5=<5 < M>E?>DF >><?>=>6>< >4DFO. 
1.$4=? � �4D4<5FDO EFD4=<FO ?><5=O=F5 >D<5=F4F<N =4 �?L5><=GN 

2. %>ED4=<F5 4>>G<5=F \Student\DESK1\Exercise05 >4> My_Election_Map.mxd 

3. $4=? � ->E?>DF >4DFO � ?5D5=4<F5 6 >4F>?>7 \Student\DESK1\Exercise05 � GEF4=>6<F5 F<? D4=-
?4 >4> JPEG/ 

4. �D<<<F5 >EF4?L=O5 GEF4=>6>< ?> G<>?G4=<N � %>ED4=<FL 

5. &5?5DL <>6=> >F?D46<FL MF>F D4=? ?> M?5>FD>==>= ?>GF5. 
 

 

�D4>F<G5E>4O D45>F4 77 

�7GG5=<5 <=EFDG<5=F4?L=>= ��% (ArcGIS). %?>E>5O >F>5D465=<O >4DF>7D4D<G5E><E 
44==OE. $>D<4FO ?D>EFD4=EF65==OE 44==OE. $57<EFD4F<O <7>5D465=<=. �D>5>F<D>64=<5 

44==OE. %>744=<5 &��. 

 

1. �4?GEF<F5 ArcMap � 6O55D<F5 >?F<N E EGM5EF6GNM5= >4DF>= 

2. �5D5=4<F5 6 >4F4?>7 \Student\DESK1\Exercise05/Yellowstone_NP_05.mxd 

3. �5D5=4<F5 > ?>?=><G M>EF5=FG 44==OE 

6.1. �F>5D465=<5 E?>56. 
1. �F>5D47<F5 >5N5>FO E?>O �5DL<=O, >E=>6O64OEL =4 <E 6OE>F5 � GF>5O D47<5D >464>7> E<<6>-
?4 E>>F65FEF6>64? 6OE>F5 ?>>474==>= 7>DO. �7<5=<F5 4<4?47>= D47<5D>6 E<<6>?4 E 4-18 =4 7-21. 

2. �F>5D47<F5 >5N5>FO E?>O �5E=4O 7>=4, >E=>6O64OEL =4 <<5=<. 
3. �F>5D47<F5 6E5 >EF4?L=O5 E?>< ?>4E>4OM<<< 4?O =<E E<<6>?4<< (=4?D<<5D >5N5>FO 4>D>7< � 

F>=>>= G5D=>= ?<=<5=, <E?>?L7GO 54<=O= E<<6>?. 
6.2. �44?<EO64=<5 >5N5>F>6. 

1. �44?<L<F5 >5N5>FO E?>O �5DL<=O < �5E=4O 7>=4 ?> <<5=<. 
6.3. %>744=<5 >><?>=>6>< >4DFO. 

1. �5D5>?NG<F5EL =4 �<4 >><?>=>6><. 
2. �E?>?L7GO <=EFDG<5=F �7<5=<FL >><?>=>6>G =4 ?4=5?< �><?>=>6>4 ?D<<5=<F5 L45?>= Land-

scapeClassic.mxt =4 74>?44>5 �5M<5. 
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3. �FD544>F<DG=F5 747>?>6>> < F5>EF>6>5 ?>?5 4?O E>>F65FEF6<O E 7465DL5==>= >><?4=>6>>= >4D-
FO 

4. �D74=<7G=F5 DD5=<O 44==OE < M?5<5=FO >4DFO =4 6<DFG4?L=>= EFD4=<F5 =4 64L 6>GE. 
6.4. 'EF4=>6>4 ?4D4<5FD>6 EFD4=<FO. 

1.�D<<5=<F5 F5 65 ?4D4<5FDO EFD4=<FO, GF> < 6 ?D54O4GM5< G?D46=5=<<. 
2. %>ED4=<F5 4>>G<5=F >4DFO 6 64L5< >4F4?>75 Student\DESK1\Exercise05/ ?>4 =4764=<5< 
My_YNP_Layout.mxd 

3. ->E?>DF<DG=F5 64LG >4DFG 6 7D4D<G5E><= D4=? JPEG. 

�D4>F<G5E>4O D45>F4 78 

 

�E>55==>EF< ��%-4=4?<74 6 ArcGIS. &D4=ED>D<4F<O 65>F>D=OE 44==OE 

�>D>44 >5OG=> ?>>474=O >DG6>G>4<< =4 <5?>><4ELF45=OE >4DF4E. �>D>44 � EF>?<FO =4 
64L5= >4DF5 E5=G4E ?D54EF46?5=O 6 6<45 76574. &4> >4> 64< <>65F ?>=44>5<FLEO 4>546<FL 4DG7<5 
7>D>44 =4 >4DFG < ?>>474FL <E >DG6>G>4<<, 6>7<>6=>, 5G45F =5??>E> E45?4FL E>>F65FEF6GNM<= 
E<<6>? 4?O EF>?<F. � MF>< G?D46=5=<< 6O 74<5=<F5 F5>GM<= E<<6>? 76574>G>G � 76574>=, 6?<-
E4==>= 6 >DG7. 

� MF>< G?D46=5=<< 6O: 
÷ �>546<F5 EF<?L <7 >>=4 �O5>D E<<6>?4 (Symbol Selector). 

÷ �E?>?L7G5F5 �5=5465D EF<?5= (Style Manager), GF>5O <7GG<FL E>45D64=<5 D4=?4 
EF<?O. 

÷ �FD544>F<DG5F5 E<<6>? 6 $544>F>D5 E6>=EF6 E<<6>?4 (Symbol Property Editor). 

÷ %>7444<F5 E<<6>? <7 E<<6>?4 LD<DF4. 
÷ %>ED4=<F5 E<<6>? 6 64L ?5DE>=4?L=O= D4=? EF<?O. 
÷ %>7444<F5 D4=? EF<?O. 
÷ �5D5<5EF<F5 E<<6>?O <7 >4=>7> D4=?4 EF<?O 6 4DG7>=. 
÷ �>?>?=<F5?L=>, >FD544>F<DG5F5 E>EF46=>= E<<6>?. 
 

�4?GEF<F5 ArcMap < >F>D>=F5 CanadaCapitals.mxd <7 ?4?>< \Student\DESK2\Exercise04. 

 

�>546?5=<5 EF<?O 

� MF>< L475 4>546<F5 EF<?L, GF>5O E45?4FL 4>EFG?=O<< 4>?>?=<F5?L=O5 E<<6>?O. 
¥ � F45?<F5 E>45D64=<O M5?>=<F5 =4 >D4E=>< E<<6>?5 76574O 4?O %F>?<F ?D>6<=-

F<=. 
¥ � >>=5 �O5>D E<<6>?4 (Symbol Selector) ?D>>DGF<F5 65EL E?<E>> E<<6>?>6 < ?>?O-

F4=F5EL =4=F< 76574G, 6?<E4==GN 6 >DG7 � =>  =5 <M<F5 E?<L>>< GE5D4=> , ?>F><G GF> F4< <E 6E5 
D46=> =5F (Star5 < Star6- MF> 76574O 6 >DG6>G>4E, => 64< =G65= E<<6>?, 6 >>F>D>< 765744 >4E45FEO 
>DG74). 

¥ -5?>=<F5 �DG7<5 E<<6>?O (More Symbols). 

�O G6<4<F5 E?<E>> ?D54>?D545?5==OE EF<?5=, >>F>DO5 ?>EF46?ONFEO 6<5EF5 E ArcGIS. 

�64 6>?NG5=O ?> G<>?G4=<N: EF<?L ESRI < 64L ?5DE>=4?L=O= EF<?L. %<<6>?O, >>F>DO5 6O 6<-
45?< 6 >>=5 �O5>D E<<6>?4 (Symbol Selector), >F=>EOFEO > EF<?N ESRI. 

�D<<5G4=<5: �4L ?5DE>=4?L=O= EF<?L =4764= ?> F><G <<5=<, ?>4 >>F>DO< 6O 6E>4<?< 
?D< 6>?NG5=<< >><?LNF5D4 (6 MF>< >GDE5 MF> E>>D55 6E57> <Student=). �4L ?5DE>=4?L=O= EF<?L 
6E5744 ?D<EGFEF6G5F, => >= ?GEF, ?>>4 6O =5 E>ED4=<F5 FG44 >4><5-=<5G4L E<<6>?O. 

¥ �5D5<5EF<F5 G>474F5?L <OL< =4 EF<?L Civic, GF>5O 6O45?<FL 57>, 74F5< M5?>=<F5 
=4 =5<, GF>5O 6>?NG<FL 57>. 

¥ �D>>DGF<F5 E=>64 E?<E>> E<<6>?>6 6 >>=5 �O5>D E<<6>?4 (Symbol Selector). 

%5=G4E 6 E?<E>5 =4<=>7> 5>?LL5 E<<6>?>6, ?>F><G GF> =>6O= =45>D E<<6>?>6, <7 EF<?O 
Civic, 5O? 4>546?5= ?>E?5 E<<6>?>6 EF<?O ESRI. � E>64?5=<N, 6 EF<?5 Civic F>65 =5F 65?45<>7> 
E<<6>?4. 

¥ -5?>=<F5 =4 F65F=>< >644D4F<>5, GF>5O >F>DOFL F65F>6GN ?4?<FDG. 
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�>6O= =45>D F65F>6, F4>65 O6?ONM<=EO G4EFLN EF<?O Civic, 4>546?5= ?>4 F65F4<< EF<?O 
ESRI. %F<?L <>65F E>45D64FL E<<6>?O, F65F4 < <=>7> 4DG7>7>, >4> 6O G6<4<F5 ?>765. 

¥ -5?>=<F5 =4 =5=FD4?L=>< ?>?5, =4?D<<5D =4 747>?>6>5 >>=4 �O5>D E<<6>?4 (Sym-

bol Selector), GF>5O 74>DOFL F65F>6GN ?4?<FDG. 
¥ -5?>=<F5 �F<5=4 (Cancel) 6 >>=5 �O5>D E<<6>?4 (Symbol Selector). 

 

�7GG5=<5 <5=5465D4 EF<?5= 

 

� MF>< L475 6O >F>D>5F5 �5=5465D EF<?5= (Style Manager), 4<4?>7>6>5 >>=> 4?O ?D>-
E<>FD4, >>?<D>64=<O, E>744=<O < G?D46?5=<O M?5<5=F4<< EF<?O. 

¥ � <5=N �=EFDG<5=FO (Tools), G>46<F5 %F<?< (Styles) < M5?>=<F5 �5=5465D EF<?5= 
(Style Manager). 

� ?56>= G4EF< >>=4 FD< ?4?><, >>F>DO5 ?D54EF46?ONF E>5>= ?D< 747DG65==OE E5=G4E 
EF<?O (6 =4764=<< 64L57> ?5DE>=4?L=>7> EF<?O 5EFL ?GFL; MF>F EF<?L ED4=<FEO 6 <5EF5, >F?<G=>< 
>F >EF4?L=OE EF<?5=). 

 
 

¥ -5?>=<F5 =4 ??NE<>5 DO4>< E ?4?>>= EF<?O ESRI, GF>5O D4E>DOFL 57>. 
�4644O ?4?>4 E>45D6<F E6>= F<? M?5<5=F4 EF<?O. �5?O5 ?4?>< ?GEFO5. 
¥ � ?56>= G4EF< M5?>=<F5 =4 ?4?>5 %<<6>?O <4D>5D>6 (Marker Symbols). 

�O 6<4<F5 F4><5 65 E<<6>?O <4D>5D>6, >4> < 6 >>=5 �O5>D E<<6>?4 (Symbol Selector). 

¥ -5?>=<F5 =4 >464>= <7 FD5E >=>?>> 6 ?D46>< =<6=5< G7?G �5=5465D4 EF<?5= 
(Style Manager), GF>5O <7<5=<FL 6<4 >F>5D465=<O M?5<5=F>6 EF<?O. 

�>7<>6=>, 64< ?>>465FEO G4>5=55 ?D>E<4FD<64FL M?5<5=FO EF<?O 6 �5=5465D5 EF<?5= 
(Style Manager), 4 =5 6 >>=5 �O5>D E<<6>?4 (Symbol Selector). 

¥ -5?>=<F5 =4 >4><E-=<5G4L 4DG7<E ?4?>4E 6 EF<?5 ESRI, GF>5O ?D>E<>FD5FL <E E>-
45D6<<>5.  

¥ -5?>=<F5 %F<?< (Styles) 6 ?D46>< 65DE=5< G7?G. 
�O ?>?GG<F5 F>F 65 E4<O= E?<E>> EF<?5=, >>F>DO= 6O 6<45?< 6 >>=5 �O5>D E<<6>?4 

(Symbol Selector). 

¥ �F>?NG<F5 EF<?L Civic. 

¥ -5?>=<F5 �4>DOFL (Close). 

 

�7GG5=<5 $544>F>D4 E6>=EF6 E<<6>?4 

� MF>< L475 6O >F>D>5F5 $544>F>D E6>=EF6 E<<6>?4 (Symbol Property Editor), <=F5DD5=E 
ArcMap 4?O D544>F<D>64=<O E<<6>?4 < ?>?GG5=<O 4>EFG?4 > E<<6>?4< 6 64L<E E<EF5<=OE LD<D-
F4E. �N5>= LD<DF, GEF4=>6?5==O= =4 64L5< >><?LNF5D5, <>65F <E?>?L7>64FLEO >4> <EF>G=<> 
E<<6>?>6. 

¥ � F45?<F5 E>45D64=<O ?>4 �DG?=O5 7>D>44 M5?>=<F5 =4 E<<6>?5 %F>?<FO ?D>6<=-
F<=, GF>5O >F>DOFL >>=> �O5>D E<<6>?4 (Symbol Selector). 

¥ -5?>=<F5 %6>=EF64 (Properties), GF>5O >F>DOFL $544>F>D E6>=EF6 E<<6>?4 (Symbol 

Property Editor). 

�5?4EFL %?>< (Layers) 6 ?56>< =<6=5< G7?G ?>>47O645F, GF> E<<6>? O6?O5FEO E>EF46=O< 
<7 46GE E?>56 E<<6>?4: ?GEF4O 765744 E G5D=O< >>=FGD>< < >D4E=4O 765744 557 >>=FGD4. �5DE=<= 
E?>= (>>=FGD 76574O) E5=G4E 6O5D4=. �= >>DG65= F>=><< G5D=O< ?DO<>G7>?L=<>>< < >>D4L5= 
7>?G5O< ?> >D4O< (746<E<F >F =4EFD>5> >><?LNF5D4, 6 44==>< E?GG45< =5 7>?G5O<, 4 E5DO<). 

� E5D54<=5 4<4?>7>6>7> >>=4 6O45?5= E<<6>? LD<DF4, >>F>DO= <E?>?L7G5FEO 4?O >>=FG-
D4 76574O. 

-F>F E<<6>? � G4EFL LD<DF4 ESRI  Default Marker. 
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¥ � >5?4EF< %?>< (Layers) M5?>=<F5 =4 >=>?>5 '44?<FL (Delete), GF>5O G44?<FL E?>= 
E G5D=O< >>=FGD>< 76574O. 

� E?<E>5 E?>56 >EF4?4EL F>?L>> >D4E=4O 765744. -F>F E?>= E<<6>?4 F4>65 EEO?45FEO =4 
E<<6>? <7 LD<DF4 ESRI Default Markers (E<<6>? E?564 >F >>=FGD4 76574O). 

¥ -5?>=<F5 =4 EFD5?>5 =<E?444NM57> E?<E>4 ,D<DF (Font), GF>5O >F>5D47<FL E?<-
E>> 6E5E LD<DF>6, GEF4=>6?5==OE 6 64L5= >?5D4F<>==>= E<EF5<5. �D>>DGF<F5 665DE < 6=<7 
E?<E>4. 

�=>7<5 <7 LD<DF>6 � MF> >4DF>7D4D<G5E><5 LD<DFO ESRI, GEF4=>6?5==O5 E ArcGIS. -F< 
LD<DFO E>45D64F E<<6>?O, E?5F<4?L=> D47D45>F4==O5 4?O E>744=<O >4DF. �O F4>65 6<4<F5 F5>-
EF>6O5 LD<DFO < 4DG7<5 E<<6>?L=O5, =4?D<<5D, Wingdings. 

¥ �>M>E?5D<<5=F<DG=F5 E 6O5>D>< =5>>F>DOE 4DG7<E LD<DF>6 � >4> ESRI, F4> < F5>-
EF>6OE � < 6O5>D>< D47?<G=OE E<<6>?>6 6 MF<E LD<DF4E. 

%<<6>?O, 4>EFG?=O5 6 ?D54>?D545?5==OE EF<?OE, MF> F>?L>> =55>?LL4O G4EFL E<<6>?>6, 
4>EFG?=OE 6 LD<DF4E. &4>65 6O <>65F5 <7<5=<FL F4><5 E6>=EF64, >4> D47<5D < F65F ?N5>7> 
E<<6>?4. �O <>65F5 E>74464FL E>EF46=O5 E<<6>?O, 4>546?OO =>6O5 E?>< 6 E<<6>? E ?><>MLN 
>=>?>< �>546<FL (Add). 

 

 

�O5>D =>6>7> E<<6>?4 4?O EF>?<F ?D>6<=F<= < E>ED4=5=<5 57> 6 EF<?L 

 

� MF>< L475 6O 74<5=<F5 F5>GM<= E<<6>? 4?O EF>?<F ?D>6<=F<= < F5DD<F>D<= E<<6>?>< 
6 6<45 >D4E=>= 76574>G>< 6 >DG75. �>F>< E>ED4=<F5 =>6O= E<<6>? 6 EF<?L, GF>5O 57> <>6=> 5O-
?> ?57>> <E?>?L7>64FL. 

¥ � =<E?444NM5< E?<E>5 ,D<DF (Front) 6O55D<F5 LD<DF ESRI Default Marker.  

�>7<>6=>, 6O G65 74<5F<?< D4=55, GF> MF>F LD<DF E>45D6<F =G6=O= 64< E<<6>?. 
¥ -5?>=<F5 =4 E<<6>?5 E??>L=>= 76574O, 6?<E4==>= 6 >DG7, >4> ?>>474=> =4 E?54G-

NM5< D<EG=>5. 
¥ �E?< =5>5E>4<<>, GEF4=>6<F5 D47<5D 14 F>G5>. 
¥ -5?>=<F5 �� 6 D544>F>D5 E6>=EF6 E<<6>?4 (Symbol Property Editor). 

¥ � >>=5 �O5>D E<<6>?4 (Symbol Selector) M5?>=<F5 %>ED4=<FL (Save). 

¥ � 4<4?>7>6>< >>=5 %>ED4=<F5 E<<6>? 6 EF<?5 (Save Symbol to Style) =455D<F5 %F>-
?<F4 ?D>6<=F<< 4?O <<5=< E<<6>?4. �EF46LF5 ?GEFO< ?>?5 �4F57>D<O (Category). 

¥ -5?>=<F5 �>.  
&5?5DL E<<6>? ?>O6<?EO >4> ?5D64O 74?<EL 6 >>=5 �O5>D E<<6>?4 (Symbol Selector). �= 

5O? E>ED4=5= 6 ?4?>G %<<6>?O <4D>5D>6 (Marker Symbols) 6 64L5< ?5DE>=4?L=>< EF<?5. -F> 
54<=EF65==O= EF<?L, 6 >>F>DO= 6O <>65F5 =4?DO<GN E>ED4=OFL =>6O5 E<<6>?O. 

¥ -5?>=<F5 =4 E<<6>?5 %F>?<F4 ?D>6<=F<< 6 >>=5 �O5>D E<<6>?4 (Symbol Selector) 

< =46<<F5 ��. �4DF4 < F45?<F4 E>45D64=<O >5=>6<?<EL < >F>5D464NF =>6O= E<<6>?. 
 

%>ED4=5=<5 =>6>7> E<<6>?4 4?O D545D4?L=>= EF>?<FO 

 

� MF>< L475 6O 74<5=<F5 F5>GM<= E<<6>? D545D4?L=>= EF>?<FO < E>ED4=<F5 E<<6>? 6 
64L ?5DE>=4?L=O= EF<?L. 

¥ � F45?<F5 E>45D64=<O M5?>=<F5 =4 E<<6>?5 %F>?<F4 7>EG44DEF64. 
¥ � >>=5 �O5>D E<<6>?4 (Symbol Selector) M5?>=<F5 =4 E<<6>?5 %F>?<F4 ?D>6<=F<< 

6 >>=5 ?D>>DGF><. �7<5=<F5 57> F65F =4 Lapis Lazuli (EFD>>4 4, EF>?55F 10) < 57> D47<5D =4 18 F>-
G5>. 

¥ -5?>=<F5 %>ED4=<FL (Save). � 4<4?>7>6>< >>=5 %>ED4=<FL E<<6>? 6 EF<?L (Save 

Symbol to Style) < =455D<F5 %F>?<F4 7>EG44DEF64 4?O <<5=< E<<6>?4 < >EF46LF5 ?GEFO< ?>?5 �4-
F57>D<O (Category). -5?>=<F5 ��.  

-F>F E<<6>? F>65 E>ED4=5= 6 64L ?5DE>=4?L=O= EF<?L < ?>O6<FEO 6 =4G4?5 E?<E>4 6 >>=5 
�O5>D E<<6>?4 (Symbol Selector). 
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-5?>=<F5 =4 E<<6>?5 %F>?<F4 7>EG44DEF64 6 >>=5 �O5>D E<<6>?4 � ��. 
 

%>744=<5 =>6>7> D4=?4 EF<?O 

 

� MF>< L475 6O E>7444<F5 =>6O= D4=? EF<?O, GF>5O ?><5EF<FL FG44 64L< E<<6>?O <4D-
>5D>6. -F> <>65F 5OFL =4G4?>< 5<5?<>F5>< E<<6>?>6 4?O 64L<E >4DF �4=44O. �4?55 6O G44?<F5 
E<<6>?O <7 64L57> ?5DE>=4?L=>7> EF<?O, 745 >=< =4E>4OFEO E5=G4E. 

¥ -5?>=<F5 =4 <5=N �=EFDG<5=FO (Tools), G>46<F5 %F<?< (Styles) < M5?>=<F5 �5-
=5465D EF<?5= (Style Manager) . 

¥ � <5=5465D5 EF<?5=(Style Manager) M5?>=<F5 %F<?< (Styles). 

¥ � E4<>< >>=F5 E?<E>4 M5?>=<F5 %>744FL =>6O= (Create New) (6>7<>6=>, 64< =44> 
5G45F ?D>>DGF<FL 6=<7, GF>5O G6<45FL MF>F ?G=>F). 

¥ � 4<4?>7>6>< >>=5 %>ED4=<FL >4> (Save As) ?5D5=4<F5 > 64L5= ?4?>5 
\Student\DESK2\Exercise04. 

¥ �47>6<F5 D4=? EF<?O �4=444, >4> ?>>474=> =4 E?54GNM5< D<EG=>5 < M5?>=<F5 %>-
ED4=<FL (Save). 

� �5=5465D5 EF<?5= (Style Manager) 6 >>=5 4>546?5= 64L =>6O= EF<?L (GF>5O G6<45FL 

<<O EF<?O 6 >>=F5 ?GF<, 7445D6<F5 >GDE>D =44 ?4?>>=). 
�D<<5G4=<5: �D54>?D545?5==O5 EF<?< ArcGIS, 74 <E>?NG5=<5< 64L57> ?5DE>=4?L=>7> 

EF<?O, ED4=OFEO 6 ?4?>5 %:\Program Files\ArcGIS\Styles. &>?L>> EF<?< <7 MF>= ?4?>< ?>O6?ONFEO 6 
E?<E>5 EF<?5=. 'F>5O 4>546<FL EF<?L <7 4DG7>= ?4?><, =4?D<<5D EF<?L �4=444, 6O 4>?6=O =4=F< 
57>. 

¥ $4E>D>=F5 EF<?L �4=444. 
 �E5 ?4?>< 55?O5 ,?>F><G GF> D4=? EF<?O ?GEF>=. 
¥ �D>>DGF<F5 665DE < D4E>D>=F5 64L ?5DE>=4?L=O= EF<?L, 74F5< M5?>=<F5 =4 ?4?>5 

%<<6>?O <4D>5D>6 (Marker Symbols).  

� >>=5 E?D464 464 E<<6>?4, E>744==OE 64<< D4=55. 
¥ -5?>=<F5 =4 E<<6>?5 %F>?<F4 7>EG44DEF64, GF>5O 6O5D4FL 57>. '45D6<64O >?46<-

LG Ctrl, M5?>=<F5 =4 E<<6>?5 %F>?<F4 ?D>6<=F<<, GF>5O 6O5D4FL 57> F>65. 
¥ -5?>=<F5 ?D46>= >=>?>>= =4 ?N5>< <7 6O5D4==OE E<<6>?>6 < 6O55D<F5 �OD574FL 

(Cut). 

¥ �D>>DGF<F5 6=<7 < M5?>=<F5 =4 ?4?>5 %<<6>?O <4D>5D>6 (Marker Symbols) ?>4 
EF<?5< �4=444. 

¥ � >>=5 E?D464 M5?>=<F5 745-=<5G4L =4 55?>< ?D>EFD4=EF65 ?D46>= >=>?>>= < 6O-
55D<F5 �EF46<FL (Paste). �O ?5D5<5EF<?< E<<6>?O <7 64L57> ?5DE>=4?L=>7> EF<?O 6 =>6O= EF<?L 
�4=444. 

¥ �4>D>=F5 �5=5465D EF<?5= (Style Manager). 

 

�D>E<>FD E<<6>?>6 6 >>=5 �O5>D E<<6>?4 

 

� MF>< L475 6O ?D>E<>FD<F5 =>6O5 E<<6>?O 6 >>=5 �O5>D E<<6>?4 (Symbol Selector). 

�4> 6O 6<45?< D4=55, E<<6>?O 6 64L5< ?5DE>=4?L=>< EF<?5 4>546?5=O 6 65DE=NN G4EFL >>=4 
�O5>D E<<6>?4 (Symbol Selector). %<<6>?O <7 4DG7<E D4=?>6 EF<?5= 4>546?ONFEO ?>E?5 E<<6>-
?>6 ESRI. 

¥ � F45?<F5 E>45D64=<O M5?>=<F5 =4 E<<6>?5 %F>?<F4 7>EG44DEF64. 
¥ �D>>DGF<F5 6=<7 >>=4 �O5>D E<<6>?4 (Symbol Selector ), GF>5O G6<45FL 64L< E<<-

6>?O. 
¥ -5?>=<F5 �DG7<5 E<<6>?O (More Symbols). 

 %F<?L �4=444 ?>O6<?EO 6 E?<E>5 EF<?5=, 6 <<5=< G>474= ?GFL > =5<G, < EF<?L G65 ?>4-
>?NG5=. 

¥ �F>?NG<F5 EF<?L �4=444. 
¥ �D>>DGF<F5 6=<7 >>=4 �O5>D E<<6>?4 (Symbol Selector).  
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�>6O5 E<<6>?O F5?5DL =54>EFG?=O 4?O 6O5>D4 (=> >=< =5 G44?5=O E 64L5= >4DFO) 
 

�>?D>E 1: �E?< 6O E>F5?< 5O 4>546<FL EF<?L �4=444 E=>64, GF> 6O 4>?6=O E45?4FL? 

 

�4>D>=F5 >>=> �O5>D E<<6>?4 � %>ED4=<F5 4>>G<5=F >4DFO. 
  

�7<5=5=<5 E<<6>?>6 EF>?<F 

 

� E<<6>?5 76574>G>4 6 >DG75 ?D>EFD4=EF6> <564G 76574>= < >>DG6=>EFLN ?D>7D4G=>. -F> 
>7=4G45F, GF> E?>= ?>4 MF<< E<<6>?>< 5G45F 6<45= E>6>7L =57>, GF> 45?45F MF>F E<<6>? <5=55 74-
<5F=O<, G5< E>F5?>EL 5O. � MF>< L475 6O >FD544>F<DG5F5 E<<6>?, 4>546<6 6 =57> 55?O= D>=. 

¥ �F>D>=F5 �5=5465D EF<?5= (Style Manager ). %>65F: 4?O MF>7> M5?>=<F5 =4 <5=N 
�=EFDG<5=FO  (Tools). 

¥ -5?>=<F5 %F<?< (Styles). �D>>DGF<F5 6=<7 E?<E>4, 5E?< =5>5E>4<<>, < M5?>=<F5 
�>546<FL (Add). 

¥ � 4<4?>7>6>< >>=5 �F>DOFL (Open) ?5D5=4<F5 > ?4?>5\Student\DESK2\Exersice04. 

-5?>=<F5 =4 EF<?5 �4=444.style < M5?>=<F5 �F>DOFL (Open). 

¥ $4E>D>=F5 EF<?L �4=444 < M5?>=<F5 =4 ?4?>5 %<<6>?O <4D>5D>6 (Marker Symbols). 

¥ -5?>=<F5 ?D46>= >=>?>>= =4 E<<6>?5 %F>?<F4 7>EG44DEF64 < 6O55D<F5 %6>=EF64 
(Properties), GF>5O >F>DOFL $544>F>D E6>=EF6 E<<6>?4 (Symbol Property Editor). 

¥ � >5?4EF< %?>< (Layers) M5?>=<F5 =4 >=>?>5 �>546<FL (Add), GF>5O 4>546<FL =>-
6O= E?>= E<<6>?4.  

 
 

�> G<>?G4=<N =>6O= E?>= 4>546?O5FEO =465DE E E<<6>?>< G5D=>7> >644D4F=>7> <4D>5D4. 
¥ -5?>=<F5 =4 EFD5?>5 6=<7, GF>5O ?5D5<5EF<FL =>6O= E?>= E<<6>?4 6=<7 ?>4 7657-

4G. 
¥ � >>=5 E E<<6>?4<< M5?>=<F5 =4 E??>L=>< G5D=>< >DG75. 
 

�7<5=<F5 D47<5D E<<6>?4 =4 18 < <7<5=<F5 57> F65F =4 ArcticWhite. 

 

� >5?4EF< %?>< (Layers) 6O =5 E<>65F5 G6<45FL =>6O= E<<6>? (>= 55?O= =4 55?>< D>=5), 
=> 6 >5?4EF< �D>E<>FD (Preview) (=44 >5?4EFLN %?>< (Layers)), <>6=> ?>E<>FD5FL, >4> 6O7?O4<F 
MF>F E>EF46=>= E<<6>?. 

¥ -5?>=<F5 �� 6 $544>F>D5 E6>=EF6 E<<6>?4 (Symbol Property Editor). 

¥ � �5=5465D EF<?5= (Style Manager) M5?>=<F5 ?D46>= >=>?>>= =4 E<<6>?5 %F>?<F4 
?D>6<=F<< < 6O55D<F5 %6>=EF64 (Properties). 

¥ � $544>F>D5 E6>=EF6 E<<6>?4 (Symbols Property Editor) ?D>45?4=F5 F> 65 E4<>5, 4>-
546<6 55?O= >DG7 4?O E<<6>?4 %F>?<F4 ?D>6<=F<<. $47<5D >DG74 4>?65= 5OFL 14 F>G5>. 

¥ �D>E<>FD<F5 E<<6>?, F4> ?< >= 6O7?O4<F, >4> 64< =44>, < M5?>=<F5 �� 6 $544>F>D5 
E6>=EF6 E<<6>?4 (Symbol Property Editor). 

¥ �4>D>=F5 �5=5465D EF<?5= (Style Manager). 

�O <7<5=<?< E<<6>?O, >>F>DO5 ED4=OFEO 6 D4=?5 EF<?O. �4 >4DF5 >=< >EF4?<EL F4><<<, 
>4><5 5O?<. 

¥ �F>D>=F5 >>=> �O5>D E<<6>?4 (Symbol Selector) < ?D<<5=<F5 E=>64 E<<6>?O %F>-
?<F4 7>EG44DEF64 < %F>?<F4 ?D>6<=F<<, GF>5O >5=>6<FL >4DFG. 

¥ �F>D>=F5 >>=> �O5>D E<<6>?4 (Symbol Selector), M5?>=<F5 =4 �DG7<5 E<<6>?O 
(More Symbols) < >F>?NG<F5 EF<?L �4=444. 

¥ -5?>=<F5 �� 6 >>=5 �O5>D E<<6>?4 (Symbols Selector). 
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¥ %>ED4=<F5 64LG >4DFG < 74>D>=F5 ArcMap. 

 

�4>?NG5=<5 

 

ArcMap 45?45F FOEOG< E>744==OE, 74D4=55, E<<6>?>6 4>EFG?=O<< 64< E ?><>MLN EF<-
?5=. �> G<>?G4=<N, 6 >>=5 �O5>D E<<6>?4 (Symbol Selector) 6<4=O ?<LL E<<6>?O 6 EF<?5 ESRI 

< 64L5< ?5DE>=4?L=>< EF<?5, => 6O <>65F5 4>546<FL FG44 < 4DG7<5 EF<?<. �E?< 6O <M<F5 >4>>=-

F> >?D545?5==O= E<<6>?, ?GGL5 ?D>E<4FD<64FL D4=?O EF<?5= 6 �5=5465D5 EF<?5= (Style Manag-

er). 

�E?< 6O =5 <>65F5 =4=F< E<<6>?, >>F>DO= 64< =G65=, 6O <>65F5 E>744FL E<<6>? 6 $5-
44>F>D5 E6>=EF6 E<<6>?4 (Symbol Property Editor). -F> <>65F 5OFL 4>546?5=<5 <?< G44?5=<5 E?>-
56 E<<6>?4 <?< <7<5=5=<5 E6>=EF6 E<<6>?4. �O F4>65 <>65F5 <E?>?L7>64FL E<<6>? <7 ?N5>7> 
LD<DF4 TrueType 6 64L5= >?5D4F<>==>= E<EF5<5 6 >4G5EF65 E?>O E<<6>?4. �4>>=5F, 6O <>65F5 
<<?>DF<D>64FL D4=?O .bmp <?< emf. >4> <4D>5DO-D<EG=><. �5E>>?L>> E>F5= F4><E D<EG=>>6 ?>-
EF46?ONFEO 6<5EF5 E ArcGIS (>=< =4E>4OFEO 6 %:\Program Files\ArcGIS\Styles\Pictures). 

�E?< 6O G4EF> <E?>?L7G5F5 >?D545?5==O5 E<<6>?O < E>F<F5 <E?>?L7>64FL <E 6 4DG7<E 
?D>5>F4E <?< ?5D544FL <E >><G-F> 4DG7><G, F>744 5G45F G4>5=>  E>744FL =>6O= D4=? EF<?O < E>>-
?<D>64FL E<<6>?O 6 MF>F EF<?L. �?O MF<E 7444G <E?>?L7G=F5 �5=5465D EF<?5= (Style Manager). 

 

�D4>F<G5E>4O D45>F4 79 

�7GG5=<5 >F=>L5=<= <564G ?D>EFD4=EF65==O<< >5N5>F4<< < 4FD<5GF4<< 6 �� ArcMap. 

�E?>?L7>64=<5 ?>4E>47>> >4DFO.  
13.1.�F>DOF<5 4>>G<5=F4 >4DFO. 
1. �4?GEF<F5 ArcMap\Student\DESK1\Exercise09\Florida_Query.mxd. 

2.�F>D>=F5 F45?<FG 4FD<5GF>6 4?O E?>O �>D>44 $?>?D<4O. (�>?5 FEATURE ?>>47O645F �4<, O6-
?O5FEO ?< 7>D>4 F5=FD>< >>DG74. �>765 6O <E?>?L7G5F5 MF> ?>?5. �?O ?5D6>7> 74?D>E4 6O 6>E-
?>?L7G5F5EL ?>?5< POP_98. 

13.2. %>744=<5 74?D>E4. 
1.� <5=N �O5>D>4 6O55D<F5 �O5D4FL ?> 4FD<5GFG 

2. �>O6<FEO 4<4?>7>6>5 >>=> �O5D4FL ?> 4FD<5GFG. �=> E>45D6<F  E?54GNM<5 >><?>=5=-
FO(�4D<EG=F5 6 F5FD44L) 
2.1.%?<E>> E?>56 

2.2.�5F>4O 6O5>D>< 

2.3. %?<E>> 4FD<5GF>6 6O5D4==>7> E?>O.  
2.4.�=>?>< >?5D4F>D>6 

2.5.�5EF> 4?O E?<E>4 G=<>4?L=OE 7=4G5=<= 4?O 6O5D4==>7> 4FD<5GF4. 
2.6. �5EF> 4?O 66>44 < >F>5D465=<O 6OD465=<O 74?D>E4 

2.7.�=>?><, D45>F4NM<5 E 6OD465=<5< 74?D>E4. 
3. '554<F5EL, GF> 6 E?<E>5 %?>= 6O5D4= �>D>44 $?>D<4O. 
4. '554<F5EL, GF> 6 E?<E>5 �5F>4 6O5D4=> %>744FL =>6GN 6O5>D>G � M5?>=<F5 =4 4FD<5GF5 
«$�$_98» M5?>=<F5 ?>?GG<FL 7=4G5=<O. '=<>4?L=O5 7=4G5=<O ?>?O $�$_98 >F>5D47OFEO 6 E>>F-
65FEF6GNM5= >5?4EF<.(�=4G5=<O =4E>4OFEO 6 7D4=<F4E 4<4?47>=4 11-693630) &5?5DL 6O E>7444<F5 
74?D>E 4?O >F5>D4 7>D>4>6 E =4E5?5=<5< 5>?55 50 000. 

5. �6464O M5?>=<F5 =4 «$�$_98». -5?>=<F5 =4 >?5D4F>D5 �>?LL5 G5<(>) 
6. �455D<F5 50000 � �D<<5=<FL. 
7. %46<=LF5 4<4?>7>6>5 >>=> 6 EF>D>=G F4><< >5D47><, GF>5O 6<45FL >4DFG. �O G6<4<F5, GF> ?>4-
E65G5=> <=>65EF6> 7>D>4>6 $?>D<4O. (6O45?5=> 38 7>D>4>6 <7 391) 
8. -5?>=<F5 =4 6O5D4==O5 � >F>5D47OFEO F>?L>> 6O5D4==O5 < ?>4E65G5==O5 7>D>44 

9. �4=4<F5 ?>?5 $�$_98 � M5?>=<F5 ��� =4 747>?>6>5 ?>?O < 6O55D<F5 %>DF<D>64FL ?> 6>7D4E-
F4=<N 

10.�D>>DGFF5 F45?<FG 6=<7 < ?D>65DLF5, GF> 4<4?47>= 7=4G5=<= =4E5?5=<O E>>F65FEF6G5F 64L5<G 
74?D>EG. �4>D>=F5 F45?<FG 4FD<5GF>6. 
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13.3.%>744=<5 =>6>7> 74?D>E4 < >G<EF>4 6O5>D><.  
&5?5DL, >>744 6O 6O5D4?< 7>D>44 E =4E5?5=<5< 5>?55 50000 G5?>65>, 6O E>F<F5 EG7<FL 6O5>D 4> 
F5E 7>D>4>6, >>F>DO5 O6?ONFEO >>DG6=O<< F5=FD4<<. 

1. � =<6=5= G4EF< 4<4?>7>6>7> >>=4 �O5D4FL ?> 4FD<5GFG M5?>=<F5 =4 �G<EF<FL. 
2. � 65DE=5= G4EF< >>=4 ?><5=O=F5 �5F>4 =4 �O5D4FL <7 F5>GM5= 6O5>D><. 
3. �6464O M5?>=<F5 =4 FEATURE 4?O 4>546?5=<O 57> 6 >5?4EFL 6OD465=<O. 
4. -5?>=<F5 =4 �>?GG<FL 7=4G5=<O. (�O 6<4<F5, GF> >4=<< <7 7=4G5=<= 4FD<5GF4 O6?O5FEO 

COUNTY SEAT- >>DG6=>= F5=FD) 
5. -5?>=<F5 =4 >?5D4F>D5 $46=>. 
6. �6464O M5?>=<F5 =4 COUNTY SEAT 

7. -5?>=<F5 =4 �� 4?O F>7>, GF>5O ?D<<5=<FL 6OD465=<5 < 74>DOFL 4<4?>7>6>5 >>=>. 
8. �F>D>=F5 F45?<FG 4FD<5GF>6 4?O E?>O �>D>44 $?>D<4O. %>>?L>> 7>D>4>6 6O5D4=>? 

9. -5?>=<F5 =4 6O5D4==O5, GF>5O 6<45FL F>?L>> 6O5D4==O5 74?<E<. �E5 6O5D4==O5 7>D>44 
O6?ONFEO F5=FD4<< >>DG7>6. �O 6<4<F5 <E <<5=4 6 ?>?5 NAME. 

10. �D>>DGF<F5 F45?<FG > ?>?N $�$_98 < >FE>DF<DG=F5 7=4G5=<O 6 ?>DO4>5 6>7D4EF4=<O. �=4-
G5=<O >>?<G5EF64 =4E5?5=<O ?D56OL45F 50000. 

11. �4>D>=F5 4FD<5GF<6=GN F45?<FG 

12.  � <5=N �O5>D>4 6O55D<F5 �G<EF<FL 6O5D4==O5 >5N5>FO. 
� MF>< G?D46=5=<< 6O E>744?< 464 74?D>E4. �5D6O= 74?D>E >F5<D4? 7>D>44 =4 >E=>65 
G<E?5==>EF< <E =4E5?5=<O; 6F>D>= � 6O5<D4? 7>D>44 � F5=FDO >>DG7>6 <7 D57G?LF4F>6 
?5D6>= 6O5>D><. �O <E?>?L7>64?< 4<4?>7>6>5 >>=> �O5D4FL ?> 4FD<5GFG 4?O ?D>-
E<>FD4 E?<E>4 4FD<5GF<6=OE ?>?5= < <E G=<>4?L=OE 7=4G5=<=. �4F5< 6O <E?>?L7>-
64?< 57> 4?O E>744=<O 6OD465=<= 74?D>E4 ?GF5< 6O5>D4 4FD<5GF<6=>7> ?>?O, >?5D4-
F>D4 < 7=4G5=<O. �O ?D<<5=<?< >464>5 6OD465=<5, 74F5< ?D>65D<?< D57G?LF4FO, 
?D>E<>FD56 >4DFG < 4FD<5GF<6=GN F45?<FG. � F45?<F5 4FD<5GF>6 6O >?D545?<?< 
G<E?> 6O5D4==OE 74?<E5=, 74F5< >F>5D47<?< F>?L>> <E. �O F4>65 >FE>DF<D>64?< 
6O5D4==O5 74?<E<, >E=>6O64OEL =4 7=4G5=<< G<E?5==>EF< =4E5?5=<O. 

 

�D4>F<G5E>4O D45>F4 710 

�7GG5=<5 6O5>D>< ?D>EFD4=EF65==OE >5N5>F>6 6 �� ArcMap. $45>F4 E >=>?>>= �?F<< 6 
F45?<F5 4FD<5GF>6. �44?<EO64=<5 ?D>EFD4=EF65==OE >5N5>F>6 7=4G5=<O<< <E 4FD<5GF>6. 

� 44==>< G?D46=5=<< �O E>7444<F5 74?D>E ?> D4E?>?>65=<N 4?O ?><E>4 6E5E 7>E-
G44DEF65==OE ?4D>>6 $?>D<4O, D4E?>?>65==OE =544?5>> >F �4F<>=4?L=OE 6<6>?<E=OE 
FD>?. �4F5< �O E>7444<F5 6F>D>= 74?D>E 4?O >?D545?5=<O F>7>, 6 >4>>< M>>D57<>=5 
=4E>4OFEO 6O5D4==O5 ?4D><. 

1. �4?GEF<F5 ArcMap\Student\DESK1\Exercise09\Florida_Query.mxd. (�E?< ?D< >F>DOF<< 4>-
>G<5=F4 >4DFO ?>O6<FEO 4<4?>7 > E>ED4=5=<< <7<5=5=<= � M5?>=<F5 ��& 

2. -F>F 4>>G<5=F >4DFO E>45D6<F 2 DD5=<4 44==OE. � ?D54O4GM5< G?D46=5=<< �O <E?>?L-
7>64?< DD5=< 44==OE �4E5?5==O5 ?G=>FO. � 44==>< G?D46=5=<< 6O 5G45F5 <E?>?L7>64FL 
DD5=< 44==OE �D<D>44. 

3. � F45?<F5 E>45D64=<O E65D=<F5 DD5=< �4E5?5==O5 ?G=>FO, D4765D=<F5 DD5=< �D<D>44. 
�>F<6<7<DG=F5 DD5=< �D<D>44(���- �>F<6<7<D>64FL) 

4. �>?NG<F5 E?>< �4F<>=4?L=O5 6<6>?<E=O5 FD>?O $?>D<4O < �4D>< LF4F4 $?>D<44. 
14.1.%>744=<5 74?D>E4 ?> D4E?>?>65=<N. 

�D54?>?>6<<, GF> �O ??4=<DG5F5 ?GF5L5EF6<5 ?> �4F<>=4?L=O< 6<6>?<E=O< FD>?4< < ?> 
?GF< E>5<D45F5EL ?>E5F<FL 5?<7?564M<5 ?4D><. %=4G4?4 6O >?D545?<F5, >4><5 ?4D>< =4E>4OF-
EO 6 ?D545?4E 1,5 <<?L >F �4F<>=4?L=OE 6<6>?<E=OE FD>?. �4F5< 6O >?D545?<F5,> >4>><G M>>-
D57<>=G MF< ?4D>< ?D<=44?564F. �=D>D<4F<O > F><, >4><5 M>>?>7<G5E><5 D57<>=O 6O ?5D5E5-
G5F5, ?><>65F 64< G7=4FL, >4>>= D5?L5D, >?<<4F, D4EF<F5?L=>EFL < 6<6>F=O5 <>7GF >6<-
44FL =4 ?GF<. 

1. � <5=N �O5>D>4 6O55D<F5 �O5D4FL ?> D4E?>?>65=<N. �=> E>45D6<F E?54GNM<5 >><?>-
=5=FO (�4D<EG=F5 6 F5FD44L) 
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1.1 �?<E4=<5 74?D>E4 ?> D4E?>?>65=<N 

1.2 %?<E>> <5F>4>6 6O5>D>< 

1.3 %?<E>> E?>56 

1.4 %?<E>> F<?>6 ?D>EFD4=EF65==OE >F=>L5=<= 

1.5 %?<E>> E?>56 

1.6 �5EF> 4?O 66>44 7=4G5=<O D4EEF>O=<O < 545=<F 

1.7 �=>?><, D45>F4NM<5 E 74?D>E>< ?> D4E?>?>65=<N. 
2. � >4G5EF65 <5F>44 6O5>D>< 6O55D<F5 >?5D4F<N «6O5D4FL >5N5>FO» 

3. �?O 6O5>D4 E?>O ?>EF46LF5 74?>G>G =4?D>F<6 �4D>>6 LF4F4 $?>D<44. 
4. �?O 6O5>D4 F<?4 ?D>EFD4=EF65==OE >F=>L5=<= <7 =<E?444NM57> E?<E>4, 6O55D<F5 

«=4E>4OFEO 6 ?D545?4E D4EEF>O=<O >F >5N5>F>6» 

5. '554<F5EL, GF> 6 E?54GNM5< E?<E>5 E?>56 6O5D4= E?>= �4F<>=4?L=O5 6<6>?<E=O5 FD>?O 
$?>D<4O. 

6. '554<F5EL, GF> D?46>> DO4>< E �D<<5=<FL 5GD5D > >5N5>F4< 6 E?>5 �4F<>=4?L=O5 6<6>-
?<E=O5 FD>?O $?>D<4O ?>EF46?5= 

�D<<5G4=<5: �GD5D- 7>=4 <?< >5?4EFL 6>>DG7 >5N5>F4 >4DFO, >>F>D4O >?D545?O5FEO 74-
44==O< D4EEF>O=<5< >F >5N5>F4. � 44==>< E?GG45 ?D>7D4<<4 E>7445F 1.5-<<?L=O= 5G-
D5D 6>>DG7 $?>D<4O. �E?< ?N5>= 7>EG44DEF65==O= ?4D> ?>?445F, E>FO 5O G4EF<G=>, 6 
?D545?O MF>7> 5GD5D4, F> >= 5G45F 6O5D4=.  

7. %<5=<F5 54<=<FO <7<5D5=<O E �5FDO =4 �<?<.  
8. �O45?<F5 7=4G5=<5 D4EEF>O=<O < =455D<F5 1.5 

9. �4L 74?D>E 5G45F ?D><7=>E<FLEO F4>: «/ E>GG 6O5D4FL >5N5>FO ?4D>>6 LF4F4 $?>D<44, 
=4E>4OM<5EO 6 ?D545?4E D4EEF>O=<O >F >5N5>F>6 E?>O �4F<>=4?L=O5 6<6>?<E=O5  FD>?O 
$?>D<4O. / <E?>?L7GN 5GD5D > >5N5>F4< �4F<>=4?L=O5 6<6>?<E=O5 FD>?O $?>D<4O, 
D46=O= 1.5 <<?O<» 

14.2.�D<<5=5=<5 74?D>E4 ?> D4E?>?>65=<N < <7GG5=<5 D57G?LF4F>6. 
1.-5?>=<F5 =4 �D<<5=<FL 6=<7G 4<4?>7>6>7> >>=4. 
2. %46<=LF5 4<4?>7>6>5 >>=> 6 EF>D>=G F4><< >5D47><, GF>5O 6<45FL >4DFG. �O 6<4<F5, GF> 
?>4E65G5=> <=>65EF6> ?4D>>6 >>>?> FD>?O. 
3. � <5=N �O5>D>4 6O55D<F5 �D<5?<7<FL > 6O5D4==O< >5N5>F4< 4?O 5>?55 45F4?L=>7> ?D>-
E<>FD4. 
4.�F>D>=F5 F45?<FG 4FD<5GF>6 E?>O �4D>< LF4F4 $?>D<44. %>>?L>> 6O5D4=> ?4D>>6? 

5. -5?>=<F5 =4 �O5D4==O5. �F>5D47OFEO F>?L>> 6O5D4==O5 < ?>4E65G5==O5 ?4D><. 
6.�FE>DF<DG=F5 ?>?5 SITE_NAME 6 4?D46<F=>< ?>DO4>5 

7. �4>D>=F5 F45?<FG 4FD<5GF>6. 
14.3.%>744=<5 74?D>E4 ?> D4E?>?>65=<N 

&5?5DL, >>744 6O 6O5D4?< ?4D>< 6 ?D545?4E ?>?GF>D4 <<?L >F 6<6>?<E=>= FD>?O, 6O E>-
F<F5 >?D545?<FL, 6 >4>>< M>>D57<>=5 >=< =4E>4OFEO. 
1.� 4<4?>7>6>< >>=5 ?> D4E?>?>65=<N G55D<F5 D?46>> E �4D>< LF4F4 $?>D<44 < 6O55D<F5 
->>D57<>=O $?>D<4O. 
2.�?O 6O5>D4 F<?4 ?D>EFD4=EF65==OE >F=>L5=<= 6O55D<F5 «?5D5E5>4NF >5N5>FO 

3.�> 6F>D>< E?<E>5 E?>56 6O55D<F5 �4D>< LF4F4 $?>D<44. 
4.'554<F5EL,GF> D?46>> DO4>< E �E?>?L7>64FL 6O5D4==O5 >5N5>FO >F<5G5=. 
5.'554<F5EL, GF> D?46>> DO4>< E �D<<5=<FL 5GD5D =5 >F<5G5=. 
�4L 74?D>E 5G45F ?D><7=>E<FLEO F4>: «/ E>GG 6O5D4FL >5N5>FO <7 ->>D57<>=>6 $?>D<4O, >>-
F>DO5 ?5D5E5>4NF (6O5D4==O5 D4=55) >5N5>FO <7 �4D>>6 LF4F4 $?>D<44.» 

5. -5?>=<F5 ��. �O5D4==O5 M>>D57<>=O 5G4GF ?>4E65G5=O =4 >4DF5. 
6. �F>D>=F5 F45?<FG 4FD<5GF>6 E?>O ->>D57<>=O $?>D<4O. �O 6<4<F5, GF> 6O5D4=> 9 M>>D5-

7<>=>6. 
7. -5?>=<F5 =4 �O5D4==O5. 
8. �4=4<F5 ?>?5 DESCRIPT. 
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�F>5D4==O5 D57<>=O 6>?NG4NF 6 E55O 7>D=O5 ED55FO < =47>DLO, ?5E4, 5>?>F4, D46=<=O < 
E>?<O. &5?5DL, >>744 6O >7=4>><<?<EL E> E?<E>>< 6O5D4==OE M>>?>7<G5E><E D57<>=>6, 6O 
65D=5F5EL > >4DF5 < <E?>?L7G5F5 <=EFDG<5=F �<?5DEEO?>4 4?O >F>5D465=<O D<EG=>>6, ?>>4-
7O64NM<E, >4> MF< D57<>=O 6O7?O4OF. 
�/���. � MF>< G?D46=5=<< 6O E>744?< 2 74?D>E4 ?> D4E?>?>65=<N. � ?5D6>< 6O 6O-
5D4?< ?4D>< DO4>< E 6<6>?<E=O<< FD>?4<<; 6> 6F>D>< 6O 6O5D4?< M>>D57<>=O, 6 >>F>-
DOE D4E?>?474NFEO >F>5D4==O5 ?4D>< 

 

�D4>F<G5E>4O D45>F4 711 

�>?<G5EF65==>5 >5>7=4G5=<5 ?D>EFD4=EF65==OE >5N5>F>6. �F>5D465=<5 >5N5>F>6 ?> 
>4F57>D<O<. �>546?5=<5 44==OE 6> DD5=< 44==OE. 

�444=<5: �6> ?5D55<D45FEO 6> $?>D<4G. �= E>G5F 6<FL 6 >>DG75 E =4E5?5=<5< <5=55 <<??<>=4 
G5?>65>, 745 E5?LE>>7> =4E5?5=<O 5>?LL5, G5< 7>D>4E>>7>, < 745 <=>7> ?N45= ?D<<5D=> 57> 6>7-
D4EF4(6 4<4?47>=5 35-45 ?5F). �>D>4, 6 >>F>D>< >= 5G45F 6<FL, 4>?65= 5OFL =544?5>> >F G=<65D-
E<F5F4 (MF> 646=> 4?O >G?LFGD=OE, E?>DF<6=OE <5D>?D<OF<= < =4?<G<O ?D>7D4<< =5?D5DO6=>7> 
>5D47>64=<O) 
1.�4?GEF<F5 ArcMAP\Student\DESK1\Exercise09\Florida_Relocation.mxd. 

2.�E?< ?D< >F>DOF<< 4>>G<5=F4 >4DFO ?>O6<FEO 4<4?>7 > E>ED4=5=<< <7<5=5=<=, M5?>=<F5 �5F. 
15.1.�><E> >>DG7>6 E =4E5?5=<5< <5=55 <<??<>=4 G5?>65>. 
�4L4 ?5D64O 7444G4 74>?NG45FEO 6 6O5>D5 >>DG7>6 =4 >E=>65 G<E?5==>EF< <E =4E5?5=<O.  

1. �?O E?>O �5<>7D4D<O >>DG7>6 $?>D<4O >F>D>=F5 F45?<FG 4FD<5GF>6. (�O 6<4<F5 ?>?O  
E>45D64M<5 <=D>D<4F<N > G<E?5==>EF< =4E5?5=<O, 6>7D4EF5 < D4E>6>< E>EF465. �4L ?5D6O= 74-
?D>E 5G45F >E=>64= =4 ?>?5 TOTAL_POP. 

2. �O5>D>4-�O5D4FL ?> 4FD<5GFG 

3. � E?<E>5 %?>= 6O55D<F5 �5<>7D4D<O >>DG7>6 $?>D<4O. 
4. 'EF4=>6<F5 6 E?<E>5 �5F>4 � %>744FL =>6GN 6O5>D>G. 
5. -5?>=<F5 =4 TOTAL_POP � �>?GG<FL 7=4G5=<O. 
6. %>744=F5 E?54GNM<= 74?D>E «TOTAL_POP»<1000000 � �D<<5=<FL 74?D>E. 
7. �D>E<>FD<F5 >4><5 FD< >>DG74 5O?< <E>?NG5=O? %>>?L>> >>DG7>6 $?>D<4O 6O5D4=> 6 

=4EF>OM55 6D5<O? 

15.2.�><E> >>DG7>6 E 5>?LL<< G<E?>< =4E5?5=<O 6 6>7D4EF5 35-44 

&5?5DL, >>744 6O <7546<?<EL >F >>DG7>6 E E4<O< 5>?LL<< =4E5?5=<5<, 6O GE>65DL5=EF6G5F5 6O-
5>D>G E ?><>MLN 4DG7>7> 74?D>E4, >E=>64==>7> =4 6>7D4EF5 =4E5?5=<O. 

1. �G<EF<F5 >5?4EFL 6OD465=<O  6 >>=5 �O5D4FL ?> 4FD<5GFG. 
2. �><5=O=F5 <5F>4 =4 �O5D4FL <7 F5>GM5= 6O5>D><. 
3. �4=4<F5 ?>?5 «AGE_35_44» - �>?GG<FL 7=4G5=<O .%>744=F5 74?D>E 

«AGE_35_44»<100000(=5?>ED54EF65==> =4?5G4F4=F5 7=4G5=<O 6 >5?4EF< 6OD465=<O) 
4. � <=N �O5>D>4 6O55D<F5 �D<5?<7<FL > 6O5D4==O< >5N5>F4< 4?O ?D>E<>FD4 6O5D4==OE 

>>DG7>6 

5. �F>D>=F5 4FD<5GF<6=GN F45?<FG E?>O �5<>7D4D<O >>DG7>6 $?>D<4O- M5?>=<F5 �O5D4=-
=O5. �4><5 >>DG74 6O5D4=O? 

15.3.�><E> 7>D>4>6 6 6O5D4==OE >>DG74E. 
&5?5DL >?D545?<F5, >4><5 7>D>44 D4E?>?>65=O 6 7D4=<F4E >F>5D4==OE >>DG7>6. 
1.�>?NG<F5 E?>= �>D>44 $?>D<4O. �F>D>=F5 4<4?>7>6>5 >>=> �O5>D ?> D4E?>?>65=<N 

2..%>744=F5 E?54GNM<= 74?D>E: »/ E>GG 6O5D4FL >5N5>FO <7 E?>O �>D>4>6 $?>D<4O, >>F>DO5 
?>?=>EFLN D4E?>?>65=O 6 ?D545?4E >5N5>F>6 E?>O �5<>7D4D<O >>DG7>6 $?>D<4O. �E?>?L7>-
64FL 6O5D4==O5 >5N5>FO». 
4. -5?>=<F5 �D<<5=<FL 

5.� 4FD<5GF<6=>= F45?<F5 4?O �>D>44 $?>D<4O M5?>=<F5 =4 �O5D4==O5 

6. �FE>DF<DG=F5 ?>?5 POP_98 < >7=4>><LF5EL E> E?<E>>< 7>D>4>6. 
7. �4>D>=F5 F45?<FG 4FD<5GF>6. 
15.4. �><E> 7>D>4>6 >>>?> >>??5465= < G=<65DE<F5F>6. 



31 

 

1.�>?NG<F5 E?>= �>??546< < G=<65DE<F5FO. 
2.%>744=F5 74?D>E �O5>D ?> D4E?>?>65=<N  «/ E>GG 6O5D4FL >5N5>FO <7 6O5D4==OE 6 =4EF>-
OM55 6D5<O >5N5>F>6 E?>O �>D>44 $?>D<4O, >>F>DO5 =4E>4OFEO 6 ?D545?4E D4EEF>O=<O >F 
>5N5>F>6 E?>O �>??546< < G=<65DE<F5FO. �D<<5=<F5 5GD5D 10 <<?L» 

3. �D>E<>FD<F5 E>>?L>> 7>D>4>6 6O5D4=>? 

4. -5?>=<F5 =4 �O5D4==O5 � ��� =4 747>?>6>> ?>?O POP_98 < 6O55D<F5 %F4F<EF<>4. (� ?5-
6>= G4EF< ?>O6<6L57>EO >>=4 6O G6<4<F5 E?<E>> EF4F<EF<>< =4E5?5=<O 4?O 6O5D4==OE 7>D>-
4>6. %?D464 6O 6<4<F5, >4> D4E?D545?ONFEO 7=4G5=<O: 5 7>D>4>6 E =55>?LL<< =4E5?5=<-
5<(5>?55 9013 G5?>65>) 1 7>D>4-E> ED54=<< G<E?>< 6<F5?5= (5>?55 284 170 G5?>65>) < >4<= 
5>?LL<<(5>?55 559 327) 

5.�4>D>=F5 >>=> %F4F<EF<>4 6O5>D>< 4?O E?>O �>D>44 $?>D<4O. �4=4<F5 6 F45?<F5 4FD<5GF>6 
?>?5 COUNTY 

�>?D>E: � E>>?L><E >>DG74E =4E>4OFEO 7>D>44, D4E?>?474NM<5EO 6 ?D545?4E 10 <<?L >F >>?-
?5464 <?< G=<65DE<F5F4? 

�4?<EL 6 F45?<F5 4>?6=4 ?>4E65F<FEO 65?FO< F65F><, < 4EE>F<<D>64==O= E =5= >5N5>F ?>4-
E65F<FEO 65?FO< =4 >4DF5. 
6.�D>E<4FD<64O >4DFG, M5?>=<F5 ?> >4=><G =4 E5DOE ?DO<>G7>?L=<>4E G >464>= 6O5D4==>= 
74?<E< 4?O F>7>, GF>5O G6<45FL <5EF>D4E?>?>65=<5 >464>7> 7>D>44. -F> <<5==> F5 7>D>44, 6 
>>F>DOE �6> =4G=5F ?><E> E6>57> =>6>7> <5EF4 6<F5?LEF64. 

 

 

 

�D4>F<G5E>4O D45>F4 712 

�>546?5=<5 D4EFD>6OE E?>56 < 7444==OE 4?O =<E GE?>6=OE >5>7=4G5=<=. 

1. �4?GEF<FL ArcMap.- =4G4FL E EGM5EF6GNM5= >4DF>= � ?5D5=F< 6 >4F4?>7 
\Student\DESK1\Exercise06 � >F>D>=F5 Coordinates.mxd 

2. �E?< =5 6<4=> 6E5= >4DFO, M5?>=<F5 �>?=O= M>EF5=F. (�� -�$��� ����� ��$&� ��-
$� % ����/�� ��$������� � ��$�������. �����/� &�'�� ������'�.& 

��$���, � ��&�$/% $�����%, ����%&�/� ��$&��$�$/) 
3. � 44==>< <4ELF455 7>D>44 =5 =44?<E4=O. �4< ?>=44>5<FEO =4=F< 7>D>44 GL5 <5EF>?>?>-

65=<5 �4< =5 <765EF=>. 
 

7.1.�?D545?5=<5 >>>D4<=4F 7>D>44. 
1. �46<<F5 <=EFDG<5=F �O5D4FL M?5<5=FO. 
2. �4=4<F5 >4=44E><= 7>D>4 �>=D54?L. 
3. '65?<GLF5 >4DFG 6 D4=>=5 �>=D54?O 4> <4ELF454 1:5000000. �4?<L<F5 7=4G5=<O L<D>-
FO,  4>?7>FO �>=D54?O 6 7D44GE4E, <<=GF4E < E5>G=44E. 
4. �E?>?L7GO <=EFDG<5=F �45=F<D<F<D>64FL G7=4=F5 >4>>= <765EF=O= >4DF>7D4D D>4<?EO 
6 �>=D54?5? 

5. -5?>=<F5 =4 >=>?>5 6 >>=F5 EFD>>< Picture 6 >>=5 �45=F<D<F<D>64FL, GF>5O G6<45FL 
<7>5D465=<5 �DFGD4 $>5<=E>=4. 
6. �4=4<F5 55?L7<=E><= 7>D>4 $G?5?L<>=45. � G65?<GLF5 <4ELF45 1:5000000. �4?<L<F5 
7=4G5=<O L<D>FO < 4>?7>FO < >4>>= >4DF>7D4D D>4<?EO 6 $G?5?L<>=45? 

7.2. �7<5=5=<5 >F>5D465=<O >>>D4<=4F. 
1. � F45?<F5 E>45D64=<O 6O7>6<F5 %6>=EF64 DD5=<4 44==OE ��$ � 6O55D<F5 74>?44>G 
�5M<5. � =<E?444NM5< E?<E>5 �F>5D465=<5 6O55D<F5 ><?><5FDO. 
2. �4?<L<F5 ?D<5?<7<F5?L=O5 >>>D4<=4FO $G?5?L<>=45 6 ><?><5FD4E. 
7.3. �><E> 7>D>4>6 ?> >>>D4<=4F4<. 
1. '65?<GLF5 >4DFG 4> ?>?=>7> M>EF5=F4. �4>>= 7>D>4 D4E?>?>65= ?D<5?<7<F5?L=> 6 E?5-
4GNM<E >>>D4<=4F4E (6 ><?><5FD4E) 3243 6172. 
2. �4>>= >4DF>7D4D D>4<?EO 6 7>D>45 E> E?54GNM<<< 7=4G5=<O<< L<D>FO < 4>?7>FO 30°� 
31°N( =5 745G4LF5 65D=GFLEO > >F>5D465=<N >>>D4<=4F 6 7D44GE4E, <<=GF, < E5>G=44E. 



32 

 

7.4.  �><E> 7>D>4>6 ?> >>>D4<=4F4< ?D>EFO< E?>E>5><. 
1. '65?<GLF5 >4DFG 4> ?>?=>7> M>EF5=F4. 
2. �4 ?4=5?< <=EFDG<5=FO 6O55D<F5 �5D5=F< > F>G>5 %'(MF>F <=EFDG<5=F ?>76>?O5F  665-
EF< ?4DG >>>D4<=4F < ?D<5?<7<FLEO > <E <5EF>?>?>65=<N 

- 6 ?>?5 4>?7>F4 6654<F5 720� (E ?D>55?>< <564G 7 < 20) 
- 6 ?>?5 L<D>F4 6654<F5 47 45N(E ?D>55?>< <564G 47 < 45) 
- M5?>=<F5 ?>4E65F<FL. �4?<L<F5 =4764=<5 7>D>44, >4>>= >4DF>7D4D D>4<?EO. 
7.5. �><E> >>>D4<=4F 64L57> 7>D>44. 
1. %45?4=F5 4>F<6=O< DD5=< 44==OE �F>G44 �O? 

2. $4765D=<F5 DD5=< 44==OE. 
�4?D>F<6 5>?LL<=EF64 E?>56 EF>OF E5DO5 74?>G>< < E?> =5 >F>5D464NFEO =4 >4DF5. 
%5DO5 >F<5F>< >7=4G4NF, GF> E?>= O6?O5FEO 6<4<<O< 6 >?D545?5==>< 4<4?47>=5 <4E-
LF45>6: >4> F>?L>> 6O G65?<G<F5 < G<5=LL<F5 <4ELF45, ?D< ?5D5E>45 G5D57 7D4=<FG 74-
44==>7> 4<4?47>=4 6<4<<>EFL 6>?NG45FEO < 6O>?NG45FEO.  

3.�5D5=4<F5 > ?>?=><G M>EF5=FG >4DFO. 
4. �7<5=<F5 >F>5D465=<5 >>>D4<=4F 4?O MF>7> DD5=<4 44==OE =4 45EOF<G=O5 7D44GEO 

5. � <5=N <=EFDG<5=FO 6O55D<F5 �?F<<. � �<4 44==OE � �><5=O=F5 >>DG7?5=<5 7=4G5=<= E 0 
4> 2 45EOF<G=OE 7=4>>6. 
6. �D<5?<7LF5 <7>5D465=<5 > EFD4=5 <?< D57<>=G, >F>G44 6O D>4><. �4=4<F5 =4 >4DF5 �4L 
7>D>4 < ?D<5?<7LF5EL > =5<G 4> <4ELF454 1:1 000 000 <?< 5>?LL5. 
7. �4 ?4=5?< �=EFDG<5=FO M5?>=<F5 �O5D4FL M?5<5=FO � 7445D6<F5 G>474F5?L <OL< =4 7>-
D>45 � 74?<L<F5 <=D>D<4F<N � >>>D4<=4FO 6 45EOF<G=OE  7D44GE4E >4> >=< < >F>5D464NFEO, 
=4764=<5 D57<>=4, EFD4=O. 

 

 

�D4>F<G5E>4O D45>F4 713 

�E?>?L7>64=<5 65>F>D=OE < D4EFD>6OE 44==OE 6 ArcMap 

1. �5D5=4<F5 6 >4F4?>7 \Student\DESK1\Exercise06 � >F>D>=F5 Map_projections.mxd 

2. �E?< ?>O6<?EO 74?D>E E>ED4=5=<O <7<5=5=<= 6 >F>DOF>< 4>>G<5=F5 >4DFO, M5?>=<F5 =5F. 
�E?>?L7G=F5 74>?44>G ?>?=O= M>EF5=F 

8.1. �7<5D5=<5 ??>M44< 6 ?D>5>F<< �5D>4F>D4. 
�4==4O ?D>5>F<O E>ED4=O5F <EF<==O5 D>D<O >5N5>F>6, => <E>4645F <E ??>M44<. 

1. �4 ?4=5?< �=EFDG<5=FO M5?>=<F5 =4 >=>?>5 �7<5D<FL. 
2. � 4<4?>7>6>< >>=5 �7<5D<FL =4=4<F5 >=>?>G �O5D4FL 54<=<FO � �?>M44L-�6.><?><5FDO 

3. � 4<4?>7>6>< >>=5 �7<5D<FL M5?>=<F5 =4 >=>?>5 �7<5D<FL >5N5>F � M5?>=<F5 =4 �D5=-
?4=4<<(5>?LL>= 55?O= >EFD>6 =465DEG >4DFO). 
�4>>64 ??>M44L �D5=?4=4<<, ?D54EF46?5==>= 6 ?D>5>F<< �5D>4F>D4? (<7=>D<DG=F5 45EO-
F<G=O5 7=4>< 6 >F65F4E) 
�E?>?L7GO <=EFDG<5=F �45=F<D<F<D>64FL ?D>E<>FD<F5 <EF<==GN ??>M44L �D5=?4=4<<, 
7=4G5=<5 >>F>D>= ?>>474=> 6 ?>?5 SQKM? (�D5=?4=4<O =4 E4<>< 45?5 O6?O5FEO E4<O< 
5>?LL<< 6 <<D5 >EFD>6><, => ?D>5>F<O �5D>4F>D4 ?>>47O645F 57> 16 D47 5>?LL5, G5< =4 
E4<>< 45?5) 
8.2. �7<5D5=<5 D4EEF>O=<O 6 ?D>5>F<< �5D>4F>D4. 
1. -5?>=<F5 =4 74>?44>5 �<<4-�>E>64. �>D>4 �<<4 D4E?>?>65= 6 =<6=5< ?56>< G7?G 
>4DFO, < 7>D>4 �>E>64 � 6 65DE=5< ?D46><.  
2. �O55D<F5 <=EFDG<5=F �7<5D<FL � �O5D4FL 54<=<FO � D4EEF>O=<5 � ><?><5FDO � �7<5-
D<FL 4?<=G � %5D>E D57G?LF4F>6 � 6>?NG<FL �4<O>4=<5 =4 >5N5>FO � �><5EF<FL >GDE>D 
=44 7>D>4>< �<<4 � M5?>=<F5 =4 7>D>45 �<<4 � ?5D5<5EF<F5 G>474F5?L <OL< > �>E>65 � 

>>744 G>474F5?L <OL< «74E64F<F» >5N5>F �>E>64, 46464O M5?>=<F5 4?O 7465DL5=<O <7-
<5D5=<O. �4?<L<F5 D4EEF>O=<5 >F �<<O 4> �>E>6O 6 ?D>5>F<< �5D>4F>D4 6 F5FD44L 

3. � 4<4?>7>6>< >>=5 �7<5D<FL 5M5 D47 M5?>=<F5 =4 >=>?>5 �4<O>4=<5 =4 >5N5>FO 4?O 
>F>?NG5=<O 74<O>4=<O. 
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4. -5?>=<F5 =4 E<<6>?5 <<=GE DO4>< E DD5=<>< 44==OE �D>5>F<O �5D>4F>D4, GF>5O 74-
>DOFL 57>. 
 

8.3. �7<5D5=<5 ??>M44< < D4EEF>O=<O 6 ?D>5>F<< �>?L65=45. 
1. � F45?<F5 E>45D64=<O 4>F<6<7<DG=F5 DD5=< 44==OE �D>5>F<O �>?L65=45 

2. �F>D>=F5 74>?44>G �>?=O= M>EF5=F 

�4==4O ?D>5>F<O �>?L65=45 E>ED4=O5F <EF<==O5 ??>M44< >5N5>F>6, => <E>4645F 
D>D<G. '5< 44?LL5 �O G44?O5F5EL =4 6>EF>> <?< 74?44 >F =G?56>7> <5D<4<4=4, F5< 
5>?55 ?5D5>>L5==>= EF4=>6<FEO D>D<4 >5N5>F>6. 
3.� 4<4?>7>6>< >>=5 �7<5D<FL M5?>=<F5 =4 >=>?>5 �7<5D<FL >5N5>F � %5D>E D57G?LF4F>6 
4?O >G<EF>< D57G?LF4F>6 ?D54O4GM57> <7<5D5=<O 

4. -5?>=<F5 =4 �6EFD4?<<. �4?<L<F5 ??>M44L �6EFD4?<< 

5. �E?>?L7GO <=EFDG<5=F �45=F<D<F<D>64FL ED46=<F5 <EF<==GN ??>M44L �6EFD4?<<. 
6. �7<5DLF5 D4EEF>O=<5 >F �<<O 4> �>E>6O 6 ?D>5>F<< �>?L65=45 

7. �F>?NG<F5 74<O>4=<5 =4 >5N5>FO 

8. %65D=<F5 DD5=< 44==OE �D>5>F<O �5D>4F>D4. 
 

8.4. �7<5D5=<5 ??>M44< < D4EEF>O=<O 6 ?D>5>F<< �<=>5?O &D>==>=. 
1. �>F<6<7<DG=F5 DD5=< 44==OE �D>5>F<O �<=>5?O FD>==4O 

2. �F>D>=F5 74>?44>G �>?=O= M>EF5=F 

�D>5>F<O �<=>5?O &D>==4O � >><?D><<EE=4O. �=4 =5 E>ED4=O5F =< <EF<==>= D>D<O, 
=< <EF<==>= ??>M44<, => GD57<5D=> =5 <E>4645F =< >4=>7> <7 E6>=EF6. 
3.�7<5DLF5 ??>M44L �D5=?4=4<< 

(%>FO 44==>5 7=4G5=<5 ?>GF< 6 464 D474 ?D56OL45F <EF<==O5 D47<5DO �D5=?4=4<<, MF> 
<E>465=<5 7>D474> <5=LL5 F>7>, GF> �O 6<45?< 6 ?D>5>F<< �5D>4F>D4.) 

4. �7<5DLF5 D4EEF>O=<5 >F �<<O 4> �>E>6O 

5. �>6F>D<F5 <7<5D5=<5, G45D6<64O =4 >?46<4FGD5 >?46<LG Shift 

'45D64=<5 >?46<L< Shift ?D< <7<5D5=<< D4EEF>O=<O 445F 64< <EF<==>5 D4EEF>O=<5 

 

�D4>F<G5E>4O D45>F4 714 

�47=4G5=<5 LD<DF>6 4?O >4DF. $45>F4 E F65F=>= ?4?<FD>=. 
 

$<E>64=<5 >5N5>F>6 E <E?>?L7>64=<5< 65>F>D=>7> <5F>44. 
1. � F5FD44< 74?<L<F5 747>?>6>> «�4D>-�5>F>D». �4D<EG=F5 >>>D4<=4F=O5 >E< E < G. � 

??4=<DG5<>< ?4D>5 5G4GF DGF5>?L=>5 ?>?5, ??464F5?L=O= 54EE5==, 65?>E<?54=4O 4>-
D>6>4, ?5E>G=<F4, EF>?O 4?O ?<>=<>4 < 45D56LO. 

2.  �4G5DF<F5 >464O= <7 >5N5>F>6, ?5D5G<E?5==OE 6 F45?<F5. �?O >FD<E>6>< >5N5>F>6 
=4=5E<F5 6 G>474==OE >>>D4<=4F4E F>G>G(=47O645<GN 4?O ?<=5==OE < ?>?<7>=4?L=OE 
>5N5>F>6 65DL<=>=) < E>54<=<F5 65DL<=O ?DO<O<< ?<=<O<<. �><=<F5, GF> 6 ?4D5 
>>>D4<=4F 7=4G5=<5 E E?54G5F ?5D6O<, 4 7=4G5=<5 G-6F>DO<. 

3. �44?<L<F5 >5N5>FO =4 >4DF5. 
�4764=<5 >5N5>F4 �>>D4<=4FO &<? 75><5FD<< 

�5D56> (22,20)  

$GF5>?L=>5 ?>?5 (2,2;  12,2;  12,19;  2,19;  2,2)  

%F>? 4?O ?<>=<>4 (18,4)  

�5?>E<?54=4O 4>D>6>4 (12,12;  19,12;  19,10;  26,10;  

26,14; 30,14; 30,7) 

 

�?464F5?L=O= 54EE5== (29,17;  37,17;  37,21;  29,17;)  

�5D56> (4,21)  

%F>? 4?O ?<>=<>4 (23,20)  

�5E>G=<F4 (30,4;  33,4;  33,5;  36,5; 36,7 30,7; 

30,4) 
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%F>? 4?O ?<>=<>4 (28,12)  

$<E>64=<5 >5N5>F>6 E <E?>?L7>64=<5< D4EFD>6>7> <5F>44. 
1. � MF>< 7444=<< ?D54EF46LF5 E555 ?4D> 6 6<45 ?>65DE=>EF< E6O74==OE OG55>, 745 >4644O 

OG5=>4 E>45D6<F G<E?>, ?D54EF46?ONM55 F<? >5N5>F4, =4E>4OM57>EO =4 MF>< <5EF5. � MF>< 
?D<<5D5 7=4G5=<O OG55> =5 E>45D64F <7<5D5=<= 65?<G<= <?< O6?5=<= (=4?D<<5D F4><E >4> 
6OE>FO) 6<5EF> MF>7> >=< O6?ONFEO >>44<<, ?D<E6>5==O<< 4?O >?<E4=<O >5N5>F4. �4?D<-
<5D, 7=4G5=<5 «1» ?D><76>?L=> ?D<E6>5=> 4?O DGF5>?L=>7> ?>?O. �5>7D4D<G5E><5 >5N5>-
FO 6 ?4D>5 >?D545?ONFEO ?>?>65=<O<< EFD>> < EF>?5F>6 6<5EF> >>>D4<=4F %< ' 

2. �4?>?=<F5 E5DO5 >644D4FO E>>F65FEF6GNM<<< 7=4G5=<O<< <7 E?<E>4 6 F45?<F5 (DGF5>?L-
=>5 ?>?5 G65 74?>?=5=>) 
�4764=<5 �=4G5=<5 

$GF5>?L=>5 ?>?5 1 

�5D56LO 2 

%F>?O 4?O ?<>=<>4 3 

�5E>G=<F4 4 

�?464F5?L=O= 54EE5== 5 

�5?>E<?54=4O 4>D>6>4 6 

� MF>= D45>F5 6O ?D<>5D5?< >?OF D45>FO E 65>F>D=O<< >5N5>F4<< < DEFD>6O<< ?>65DE-
=>EFO<<. -F>F <5F>4 >FD4645F <5F>4 D54?<74F<< 6 ArcGis 65>F>D=>= < D4EFD>6>= EFDG>FG-
DO 44==OE. 
 

 

�D4>F<G5E>4O D45>F4 715-16 

%G<FO64=<5 7=4G5=<= >>>D4<=4F 4?O 7444==OE <5EF>?>?>65=<=. �5D5>?NG5=<5 <564G 
L<D>F>=-4>?7>F>= < 45>4DF>6O<< >>>D4<=4F4<< 6 ArcMap. �4E>645=<5 <5EF>?>?>65=<O 

?> >>>D4<=4F4<. 
 

� MF>= D45>F5 6O 5G45F5 D45>F4FL E >4DF>= 54EE5==4 �<47>=>< 6 .6=>= �<5D<>5. �O 4>54-
6<F5 =4 >4DFG =>6O= E?>=, 74<5=<F5 EGM5EF6GNM<= E?>= 5>?55 ?>4E>4OM<< < <EE?54G5F5 

4FD<5GFO 4DG7>7> E?>O. �4644O 7444G4 ?>FD55G5F <E?>?L7>64=<O <5F444==OE. 
1. �4?GEF<F5 ArcCatalog 

2. � 45D565 >4F4?>74 ?5D5=4<F5 > > >4F4?>7G \Student\DESK1 < D4E>D>=F5 57>. 
3. -5?>=<F5 =4 ?4?>G Exercise08 � M5?>=<F5 =4 >=>?>G �5F4?< � 46464O M5?>=<F5 =4 4>>G-

<5=F5 >4DFO Amazon 6 74>?44>5 %>45D64=<5. (-F> 4?LF5D=4F<6=O= E?>E>5 74?GE>4 
ArcMap < >F>DOF<O E>ED4=5==>7> 4>>G<5=F4 >4DFO. 

�4 M>D4=5 4>?6=4 ?>O6<FLEO >4DF4 .6=>= �<5D<>< E =44?<E4==O<< 7>D>44<<.(�5D4F<F5 
6=<<4=<5, GF> 74?>G>4 =4?D>F<6 E?>O ��$��� ��%%���� �������� E5D4O  - MF> >7=4G4-
5F =4?<G<5 G E?>O 4<4?47>=4 6<4<<OE <4ELF45>6. �5N5>FO 6 MF>< E?>5 =4G=GF >F>5D464FLEO, 
>>744 6O ?D<5?<7<F5EL 4> <4ELF454 1:25 000 000 

12.1.�D>E<>FD 7D4D<G5E><E >5D47F>6 >?4EE>6 ?D>EFD4=EF65==OE >5N5>F>6. 
1. �5D=<F5EL 6 ArcCatalog. 

2. $4E>D>=F5 ?4?>G Database � South_America 

3.� 74>?44>5 %>45D64=<5 >7=4>><LF5EL E =4764=<O<< >?4EE>6 ?D>EFD4=EF65==OE >5N5>F>6. �< 
>4=> <7 =4764=<= =5 =46>4<F =4 <OE?L > >?4EE5 >5N5>F>6, E6O74==OE E >>54=><. 
4. -5?>=<F5 =4 >=>?>5 �5D47FO. &5?5DL 6 74>?44>5 %>45D64=<5 6<4=O <4?5=L><5 <7>5D465=<O 
>464>7> >?4EE4 >5N5>F>6. 
5. �>E<>FD<F5 E?<E>> >5D47F>6 =4 ?D54<5F F>7>, 5EFL ?< ED54< =<E GF>-=<5G4L, ?>E>655 =4 44=-
=O5 ?> >>54=4<. (��& �� ������) �4 5>?55 ?>4D>5=>= <=D>D<4F<5= <>6=> 6E5744 >5D4F<FLEO 
> <5F444==O<. 

12.2.�E?>?L7>64=<5 <5F444==OE 4?O ?><E>4 44==OE >>54=4 < 4>546?5=<5 <E 6 ArcMap. 

 1. �46<<F5 =4 74>?44>G �5F444==O5 � D4E>D>=F5 �47G 75>44==OE South_America. 

2. -5?>=<F5 =4 >?4EE ?D>EFD4=EF65==OE >5N5>F>6 Admin 4?O >F>5D465=<O 57> <5F>44==OE. 
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3. '4>EF>65DLF5EL, GF> 6 <5F444==OE ?>4E65G5=4 E<=OO 74>?44>4 Description. 

4. �D>>DGF<F5 6=<7 4> 75?5=OE 747>?>6>>6 Abstract, Purpose <  Supplementary Information. 

&5<4 Abstract � >?<EO645F 44==O5, F5<4 Purpose E>>5M45F 4?O G57> <E ?D54=47=4G45FEO <E?>?L7>-
64FL Supplementary Information <>65F E>45D64FL ?N5GN 4DG7GN ?>?57=GN <=D>D<4F<N. 
5.�D>E<>FD<F5 <5F444==O5 4?O D47=OE >?4EE>6 ?D>EFD4=EF65==OE >5N5>F>6, ?>>4 =5 =4=45F5 F>F, 
G >>F>D>7> 6 F5<5 Purpose 7>6>D<FEO > F><, GF> 44==O5 <>7GF <E?>?L7>64=O 4?O ?D54EF46?5=<O 6 
6<45 >>54=4. �>4E>47>4 >>54= =5 <>65F 5OFL ?D54EF46?5= >?4EE>< F>G5G=OE <?< ?<=5==OE 
?D>EFD4=EF65==OE >5N5>F>6. &4>65 <>6=> <E>?NG<FL =5>>F>DO5 >?4EEO, <EE>4O <7 =4764=<=. 
���$�%: �4> =47O645FEO =G6=O= 64< >?4EE ?D>EFD4=EF65==OE >5N5>F>6? 

6. � 45D565 >4F4?>74 M5?>=<F5 =4 MF>< >?4EE5 ?D>EFD4=EF65==OE >5N5>F>6. 
7. �5D5F4M<F5 57> <7 ArcCatalog 6=<7 F45?<FO E>45D64=<O ArcMap. �?4EE ?D>EFD4=EF65==OE 
>5N5>F>6 5O? 4>546?5= 6 ArcMap >4> =>6O= E?>= 4=4?>7<G=> F><G, >4> 5E?< 5O 6O <E?>?L7>64?< 
>=>?>G �>546<FL 44==O5. 
8. �<=<<<7<DG=F5 >>=> ArcCatalog. 

�>6O= E?>= >F>5D47<FEO E?GG4==>-6O5D4==O< F65F>< �6>7<>6=> E<=<<. 
�4764=<5 World30(>F=>E<FEO > ?<=<O< <7>5D464NM<< 30-7D44GE=O5 <=F5D64?O L<D>FO < 4?7>-
FO) 
9. �5D5<<5=G=F5 E?>= World30 6 �>54=. 
�O =5 <7<5=<?< <<O >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 World30 6 5475 75>44==OE 
South_America. �E5 GF> 6O <7<5=<?< � MF> <<O E?>O 6 44==>< 4>>G<5=F5 >4DFO 

10. �>546LF5 =4 >4DFG D>=>6O= E?>= (� F45?<F5 E>45D64=<O M5?>=<F5 =4 E<<6>?5  E?>O �>54=  - 
M5?>=<F5 =4 E<<6>?5 557 >>=FGD4  Blue 

 

�D4>F<G5E>4O D45>F4 717 

 

�7<5D5=<5 ??>M44< EFD4= 6 D47=OE ?D>5>F<OE. �7<5D5=<5 D4EEF>O=<O <564G 7>D>44<< 6 
D47=OE ?D>5>F<OE. %D46=5=<5 <7<5D5=<= E D54?L=O<< 7=4G5=<O<<. 

1. �F>D>=F5 Student\DESK1\Exercise10\Corvallis_security.mxd. 

�F>D>5FEO >4DF4 7>D>44 �>D64??<E E <G=<F<?4?L=O<< 744=<O<<, 65?57=O<< 4>D>74<< < >E=>6-
=O<< 46F><47<EFD4?O<<. �?O 74M<FO <G=<F<?4?L=OE 744=<= < 65?57=OE 4>D>7 >F 45=EF6<=, 
?D54EF46?ONM<E G7D>7G =4F<>=4?L=>= 557>?4E=>EF<, �O E>7444<F5 6>>DG7 =<E E4=<F4D=O5 (5G-
D5D=O5) 7>=O. 
2.�F>D>=F5 4FD<5GF<6=GN F45?<FG E?>O �G=<F<?4?L=O5 744=<O. �<4=>, GF> G >464>7> 744=<O 
5EFL =4764=<5, 44D5E, < >F65FEF65==4O 74 M>E??G4F4F<N 744=<O E?G654. �D< 5GD5D<74F<< 744=<= 
5G45F E>744= =>6O= >?4EE ?D>EFD4=EF65==OE >5N5>F>6, G >>F>DOE 5G45F 4>546?5=> =>6>5 4FD<5G-
F<6=>5 ?>?5. 
17.1.�E?>?L7>64=<5 <=EFDG<5=F4 �GD5D 4?O E>744=<O 5GD5D=OE 7>= 6>>DG7 744=<=. 
1.�F>D>=F5 ARCtOOLBOX/ �=4?<7/�?<7>EFL. 
�O 5G45F5 <E?>?L7>64FL <=EFDG<5=F �GD5D 4?O E>744=<O 7>= 557>?4E=>EF< 6>>DG7 <G=<F<?4?L-
=OE 744=<=. 
2.�F>D>=F5 <=EFDG<5=F �?<7>EFL � �GD5D. 
3.�E>4=O5 >5N5>FO-�G=<F<?4?L=O5 744=<O � 6OE>4=>= >?4EE � <7<5=<F5 =4764=<5 >?4EE4 =4 
Muni_buf1000 

4.'>46<F5 D4EEF>O=<5 $GFO < 6654<F5 7=4G5=<5 1000 

5. -5?>=<F5 ��, GF>5O 74?GEF<FL <=EFDG<5=F < E>744FL 5GD5D=O= E?>=. 
6. �GD5D=O= E?>= 46F><4F<G5E>< 5G45F 4>546?5= =4 >4DFG < 6O G6<4<F5 1000-DGF>6O5 5GD5D=O5 
7>=O 6>>DG7 6E5E <G=<F<?4?L=OE 744=<=. 
7. �F>D>=F5 4FD<5GF<6=GN F45?<FG 4?O E?>O Muni_buf1000 (6O G6<4<F5 4FD<5GFO(=4764=<O 744-
=<=, 44D5E4 < 475=FEF64) ??NE =>6O= 4FD<5GF BUFF_DIST, E>45D64M<= 7444==>5 64<< 5GD5D=>5 
D4EEF>O=<5 (1000 DGF>6) 
17.2.�E?>?L7>64=<5 <=EFDG<5=F4 �GD5D 4?O 5GD5D<74F<< 65?57=OE 4>D>7. 
1.�F>D>=F5 <=EFDG<5=F �GD5D 
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2. -5?>=<F5 =4 EFD5?>5 6=<7 6 EFD>>5 �E>4=O5 >5N5>FO < 6O55D<F5 6 E?<E>5 �5?57=O5 4>D>7<. 
3.� ?>?5 �OE>4=>= >?4EE >5N5>F>6 <7<5=<F5 =4764=<5 >?4EE4 =4 Rails_buf500. 

4.� >?F<< $4EEF>O=<5 6654<F5 7=4G5=<5 500 DGF>6. 
�<5EF> F>7>, GF>5O E>744FL >F45?L=O= 5GD5D 6>>DG7 >464>7> ?D>EFD4=EF65==>7> >5N5>F4 � 

GG4EF>4 65?57=>= 4>D>7<, 6O E>?L5F5 5GD5D=O5 7>=O 6 >4<= ?D>EFD4=EF65==O= >5N5>F, G44?<6 
?5D5>DOF<O <564G =<<<. 
5.�7 E?<E>4 &<? E?<O=<O 6O55D<F5 ALL 

6. -5?>=<F5 ��, GF>5O 74?GEF<FL <=EFDG<5=F < E>744FL =>6O= >?4EE ?D>EFD4=EF65==OE >5N5>-
F>6. �>6O= E?>= Rails_buf500 5G45F 4>546?5= =4 >4DFG. �O G6<4<F5 54<=GN 500-DGF>6GN 5GD5D-
=GN 7>=G 6>>DG7 6E5E 65?57=>4>D>6=O= ?<=<=. 
17.3.�7GG5=<5 5GD5D=>7> E?>O 65?57=OE 4>D>7. 
1. �F>D>=F5 4FD<5GF<6=GN F45?<FG 4?O E?>O Rails_buf500. &4< 6O G6<4<F5 6E57> >4=G 74?<EL, 
?D54EF46?ONMGN 5GD5D=O= ?>?<7>= 

2.�4>D>=F5 4FD<5GF<6=GN F45?<FG < E>ED4=<F5 4>>G<5=F >4DFO Student\DESK1\Exercise10 ?>4 
=4764=<5< My_security.mxd 

�O6>4: � MF>= D45>F5 6O E>744?< 5GD5D=O5 7>=O 6>>DG7 <G=<F<?4?L=OE 744=<= < 65?57=OE 4>-
D>7. �?O MF>7> 6O <E?>?L7>64?< <=EFDG<5=F 75>>5D45>F>< �GD5D. �464O= D47 E>74464?EO =>6O= 
>?4EE ?D>EFD4=EF65==OE >5N5>F>6, E>45D64M<= ?>?<7>=O 5GD5D=OE 7>=. &5?5DL �O <>65F5 
=4>?44O64FL E?>< 5GD5D=OE 7>= =4 4DG7<5 E?><, GF>5O G7=4FL, >4><5 >5N5>FO 4DG7<E E?>56 ?>?4-
44NF 6 MF< 5GD5D=O5 <?< «E4=<F4D=O5» 7>=O. 

�D4>F<G5E>4O D45>F4 718 

 

�E?>?L7>64=<5 <5F444==OE 6 ArcCatalog. 

�=>7<5 >E>5> >ED4=O5<O5 ?D<D>4=O5 F5DD<F>D<<, =4?D<<5D, 74?>654=<>< < =4F<>=4?L-
=O5 ?4D><, EF4?><64NFEO E ?D>5?5<4<< 5D4>>=L5DEF64, =574>>==OE ?5E>747>F>6>>, 6O5D>E4 <G-
E>D4 64>?L 4>D>7 < D47D4EF4=<O =4E5?5==OE F5DD<F>D<=. 
�>F =5>>F>DO5 ?GF< D5L5=<O MF<E ?D>5?5<: 
1.%>744FL 5GD5D=O5 7>=O 6>>DG7 >ED4=O5<OE F5DD<F>D<=, GF>5O G D54><E 6<4>6 6<6>F=OE < 
D4EF5=<= 5O?> 4>?>?=<F5?L=>5 <5EF>. 
2%45?4FL ?D<>D<F5F=O< E>54<=5=<5 ?4D>>6 < ?5E=OE F5DD<F>D<=, E>74464O <564G =<<< =4> 
=47O645<O5 «75?5=O5 >>D<4>DO» 

3.�?D545?<FL «>EFD>6=O5» ?4D><, >>F>DO5 E> 6E5E EF>D>= >>DG65=O 7>D>44<< < ?D><OL?5==O-
<< ?D54?D<OF<O<<. 
� MF>< 7444=<< 6O 5G45F5 <7GG4FL ?4D><, ?5E4, D5>< < 7>D>4E><5 F5DD<F>D<< LF4F4 �5=E<?L-
64=<O. �O 5G45F5 E>74464FL 5GD5D=O5 7>=O 6>>DG7 ?5E>6 < ?4D>>6, 4 F4>65 6>>DG7 D5>, 4 74F5< 
6O?>?=<F5 =4?>65=<5 <E 4DG7 =4 4DG74, GF>5O E>744FL =>6O= >?4EE ?D>EFD4=EF65==OE >5N5>-
F>6 >E>5> >ED4=O5<OE ?D<D>4=OE F5DD<F>D<= (���&). � 4>?>?=<F5?L=>< L475 <>6=> F4>65 
5G45F =4?>6<FL ���& < 7>D>4E><5 F5DD<F>D<<, GF>5O >?D545?<FL, 745 >ED4=O5<O5 F5DD<F>-
D<< =4E>4OFEO ?>4 6>745=EF6<5< D>EF4 7>D>4>6. 

1. �F>D>=F5 Student\DESK1\Exercise10\Penn_Parklands.mxd. 

2.-5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �7GG45<4O >5?4EFL < 6O55D<F5 >><4=4G �D<5?<7<FL > 
E?>N. 
3.�>?NG<F5 E?>= �4D>< < ?5E4. �O G6<4<F5 =4F<>=4?L=O5 ?4D>< < ?5E4 LF4F4, =4E>4OM<5EO 6 
E565D>-6>EF>G=OE >>DG74E. -F< ?D>EFD4=EF65==O5 >5N5>FO =44> 5GD5D<7>64FL, GF>5O E>744FL 
6>>DG7 =<E >ED4=O5<O5 F5DD<F>D<<.  

18.1.�E?>?L7>64=<5 <=EFDG<5=F4 �GD5D 4?O 5GD5D<74F<< ?4D>>6 < ?5E>6. 
1.ArcToolbox � �=4?<7- �?<7>EFL � �GD5D. 
2.�E>4=O5 >5N5>FO-%?>= �4D>< < ?5E4 

3.�?O 6OE>4=>7> >?4EE4 <7<5=<F5 =4764=<5 =4 Parks_Buf1. 

4.� D4EEF>O=<< G>46<F5 54<=<FO 4?<=O ���� < 6654<F5 7=4G5=<5 1 

5. -5?>=<F5 ��, GF>5O 74?GEF<FL <=EFDG<5=F < E>744FL 5GD5D=O= E?>=. �GD5D=O= E?>= 
Parks_Buf1 46F><4F<G5E>< 5G45F 4>546?5= =4 >4DFG. 
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6.� F45?<F5 E>45D64=<O ?5D5F4M<F5 E?>= �4D>< < ?5E4 6OL5 Parks_Buf1. �O G6<4<F5 5GD5D=O5 
7>=O L<D<=>= 6 1 <<?N 6>>DG7 ?4D>>6. -F< 5GD5D=O5 7>=O <>7GF E?G6<FL >ED4=O5<O<< F5DD<-
F>D<O<<. �4?55 6O 5G45F5 E>74464FL 5GD5D=O5 7>=O 6>>DG7 D5>, GF>5O < 4?O =<E E>744FL E4=<-
F4D=O5 7>=O. 
18.2.�OD574=<5 D5>, =4E>4OM<EEO =4 <7GG45<>= F5DD<F>D<<. 
1. �>?NG<F5 E?>= �DG?=O5 D5><. �O 6<4<F5, GF> D5>< 6OE>4OF 74 7D4=<FO <7GG45<>= F5DD<F>-
D<<. �4==O5 74 ?D545?4<< MF>= F5DD<F>D<< 64E =5 <=F5D5EGNF, ?>MF><G <E =44> G44?<FL. �?O 
MF>7> 6O 6>E?>?L7G5F5EL <=EFDG<5=F>< �OD574=<5 < >5D565F5 >5N5>FO D5> ?> 7D4=<F5 <7GG45<>= 
F5DD<F>D<< ?5D54 F5<, >4> <E 5GD5D<7<D>64FL 

2. ArcToolbox-�=4?<7-�76?5G5=<5 � �OD574=<5 

3. -5?>=<F5 =4 >=>?>5 %?D46>4 � >F>D>5FEO %?D46>G=4O E<EF5<4 ArcGIS Desktop =4 EFD4=<F5, 
?>E6OM5==>= <=EFDG<5=FG �OD574=<5. 
4.-5?>=<F5 =4 EEO?>5 «�>?55 ?>4D>5=> > F><, >4> D45>F45F <=EFDG<5=F �OD574=<5» 

�>?D>E: �4>>= E?>= �O 5G45F5 <E?>?L7>64FL 4?O 6OD574=<O D5>? 

�>?D>E: �4>>7> F<?4 ?D>EFD4=EF65==O5 >5N5>FO(F>G><, ?<=<< <?< ?>?<7>=O) 4>?65= E>45D64FL 
6OD574NM<= >?4EE ?D>EFD4=EF65==OE >5N5>F>6? 

5.�D>E<>FD<F5 ?D<<5DO <E?>?L7>64=<O <=EFDG<5=F4 �OD574=<5, 74>D>=F5 >>=> %?D46>G=>= E<-
EF5<O. 
6.-5?>=<F5 =4 EFD5?>5 6=<7 �E>4=O5 >5N5>FO � 6O55D<F5 E?>= �DG?=O5 D5>< � �OD574NM<5 
>5N5>FO 6O55D<F5 �7GG45<4O >5?4EFL. 
7.�7<5=<F5 =4764=<5 �OE>4=>7> >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 =4 May_Riv_Clip. 

8.-5?>=<F5 ��, GF>5O 74?GEF<FL <=EFDG<5=F < E>744FL 6OD574==O= E?>=. �>6O= E?>= 5G45F 46-
F><4F<G5E>< 4>546?5= =4 >4DFG. 
9.� F45?<F5 E>45D64=<O G44?<F5 E?>= �DG?=O5 D5><. $5>< =>6>7> E?>O >5D574=O ?> 7D4=<F5 <7G-
G45<>= F5DD<F>D<<. 
10.�7<5=<5F GE?>6=>5 >5>7=4G5=<5 D5> F4><< >5D47><, GF>5O >=< EF4?< 7>?G5>7> F65F4. 
18.3.�E?>?L7>64=<5 <=EFDG<5=F4 �GD5D, GF>5O 5GD5D<7<D>64FL D5><. 
1.�F>DOFL �GD5D- �E>4=O5 >5N5>FO G>46<F5 May_Riv_Clip � �OE>4=>= >?4EE >5N5>F>6 74<5=<F5 
=4764=<5 >?4EE4 =4 May_Riv_Clip_Buf. 

2.'EF4=>6<F5 D4EEF>O=<5 0,5 <<?< 

3. � >>>L>5 &<? E?<O=<O G>46<F5 ALL(6E5) 
�>?D>E: �4> 6?<O5F =4 E>744=<5 5GD5D=OE 7>= GEF4=>6>4 ALL? 

4.-5?>=<F5 ��, GF>5O 74?GEF<FL <=EFDG<5=F < E>744FL 5GD5D=O= E?>=. �GD5D=O= E?>= 4>546?5= 
=4 >4DFG. �O G6<4<F5 5GD5D L<D<=>= 6 <<?N 6>>DG7 D5>. 
5.�F>?NG<F5 May_Riv_Clip, GF>5O 5GD5D=O= E?>= 5O?> ?GGL5 6<4=>. 
18.4.�4?>65=<5 5GD5D=OE 7>= ?4D>>6 < D5>. 
�O E>744?< 5GD5D=O5 7>=O 6>>DG7 ?4D>>6 < D5>, >>F>DO5 5G4GF E?G6<FL >ED4=O5<O<< ?D<D>4-
=O<< F5DD<F>D<O<<. �4?55 =44> 5G45F E>><5<=<D>64FL MF< 5GD5D=O5 E?><, GF>5O E>744FL =>6O= 
>?4EE ?D>EFD4=EF65==OE >5N5>F>6 >ED4=O5<OE F5DD<F>D<= 

 

 

 

 

 

 

 

 

 

1.�F>D>=F5 <=EFDG<5=F �4?>65=<5 � �5N54<=5=<5 � �E>4=O5 >5N5>FO � Parks_Buf1. -F> 5G45F 
?5D6O= 6E>4=>= E?>=. 
2.� EFD>>5 6E>4=O5 >5N5>FO  6O55D<F5 6F>D>= 6E>4=>= E?>= May_Riv_Clip_Buf 

3.� >>>L>5 �OE>4=>= >?4EE 74<5=<F5 =4764=<5 >?4EE4 =4 Buffer_Union 

�GD5D<7>64FL ?4D>< < ?5E4 

�OD574FL D5>< ?> 

7D4=<F4< <7GG45<>= 
F5DD<F>D<< 

�GD5D<-
7<D>64FL 

D5>< 

�4?>6<FL 5GD5D=O5 
7>=O ?4D>>6 < D5> 

�5D5<<5=>64FL >5N54<=5==O= 
E?>= 6 Protected Areas 
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�4 >4DFG 4>546<FEO =>6O= E?>=, ?D54EF46?ONM<= >ED4=O5<O5 F5DD<F>D<< 6>>DG7 ?4D>>6 < D5>. � 
MF<E F5DD<F>D<OE G D54><E 6<4>6 5G4GF 4>?>?=<F5?L=O5 <5EF>>5<F4=<O, > F><G 65 >=< 5G4GF 
E?G6<FL «75?5=O<< >>D<4>D4<<» <564G ?4D>4<<. 
4.�5D5<<5==GF5 =>6O= E?>= 6 �ED4=O5<O5 F5DD<F>D<<. 
18.5.�4?>65=<5 >E>5> >ED4=O5<OE < 7>D>4E><E F5DD<F>D<=. 
�4?55 �O ?D>4=4?<7<DG5F5 >E>5> >ED4=O5<O5 ?D<D>4=O5 < 7>D>4E><5 F5DD<F>D<<, GF>5O 6O-
O6<FL, >4><5 ?D<D>4=O5 F5DD<F>D<< >>DG65=O 7>D>4E>>= 74EFD>=>>=. �?O MF>7> 5G45< <E?>?L7>-
64FL <=EFDG<5=F �5D5E5G5=<5. 
1.�>?NG<F5 E?>= �>D>4E><5 F5DD<F>D<<. 
2.�5D5F4M<F5 E?>= �>D>4E><5 F5DD<F>D<< 6 F45?<F5 E>45D64=<O ?>65DE E?>O �ED4=O5<O5 F5DD<-
F>D<<, GF>5O 57> ?GGL5 5O?> 6<4=> 

3. �6464O M5?>=<F5 =4 <=EFDG<5=F5 �5D5E5G5=<5 6 EFD>>5 �E>4=O5 >5N5>FO G>46<F5 �ED4=O5-
<O5 F5DD<F>D<< 

4. � EFD>>5 �E>4=O5 >5N5>FO 6O55D<F5 6F>D>= 6E>4=>= E?>= �>D>4E><5 F5DD<F>D<<. 
5. � 6OE>4=>< >?4EE5 >5N5>F>6 74<5=<F5 =4764=<5 >?4EE4 =4 PA_Urban_Intersect - ��. �>6O= 
E?>= ?>O6<FEO =4 >4DF5. 
6. �F>?NG<F5 6E5 E?>< >D><5 G5FOD5E: PA_Urban_Intersect, �7GG45<4O >5?4EFL, �>DG74 �5=E<?L-
64=<<, ,F4FO. 
� E?>5 ?5D5E5G5=<O 6O G6<4<F5 F5DD<F>D<<, 745 >ED4=O5<O5 5GD5D=O5 7>=O < 7>D>4E>4O 74-
EFD>=>4 =4>?44O64NFEO 4DG7 =4 4DG74 (?5D5E5>4NFEO) -F> >>=D?<>F=O5 7>=O. �<5==> <E =44> 6 

?5D6GN >G5D54L >ED4=OFL < ?D56D4M4FL 6 75?5=O5 >>D<4>DO, GF>5O D54><5 D4EF5=<O =5 6OF4?FO-
64?<EL, 4 D54><5 6<4O 6<6>F=OE =5 D4E?G7<64?<EL < =5 =4E>4<?<EL 6 EFD5EE>6>< E>EF>O=<<. 
7. %>ED4=<F5 4>>G<5=F >4DFO G E55O 6 ?4?>5 \Student\DESK1\Exercise10 ?>4 <<5=5< 
My_Parklands.mxd. 

�O6>4: � MF>< G?D46=5=<< 6O E>744?< 5GD5D=O5 7>=O 4?O ?4D>>6 < D5>. �464O= D47 E>-
74464?<EL =>6O5 >?4EEO ?D>EFD4=EF65==OE >5N5>F>6. �4F5< E ?><>MLN <=EFDG<5=F4 �5N-
54<=5=<5 6O E>><5<=<D>64?< 5GD5D=O5 7>=O 6 >4<= >?4EE ?D>EFD4=EF65==OE >5N5>F>6, 
?D54EF46?ONM<= >ED4=O5<O5 F5DD<F>D<<. � =4>>=5F, 6 ?>E?54=5< 4>?>?=<F5?L=>< L475 
6O <E?>?L7>64?< <=EFDG<5=F �5D5E5G5=<5 4?O =4?>65=<O >ED4=O5<OE ?D<D>4=OE F5DD<-
F>D<= < D4=>=>6 7>D>4E>>= 74EFD>=><, 745 >ED4=4 < D476<F<5 F5DD<F>D<< =4E>4OFEO 6 >>=-
D?<>F5. 
 

�D4>F<G5E>4O D45>F4 719 

 

�=4?<7 ?>G65==OE 44==OE. �OG<E?5=<5 ??>M445= D47?<G=OE F<?>6 ?>G6. 
 

� ?D>L?>= ?45>D4F>D=>= D45>F5 6O 6O5<D4?< ?D>EFD4=EF65==O5 >5N5>FO =4 >E=>64=<< 
<E ?D>EFD4=EF65==OE >F=>L5=<= E 4DG7<<< >5N5>F4<< ?D< ?><>M< �O5>D>< ?> D4E?>?>65=<N. 
�DG7>= E?>E>5 ED46=<FL >F=>L5=<O <564G ?D>EFD4=EF65==O<< >5N5>F4<< D47=OE E?>56 � MF> 
=4?>6<FL <E 4DG7 4DG74 (?><5EF<FL >4<= E?>= ?>65DE 4DG7>7>). � ArcMap MF> <>6=> E45?4FL <?< 
6<7G4?L=>, ?D>EF> 6>?NG4O < >F>?NG4O E?><, <?< E45?46 >4<= E?>= ?D>7D4G=O< (GF>5O E>6>7L 
=57> ?D>E65G<64?< >EF4?L=O5 E?><). $4755D5< 5M5 >4<= E?>E>5 ED46=5=<O >F=>L5=<= <564G 
>5N5>F4<< D47=OE E?>56 � =4?>65=<O <E 4DG7 =4 4DG74 E ?><>MLN <=EFDG<5=F>6 �=4?<74 � �5N-
54<=<FL < �5D5E5GL. 
� MF>< G?D46=5=<< 6O 5G45F5 <7GG4FL <=EFDG<5=FO �=4?<74 6 ArcToolbox < <E?>?L7>64FL <=-
EFDG<5=F �5D5E5GL 4?O =4?>65=<O >5N5>F>6 E?>O 75<5?L=OE GG4EF>>6 =4 E?>= E 7>=>= 74F>??5-
=<O. �4F5< ?D>E<>FD<F5, >4><< >5D47>< 4FD<5GFO 74F>??5=<O ?D<?<EO64NFEO > 4FD<5GF4< 75-
<5?L=OE GG4EF>>6 6 =>6>< 6OE>4=>< >?4EE5 ?D>EFD4=EF65==OE >5N5>F>6. 

1. �4?GEF<F5 ArcMap\Student\Exercise10\Corvallis_flood.mxd 

2. �>?NG<F5 E?>= �>=O 74F>??5=<O. (�O G6<4<F5, GF> 7>=O 74F>??5=<O =4>?44O64NFEO =4 75<5?L-
=O5 GG4EF><, => E?>6=> E>474FL, =4 >4><5 >>=>D5F=>. 'F>5O EF4?< 6<4=O < 75<5?L=O5 GG4EF><, 
64< =44> E45?4FL 7>=O 74F>??5=<O ?D>7D4G=O<<. 
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3. �4 ?4=5?< <=EFDG<5=FO -DD5>FO, G554<F5EL,GF> GEF4=>6?5= E?>= �>=O 74F>??5=<O. -5?>=<F5 
=4 <=EFDG<5=F5 �4EFD><FL ?D>7D4G=>EFL � GEF4=>6<F5 35%. 

�D54?>?>6<<, 6O E>F<F5 G7=4FL, >4><5 75<5?L=O5 GG4EF>< ?>?4?< 6 7>=G 74F>??5=<O (>4> 100-

?5F=NN,F4> < 500-?5F=NN) -F> <>6=> >?D545?<FL ?GF5< =4?>65=<O E?>56 E 75<5?L=O<< GG4EF-
>4<< < 7>=4<< 74F>??5=<O 4DG7 =4 4DG74 E ?><>MLN <=EFDG<5=F4 �5D5E5G5=<5. 
�>?D>E: �>E?5 ?D<<5=5=<O  <=EFDG<5=F4 �5D5E5G5=<5 >4><5 ?D>EFD4=EF65==O5 >5N5>FO >>46GF-
EO 6 =>6>< >?4EE5 ?D>EFD4=EF65==OE >5N5>F>6? 

16.1.�7GG5=<5 4FD<5GF>6 75<5?L=OE GG4EF>>6 < 7>= 74F>??5=<O. 
�5D54 F5< >4> 6O?>?=OFL =4?>65=<5, <7GG<F5 4FD<5GFO, E6O74==O5 E >464O< <7 E?>56. 

1. �F>D>=F5 F45?<FG 4FD<5GF>6 E?>O �5<5?L=O5 GG4EF><. �5D4F<F5 6=<<4=<5, GF> G >464>7> 75-
<5?L=>7> GG4EF>4 E6>= G=<>4?L=O= =><5D 6 ?>?5 ACCOUNT. �D>G<5 4FD<5GFO >?<EO64NF <5-
EF>?>?>65=<5, EF><<>EFL < D47<5D 75<5?L=OE GG4EF>>6. 

2. �F>D>=F5 F45?<FG 4FD<5GF>6 E?>O �>=O 74F>??5=<O. �5D4F<F5 6=<<4=<5, GF> G >464>7> ?>?<7>=4 
5EFL <45=F<D<>4F>D ID < >?D545?5=<5 DEF 100 <?< 500. �D< 6O?>?=5=<< ?5D5E5G5=<O 4FD<5GFO 
?D>EFD4=EF65==OE >5N5>F>6 7>=O 74F>??5=<O 5G4GF ?D<E>54<=5=O > 4FD<5GF4< ?5D5>DO645<OE 
<<< >5N5>F>6 75<5?L=OE GG4EF>>6. 
16.2. �F>DOF<5 ArcToolbox. 

1. -5?>=<F5 =4 >=>?>5 �>>474FL/%>DOFL >>=> ArcToolbox. 

2. $4765D=<F5 =45>D <=EFDG<5=F>6 �=4?<7 � �4?>65=<5. �4< ?>=44>5<FEO <=EFDG<5=F �5D5E5G5-
=<5 4?O =4?>65=<O 75<5?L=OE GG4EF>>6 < 7>= 74F>??5=<O. �<4?>7>6>5 >>=> <=EFDG<5=F4 >F>D>-
5FEO E?564, 4 ?4=5?L %?D46>< MF>7> <=EFDG<5=F4 � E?D464. �4 D<EG=>5 6 ?4=5?< %?D46>< 6<4=>, 
GF> 6 D57G?LF4F5 ?D<<5=5=<O <=EFDG<5=F4 6 6OE>4=O5 44==O5 ?>?445F F>?L>> >5?4EFL, >5M4O 
4?O >5><E 6E>4=OE E?>56. 
3. -5?>=<F5 =4 EFD5?>5 6=<7 �E>4=O5 >5N5>FO < 6O55D<F5 �5<5?L=O5 GG4EF><. �O55D<F5 6 MF>< 
65 E?<E>5 �>=O 74F>??5=<O. 
4. �?O 7=4G5=<O �OE>4=>= >?4EE >5N5>F>6 <7<5=<F5 =4764=<5 >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 
=4 Parcels_flood. 

5. -5?>=<F5 ��, GF>5O 74?GEF<FL <=EFDG<5=F < E>744FL =>6O= E?>= 

6.�4>D>=F5 >>=> E E>>5M5=<5<, >>744 ?D>F5EE 74>>=G<FEO. 
�4 >4DFG 4>546<?EO =>6O= E?>=, Parcels_flood (74F4??<645<O5 GG4EF><). �5D4F<F5 6=<<4=<5, GF> 
6 =5< E>45D64FEO ?<LL F5 ?D>EFD4=EF65==O5 >5N5>FO, GF>  ?>?4?< 6 7>=G 74F>??5=<O. 
16.3.�7GG5=<5 D57G?LF4F>6 < =44?<EO64=<5. 
 1. �F>D>=F5 4FD<5GF<6=GN F45?<FG 4?O E?>O Parcels_flood. �5D4F<F5 6=<<4=<5, GF> 6 F45?<FG 
4>546?5=O 4FD<5GFO 7>= 74F>??5=<O. &5?5DL 6O =44?<L<F5 ?D>EFD4=EF65==O5 >5N5>FO ?> 7=4G5-
=<O< 4FD<5GF>6 74F>??5=<O. (�4 ?56>= ?4=5?< �?4EEO =4?<E5= ?>EF46LF5 >F<5F>G DO4>< E  Par-

cels_flood. �<65 Parcels_flood M5?>=<F5 =4 >?4EE5 �> G<>?G4=<N, GF>5O 6O45?<FL 57>. 
4. %?D464 6 E?<E>5 �>?5 6O55D<F5 6 >4G5EF65 ?>?O =44?<E5= FLD_DEF. �E5 ?D>EFD4=EF65==O5 

>5N5>FO =>6>7> E?>O 5G4GF ?>4?<E4=O >?D545?5=<O<< 7>= 74F>??5=<O. %>ED4=<F5 4>>G<5=F >4D-
FO Student\DESK1\Exercise10\My_flood.mxd 

�O6>4: � MF>< 7444=<< �O 6<7G4?L=> <7GG<?< E?>= 75<5?L=OE GG4EF>>6 < E?>= E 7>=4<< 74F>?-
?5=<O, 4 F4>65 >?D545?<?<, 745 MF< E?>< ?5D5>DO64NFEO. �4F5< �O E>><5<=<D>64?< MF< 464 E?>O 
?GF5< =4?>65=<O. �?O 6O?>?=5=<O =4?>65=<O �O <E?>?L7>64?< <=EFDG<5=F �5D5E5G5=<5. � D5-
7G?LF4F5 ?>?GG<?EO =>6O= >?4EE ?D>EFD4=EF65==OE >5N5>F>6, 6 >>F>DO= ?>?4?< F>?L>> F5 GG4EF-
><, >>F>DO5 ?>?4?< 6 7>=G 74F>??5=<O. �7GG<6 4FD<5GF<6=GN F45?<FG =>6>7> E?>O, 6O 74<5F<?<, 
GF> > >464><G >5N5>FG 75<5?L=>7> GG4EF>4 5O?< ?D<?<E4=O 4FD<5GFO 7>=O 74F>??5=<O 6 MF>< 
<5EF5. �44?<E4?< 6E5 ?D>EFD4=EF65==O5 >5N5>FO. 
 

 

�D4>F<G5E>4O D45>F4 720-21 

'EF4=>6>4 GE?>6=OE >5>7=4G5=<= < =44?<E5= 4?O ?D>EFD4=EF65==OE >5N5>F>6. $45>F4 E 
DD5=<>< 44==OE 6 6<45 >><?>=>6>< 
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�>47>F>6>4 < 6O6>4 =4 ?5G4FL ??4=>6>->4DF>7D4D<G5E>>7> <4F5D<4?4 6 7444==>< <4ELF4-
55. 

 

%5>D 6E57> =5>5E>4<<>7> 4?O 75>7D4D<G5E>>7> <EE?54>64=<O. 
�<F5?< 7>D>44 '<?E>= <5GF4NF ?>EFD><FL =>6O= 46>D5F 45FE>>7> F6>DG5EF64. � >><<F5F5 
?> 6O5>DG <5EF4 4?O EFD><F5?LEF64 5O?< ED>D<G?<D>64=O >D<F5D<< 6O5>D4 <5EF4: 

1. �5EF> 4>?6=> 5OFL 6 D4=>=5 E 6OE>>>= G<E?5==>EFLN =4E5?5=<O L>>?L=>7> 6>7D4EF4. 
2. �5EF> 4>?6=> 5OFL 6 7>=5 6<?>= 74EFD>=><. 
3. �D54?>GF<F5?L=> =544?5>> >F L>>?-465==44F4F<?5F>> �-12* 

4. �D54?>GF<F5?L=> =4 75<5?L=OE GG4EF>4E D47<5D>< =5 <5=55 >4=>7> 4>D4. 
�4< =5>5E>4<<> E>744FL >4DFG 6>7<>6=OE <5EF EFD><F5?LEF64, GF>5O <E <>6=> 5O?> ?D>-
4=4?<7<D>64FL < ?D<=OFL D5L5=<5.  
19.1. �4445< 75>7D4D<G5E><= 6>?D>E. 
«�45 6>>5M5 <>6=> ?>EFD><FL =>6O= 46>D5F 45FE>>7> F6>DG5EF64?» 'F>5O =4 =57> >F65F<FL, 57> 
=44> D475<FL =4 G5FOD5 ?>46>?D>E4, >F65FO =4 >>F>DO5 <>6=> ?>?GG<FL E ?><>MLN ��%. �?O 
MF>7> 6O 5G45F5 <E?>?L7>64FL D47D45>F4==O5 >><<F5F>< >D<F5D<<. �4?D<<5D: 

�D<F5D<< �>?D>EO 

�5EF> 4>?6=> 5OFL 6 D4=>=5, 745 65?<>4 4>?O 
=4E5?5=<O L>>?L=>7> 6>7D4EF4 

�45 6<65F 5>?LL5 <>?>456< L>>?L=>7> 6>7-
D4EF4? 

�5EF> 4>?6=> 5OFL 6 7>=5 6<?>= 74EFD>=><  

�5?4F5?L=>, GF>5O <5EF> 5O?> ?>5?<7>EF< >F 
L>>?-465=44F4F<?5F>> (�-12) 

�45 =4E>4OFEO L>>?O �-12? 

�45 =4E5?5=<5 L>>?L=>7> 6>7D4EF4 6<65F ?>-
5?<7>EF< >F L>>? �-12? 

�5?4F5?L=>, GF>5O ??>M44L 75<5?L=>7> GG4EF-
>4 5O?4 =5 <5=55 >4=>7> 4>D4. 

 

�444=F5 6>?D>EO 4?O 2< 4 >D<F5D<O. 
19.2. �>?GG5=<5 75>7D4D<G5E><E 44==OE. 
1.�4?GEF<F5 ArcCatalog 

2.�5D5=4<F5 \Student\DESK1\Database\Wilson 

�>?D>E1: � >4>>< >?4EE5 ?D>EFD4=EF65==OE >5N5>F>6 E>45D6<FEO <=D>D<4F<O > G<E?5==>EF< < 
6>7D4EF5 =4E5?5=<O? 

3. -5?>=<F5 =4 >?4EE5 Census < ?>E<>FD<F5 57> 6 6<45 �5>7D4D<O. �=EFDG<5=F>< �45=F<D<F<-
D>64FL M5?>4=F5 =4 ?D>EFD4=EF65==OE >5N5>F4E >?4EE4 %ensus. �O G6<4<F5 6E5 45<>7D4D<G5E><5 
E4D4>F5D<EF<>< MF<E ?D>EFD4=EF65==OE >5N5>F>6. 
�>?D>E2: �4><5 4FD<5GFO >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6  %ensus ?><>7GF >F65F<FL =4 6>-
?D>E «�45 6<6GF 45F< L>>?L=>7> 6>7D4EF4?» 

�>?D>E: % ?><>MLN >4>>7> >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 6O >F65F<F5 =4 �>?D>E «�45 
=4E>4OFEO 7>=O 6<?>= 74EFD>=>< 6 7>D>45 '<?E>=?» 

�>4E>47>4: �4 74>?44>5 �5F444==O5 <>6=> ?D>G<F4FL >?<E4F5?L=GN <=D>D<4F<N > >464>< 
>?4EE5 ?D>EFD4=EF65==OE >5N5>F>6, >E>55==> >5D4F<F5 6=<<4=<5 =4 D4745? Abstract 

�>?D>E 3: ,>>?O-465=44F4F<?5F>< (�-12) =4E>4OFEO 6 46GE >?4EE4E ?D>EFD4=EF65==OE >5N5>F>6. 
�>F>DO= <7 =<E ?GGL= <E?>?L7>64FL 4?O 64L57> ?D>5>F4? 

�>?D>E 4: �4>>= <7 >?4EE>6 ?D>EFD4=EF65==OE >5N5>F>6 E 75<5?L=O<< GG4EF>4<< ?GGL5 <E?>?L-
7>64FL < ?>G5<G? 

�>?D>E 5?: � >4><E 4FD<5GF4E E>45D6<FEO <=D>D<4F<O > D47<5D4E 75<5?L=OE GG4EF>>6? 

4.�4>D>=F5 >>=> D57G?LF4FO <45=F<D<>4F<<. 
5. �5D5G<E?<F5 44==O5, >>F>DO5 E>F<F5 4>546<FL 6 ArcMap (6 ?56>< EF>?5F5 ?5D5G<E?5==O5 6>-
?D>EO, 4 6 ?D46>< >?4EE ?D>EFD4=EF65==OE >5N5>F>6, =5>5E>4<<O= 4?O >F65F4 =4 6>?D>E. 

�>?D>EO �4==O5 

�45 6<65F 5>?LL5 <>?>456< L>>?L=>7> 6>7-
D4EF4? 

Census 

�45 =4E>4OFEO 7>=O 6<?>= 74EFD>=><?  
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�45 =4E>4OFEO L>>?O �-12? 

 

 

�45 =4E>4OFEO 75<5?L=O5 GG4EF>< ??>M44LN =5 
<5=55 >4=>7> 4>D4? 

 

 

�>E?5 F>7>, >4> 6O D5L<?<, >4><5 >?4EEO ?D>EFD4=EF65==OE >5N5>F>6 ?>=44>5OFEO 4?O >F65F4 
75>7D4D<G5E><5 6>?D>EO, 6O 4>546<F5 MF< >?4EEO ?D>EFD4=EF65==OE >5N5>F>6 6 >4G5EF65 E?>56 6 
4>>G<5=F >4DFO ArcMap. 

1.�4?GEF<F5 ArcMap <7 ArcCatalog � 6O55D<F5 >?F<N >F>DOF<O E =>6>= ?GEF>= >4DF>= 

2.$4E?>?>6<F5 >>=4 ?D<?>65=<= ArcMap < ArcCatalog =4 <>=<F>D5 F4>, GF>5O >54 5O?< 6<4=O 

3.-5?>=<F5 =4 5475 75>44==OE Wilson � >F>D>=F5 74>?44>G %>45D64=<5 � M5?>=<F5 =4 >=>?>5 
%?<E>>. 
4.�4 74>?44>5 %>45D64=<5 6O45?<F5 6E5 >?4EEO ?D>EFD4=EF65==OE >5N5>F>6, >>F>DO5 E>F<F5 4>-
546<FL =4 >4DFG <  ?5D5F4M<F5 6O5D4==O5 >?4EEO 6 >>=> ArcMap. 

5.%>ED4=<F5 4>>G<5=F >4DFO G E55O 6 ?4?>5 \Student\DESK1\Exercise 11 ?>4 =4764=<5< 
MY_Wilson_City.mxd. 

�4>?NG5=<5 �O 6O?>?=<?< 464 L474 ?D>F5EE4 75>7D4D<G5E>>7> <EE?54>64=<O. %=4G4?4 6O 7444?< 
75>7D4D<G5E><= 6>?D>E «�45 <>6=> ?>EFD><FL =>6O= 46>D5F 45FE>>7> F6>DG5EF64?». �4F5< 6O 
D475<?< MF>F 6>?D>E =4 ?>46>?D>EO, >F65FO =4 >>F>DO5 <>6=> ?>?GG<FL E ?><>MLN ��%. �>-
E?5 MF>7> 6O E ?><>MLN ?D<?>65=<O ArcCatalog <7GG<?< <<5NM<5 G 64E 44==O5. �D>E<>FD56 
44==O5 < <5F444==O5 > =<<, 6 >>F>DOE E>45D6<FEO 4>?>?=<F5?L=4O <=D>D<4F<O, 6O E<>7?< 
D5L<FL >4><5 44==O5 <E?>?L7>64FL 4?O >F65F4 =4 ED>D<G?<D>64==O5 75>7D4D<G5E><5 6>?D>EO. 
�O 4>546<?< 44==O5 6 ArcMap. 

 

 

�D4>F<G5E>4O D45>F4 722 

�E?>?L7>64=<5 6O5>D>< ?> 4FD<5GF4< 6 ArcMap. 

 

 
3. ArcMap � Student\DESK2\Exercise03 \ CanadaLayers.mxd 

4. �4>?44>G <>6=> E>744FL 4?O ?N5>7> M>EF5=F4 >4DFO, >>F>DO= 6O E>F<F5  
E>ED4=<FL, GF>5O ?>F>< > =5<G 65D=GFLEO. �4>?44>< E>744NFEO 4?O >?D545?5==>7> DD5=<4 44=-
=OE, => <E <>6=> E>ED4=<FL 6 D4=? < 4>546<FL 6 4DG7<5 4>>G<5=FO >4DFO 

-5?>=<F5 <=EFDG<5=F '65?<G<FL � D4EFO=<F5 ?DO<>G7>?L=<> =44 7>D>4>< <?< 4DG7<< <5EF>< 
>4DFO � �4>?44>< � %>744FL � �D<E6>=F5 <<O ��� � �D>65DLF5 >4> >=4 D45>F45F (�=EFDG<5=FO- 

�>?=O= M>EF5=F � �4>?44>< � 6O55D<F5 E6>N 74>?44>G. 



42 

 

 

 

%>744=<5 >?D545?ONM57> 74?D>E4. 

     

 
 

 

 

 

 

 

'EF4=>6>4 4<4?47>=4 <4ELF45>6 4?O E?>O �MD>?>DFO. 



43 

 

 
 

 

 
�>546?5=<5 E?>O < =4?<E4=<5 4DG7>7> >?D545?ONM57> 74?D>E4. 
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%D46=5=<5 E?>56 �>4=O5 >5N5>FO < �75D4. 
 

 
�<?>DF E<<6>?4 E?>O �75D4. 
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%>744=<5 E?>O 6O5>D><. 
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�7GG5=<5 E?>O �75D4 6O5>D>4. 

 

 
 

%>744=<5 E>EF46=>7> E?>O. 

 



47 

 

 
 

�D<E64<64=<5 E<<6>?>6 E?>N. 

 
�F>D>=F5 >>=> 6O5>D E<<6>?4- &65F 74?<6>< -6O55D<F5 Medium Key lime � &65F >>=FGD4 �
6O55D<F5 Leaf Green  - ��. 

%>ED4=5=<5 E?>O >4> D4=?4 E?>O. 

 
�D<E6>=F5 <<O �5EF=O5 ?4D><.lyr � E>ED4=<FL. 
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�D>E<>FD D4=?4 E?>O 6 ArcCatalog. 

1. �4?GEF<F5 ArcCatalog � D4E>D>=F5 ?>4>?NG5=<5 ?4?>< Student\DESK2\Exercise03. $4=? 
E?>O >F>5D4645FEO 6 ?4?>5 Exercise03. 

�D<<5=5=<5 ?D>7D4G=>EF< <?< >F<O6>< D5?L5D4 4?O D4EFD>6>7> E?>O. 

 
 

 
�F>D>=F5 74>?44>G %<<6>?O � GEF4=>6<F5 74?>G>G 4?O >?F<< �E?>?L7>64FL MDD5>F >F<O6>< � 

�� 

 
 

 

 

�D4>F<G5E>4O D45>F4 723 

 

�E?>?L7>64=<5 6O5>D>< ?> D4E?>?>65=<N 6 ArcMap 
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�<?>DF >4=>7> L5=?-D4=?4. 
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�D4>F<G5E>4O D45>F4 724 

�E?>?L7>64=<5 <=EFDG<5=F4 �GD5D ?D< D5L5=<< 7444G 6 �� ArcMap. 

 

�<?>DF =5E>>?L><E L5=?-D4=?>6 6 ?4>5F=>< D56<<5. 
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�7<5=5=<5 ?D>5>F<< >4DFO 
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�47DG7>4 44==OE 6 >?4EE ?D>EFD4=EF65==OE >5N5>F>6 547O 75>44==OE. 
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�D4>F<G5E>4O D45>F4 725-26 

 

�E?>?L7>64=<5 <=EFDG<5=F4 �5N54<=5=<5 4?O >><5<=<D>64=<O 5GD5D=OE 7>= 

�E?>?L7>64=<5 <=EFDG<5=F4 �5D5E5G5=<5 4?O D5L5=<O 7444G 6 �� ArcMap. 

 



57 
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-5?>=<F5 �5 4>?6=O ?5D5>DO64FLEO. %?D464 M5?>=<F5 �?<E4=<5. 
� D54?L=>EF< >>DG74 7D4=<G4F 4DG7 E 4DG7><, 4 =5 =4>?44O64NFEO, MFG <>45?L 44==OE 6O < E>744-
5F5 6 64L5= 5475 75>44==OE. -F> ?D46<?>, ?D<<5=5==>5 > E?>N Parishes =4=45F =4>?44O64NM<5EO 
?>?<7>=O >>DG7>6. �5D4F<F5 6=<<4=<5 =4 >D4E=O= ?>?<7>= =4 D<EG=>5. �D4E=O= F65F >7=4G45F 
>L<5>G =4?>65=<O. %=<<<F5 >F<5F>G �>>474FL >L<5><. �D4E=O= ?>?<7>= <EG57=5F. �>?NG<F5 
�>>474FL >L<5>< E=>64. �4>D>=F5 4<4?>7>6>5 >>=> �?<E4=<5 ?D46<?4. � 4<4?>7>6>< >>=5 %6>=-
EF64 F>?>?>7<< M5?>=<F5 74>?44>G �L<5><. �>E?5 ?D>65D>< F>?>?>7<<, 745EL 6O E<>65F5 ED>-
D<D>64FL >FG5F >5 >L<5>4E. -5?>=<F5 >F<5=4 6 %6>=EF64E F>?>?>7<<. 
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�D4>F<G5E>4O D45>F4 727 

$54?<74F<O ?D>F5EE4 75>7D4D<G5E>>7> <EE?54>64=<O, <E?>?L7GO 75>7D4D<G5E><5 44==O5. 
�D54?>?>6<< 6O ?>?GG<?< 6 475=FEF65 =>6O= E?>= 4>D>7, >>F>DO= 7D4=<G<F E <<5NM<<EO G 64E 
E?>5< 4>D>7. �4< =5>5E>4<<> <=F57D<D>64FL =>6O5 44==O5, >5N54<=<6 464 E?>O 6 >4<=. �D5645 
G5< MF> E45?4FL, E?54G5F ?D>65D<FL 7D4=<FO E?>56 < 6O?>?=<FL ?D>EFD4=EF65==GN >>DD5>F<D>6-
>G (65>F>D=GN FD4=ED>D<4F<N) 44==OE. 
�5>F>D=4O FD4=ED>D<4F<O-?D>F5EE ?5D5<5M5=<O >>>D4<=4F 6 >>>D4<=4F=>< ?D>EFD4=EF65 <?< 
>>DD5>F<D>6>5 7D4=<F E?>O, >>F>DO= ?>76>?O5F E45?4FL 44==O5 5>?55 F>G=O<<. �>DD5>F<D>6>4 
D544>F<DG5<OE 65>F>D=OE 44==OE ?D>6>4<FEO 6 ArcMap, 4?O MF>7> <E?>?L7G5FEO <=EFDG<5=FO 
?4=5?< �5>F>D=4O FD4=ED>D<4F<O (Spatial Adjustment). �?O >EGM5EF6?5=<O ?D>EFD4=EF65==>=  
?D<6O7>< D4EFD>6 <?< E?>56 %��$ EGM5EF6GNF >F45?L=O5 <=EFDG<5=FO, >>F>DO5 6O 5G45F5 <7G-
G4FL 6 E?54GNM5< G?D46=5=<<. 
� MF>< G?D46=5=<< 6O: 

" �D>65D<F5 6OD46=<64=<5 7D4=<F E>E54=<E 44==OE 

" �O?>?=<F5 ?>47>=>G 7D4=<F E?>56 

" �D<E>54<=<F5 =>6O5 44==O5 > EGM5EF6GNM<< 

 

,47 1:?D>65D>4 7D4=<F E>E54=<E E?>56 44==OE 

� MF>< L475 6O 5G45F5 ?D>65DOFL 7D4=<FO 46GE D47?<G=OE, 7D4=<G4M<E 4DG7 E 4DG7>< E?>56 4>-
D>7: >4=>7> 64L57> < 6F>D>7>, ?>?GG5==>7> >F 475=EF64. 

" �4?GEF<F5 ArcMap  < >F>D>=F5 EdgeSnap.mxd <7 ?4?>< Exircise05  

 

 

 
 

�O 6<4<F5 =4 >4DF5 464 E?>O. �=< <<5NF >4<=4>>6GN E<EF5<G >>>D4<=4F ?D>M>F<<, => >=< =5 
6OD>6=5=O. 
�4L4 7444G4-E>><5<=<D>64FL MF< E?>< 6 >4<=. �D5645 G5< MF> E45?4FL, 64< =5>5E>4<<> G554<FL-
EO, GF> <E 7D4=<FO E>6?444NF. %>6<5M5=<5 7D4=<F E?>56, <?< ?>47>=>4 7D4=<F, G4EF> ?D54L5-
EF6G5F >><5<=<D>64=<N E?>56. 

" �5D5=4<F5 =4 74>?44>G %565D=4O G4EFL 

�5>>F>DO5 ?D>EFD4=EF65==O5 >5N5>FO E?>O �4?44=O5 4>D>7< =5 E>6?444NF E >5N5>F4<< �6-
F><47<EFD4?< LF4F4, MF> >7=4G45F, GF> E?>< =5 E>?>EF46?5=O. 
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" �5D5<5EF<F5EL N6=55 < D4EE<>FD<F5 7D4=<FG <564G MF<<< 46G<O E?>O<<, GF>5O =4=F< 
>F45?L=O5 E?GG4< =5E>6?445=<O 

�D<5?<7<F5?L=> ?>E5D54<=5 >4DFO 5EFL 5M5 465 =5 E>6?444NM<5 4>D>7< 

 

 
 

�D< ED46=5=<5 7D4=<F E>E54=<E E?>56 646=> >F<5F<FL, GF> =5 6E5 E?GG4< =5E>6?445=<O >5O74-
F5?L=> O6?ONFEO >L<5>>=. � MF>< E?GG45 E565D=4O 4>D>74 E<5M5=4, < MF> >L<5>4, F>744 >4> N6-
=4O-?D>EF> FG?<>, < =5 O6?O5FEO >L<5>>=. �GGL<=  E?>E>5 GF>G=<FL ?>4>5=O5  D4EE>645=<O- >5-
D4F<FLEO > 4DG7><G <EF>G=<>G, =4?D<<5D, > 5G<46=>= >4DF5, 46F><>5<?L=><G 4F?4EG < F. 4. 

" �D>4>?64=F5 ?5D5<5M4FLEO =4 N7, GF>5O =4=F< ?>E?54=NN F>G>G, 745 >D4O E?>56 =5 E>6-
?444NF. 
 

 
 

�GGL<= E?>E>5 <E?D46<FL F4><5 D4EE>645=<O-<E?>?L7>64FL <=EFDG<5=F �>47>=>4 7D4=<F (Edge 

Snap), >>F>DO= =4E>4<FLEO =4 ?4=5?< <=EFDG<5=F>6 �5>F>D=4O FD4=ED>D<4F<O (Spatial Adjust-

ment) 6 ArcMap. �E?>?L7>64=<5 MF>7> <=EFDG<5=F4 ?>76>?<F 64< E>54<=<FL 464 E?>O E 6>7<>6=>-
EFLN E>?>EF46?5=<O >5N5>F>6 =4 7D4=<F4E E?>56. �D><5 F>7>, �>47>=>4 7D4=<F (Edge Snap) 445F 
5>?LL5 6>7<>6=>EF5= 4?O E>6<5M5=<O ?<=<=, G5< 4DG7<5 E?>E>5O >>DD5>F<D>6>< 44==OE ( 
=4?D<<5D, ?5D5<5M5=<5 65DL<=). 
 

,47 2: �>546?5=<5 E6O75= E<5M5=<O 

� MF>< L475 6O 5G45F5 E>74464FL E6O7< E<5M5=<O >F E?>O �4?44=O5 4>D>7< > E?>N �6F><47<EFD4-
?< LF4F4, GF>5O 4>5<FLEO E>6<5M5=<O 4>D>7 =4 7D4=<F5 E?>56. 
�>?D>E1: ?D<EFG?4O > D45>F5, >4> >?D545?<FL, >4>>= <<5==> E?>= =5>5E>4<<> FD4=ED>D<<D>64FL 
(?>47>=OFL) ? 

�>?D>E 2: � 44==>< G?D46=5=<<, >4>>= <7 E?>56 E?54G5F FD4=ED>D<<D>64FL? 

'F>5O <E?>?L7>64FL <=EFDG<5=FO  ?D>EFD4=EF65==>= >>DD5>F<D>6><, =5>5E>4<<> =4G4FL E54=E 
D544>F<D>64=<O. 

" �4G=<F5 E54=E D544>F<D>64=<O. 
"  � <5=N $544>F>D (Editor), 6O55D<F5 �>?>?=<F5?L=O5 �=EFDG<5=FO D544>F<D>64=<O > 

�5>F>D=4O FD4=ED>D<4F<O (More Editing Tools>Spatial Adjustment ) GF>5O >F>DOFL ?4=5?L 
<=EFDG<5=F>6 �5>F>D=4O FD4=ED>D<4F<O (Spatial Adjustment). 
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-F> ?4=5?L <=EFDG<5=F>6 <E?>?L7G5FEO 4?O FD4=ED>D<4F<< D544>F<DG5<OE 65>F>D=OE 44==OE. 
�>?D>E 3: �47>6<F5 464 F<?4 D544>F<DG5<OE 65>F>D=OE 44==OE, <E?>?L7GNM<5EO 6 ArcMap? 

�4> 6O G65 7=45F5, 6> 6E5E <5F>44E 65>F>D=>= FD4=ED>D<4F<< 4?O >>DD5>F<D>6>< 44==OE <E-
?>?L7GNFEO E6O7< E<5M5=<O. 'F>5O E>54<=<FL 4>D>7< =5>5E>4<<> E<5EF<FL, >>=5F E6O7<-E F>G-
>>=, >>F>D4O 4>?6=4 >EF4FLEO =5?>46<6=>=. 

" -5?>=<F5 <=EFDG<5=F =>64O E6O7L E<5M5=<O (New Displacement Link) 

�>546?5=<5 E6O75= E<5M5=<O D45>F45F =5?>ED54EF65==> E> EF4=44DF=O<< ?4D4<5FD4<< 74<O>4-
=<O. 'F>5O G554<FLEO, GF> E6O7< 5G4GF 74<O>4FLEO E ?D>EFD4=EF65==O<< >5N5>F4<<, E?54G5F 74-
44FL =5E>>?L>> ?4D4<5FD>6 74<O>4=<O. 

" -5?>=<F5 �4<O>4=<5 (Snapping) =4 ?4=5?< <=EFDG<5=F>6 $544>F>D (Editor). 

" �>?NG<F5 74<O>4=<5 4?O >>=5G=OE F>G5> 4?O >5><E E?>56 < 74>D>=F5 >>=> �4D4<5FDO 74-
<O>4=<O (Snapping Environment). 

" �O 4>?6=O 6<45FL =4 M>D4=5 646=GN G4EFL >4DFO. �E?< 6O <5=O?< M>EF5=F, ?5D5=4<F5 =4 
74>?44>G .6=4O G4EFL. 

" �4<>=<F5 >GDE>D <OL< =4 >>=5G=GN F>G>G >5N5>F4 E?>O �4?44=O5 4>D>7<, 74F5< M5?>-
=<F5 >?46<L5=. 

" �5D5<5EF<F5 >GDE>D < 74<>=<F5 57> =4 >>=5G=GN F>G>G ?D>EFD4=EF65==>7> >5N5>F4 E?>O 
�6F><47<EFD4?< LF4F4, 74F5< M5?>=<F5 >?46<L5=. 

" �5D5=4<F5  =4 74>?44>G %565D=4O G4EFL. 
" �>546LF5 E6O7< E<5M5=<O > 46G< =5E>6?444NM<< 4>D>74<. 

&5?5DL, >>744 E6O7< E<5M5=<O 4>546?5=O, 6O <>65F5 FD4=ED>D<<D>64FL 44==O5. 
" �4>D>=F5 F45?<FG E6O75=. 

,47 3: �>DD5>F<D>6>4 44==OE E ?><>MLN <5F>44 �>47>=>4 7D4=<F (Edge Snap)  

&5?5DL, >>744 G 64E 5EFL E6O7< E<5M5=<O, 6O <>65F5 ?D<EFG?<FL > FD4=ED>D<4F<< 44==OE. �?O 
MF>7> 6O 6>E?>?L7G5F5EL <5F>4>< �>47>=>4 7D4=<F (Edge Snap). 

" -5?>=<F5 <5=N �5>F>D=4O FD4=ED>D<4F<O (Spatial Adjustment). 

�5D4F<F5 6=<<4=<5, GF> >><4=44 &D4=ED>D<<D>64FL (Adjust) =5 4>EFG?=4 .�D5645 G5< 6O 
E<>65F5 FD4=ED>D<<D>64FL 44==O5, 6 ArcMap =5>5E>4<<> G>474FL, >4>>= <<5==> E?>= 6O E>-
F<F5 FD4=ED>D<<D>64FL. 
" � <5=N �5>F>D=4O FD4=ED>D<4F<O (Spatial Adjustment) 6O55D<F5 'EF4=>6<FL 44==O5 4?O 

FD4=ED>D<4F<< (Set Abjust Data). 
�O <>65F5 FD4=ED>D<<D>64FL 6O45?5==O5 ?D>EFD4=EF65==O5 >5N5>FO <?< F5?O5 E?><. � 
44==>< E?GG45 6O 5G45F5 FD4=ED>D<<D>64FL E?>= �4?44=O5 4>D>7<. 
" �O55D5F5 >?F<N �E5 >5N5>FO 6 E?>OE (All features in these layers). 

" %=<<<F5 >F<5F>G E?>O �6F><47<EFD4?< LF4F4, GF>5O =5 FD4=ED>D<<D>64FL 57>. 
 

 
 

" -5?>=<F5 ��. 
&4>65 =5>5E>4<<> 6O5D4FL E?>E>5 FD4=ED>D<4F<<. 

" -5?>=<F5 <5=N �5>F>D=4O FD4=ED>D<4F<O (Spatial Adjustment),6O55D<F5 <5F>4O FD4=E-
D>D<4F<< (Adjustment Methods) < G554<F5EL, GF> 6O5D4= <5F>4 �>47>=>4 7D4=<F (Edge 

Snap). 

-F>F <5F>4 <<55F 465 >?F<<, %7?465==O= (Smooth) < ?<=5==O= (Line). �<=5==O= FD4=ED>D<<-
DG5F F>?L>> >>=5G=GN F>G>G, > >>F>D>= ?D<<>=GF4 E6O7L E<5M5=<O, >EF46?OO =5FD>=GFO<< 4DG-
7<5 G4EF< >5N5>F4, 4 E7?465==O= FD4=ED>D<<DG5F 65EL >5N5>F. �O ?>?D>5G5F5 <E?>?L7>64FL >55 
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>?F<<, GF>5O G6<45FL D47?<G<O ?D< <E ?D<<5=5=<<. �4G=<F5 E >?F<< %7?465==O= (Smooth), <E-
?>?L7G5<>= ?> G<>?G4=<N. 

" � <5=N �5>F>D=4O FD4=ED>D<4F<O (Spatial Adjustment) 6O55D<F5 FD4=ED>D<<D>64FL 
(Adjust) 

�D>EFD4=EF65==O5 >5N5>FO E?>O �4?44=O5 4>D>7< 5G4GF FD4=ED>D<<D>64=O. �4=4>>, ?D>EFD4=-
EF65==O5 >5N5>FO, >>F>DO5 5O?< E>54<=5=O, E46<=G?<EL, 4 =5>>F>DO5 D47N54<=<?<EL. 

 ?5D54 FD4=ED>D<4F<5= : 

 
�>E?5 FD4=ED>D<4F<<: 

 

" -5?>=<F5 >=>?>G �F<5=<FL (Undo) ,GF>5O >F<5=<FL 6O?>?=5==GN FD4=ED>D<4F<N. 
" � <5=N �5>F>D=4O FD4=ED>D<4F<O (Spatial Adjustment) 6O55D5F5 >?F<< (Options). 

" '554<F5EL, GF> =4 74>?44>5 �5M<5 (General), � =<E?444NM5< E?<E>5 �5F>4 FD4=ED>D<4-
F<< (Adjustment method),G>474=>  �>47>=>4 7D4=<F (Edge Snap). 

" -5?>=<F5 >?F<< (Options). 

" �O55D<F5 ?<=5==O= (Line) < M5?>=<F5 ��. 
" -5?>=<F5 �� 6 4<4?>7>6>< >>=5 �4D4<5FDO FD4=ED>D<4F<< (Adjustment Properties). 

" � <5=N �5>F>D=4O FD4=ED>D<4F<O (Spatial Adjustment) 6O55D<F5 FD4=ED>D<<D>64FL 
(Adjust). 

�5D4F<F5 6=<<4=<5 =4 D47?<G<O-6 MF>< E?GG45 =5 ?D><7>L?> D47<O>4=<O 4DG7<E >5N5>F>6. &5-
?5DL, >>744 6O E>6<5EF<?< 7D4=<FO MF<E 46GE E?>56, 6O <>65F5 E>><5<=<D>64FL <E 6 >4<=. 

 

,47 4: �5N54<=5=<5 E?>56 44==OE 

&5?5DL 6O >5N54<=<F5 MF< 464 E?>O 6 >4<=, <E?>?L7GO <=EFDG<5=F 75>>5D45>F>< �5><5FD<G5E>>5 
E>54<=5=<5 (Append). 

" �F>D>=F5 Are Toolbox. 

" $4765D=<F5 =45>D '?D46?5=<5 44==O<< (Data Management Tools) ,74F5< 7DG??G <=-
EFDG<5=F>6 >5M<5 (General) 

" �F>D>=F5 <=EFDG<5=F �5><5FD<G5E>>5 E>54<=5=<5 (Append). 

�O 4>?6=O ?D<E>54<=<FL 6E>4=>= =45>D 44==OE > F5?56><G. �><=<F5, 6O ?D<E>54<=O5F5 =45>D 
�4?44=O5 4>D>7<, >>F>DO= 6O ?>?GG<?< >F 475=FEF64, > =45>DG �6F><47<EFD4?< LF4F4, F.5. > 64-
L<< 44==O<. 

" � EFD>>5 � 6E>4=O5 =45>DO 44==OE (Impute Dataset). �O55D<F5 <7 =<E?444NM57> E?<E>4 
�4?44=O5 4>D>7<. 

" � EFD>>5 &5?56>= 44==OE (Target Dataset) 6O55D<F5 �6F><47<EFD4?< LF4F4. 
" -5?>=<F5 �>>474FL %?D46>G (Show Help),GF>5O >F>DOFL ?4=5?L E?D46>G=>= E<EF5<O. 
" -5?>=<F5 6 EFD>>5 &<? EE5<O (Schema Type), 'F>5O G6<45FL E?D46>G ?> MF><G ?4D4<5FDG. 
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" �D>GF<F5 E?D46>G 

�?O >?F<< TEST FD55G5FEO, GF>5O 6E>4=>= < F5?56>= =45>DO 44==OE <<5?< >4<=4>>6GN F45?<G-
=GN EE5<G. �>744 6O <E?>?L7G5F5 44==O5 <7 D47?<G=OE <EF>G=<>>6, EE5<O <>7GF =5 E>6?444FL. � 
MF>< E?GG45 <E?>?L7G=F5 >?F<N NO_TEST , >>F>D4O 4>?GE>45F D47?<G<O 6 EE5<4E. 

" -5?>=<F5 %>DOFL %?D46>G (Hide Help). 

" � EFD>>5 &<? EE5<O (Schema Type) 6O55D<F5  NO_TEST. 
" -5?>=<F5 ��, GF>5O 74?GEF<FL <=EFDG<5=F �5><5FD<G5E>>5 E>54<=5=<5 (Append). 

" �4>D>=F5 Are Toolbox. 

" � F45?<F5 E>45D64=<O, >F>?NG<F5 >F>5D465=<5 E?>O �4?44=O5 4>D>7<, GF>5O >F>5D47<FL 
F>?L>> E?>= �6F><47<EFD4?< LF4F4 

%?>= �6F><47<EFD4?< LF4F4 F5?5DL E>45D6<F 6E5 ?D>EFD4=EF65==O5 >5N5>FO >5><E <EE>4=OE 
E?>56. 

" -5?>=<F5 <=EFDG<5=F $544>F<D>64FL (Edit) < 6O55D<F5 4>D>7G, >>F>D4O 5O?4 D4E?>?>65=4 
=4 E?>5 �4?44=O5 4>D>7<. 

" �F>D>=F5 4<4?>7>6>5 >>=> �FD<5GFO (Attributes). 

" -5?>=<F5 7=4G5=<5 <Null> ?4D4<5FD4 ST_Type. 

 
 

�E5 >>4O ?>4F<?>6 E?>O �6F><47<EFD4?< LF4F4 F5?5DL 4>EFG?=O 4?O ?D>EFD4=EF65==OE >5N5>-
F>6, >>F>DO5 6O F>?L>> GF> 4>546<?<. �D< =5>5E>4<<>EF<, 6O <>65F5 6DGG=GN =47=4G<FL >>4O, 
F. >. AreMap =5 <>65F E45?4FL MF> 46F><4F<G5E><. �<5=F5 6 6<4G, GF> 5E?<  6O <E?>?L7G5F5 ?>4-
F<?O, 7=4G5=<O, <E?>?L7G5<O5 ?> G<>?G4=<N, 5G4GF 7444=O 46F><4F<G5E><. 

" -5?>=<F5 6 EF>D>=5 >F =<E?444NM57> E?<E>4, GF>5O 74>DOFL 57>. 
�?O M>>=><<< 6D5<5=<, >5=>6?OFL ?>4F<?O =5 =G6=> 

" �4>D>=F5 4<4?>7>6>5 >>=> �FD<5GFO (Attributes) 

" �465DL<F5 D544>F<D>64=<5 < E>ED4=<F5 <7<5=5=<O. 
" %>ED4=<F5 >4DFG, ArcMap =5 74>DO64=F5.  

�4>?NG5=<5 

� MF>< G?D46=5=<<, 6O <E?>?L7>64?< <=EFDG<5=FO 65>F>D=>= FD4=ED>D<4F<< 4?O <=F57D4F<< 
=>6>7> E?>O 4>D>7, ?>?GG5==>7> <7 4DG7>= >D74=<74F<<, E <<5NM<<EO G 64E E?>5<. %=4G4?4, 6O 
?D>65D<?< 7D4=<FO E?>56 < >5=4DG6<?< >5N5>FO, >>F>DO5 =5 E>6?444?< =4 7D4=<F4E E?>56. �4-
F5<, 6O E>6<5EF<?< =>6O= E?>= E <<5NM<<<EO 44==O<<, <E?>?L7GO E6O7< E<5M5=<O, ?>E?5 G57> 
FD4=ED>D<<D>64?< 44==O5 E ?><>MLN <=EFDG<5=F4. �>47>=>4 7D4=<F (Edge SnaD). �4>>=5F, 6O 
>5N54<=<?< 464 E?>O 6 >4<=, <E?>?L7GO <=EFDG<5=F 75>>5D45>F>< �5><5FD<G5E>>5 E>54<=5=<5 
(Append). 

�D4>F<G5E>4O D45>F4 728-29 

$5L5=<5 75>7D4D<G5E>>= ?D>5?5<O E ?><>MLN ��% 4=4?<74. 
%>744=<5 >?D545?ONM57> 74?D>E4 4?O E?>O 

" � 4<4?>7>6>< >>=5 �?4EE >5N5>F>6 < >?4EE >5N5>F>6 (Feature Class To feature Class: 

1)M5?>=<F5 >=>?>G �57>D (Browse). 

" �F>D>=F5 ?4?>G C:/Student/DESC3/Exirsise02. 

" -5?>=<F5 NationalWildlifeRefuges.shp. 74F5< M5?>=<F5 �>546<FL (Add) 

" -5?>=<F5 �� 6 4<4?>7>6>< >>=5 �?4EE >5L5>F>6 6 >?4EE >5L5>F>6 (Feature Class To Fea-

ture Class). 

" � 4<4?>7>6>< >>=5 <=EFDG<5=F4, M5?>=<F5 ?D46>= >=>?>>= <OL< 6 ?GEF>= OG5=>5 �O-
E>4=>5 <5EF>?>?>65=<5 (Output Location) < 6O55D<F5 �57>D (Browse) 



73 

 

" �F>D>=F5 ?4?>G  C:/Student/DESC3/Detabase,M5?>=<F5 Louisiana.gdb >4<= D47, 74F5< 
M5?>=<F5 �>546<FL (Add) < =46<<F5 ��. 

" � >>=5 �OE>4=>= >?4EE >5N5>F>6 Output Feature %Lass 6654<F5 NWR. 

�O 665?< ?4D4<5FDO 4?O ?5D6>7> L5=?-D4=?4, >>F>DO= 6O 5G45F5 >>=65DF<D>64FL. &5?5DL E45-
?4=F5 F> 65 E4<>5 4?O >EF4?L=OE D4=?>6. 

" -5?>=<F5 7=4G>>  G ?D46>7> >D4O 4<4?>7>6>7> >>=4 <=EFDG<5=F4, GF>5O  4>546<FL  
EFD>>G. 

" &4> 65 >4> < D4=LL5, 6654<F5 ?4D4<5FDO >>=65DF4F<< 4?O 
C:/Student/DESC3/Exirsise03/Schools.shp < E>ED4=<F5 6OE>4=O5 44==O5 6 Lousiana.gdb ?>4 
<<5=5< Schools. 

" �>546<FL 5M5 >4=G EFD>>G  

" �54<F5 ?4D4<5FDO >>=65DF4F<< 4?O C:/Student/DESC3/Exirsise02/RailRoads.shp < E>ED4=<-
F5 6OE>4=O5 44==O5 6 Lousiana.gdb ?>4 <<5=5< RailRoads. 

 
�> 6D5<O >>=65DF4F<<, >4> 54<=<G=>=, F4> < ?4>5F=>=, 6O <>65F5 6=5EF< =5>>F>DO5 <7<5=5=<O 6 
44==O5. 
�O <>65F5 74<5=<FL, GF> RailRoads.shp E>45D6<F =5E>>?L>> ?>?5= SHAPE_Length.ArcGIS 46F>-
<4F<G5E>< E>7445F ?>?5 SHAPE_Length 4?O ?<=5==OE ?>?<7>=4?L=OE >?4EE>6 ?D>EFD4=EF65==OE 
>5N5>F>6. -F> ?D><EE>4<F ?D< E>744=<< >?4EE>6 <?< <E >>=65DF4F<<. &>, GF> RailRoads.shp <<55F 
?>?O SHAPE_Length 7>6>D<F > F>< GF> MF>F D4=? D4=55 G65 >>=65DF<D>64?EO. &.>. 6> 6D5<O 64-
L5= >>=65DF4F<< E>744UFEO =>6>5 ?>?5 SHAPE_Length ?D54O4GM<5 G65 =5 =G6=O (?D< MF>< >=< 
FD55GNF =5>>F>D>7> <5EF4 4?O ED4=5=<O). �> 6D5<O >>=65DF4F<< 6O <>65F5 <E G44?<FL. 

" -5?>=<F5 �� 

�O G6<4<F5 E>>5M5=<5, GF> F45?<F4 =5 <<55F ?>?O ObjectId. -F> ?>?5 O6?O5FEO G=<>4?L=O< 
<45=F<D<>4F>D>< >464>7> ?D>EFD4=EF65==>7> >5N5>F4. &.>. E?>= E>5OF<= =5 <<55F ?>?5= 
ObjectId. 6O =5 <>65F5 ?D><76>4<FL 6 =5< 6O5>D>G >5N5>F>6. �>744 6O 5G45F5 M>E?>DF<D>64FL 
MF>F E?>= E>5OF<= 6 547O 75>44==OE, ?>?5 ObjectId 5G45F 4>546?5=> 46F><4F<G5E><. 

" -5?>=<F5 �� =4 E>>5M5=<< 

&>G>< >F>5D465=O =4 >4DF5. 
" �6464O M5?>=<F5 �4?55 (Next) 

�4 MF>< M>D4=5 G>474=O <EE>4=O5 < F5?56O5 ?>?O, < <E E>>F65FEF6<< 6> 6D5<O 747DG7><. -F> 
>?D545?O5F, >4><5 ?>?O ?>?GG4F 4FD<5GFO <7 <EE>4=OE 44==OE. � 44==>< E?GG45, <<5=4 ?>?5= 
<EE>4=>7> L5=?-D4=?4 < F5?56>7> >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 547O 75>44==OE E>6?444-
NF. 

" -5?>=<F5 �4?55(Next). 
" � E?54GNM5< >>=5 ?D<<<F5 ?D54?>65==GN ?> G<>?G4=<N >?F<N 747DG7>< 6E5E <EE>4=OE 

44==OE < M5?>=<F5 �4?55(Next). 
" -5?>=<F5 �>F>6> (Finish). 

" �>E<>FD<F5 75>7D4D<N < F45?<FO Animal Rescues. 

�E5 F>G5G=O5 >5N5>FO <7 FD5E L5=? D4=?>6 5O?< 747DG65=O 6 >?4EE ?D>EFD4=EF65==OE >5N5>-
F>6. �> <5D5 ?>O6?5=<O =>6OE 44==OE, 6O <>65F5 4>546?OFL <E. 
 

,47 6: �F>5D465=<5 44==OE E,G <7 F45?<FO Excel 

&45?<G=O5 44==O5-MF> >4=4 <7 D>D< 44==OE, >>F>DO5 <>7GF ?>FD55>64FLEO 6 64L5= 5475 75>44=-
=OE. &4><5 44==O5 =5 E>45D64F 75><5FD<N, => <>7GF E>45D64FL >>>D4<=4FO, >>F>DO5 6O <>65F5 
4>546<FL > >4DF5 6 >4G5EF65 E>5OF<= ArcGIS Desktop <>65F =4?DO<GN EG<FO64FL <=>65EF6> 
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D>D<4F>6 F45?<G=OE 44==OE, 6>?NG4O F45?<FO  Excel? DBF? &5>EF>6O5 D4=?O, F45?<FO INFO < 
F45?<FO 547O 75>44==OE. 
� MF>< L475 6O 4>546<F5 F45?<G=O5 44==O5 6 Louisiana.gdb <7 F45?<FO Excel. &45?<F4 E>45D6<F 
>>>D4<=4FO E, G E>>??5=<= <>DE><E ?F<F 64>?L 55D574 �G<7<4=O. 

" � 45D565 >4F4?>74, =4=4<F5 ?4?>G Exercise02 < D4765D=<F5 SeaBirds.xls(=46<<F5 =4 ??NE<> 
DO4>< E SeaBirds.xls) 

" -5?>=<F5 ?<EF F45?<FO  SeaBirds < ?D>E<>FD<F5 57>. 
" �5D5<5EF<F5 >GDE>D 6?D46> F4>, GF>5O G6<45FL ?>?O LATNAD83 < LONGNAD83. 

" -5?>=<F5 �F<5=4 (Cancel), GF>5O 74>DOFL 4<4?>7>6>5 >>=> $D5=< 44==O= %6>=EF64 (Da-

ta Frame Properties). 

�5D4F<F5 6=<<4=<5, GF> =4 >4DF5 >F>5D4645FEO F>?L>> 7D4=<F4 LF4F4. �5EF4 E>>??5=<= ?F<F =5 
>F>5D464NFEO, F. > >=< =4E>4OFEO 6 F45?<F5, >>F>D4O =5 <<55F ?D>EFD4=EF65==>7> >><?>=5=F4. 

" -5?>=<F5 ?D46>= >=>?>>= <OL< SeaBirds 6 F45?<F5 E>45D64=<O < 6O55D<F5 >F>5D47<FL 
44==O5 %Y (Display XY Data) M5?>=<F5 �7<5=<FL (Edit) GF>5O 6O5D4FL E<EF5<G >>>D4<-
=4F. 

" -5?>=<F5 6O5D4FL (Select)  

" �6464O M5?>=<F5 �5>7D4D<G5E>4O E<EF5<4 >>>D4<=4F (Geographic Coordinate Systems), 74-
F5< 46464O M5?>=<F5 North America. 

" �5D5<5EF<F5 ?>?7G=>> ?<=5=>< =4?D46> < 6O55D<F5 North America Datum 1983.prj. -F> 44-
FG<, 6 >>F>D>< ED4=OFEO E>5D4==O5 44==O5. 

" -5?>=<F5 4>546<FL(Add). 

" -5?>=<F5 �� 6 4<4?>7>6>< >>=5 %6>=EF64 �D>EFD4=EF65==>= ?D<6O7>< (Spatial Reference 

Propertics).  

�D>65DLF5 E ?><>MLN 4<4?>7>6>7> >>=4 �F>5D47<FL 44==O5 XY  (Display XY Data), GF> ?>?O E>-
?>EF46?5=O F4>, >4> ?>>474=> =4 E?54GNM5< D<EG=>5. 
 

 
 

Arc Map ?>45<D45F ?>?O =4 >E=>65 <E <<5=. �>MF><G, E?54G5F G554<FLEO, GF> 6O5D4=O E>>F65F-
EF6GNM<5 ?>?O 4?O >>>D4<=4F x < G . �>?O, >>F>DO5 6O 745EL 6<4<F5, F5 65 E4<O5, GF> < 6 F45?<-
F5. &5?5DL 6O 7>F>6O E>744FL F>G>< =4 >4DF5 =4 >E=>65 >>>D4<=4F. 

" -5?>=<F5 ��. 
�O G6<4<F5 E>>5M5=<5, GF> F45?<F4 =5 <<55F  ?>?O ObjectlD. -F> ?>?5, >>F>D>5 O6?O5FEO G=<-
>4?L=O< <45=F<D<>4F>D>< >464>7> ?D>EFD4=EF65==>7> >5N5>F4. &. >  E?>= E>5OF<= =5 <<55F ?>-
?5= ObjectlD, 6O =5 <>65F5 ?D><76>4<FL 6 =5< 6O5>D>G >5N5>F>6. �>744 6O 5G45F5 M>E?>DF<D>-
64FL MF>F E?>= E>5OF<= 6 547O 75>44==OE, ?>?5 ObjectlD 5G45F 4>546?5=> 46F><4F<G5E><. 

" -5?>=<F5 �� =4 E>>5M5=<<. 
&>G>< >F>5D465=O =4 >4DF5. 

" -5?>=<F5 74>?44>G �F>5D465=<5, D4E?>?>65==GN 6=<7G F45?<FO E>45D64=<O. %?>= E>-
5OF<= 5O? E>744= =4 >E=>65 F45?<FO. 
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-F>F E?>= E>5OF<= =5 E>ED4=5= 6 5475 75>44==OE: MF>- 6<DFG4?L=O= E?>= 6 ArcMap. 

" -5?>=<F5 74>?44>G �O5>D>4, D4E?>?>65==GN 6=<7G F45?<FO E>45D64=<O. 
� E?<E>5 G>474= F>?L>> StateBoundary (�D4=<F4 LF4F4). SeaBirds %>5OF<O =5 4>EFG?5= 4?O 6O-
5>D><, F. > MF> E?>= E>5OF<=. 
&5?5DL 64< =5>5E>4<<> M>E?>DF<D>64FL E?>= E>5OF<= 6 =>6O= >?4EE ?D>EFD4=EF65==OE >5N5>F>6 
547O 75>44==OE, MF> 44EF 6>7<>6=>EFL 6O?>?=OFL 6O5>D>G <7 =57> < <E?>?L7>64FL 57> 6 4DG7<E 
��% >?5D4F<OE. 

" �F>D>=F5 74>?44>G �F>5D465=<5 (Display). 

" -5?>=<F5 ?D46>= >=>?>>= <OL< E?>= E>5OF<=, 6O55D<F5 �4==O5 (Data) < M5?>=<F5 ->E-
?>DF 44==OE (Export Data). 

" '554<F5EL, GF> 6O M>E?>DF<DG5F5 6E5 ?D>EFD4=EF65==O5 >5L5>FO. 
" �O55D<F5 >?F<N 4?O <E?>?L7>64=<O E<EF5<O >>>D4<=4F, >>F>D4O 7444=4 4?O DD5=<4 44=-

=OE. 
-F> ?>76>?<F 7444FL E<EF5<G >>>D4<=4F DD5=<4 44==OE 6OE>4=><G >?4EEG ?D>EFD4=EF65==OE 
>5N5>F>6 

" -5?>=<F5 >=>?>G �57>D (Browse) 4?O EFD>>< $57G?LF<DGNM<=  L5=?-D4=? <?< >?4EE ?D>-
EFD4=EF65==OE >5N5>F>6 (Output shapefile or feature class). 

" �=<7G 4<4?>7>6>7> >>=4 %>ED4=5=<5 44==OE (Saving Data) M5?>=<F5 =4 EFD5?>5 =<E?444-
NM57> <5=N %>ED4=<FL >4> F<? (Save as type) < 6O55D<F5 >?4EEO ?D>EFD4=EF65==OE >5N-
5>F>6 ?5DE>=4?L=>= < D4=?>6>= 547 75>44==OE (File and Personal geodatabase feature 

classes). 

" �65DEG 4<4?>7>6>7> >>=4 =4=4<F5 ?4?>G /Student/DESC3/Database < 46464O M5?>=<F5 
(Save). 

 
 

" -5?>=<F5 �� 6 4<4?>7>6>< >>=5 ->E?>DF 44==OE (Export Data), 74F5< M5?>=<F5 �4 (Yes) 

6 74?D>E5 > 4>546?5=<O E?>O > >4DF5 . 
&5?5DL, >>744 G 64E <<55FEO  >?4EE ?D>EFD4=EF65==OE >5N5>F>6, 64< 5>?LL5 =5 =G65= E?>= E>5O-
F<=. 

" � F45?<F5 E>45D64=<O M5?>=<F5 ?D46>= >=>?>>= <OL< SeaBirds %>5OF<O (SeaBirds 

Events) < 6O55D<F5 '44?<FL (Remove).  

" -5?>=<F5 74>?44>G �O5>D>4 (Selection) 

&5?5DL 6O <>65F5 ?D><76>4<FL 6O5>D>G <7 MF>7> =>6>7> E?>O. 
 

,47 7: %>744=<5 ?>4>?NG5=<O OLE DB > 5475 44==OE Access 

&5?5DL 6O 5G45F5 ?>4>?NG4FL 6=5L=NN 547G 44==OE Access E ?><>MLN ?>4>?NG5=<O OLE DB. 
�4==O5 6 MF>= 5475 5O?< E>744=O E ?><>MLN Access < E>45D6<F =5>>F>DO5 4>?>?=<F5?L=O5 4F-
D<5GFO ?D>EFD4=EF65==OE >5N5>F>6, >>F>DO5 64< =G6=> 6>?NG<FL 6 64LG 547G 75>44==OE. 

" �5D5=4<F5 6 ArcCatalog  

" � 45D565 >4F4?>74 =4=4<F5 TabularData.mdb, D4E?>?>65==O= 6 ?4?>5 Exercise02  < D4765D-
=<F5 57>, GF>5O G6<45FL E>45D6<<>5. 

-F> 5474 44==OE, E>744==4O 6 Microsoft Access^ >=4 =5 O6?O5FEO 547>= 75>44==OE ArcCatalog. 

ArcCatalog ?> G<>?G4=<N D4E?>7=45F 55 ?> D4EL<D5=<N mdb < >F>5D4645F 55 E>45D6<<>5. �4=4-
>> D544>F<D>64=<5 < G?D46?5=<5 44==O<< Access < ArcGIS <>65F ?D<65EF< > =5?D54E>47G5<O< 
D57G?LF4F4< 6 5475 44==OE ArcGIS, <?< > ?>O6?5=<N =565?4F5?L=>= <=D>D<4F<< 6 5475 44==OE 
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Access. $45>F4FL E 6=5L=<<< 5474<< 44==OE Access < ArcGIS D5>><5=4G5FEO G5D57 ?>4>?NG5=<5 
OLE DB. 

" �D>>DGF<F5 �5D56> >4F4?>74 6=<7 < D4765D=<F5 ?4?>G Database Connections (?>4>?NG5=<5 
> 5474< 44==OE). 

�>4E>47>4: �E?< 6O =5 6<4<F5 44==>7> ?>4>?NG5=<O, M5?>=<F5 �=EFDG<5=FO =4 7?46=>= ?4=5?< 
ArcCatalog < >F>D>=F5 �?F<<. �4 74>?44>5 �5M<5, >F<5FLF5 74?>G>G Database Connections (�>4-
>?NG5=<5 > 5474< 44==OE) 6 D4745?5: �4><5 ?>4>?NG5=<O 65DE=57> GD>6=O 4>?65= E>45D64FL �4-
F4?>7? 

 
" �6464O M5?>=<F5 �>546<FL OLE DB ?>4>?NG5=<5 (Add OLE DB Connections) 

" � 4<4?>7>6>< >>=5 %6>=EF64 E6O7< E 44==O<< (Data link Propertics) 46464O M5?>=<F5 Mi-

crosoft Jet 4.0 OLE DB Provider. 

�D<<5G4=<5: Jet-<5E4=<7< 547O 44==OE, >>F>DO= <E?>?L7G5F Microsoft Access. 

" �4 74>?44>4E �>4>?NG5=<5 (Connections) M5?>=<F5 7=4G>> M?<?E<E4   ,D4E?>?>65==O= 
DO4>< E ?5D6>= EFD>>>=, GF>5O 6O5D4FL <<O 547O 44==OE. 

" �E?5 =5>5E>4<<>, =4=4<F5 ?4?>G Exircise02. -5?>=<F5 TabularData.mdb , 74F5< M5?>=<F5 
�F>DOFL (Open). 

" � 4<4?>7>6>< >>=5 %6>=EF64 E6O7< E 44==O<< (Data Link Propertics), =5 <7<5=O=F5 ?D54-
?>65==O5 ?> G<>?G4=<N ?4D4<5FDO < M5?>=<F5 ��. 

�  ArcCatalog ?>O6<FLEO =>6>5 ?>4>?NG5=<5 OLE DB Connections .odc 

" �5D5<<5=G=F5 ?>4>?NG5=<5 6 Connections to TabularData.odc. 

" �6464O M5?>=<F5 =4 ?>4>?NG5=<< 4?O E>54<=5=<O E 547>= 44==OE. 

 
" $4765D=<F5 ?>4>?NG5=<5 6 �5D565 >4F4?>74, GF>5O G6<45FL 57> E>45D6<<>5. 

�>744 ?>4>?NG5=<5 GEF4=>6?5=>, 6O ?>?GG45F5 4>EFG? > 5475 44==OE 6 D56<<5 <F>?L>> 4?O GF5-
=<O> (real only). -F> ?><>745F E>ED4=<FL F5?>EF=>EFL 44==OE: 6O 4>?6=O M>E?>DF<D>64FL 44=-
=O5, ?D5645 G5< D544>F<D>64FL <E. �>?55 F>7>, 6O =5 E<>65F5 E>744FL =>6GN EE5<G ?D>EFD4=-
EF65==OE 44==OE 6 ?>4>?NG5=<< OLE DB. 

" -5?>=<F5 ?D46>= >=>?>< <OL< F45?<FG Censusinfo 6O55D<F5 ->E?>DF, 74F5< M5?>=<F5 � 
�47G 75>44==OE (54<=<G)(To Geodatabase (single) 

�F>D>5FEO <=EFDG<5=F F45?<F4 6 F45?<FG (Table to table) 

" � 4<4?>7>6>< >>=5 <=EFDG<5=F4 G>46<F5 6OE>4=>5 <5EF>?>?>65=<5 

C:/Student/DESK3/Database/Louisiana. Gdb �47>6<F5 6OE>4=GN F45?<FG Censusinfo 

" -5?>=<F5 �� GF>5O 74?GEF<FL <=EFDG<5=F. 
" � ArcCatalog ?D>65DLF5 GF> F45?<F4 Censusinfo �O?4 M>E?>DF<D>64=4 6 Louisiana Gdb 

�O GE?5L=> <<?>DF<D>64?< =5?D>EFD4=EF65==GN F45?<FG Acess 6 64LG D4=?>6GN 547G 75>44=-
=OE E ?><>MLN ?>4>?NG5=<O OLE DB. 

" �E?< 6O E>F<F5 4>546<FL 44==O5 6 64LG 547G 75>44==OE E E5D65D4 ��%, ?5D5=4<F5 > E?5-
4GNM5<G L47G(=5>5O74F5?L=>).�E?< 6O =5 5G45F5 6O?>?=OFL E?54GNM<= L47, 74>D>=F5 
ArcCatalog < ArcMap. 

,47 8: �>546?5=<5 44==OE E E5D65D4 ��% (�>?>?=<F5?L=>) 
�>?GG5=<5 44==OE E E5D65D4 ��% <>65F 5OFL 646=O< L47>< 4?O 7465DL5=<O 64L5= 547O 75>-
44==OE. � MF>< L475 6O 5G45F5 4>546?OFL 44==O5 E ��% E5D65D4 ESRIs Geography Network. 

" � ArcMap M5?>=<F5 >=>?>G %>744FL >4DFG (New map File) =5 E>ED4=O=F5 64LG ?D54O4G-
MGN >4DFG. 
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" �>546LF5 Parishes (�>DG74) > >4DF5 <7 C:/Student/DESK3/Database/Louisiana. 

Gdb/GovernmentUnits. 

-F> ?>4=45>D 44==OE ?> >>DG74< LF4F4 �G<7<4=4. � M>EF5=F5 MF>7> E?>O 6O E>7444<F5 ?>4=45>D 
44==OE, >>F>DO5 6O ?>?GG<F5 E ��% E5D65D4 Geography Network. 

" -5?>=<F5 =4 >=>?>5 �>546<FL 44==O5 (Add Data)  

" -5?>=<F5 =4 EFD5?>5 =<E?444NM57> <5=N �E>4FL 6 (Look in) < 6O55D<F5 �4F4?>7 
(Catalog). 

 
" �6464O M5?>=<F5 ��% %5D65DO (GIS Servers),74F5< 46464O M5?>=<F5 �>546<FL ArcIMS 

E5D65D (Add ArcIMS Server) 

�D<<5G4=<5 :&4>65, 6O <>65F5 ?>4>?NG<FLEO > E5D65D4< ��% E ?><>MLN ArcCatalog. �E?< 6O 
?>4>?NG45F5EL G5D57 ArcMap, 6O <>65F5 4>546<FL E5D6<EO =5?>ED54EF65==> 6 4>>G<5=F >4DFO 

" � EFD>>5  URL 6654<F5 http://www.geographynetwork.com 

" �D>65DLF5, GF> ?4D4<5FD 4?O ?>4>?NG5=<O >> 6E5< E5D6<E4< 6>?NG5=. 

 
" -5?>=<F5 �� 6 4<4?>7>6>< >>=5 �>546<FL  ArcIMS E5D65D (Add ArcIMS  Server). 

" �>4>?NG5=<5 > http://www.geographynetwork.com 5G45F 4>546?5=> 6 4<4?>7>6>5 >>=> �>-
546<FL 44==O5 (Add Data) 

" �6464O M5?>=<F5 ?>4>?NG5=<5. 
" �6464O M5?>=<F5  EPA_Hazards_FS. 

" -U?>=<F5 Superfund sities (EPA), 74F5< M5?>=<F5 �>546<FL (Add), GF>5O 4>546<FL MF< 
44==O5 > >4DF5 6 >4G5EF65 E?>O. 

�O G6<4<F5 ?D54G?D5645=<5, GF> 75>7D4D<G5E>4O E<EF5<4 >>>D4<=4F 4>546?O5<OE 44==OE >F?<-
G45FEO >F F5>GM5= E<EF5<O >>>D4<=4F DD5=<4 44==OE. 

 
�5OG=>,E?54G5F G554<FLEO, GF> 75>7D4D<G5E><5 E<EF5<O >>>D4<=4F E>6?444NF,=>,6 44==>< 
E?GG45, MF> =5 <<55F 7=4G5=<5. �>765,6O M>E?>DF<DG5F5 MF>F E?>= 6 >F45?L=O= >?4EE 
?D>EFD4=EF65==OE >5L5>F>6,?D< MF>< 6O 74444<F5 E<EF5<G >>>D4<=4F. 

" -5?>=<F5 �4>DOFL (Close) GF>5O G5D4FL ?D54G?D5645=<5. 
�>6O= E?>= Superfund sities 4>546?5= 6 ArcMap . Superfund sities-<5EF4, >5>7=4G5==O5 �75=EF6>< 
?> >ED4=5 >>DG64NM5= ED54O (EPA) >4> <5EF4 74E>D>=5=<O >?4E=OE >FE>4>6 

" � F45?<F5 E>45D64=<O, M5?>=<F5 ?D46>= >=>?>>= <OL< E?>= Superfund sities (EPA) < 
6O55D<F5 %6>=EF64. 

%>FO MF>F E?>= ?>?GG5= E E5D65D4 ��%, >= <<55F F5 65 E6>=EF64, GF> < 4DG7<5 E?>< 44==OE. 
" �4>D>=F5 4<4?>7>6>5 >>=> %6>=EF64 E?>O (Layer Propertics). 

�4?55 6O M>E?>DF<DG5F5 6E5 >5L5>FO E?>O Superfund sities 6 =>6O= >?4EE ?D>EFD4=EF65==OE >5L-
5>F>6 6 64L5= 5475 75>44==OE,4 44?55 6O55D<F5 <7 =<E F5, >>F>DO5 D4E?>?>65=O 6 ?D545?4E M>E-
F5=F4 E?>O Parishes (�>DG74). 
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" -5?>=<F5 ?D46>= >=>?>< <OL< E?>= Superfund sities (EPA) 6O55D<F5 �4==O5 (Data) 

74F5< MU?>=<F5 ->E?>DF 44==OE (Export data). 

" �65DEG 4<4?>7>6>7> >>=4 ->E?>DF 44==OE (Export data) ?D>65DLF5 GF> 6O M>E?>DF<DG5-
F5 6E5 ?D>EFD4=EF65==O5 >5N5>FO. 

" �O55D<F5 >?F<N 4?O <E?>?L7>64=<O E<EF5<O >>>D4<=4F DD5=<4 44==OE. 
" �?O 6O5>D4 6OE>4=>7> L5=?-D4=?4 <?< >?4EE4 ?D>EFD4=EF65==OE >5L5>F>6 M5?>=<F5 

>57>D. %>ED4=<F5 6OE>4=O5 44==O5 6 Louisiana.gdb ?>4 <<5=5< Superfundsities 

   
" -5?>=<F5 ��, GF>5O 7465DL<FL M>E?>DF 44==OE. �>744 ?>O6<FLEO 74?D>E, M5?>=<F5 

�� 4?O 4>546?5=<O E?>O =4 >4DF5. 
" � F45?<F5 E>45D64=<O, M5?>=<F5 ?D46>= >=>?>>= <OL< E?>= E5D6<E4 Superfund Sities 

(EPA) < 6O55D<F5 '44?<FL (Remove). 

" � <5=N 6O5>D>4 (Selection) 6O55D<F5 �O5D4FL ?> D4E?>?>65=<N (Select by location) , 

G>46<F5, GF> 6O E>F<F5 6O5D4FL ?D>EFD4=EF65==O5 >5N5>FO E?>O SuperfundSities , >>-
F>DO5 ?5D5E5>4NFEO E >5N5>F4<< E?>O Parishes (>>DG74). 

 
" -5?>=<F5 ��, GF>5O ?D><765EF< 6O5>D>G. 
" �E?< =5>5E>4<<>, 6 F45?<F5 E>45D64=<O M5?>=<F5 74>?44>G �F>5D465=<5. 

&5?5DL 6O M>E?>DF<DG5F5 6O5D4==O5 >5N5>FO E?>O SuperfundSities 6 =>6O= >?4EE ?D>EFD4=EF65=-
=OE >5N5>F>6 6 64L5= 5475 75>44==OE. 

" -5?>=<F5 ?D46>= >=>?>>= <OL< E?>= SuperfundSities, 6O55D<F5 �4==O5 (Data), �4F5< 
M5?>=<F5 ->E?>DF 44==OE (Export Data) 

" �65DEG 4<4?>7>6>7> >>=4 ->E?>DF 44==OE (Export Data) ?D>65DLF5 GF> 6O M>E?>DF<DG5F5 
6O5D4==O5 ?D>EFD4=EF65==O5 >5L5>FO. 

" �O55D<F5 >?F<N 4?O <E?>?L7>64=<O E<EF5<O >>>D4<=4F DD5=<4 44==OE. 
" �?O 6O5>D4 6OE>4=>7> L5=?-D4=?4 <?< ?4EE4 ?D>EFD4=EF65==OE >5L5>F>6, M5?>=<F5 �5-

7>D. %>ED4=<F5 6OE>4=O5 44==O5 6 Louisiana.gdb ?>4 <<5=5< SuperfundSities_select. 



79 

 

�O F>?L>> GF> D45>F4?< E E5D6<E>< ?D>EFD4=EF65==OE >5L5>F>6. %5D6<EO ?D>EFD4=EF65==OE 
>5L5>F>6 6 >E=>6=>< ?>76>?ONF ?>?GG4FL 44==O5 =4 64L >><?LNF5D < D544>F<D>64FL <E E6>=-
EF64. %GM5EF6GNF F4>65 E5D6<EO <7>5D465=<=. �> G4M5 6E57> E <E ?><>MLN =5?L7O M>E?>DF<D>-
64FL 44==O5 < D544>F<D>64FL 5>?LLGN G4EFL E6>=EF6. 
&5?5DL 6O 5G4<F5 4>546?OFL 44==O5 E E5D6<E4 <7>5D465=<=. 

" %=<<<F5 >F<5F>G 6 F45?<F5 E>45D64=<O ArcMap 4?O E?>56 Superfund Sities < 
SuperfundSities_select. 

" -5?>=<F5 >=>?>G �>546<FL 44==O5  74F5< M5?>=<F5 >=>?>G �4 >4<= GD>65=L 665DE (Up 

One Level) GF>5O ?5D5=F< > E?<E>G E5D6<E>6 Geography Network. 

" �6464O M5?>=<F5 E5D6<E <7>5D465=<= Atlas_Precipitation. 

" �4>D>=F5 E>>5M5=<5 �=<<4=<5! �5>7D4D<G5E>4O E<EF5<O >>>D4<=4F. 
%5D6<E 4>546?O5FLEO 6 ArcMap >4> E>EF46=>= E?>=.(�?O 57> >F>5D465=<O <>65F ?>FD55>64FLEO 
=5>>F>D>5 6D5<O) %5D6<EO <7>5D465=<= G4EF> >D74=<7>64=O 6 E>EF46=O5 E?><. 

" �>744 E>EF46=>= E?>= Atlas_Precipitation 5G45F ?>?=>EFLN >F>5D465=, D4765D=<F5 57> 6 
F45?<F5 E>45D64=<O. 

" -5?>=<F5 ?D46>= >=>?>>= <OL< ?>4E?>= Average Annual Precipitation 1961-1990  < 6O55-
D<F5 �D<5?<7<FL > E?>N. 

" $4765D=<F5 ?>4E?>= Average Annual Precipitation , 1961-1990, GF>5O G6<45FL ?575=4G. 
�>?D>E 7: >4>>6> 7>4>6>5 >>?<G5EF6> >E44>>6 6 �>6>< �D?54=5? 

" � <5=N $4=? (From) 6O55D<F5 %>ED4=<FL (Save). 

" � 4<4?>7>6>< >>=5 %>ED4=<FL >4> (Save As) =4=4<F5 ?4?>G Exercise02, 5E?5 =5>5E>4<<>. 
" �654<F5 WebServices.mxd 6 >4G5EF65 <<5=< D4=?4. 
" -5?>=<F5 E>ED4=<FL (Save). 

" �4>D>=F5 ArcMap < ArcCatalog. 

'554<F5EL GF> 6O 74>DO?< ArcCatalog!!!!! 

�4>?NG5=<5 

� MF>< G?D46=5=<< 6O <E?>?L7>64?< D47=>>5D47=O5 E?>E>5O ?>?GG5=<O 44==OE 4?O >E=>6=>= 
547O 75>44==OE. �O 5G45F5 <E?>?L7>64FL MF< 44==O5 =4 ?D>FO65=<< 6E57> >GDE4 4?O D5L5=<O 
D47?<G=OE 7444G, >D><5 F>7>, 6O ?D>4>?6<F5 4>546?OFL 44==O5 6 547G Louisiana.Gdb ?> <5D5 
=5>5E>4<<>EF<. 
 

�D4>F<G5E>4O D45>F4 7 30 

�>EFD>5=<5 ?>>4F>D4 44D5E>6. �5>>>4<D>64=<5 44D5E>6 

&5?L D45>FO: =4GG<FLEO ?>4>?NG4FL ?>>4F>D 44D5E>6, 6O?>?=OFL <E 75>>>4<D>64=<5 

'EF4=>6>4 ?>>4F>D4 44D5E>6 < <E <E?>?L7>64=<5. 
�?O ?>4>?NG5=<O ?D<=F5D4 > >><?LNF5DG =5>5E>4<<>: 
" ?D<E>54<=<FL ?D<=F5D > >><?LNF5DG E ?><>MLN D47N5<>6; 
" 6EF46<FL GEF4=>6>G=O= 4<E> 6 4<E>>6>4 < EFD>7> 6O?>?=<FL 45=EF6<O ?> GEF4=>6>5 ?D<=-
F5D4, ?D54?4745<O5 ?D>7D4<<>=. 
�?O ?>4>?NG5=<O F<DD>6>= D>F>>4<5DO > >><?LNF5DG =5>5E>4<<>: 
" ?D<E>54<=<FL D>F>>4<5DG > >><?LNF5DG E ?><>MLN D47N5<>6; 
" 6EF46<FL GEF4=>6>G=O= 4<E> 6 4<E>>6>4 < EFD>7> 6O?>?=<FL 45=EF6<O ?> GEF4=>6>5 D>F>-
>4<5DO, ?D54?4745<O5 ?D>7D4<<>=. 
�?O =4EFD>=>< >?46<4FGDO =5>5E>4<<> 6O?>?=<FL >><4=4G: �GE> - �4=5?L G?D46?5=<O - �?46<4-
FGD4 < GEF4=>6<FL =5>5E>4<<O5 ?4D4<5FDO. 
�?O =4EFD>=>< <OL< =5>5E>4<<> 6O?>?=<FL >><4=4G: �GE> - �4=5?L G?D46?5=<O - �OLL < 
GEF4=>6<FL =5>5E>4<<O5 ?4D4<5FDO. 
�444=<O 4?O E4<>EF>OF5?L=>= D45>FO EFG45=F>6 
�444=<5 71. %>744=F5 6 ?<G=>= ?4?>5 ?4?>G E <<5=5< �D4>F<G5E>>5 7444=<5, 6 >>F>D>= E>744FL 
E?54GNMGN D4=?>6GN EFDG>FGDG: 
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 � 4>>G<5=F5 b.txt 665EF< F5<G 7444=<O: «�?5D4F<>==4O E<EF5<4. �D4D<G5E><= <=-

F5DD5=E ?>?L7>64F5?O».  
 � 4>>G<5=F5 c.bmp =4D<E>64FL 44FG E6>57> D>645=<O E ?><>MLN D47=>F65F=OE D<-

7GD.  
 � 4>>G<5=F5 f.doc 665EF< � 6O?>?=<?: $��, 74F5< 6EF46<FL D<EG=>> <7 D4=?4 

c.bmp  

 � 4>>G<5=F5 a.txt >D>D<<F5 6OG<E?5=<5 <4F5<4F<G5E>>7> 6OD465=<O: cos1,5+sin2-

1/5. 

�444=<5 72. �O?>?=<F5 =4EFD>=>G >?46<4FGDO < <OL< =4 >><?LNF5D5 ?> �4L5<G GE<>FD5=<N. 
�>=FD>?L=O5 6>?D>EO: 

1. �4> >F>DOFL �D>6>4=<>?  
2. �4><5 5EFL 6<4O �4?L>G?OF>D4?  
3. �47>6<F5 >=>?>< 4?O D45>FO E ?4<OFLN �4?L>G?OF>D4?  
4. 'F> F4>>5 5GD5D >5<5=4?  
5. �4> GEF4=>6<FL ?D<=F5D, D>F>>4<5DG =4 >><?LNF5D? 

 

�D4>F<G5E>4O D45>F4 731 

�4EFD>=>4 46F><4F<7<D>64==>= E<EF5<O. %>744=<5 =>6>7> ?>?L7>64F5?O. 
&5?L 74=OF<O: =4GG<FLEO 6O?>?=OFL EF4=44DF=O5 >?5D4F<< E  ��% 

 

 

 



81 

 

&5>D5F<G5E><5 >E=>6O D45>FO: 
�>?LL<=EF6> 7444G Windows 6>?NG4NF 6 E55O D45>FG E D4=?4<< < ?4?>4<<. �4?>< <E?>?L7GNFEO 
Windows 4?O E>744=<O E<EF5<O ED4=5=<O D4=?>6 =4 >><?LNF5D5 4=4?>7<G=> F><G, >4> >4DF>==O5 
?4?>< <E?>?L7GNFEO 4?O E<EF5<4F<74F<< 44==OE 6 >4DF>F5>5. �4?>< <>7GF E>45D64FL D4=?O D47-
?<G=OE F<?>6 � 4>>G<5=FO, <G7O>4?L=O5 >?<?O, <7>5D465=<O, 6<45>, ?D>7D4<<O < 4D. �>6=> 
E>74464FL =>6O5 ?4?><, >>?<D>64FL <?< ?5D5<5M4FL 6 =<E D4=?O <7 4DG7<E <5EF � <7 4DG7<E ?4-
?>>, E 4DG7<E >><?LNF5D>6 <?< <7 �=F5D=5F4. � ?4?>4E <>6=> E>74464FL ?>4?4?><.  
%>744=<5 ?4?>>: >><4=44 %>744FL ?4?>G 6 >>=F5>EF=>< <5=N <?< 6 65DE=5< <5=N 
$4=?/%>744FL ?4?>G (<?< ?>-4DG7><G). �>O6<FEO ?4?>4 E <<5=5< �>64O ?4?>4, =4?<E4FL =>6>5 
=4764=<5 < =464FL Enter 4?O ?>4F65D645=<O. �>6=> ?5D5<<5=>64FL ?4?>G, MU?>=G =4 =5= ?D46>= 
>=>?>>= <OL< < 6O5D46 6 �>=F5>EF=>< <5=N >><4=4G �5D5<<5=>64FL. 

�>?<D>64=<5 ?4?>>: 6O45?<FL >4=G <?< =5E>>?L>> ?4?>>, >>F>DO5 =G6=> E>>?<D>64FL, 6O5D4FL 
>><4=4G �>?<D>64FL 6 >>=F5>EF=>< <5=N, 6 E?>65 �D46>4 65DE=57> <5=N <?< =4 ?4=5?< <=EFDG-
<5=F>6, >F>DOFL ?4?>G, 6 >>F>DGN =G6=> 6EF46<FL >>?<< < 6O5D4FL >><4=4G �EF46<FL ?N5O< 
6OL5G>474==O< E?>E>5><. 
�5D5<5M5=<5 ?4?>>: 6O?>?=O5FEO 4=4?>7<G=> >>?<D>64=<N, => 6<5EF> >><4=4O �>?<D>64FL 

6O5<D45FEO >><4=44 �OD574FL. �?5D4F<O ?5D5<5M5=<O >F?<G45FEO >F >?5D4F<< >>?<D>64=<O 
F5<, GF> 6 D57G?LF4F5 >>?<D>64=<O E>744NFEO >>?<< ?4?>>, 4 <EE>4=O5 ?4?>< >EF4NFEO =4 <5EF5, 
6 D57G?LF4F5 ?5D5<5M5=<O <EE>4=O5 ?4?>< ?5D5<5M4NFEO 6 4DG7>5 <5EF> (F4<, 745 >=< 5O?<, <E 
=5F). 
�O45?5=<5 ?4?>>: GF>5O 6O45?<FL =5E>>?L>> ?>4DO4 <4GM<E D4=?>6 <?< ?4?>>, 6O55D<F5 ?5D-
6O= >5N5>F <, G45D6<64O =464F>= >?46<LG SHIFT, 6O55D<F5 ?>E?54=<= >5N5>F. �?O 6O5>D4 D47-
D>7=5==OE D4=?>6 <?< ?4?>> M5?>=<F5 ?>>G5D54=> >464O= >5N5>F, G45D6<64O =464F>= >?46<LG 
CTRL. 

'44?5=<5 ?4?>>: 6O45?<FL >4=G <?< =5E>>?L>> ?4?>>, >>F>DO5 =G6=> G44?<FL, 6O5D4FL >><4=4G 
'44?<FL 6 >>=F5>EF=>< <5=N, 6 E?>65 $4=? 65DE=57> <5=N <?< =4 ?4=5?< <=EFDG<5=F>6, <?< ?5-
D5F4M<FL 6O45?5==O5 ?4?>< =4 7=4G>> �>D7<=O ?D< =464F>= ?56>= >=>?>5 <OL<. 
%>DOF<5 ?4?><:  M5?>=<F5 =4 7=4G>5 ?4?>< ?D46>= >=>?>>= <OL< < 6O55D<F5 >><4=4G %6>=-
EF64. �4 6>?44>5 �5M<5 GEF4=>6<F5 D?46>> %>DOFO=. �?O ?D>E<>FD4 E>DOFOE ?4?>> =G6=> 
6O5D4FL >><4=4G %6>=EF64 ?4?>< 6 <5=N %5D6<E. �4 6>?44>5 �<4 6 7DG??5 �>?>?=<F5?L=O5 ?4-
D4<5FDO 6O5D4FL 64D<4=F �>>47O64FL E>DOFO5 D4=?O < ?4?><. 
�7<5=5=<5 E6>=EF6 ?4?><: >><4=44 %6>=EF64 ?4?>< <5=N %5D6<E. �>6=> <7<5=<FL ?4D4<5FDO 

M5?G>4 <OL< 4?O 6O45?5=<O < >F>DOF<O ?4?><, GEF4=>6<FL 4>?>?=<F5?L=O5 ?4D4<5FDO 4?O ?4-
?>> < F.4. 
%5D6<E=O5 6>7<>6=>EF< ?D>7D4<<O �D>6>4=<>. 
�E5 ?4?>< < D4=?O >5D47GNF =4 4<E>4E <5D4DE<G5E>GN D4=?>6GN EFDG>FGDG. �E5 D4=?O =4E>-
4OFEO 6 ?4?>4E, >>F>DO5 6?>65=O 6 4DG7<5 ?4?><, 5>?55 6OE>>>7> GD>6=O. �4?>4 E4<>7> 6OE>>>7> 
GD>6=O =47O645FEO >>D=56>=. �47=4G5=<5 D4=?>6>= EFDG>FGDO � >55E?5G<FL >4=>7=4G=>5 >FOE>4-
=<5 D4=?4, 5E?< <765EF=> 57> <<O < ?GFL ?><E>4. %>744=<5 < >5E?G6<64=<5 D4=?>6>= EFDG>FGDO 
� >4=4 <7 >E=>6=OE DG=>F<= >?5D4F<>==>= E<EF5<O.  
�?O D>7OE>4 D4=?>6 =G6=O E?5F<4?L=O5 =46<74F<>==O5 ED54EF64. �=< ?>76>?ONF ?D>E<>FD5FL 
D4=?>6GN EFDG>FGDG, =4=F< =G6=GN ?4?>G <?< D4=? < 6O?>?=<FL E =<<< =5>5E>4<<O5 45=EF6<O. 
�D>6>4=<> � MF> E?G655=4O ?D>7D4<<4, E?5F<4?L=> ?D54=47=4G5==4O 4?O ?D>E<>FD4 D4=?>6>= 
EFDG>FGDO < 5U >5E?G6<64=<O. �>=> MF>= ?D>7D4<<O E>EF><F <7 46GE ?4=5?5=. =4 ?56>= 6 6<45 
45D564 ?D54EF46?5=4 6EO D4=?>64O EFDG>FGD4 >><?LNF5D4. �?NE DO4>< E ?4?>>= >7=4G45F, GF> 6 
=5= 5EFL 6?>65==O5 ?4?><. % ?><>MLN ?56>= ?4=5?< >G5=L G4>5=> ?D>E<4FD<64FL E>45D6<<>5 
6E5E 6?>65==OE ?4?>>. �4 ?D46>= ?4=5?< >F>5D4645FEO E>45D6<<>5 ?4?><, >F>DOF>= 6 44==O= 
<><5=F =4 ?56>= ?4=5?<. �564G ?4=5?O<< >G5=L ?57>> 674<<>45=EF6>64FL: >>?<D>64FL ?4?><, 
?5D5<5M4FL <E, G44?OFL 6 >>D7<=G. 
�5F>4O 74?GE>4 ?D>7D4<<O �D>6>4=<>. 
�7GG<FL %���%&�/&��,�� 6> 6D5<O 6O?>?=5=<O ?D4>F<G5E>>= D45>FO < 74?<E4FL 6 >FGUF5! 
��$/��� �/�������/ $���&/ 



82 

 

�F>D>=F5 >>=> �>= >><?LNF5D/4<E> D, ?4?>G E6>5= 7DG??O. 

%>744=F5 6 E6>5= ?4?>5 E?54GNMGN EFDG>FGDG ?4?>>: FD< ?4?>< �<=>, �G7O>4, �<F5D4FGD4; 6 
>464>= <7 =<E 5MU ?> FD< ?4?>< (=47>6<F5 <E ?>-E6>5<G: D4<<?<< 4>FUD>6, D<?L<O, <G7O>4?L-
=O5 7DG??O, >=<7<, 46F>DO < F.4.). 
%>>?<DG=F5 ?4?>G �<=> E> 6E5< 5U E>45D6<<O< 6 ?4?>G �<F5D4FGD4.  
�>?D>5G=F5 6O45?<FL =5E>>?L>> ?4?>>, EF>OM<E DO4><, 74F5< =5E>>?L>> ?4?>>, EF>OM<E =5 DO-
4><. 
�4?>G �<F5D4FGD4 ?5D5<<5=G=F5 < =47>6<F5 �=<7<. 

�5D5<5EF<F5 E>45D6<<>5 ?4?>< �G7O>4 6 ?4?>G �=<7<. 

�4?GEF<F5 ?D>7D4<<G �D>6>4=<> E ?><>MLN �?46=>7> <5=N 

(�GE>/�D>7D4<<O/%F4=44DF=O5/�D>6>4=<>). �5D4F<F5 6=<<4=<5 =4 F>, >4>4O ?4?>4 >F>DOF4 =4 
?56>= ?4=5?< �D>6>4=<>4 6 <><5=F 74?GE>4. -F> 4>?6=4 5OFL ?4?>4 �>< 4>>G<5=FO. 
$47OM<F5 =4 ?56>= ?4=5?< ?4?>G E6>5= 7DG??O < >F>D>=F5 55 >4=<< M5?G>>< =4 7=4G>5 ?4?><. �U 
E>45D6<<>5 4>?6=> ?>O6<FLEO =4 ?D46>= ?4=5?< �D>6>4=<>4.  
�4 ?D46>= ?4=5?< D4E>D>=F5 6 E6>5= ?4?>5 6E5 ??NEO, GF>5O D4E>DO?>EL E>744==>5 �4<< «45D5-
6>». �=> 4>?6=> 6O7?O45FL E?54GNM<< >5D47><:  
 

 

 

$4E>D>=F5 ?4?>G �G7O>4 =4 ?D46>= ?4=5?< < E>744=F5 6 =5= 
>4>GN-=<5G4L ?4?>G. '554<F5EL, GF> =4 ?56>= ?4=5?< DO-
4>< E ?4?>>= �G- 7O>4 ?>O6<FEO ??NE.�4 ?56>= ?4=5?< ?5D5-
=5E<F5 F>?L>> GF> E>744==GN ?4?>G =4 7=4G>> �>D7<=O. 
�F>D>=F5 �>D7<=G < G554<F5EL, GF> MF4 ?4?>4 F4< ?D<EGFEF6G-
5F. 
�EF4?L=O5 ?4?>< G44?<F5 D47=O<< E?>E>54<< �� �$��/ 
�&��&� �$���- ����&��.! 
�O?>?=<F5 <EE?5- 4>64F5?LE>GN D45>FG, D57G?LF4FO >>F>D>= 
74?<L<F5 6 >FGUF. 
�EE?54>64F5?LE>4O D45>F4. 
�EE?54>64=<5 <5F>4>6 74?GE>4 ?D>7D4<<O  �D>6>4=<>. 

� �% Windows 5>?LL<=EF6> >?5D4F<= <>6=> 6O?>?=<FL <=>7<<< E?>E>54<<. �4 ?D<<5D5 
?D>7D4<<O �D>6>4=<> <EE?54G5< D47?<G=O5 ?D<5<O 74?GE>4 ?D>7D4<<.-5?>=<F5 ?D46>= >=>?-
>>= <OL< =4 >=>?>5 �GE> < 6 >F>DO6L5<EO >>=F5>EF=>< <5=N <E?>?L7G=F5 ?G=>F �D>6>4=<>. 
�5D4F<F5 6=<<4=<5 =4 F>, >4>4O ?4?>4 >F>DOF4 =4 ?56>= ?4=5?< 6 <><5=F 74?GE>4.-5?>=<F5 ?D4-
6>= >=>?>>= <OL< =4 7=4G>5 �>= �><?LNF5D  < 6 >F>DO6L5<EO >>=F5>EF=><  <5=N <E?>?L7G=F5 
?G=>F �D>6>4=<>. �5D4F<F5 6=<<4=<5, >4>4O ?4?>4 >F>DOF4 =4 ?56>= ?4=5?< 6 <><5=F 74?GE>4. 
�D>65DLF5 >>=F5>EF=O5 <5=N 6E5E 7=4G>>6, >F>DOFOE =4 $45>G5< EF>?5. 'EF4=>6<F5, 4?O >4><E 
>5N5>F>6 >>=F5>EF=>5 <5=N <<55F ED54EF64 74?GE>4 �D>6>4=<>4, < 6OOE=<F5, >4>4O ?4?>4 >F>DO-
645FEO =4 ?56>= ?4=5?< 6 <><5=F 74?GE>4. 
�O?>?=<F5 74?GE> �D>6>4=<>4 G5D57 ?G=>F �D>7D4<<O �?46=>7> <5=N. 
�O?>?=<F5 74?GE> �D>6>4=<>4 G5D57 ?G=>F �O?>?=<FL �?46=>7> <5=N. (=G6=> 665EF< explorer) 

1. �O?>?=<F5 74?GE> �D>6>4=<>4 E $45>G57> EF>?4 (?D5464D<F5?L=> =4 D45>G5< EF>?5 E?54G5F 
E>744FL OD?O> �D>6>4=<>4). 

2. �O?>?=<F5 74?GE> �D>6>4=<>4 E �4=5?< 5OEFD>7> 74?GE>4 (?D5464D<F5?L=> =4 MF>= ?4=5?< 
E?54G5F E>744FL OD?O> �D>6>4=<>4). 
   

&D55>64=<O > >FGUFG: 
1. �?<L<F5 =47=4G5=<5 < 6>7<>6=>EF< ?D>7D4<<O �D>6>4=<>. 
2. �4?<L<F5 >?D545?5=<5 D4=?>6>= EFDG>FGDO. 
3. �4> <>6=> 6O?>?=<FL =46<74F<N ?> D4=?>6>= EFDG>FGD5? 

4. �5D5G<E?<F5, >4><5 >?5D4F<< <>6=> 6O?>?=OFL E ?4?>4<<. 
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5. �4?<L<F5, >4><5 ?4?><, =4 �4L 677?O4, =G6=> E>DO64FL? 

6. �4?<L<F5 E?>E>5O ?5D5<5M5=<O ?4?>< 6 4DG7GN ?4?>G. 
7. �4> 5OEFD> G44?<FL ED47G =5E>>?L>> ?4?>>? 

�>=FD>?L=O5 6>?D>EO. 
1. �4><5 >?5D4F<< <>6=> 45?4FL E ?4?>4<<? 

2. �4> E>744FL ?4?>G < ?5D5<<5=>64FL 5U? 

3. �4> E>>?<D>64FL ?4?>G? 

4. �4> ?5D5<5EF<FL ?4?>G? 

5. '5< >F?<G4NFEO >?5D4F<< >>?<D>64=<O < ?5D5<5M5=<O ?4?>>? 

6. �4> G44?<FL ?4?>G? 

7. �4> E>DOFL ?4?>G? 

8. �4> <7<5=<FL E6>=EF64 ?4?><? 

9. �4> 74?GEF<FL ?D>7D4<<G �D>6>4=<>? 

10. �4> �O 4G<45F5, ?>G5<G ?D>7D4<<4 �D>6>4=<> 6E>4<F 6 E>EF46 >?5D4F<>==>= E<EF5<O? 

 

�D4>F<G5E>4O D45>F4 732 

�=4?<7 ��% 44==OE E ?><>MLN ModelBuilder 

�>E?54>64F5?L=>EFL 6O?>?=5=<O 

1. �F>D>=F5 >>=> E6>=EF6 M>D4=4, M5?>=G6 ?D46>= >=>?>>= <OL< =4 E6>5>4=>< <5EF5 $45>G57> 
EF>?4 < 6O5D46 6 >>=F5>EF=>< <5=N ?G=>F �5DE>=4?<74F<O. 
2. %>ED4=<F5 F5>GM<5 =4EFD>=>< $45>G57> EF>?4 6 6<45 F5<O. �?O MF>7>: 
1) 6 >>=5 �5DE>=4?<74F<O M5?>=<F5 >=>?>>= <OL< =4 EEO?>5 &5<O; 
2) 6 ?>O6<6L5<EO >>=5 =46<<F5 >=>?>G %>ED4=<FL; 
3) 6 >>=5 E>ED4=5=<O 6654<F5 <<O F5<O, =4?D<<5D %F4D4O F5<4, < 5M5 D47 =46<<F5 >=>?-
>G %>ED4=<FL. 
3. �E?>?L7GO EEO?>< 6 >>=5 �5DE>=4?<74F<O < <4F5D<4? MF>7> GD>>4, E4<>EF>OF5?L=> <7<5=<F5 
E?54GNM<5 =4EFD>=><: 
1) F65F < 6=5L=<= 6<4 >>>=; 
2) D>=>6O= D<EG=>> $45>G57> EF>?4; 
3) M>D4==GN 74EF46>G; 
4) 76G><; 
5) G>474F5?< <OL<. 
4. %=>64 >F>D>=F5 >>=> &5<O < E>ED4=<F5 F5>GM<5 =4EFD>=>< E <<5=5< �>64O F5<4. 
5. 'F>5O 6>76D4F<FL =4EFD>=>< <=F5DD5=E4 > <EE>4=><G E>EF>O=<N, 6O55D<F5 <7 D4E>DO64NM5-
7>EO E?<E>4 &5<4 E>ED4=5==GN D4=55 EF4DGN F5<G < =46<<F5 >=>?>G �D<<5=<FL. &5?5DL 6O 
E<>65F5 ?5D5>?NG4FLEO <564G EF4DO<< < =>6O<< =4EFD>=>4<< ?D>EFO< <7<5=5=<5< F5<O $45>-
G57> EF>?4. 

�>?D>EO 4?O E4<>?D>65D>< 

�?O G57> <E?>?L7G5FEO >>=> �5DE>=4?<74F<O? 

�4><5 ?4D4<5FDO >D>D<?5=<O 4>EFG?=O F>?L>> 4?O EF<?O Windows Aero? 

�4> >F>?NG<FL EF<?L Windows Aero? 

�4><5 ?4D4<5FDO 6E>4OF 6 E>EF46 F5<O $45>G57> EF>?4? 

�4> <>6=> E<5=<FL 7=4G>< 4?O E<EF5<=OE >5N5>F>6? 

�4><5 ?4D4<5FDO O6?ONFEO >?F<<4?L=O<< 4?O <>=<F>D>6 D47=OE F<?>6? 

 

 

 

 

 

�D4>F<G5E>4O D45>F4 733 

 

�O?>?=5=<5 4=4?<F<G5E><E ?D>5>F>6. 
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� MF>< G?D46=5=<< 6O: 
-<7<5=<F5 ?GF< > <EF>G=<>4< 44==OE E?>56 ArcMap 

- <7<5=<F5 6<4<<>EFL, ?>DO4>>>F>5D465=<O < =45>D E<<6>?>6 4?O E?>56 

- 4>546<F5 E?>< > >4DF5 ArcMap 

- <45=F<D<F<DG5F5, =4=45F5 < <7<5D<F5 >5N5>FO >4DFO 

-6O55D<F5 ?>4<=>65EF64 >5N5>F>6 4?O 4=4?<74. 
1. �F>D>=F5 ArcCatalog - CanadaMap.mxd. � F45?<F5 E>45D64=<O ?5D5G<E?5=O E?>< >4DFO. �D4E-
=O= 6>E>?<F4F5?L=O= 7=4> 6>7?5 E?>O $5>< >7=4G45F, GF> E?>= =5 6<4<F >?4EE ?D>EFD4=EF65==OE 
>5N5>F>6, =4 >>F>DO= >= <7=4G4?L=> EEO?4?EO. (&4> >4> ?D><7>L?> ?5D5<<5=>64=<5 E?>O Rivers 6 
WorldRivers) 

2. -5?>=<F5 ��� =4 E?>5 $5>< � �4==O5 � �>EEF4=>6<FL <EF>G=<> 44==OE � ?5D5=4<F5 
%:\Student\DESK2\Exercise02\Canada.gdb- 6O45?<F5 WorldRivers � �>546<FL. (&4><< >5D47>< �O 
6>EEF4=>6<?< ?GFL > 44==O< < D5>< >F>5D464NFEO =4 >4DF5) 
3. -5?>=<F5 =4 E?>5 %FD4=O 07 � %6>=EF64 � �EF>G=<>. �45EL =5F =5>5E>4<<>EF< 6>EEF4=46?<-
64FL <EF>G=<> 44==OE, => 6O <>65F5 6<45FL 6 EFD>>5 �GFL, GF> E?>=  - EEO?45FEO =4 >?4EE ?D>-
EFD4=EF65==OE >5N5>F>6 6 5475 75>44==OE World. �45EL 6O ?><5=O5F5 ?GF< 

4. �EF>G=<>- 'EF4=>6<FL <EF>G=<> 44==OE � ?5D5=4<F5 > 5475 75>44==OE Canada. -5?>=<F5 =4 
Cntry07 ��>546<FL. '554<F5EL, GF> ?GF< >5=>6?5=O 6 EFD>>5 �GFL � �� 

5. �D>45?4=F5 MF< 65 L47<, <7<5=<6 4?O E?>O �<D30 ?GFL =4 547G 75>44==OE Canada(World30) 

6.'44?<F5 E?>= �?_4>D>7<. 
7. �5D5<<5=G=F5 E?>= �D_7>D>44 =4 <<O �DG?=O5 7>D>44. %FD4=O07 6 %FD4=O, �<D30 =4 �>54-
=O. 
8. �7 ArcCatalog <7 547O 75>44==OE Canada E?>= Natlpark 6 ArcMap =4 >F>5D465=<5 >4DFO => =5 6 
F45?<FG E>45D64=<O. � D57G?LF4F5 E?>= 4>546?5= 6 F45?<FG E>45D64=<O < >F>5D465= =4 >4DF5. 
�4<5FLF5, GF> E>FO <<O >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 =47O645FEO Natlpark, <<O E?>O 6 
ArcMap ��4F<>=4?L=O5 ?4D><. 
9. �7<5=<F5 E<<6>? 4?O E?>O �4F<>=4?L=O5 ?4D>< =4 LeafGreen. 

10.�5D5F4M<F5 E?>= �>44 ?>65DE E?>O �4F<>=4?L=O5 ?4D><. 
11. � ArcCatalog 6O55D<F5 Elevation.lyr. '554<F5EL, GF> 6O 6O5D4?< 65?FO=, D><5>6<4=O= D4=? 
E?>O. �5D5F4M<F5 < >EF46LF5 D4=? E?>O =4 >F>5D465=<< ArcMap. �>G5<G E?>= Elevation =5 >F>5-
D4645FEO =4 >4DF5? 

�4> =47O645FEO =45>D D4EFD>6OE 44==OE =4 >>F>DO= EEO?45FEO E?>= Elevation? 

12.�5D5F4M<F5 E?>= Elevation ?DO<> ?>4 E?>= $5>< 

13. 'EF4=>6<F5 E?54GNM<= ?>DO4>> E?>56: 
-�DG?=O5 7>D>44 

-�>44 

-�4F<>=4?L=O5 ?4D>< 

-�D>6<=F<< 

-$5>< 

- Elevation 

-%FD4=O 

-�>54=O 

14.-5?>=<F5 =4 E?>5 �D>6<=F<O ��O5>D E<<6>?4- &65F 74?<6>< � <7<5=<F5 =4 �5F &65F4. &5-
?5DL 6O 6<4<F5 7D4=<FO ?D>6<=F<= < E?>= Elevation F>65 6<45=. 
15. -5?>=<F5 =4 <5=N �4>?44>< - �4=444  - �7<5D<FL � �7<5D<FL 4?<=G � �O5D4FL 54<=<FO � 

G>46<F5 D4EEF>O=<5 � ?5D5<5M4=F5 G>474F5?L <OL< =44 >4DF>= < <E?>?L7G=F5 ?>4E>47>< >4DFO, 
GF>5O =4=F< 7>D>44 Whitehorse < St. Johns. 

16. -5?>=<F5 =4 Whitehorse. �5D5<5EF<F5 G>474F5?L <OL< =4 St. Johns < 46464O M5?>=<F5 GF>5O 
7465DL<FL <7<5D5=<5. $4EEF>O=<5 <564G 46G<O 7>D>44<< ?>>474=> 6 >>=5 �7<5D<FL. �=4G5=<5 
4>?6=> 5OFL ?D<5?<7<F5?L=> 5,140 ><?><5FD>6 

17. � >>=5 <7<5D<FL M5?>=<F5 =4 >=>?>5 %5D>E D57G?LF4F>6 

%>744=<5 6O5>D>> >5N5>F>6 < 74?<E5=. 
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1. �4 ?4=5?< <=EFDG<5=F>6 6O55D<F5 �O5D4FL >5N5>FO 

2. $4EFO=<F5 ?DO<>G7>?L=<> =44 ?N5O< >DG?=O< 7>D>4><, GF>5O 6O5D4FL  
57>.-F>F 6O5D4==O= 7>D>4 6O45?5= =4 >4DF5 => F4>65 6O45?5=O >5N5>FO <7 4DG7<E E?>56 F4><E 
>4> �D>6<=F<O, %FD4=O < �>54=O. 

3. -5?>=<F5 =4 >=>?>5 �G<EF<FL 6O5D4==O5 >5N5>FO 

4. �F>D>=F5 74>?44>G �O5>D>4 6=<7G F45?<FO E>45D64=<O. �E?< F4>>= 74>?44>< 

=5F, 4 5EFL F>?L>> �F>5D465=<5 < �EF>G=<>, =5>5E>4<<> 4>546<FL 74>?44>G �O5>D>4 (�=-
EFDG<5=FO � �?F<< � &45?<F4 E>45D64=<O � ?>EF46LF5 74?>G>G DO4>< E �O5>D>4 6 �4>?44>4E 
F45?<FO E>45D64=<O. �N5>= E?>= 6>7?5 >>F>D>7> EF><F D?46>> 4>EFG?5= 4?O 6O5>D><. �> 
G<>?G4=<N 6E5 E?>< 4>EFG?=O 4?O 6O5>D><. 
5. �F>?NG<F5 6E5 E?><, >D><5 �DG?=O5 7>D>44. �EF46?OO <=EFDG<5=F �O5D4FL  
>5N5>FO 4>F<6=O<, D4EFO=<F5 ?DO<>G7>?L=<> =44 ?N5O< >DG?=O< 7>D>4><. �O5D4==O= 7>-
D>4 6O45?5= =4 >4DF5, < =<>4><E 4DG7<E >5N5>F>6 5>?LL5 =5 6O5D4=>. �O5D4==O= 7>D>4 6O-
45?5= =4 >4DF5 < =<>4><E 4DG7<E >5N5>F>6 5>?LL5 =5 6O5D4=>. � F45?<F5 E>45D64=<O 74>?44-
>4 �O5>D>4 ?>>47O645F, GF> >4<= >5N5>F 6O45?5= 6 E?>5 �DG?=O5 7>D>44 

6. -5?>=<F5 �G<EF<FL 6O5D4==O5 >5N5>FO. '45D6<64O Shift, M5?>=<F5 =4  
Whitehorse, Yellowknife < Iqaluit. &5?5DL D4EFO=<F5 ?DO<>G7>?L=<> 6O5>D><, >>F>DO= 5G45F 
6>?NG4FL 6E5 7>D>44-EF>?<FO N6=55 60-= ?4D4??5?< < <E>?NG4FL E565D=O5 7>D>44. �> G<>?-
G4=<N, >>744 6O 45?45F5 =>6GN 6O5>D>G, EGM5EF6GNM4O 6O5>D>4 >G<M45FEO 

7. �F>D>=F5 F45?<FG 4FD<5GF>6 4?O E?>O �DG?=O5 7>D>44. �4?<E<,  
E>>F65FEF6GNM<5 6O5D4==O< >5N5>F4<, 6O45?5=O 6 F45?<F5. 
8. � F45?<F5 4FD<5GF>6 M5?>=<F5 ?D46>= >=>?>>= =4 747>?>6>5 ?>?O CSD_POP01  

< 6O55D<F5 %F4F<EF<>4. �4>>5 ED54=55 G<E?> 6<F5?5= 6 7>D>44E-EF>?<F4E, >>F>DO5 ?564F 
N6=55 60-= ?4D4??5?<? �4>D>=F5 >>=> %F4F<EF<>4 6O5>D><. �=<7G F45?<FO 4FD<5GF>6 M5?>-
=<F5 �?F<< � ���- �5D5>?NG<FL 6O5>D>G. &5?5DL 5G4GF 6O5D4=O F>?L>> F5 74?<E<, >>F>DO5 
=5 5O?< 6O5D4=O 4> MF>7>. �D>E<>FD<F5 6O5>D>G =4 >4DF5 >F>46<=G6 F45?<FG 

9. $4=?-%>ED4=<FL >4> - %:\Student\DESK2\Exercise02 <7<5=<F5 <<O 4>>G<5=F4  
>4DFO =4 CanadaElevation. 

 

 

 

�D4>F<G5E>4O D45>F4 734-35 

 

�=4?<F<G5E><5 ?D>5>FO 6 ��%. 
�><E> < ?>47>F>6>4 <=D>D<4F<< ?> 74?D>E4<. 

 

%>744=<5 =44?<E5= >5L5>F>6-MF> E?>6=O= ?D>F5EE.6 >>F>DO= 6>6?5G5=O >G5=L D47=O5 
DG=>F<>=4?L=O5 6>7<>6=>EF<. �F>5D465=<5 ?N5>7> >?D545?5==>7> =45>D4 =44?<E5=-MF> 
DG=>F<O <=>7<E 674<<>45=EF6GNM<E ?4D4<5FD>6. %>744=<5 =44?<E5= F4>65 G4EF> 
EF4=>6<FLEO <F5D4F<6=O< ?D>F5EE><. �>744 6O ?>4?<EO645F5 =>6O5 E?><, 6O G4EF> 
6>76D4M45F5EL < <5=O5F5 E6>=EF64  E<<6>?>6 < D47<5M5=<O, GEF4=>6?5==O5 4?O 4DG7<E E?>56, 
GF>5O ?>?GG<FL ?GGL<= D57G?F4F. 
�4 D47<5M5=<5 =44?<E5= 6?<ONF =5 F>?L>> GEF4=>6>< ?4D4<5FD>6, => F4> 65 >E>55==>EF< 
64L57> >>=4 >F>5D465=<O-F4><5 ?4D4<5FDO,>4> D47<5D <>=<F>D4, D47D5L5=<5 M>D4=O, D47<5D 
>>=4 ArcMap < 4465 >>?<G5EF6> < <5EF>?>?>65=<5 >F>DOFOE 6 <=F5DD5=E5 ?4=5?5= 
<=EFDG<5=F>6. 
-F> G?D46=5=<5 5O?> ?D>65D5=> =4 <>=<F>D5 E D47<5D4<< 285*380 << < D47D5L5=<5< M>D4=4 
1024*768 ?<>E5?5=.�>7<>6=> 64L< D57G?LF4FO =5 5G4GF F>G=> E>6?444FL E ?>>474==O<< <?< 
>?<E4==O<<.  �E?< 6>7=<>=GF E?>6=>EF< <?< 5G45F GF>-F> =5?>=OF=>-?>?D>E<F5 64L57> 
?D5?>4464F5?O ?><>GL. 
� MF>< G?D46=5=<5 6O: 

" �>546<F5 =44?<E< > E?>O< =4 >4DF5 
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" �7<5=<F5 4FD<5GF >F >>F>D>7> 746<E<F =44?<EL 

" �7<5=<F5 E<<6>? =44?<E< ?> G<>?G4=<N  
" 'EF4=>6<F5 ?D<>D<F5FO  D47<5M5=<O =44?<E5= 

" �?D545?<F5 <4ELF45O >4DFO, ?D< >>F>DOE >F>5D464NFLEO =44?<E< 

" %>7444<F5 ?>7<G5E>>5 6OD465=<5 GF>5O ?>4?<EO64FL >5N5>FO F>?L>> E >?D545?5==O-
<< 7=4G5=<O<< 4FD<5GF>6. 

" �>?>?=<F5?L=> ?>4?<L5F5 ?<=5==O5 >5N5>FO 

       ,47 1: >F>DOF<5 4>>G<5=F4 >4DFO 

       �4?GEF<F5 ArcMap < >F>D>=F5 CanadaLabels.mxd <7 64L5= ?4?><           
/Stydent\DESK2\Exercise06 

      �E?< =5>5E>4<<>, D4765D=<F5 ArcMap< ?5D5=4<F5 > 74>?44>5 �4=444. 
      ,47 2: E>744=<5 =44?<E5= ?D>6<=F<< 

� MF>< L475 6O 6>?NG<F5 =44?<E< 4?O E?>O �D>6<=F<<. �O F4>65 G6<4<F5, >4> ArcMap 

?5D5<5M45F =44?<E< =4 ?5FG, ?5D546<745F5EL ?> >4DF5. 
" � F45?<F5 E>45D64=<O M5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �D>6<=F<< < 6O55D<F5 �44?<-

E4FL >5L5>FO (Label Features). 

�4644O ?D>6<=F<O < F5DD<F>D<O ?>4?<E4=4 E6><< <<5=5<. �5>>F>DO5 >5L5>FO ?>4?<E4=O =5-
E>>?L>> D47, ?>F><G GF> MF< >5L5>FO E>EF>OF <7 =5E>>?L><E G4EF5=. 
�5D4F<F5 6=<<4=<5 =4 D4E?>?>65=<5 =44?<E5= 4?O 6>EF>G=OE ?D>6<=F<=; �LN-�D4=EG<>, >EFD>6 
?D<=F4 -4G4D44 ( MF4 =44?<EL <>65F =5 >F>5D464FLEO) < �>64O ,>F?4=4<O ( >>F>D4O E>>D55 6E57> 
?>4?<E4=4 46464O). 

 

�5D5=4<F5 > 74>?44>5 �EFD>6 �D<=F4 -4G4D44 

      �44?<E< ?D< F4>>< <4ELF455 6O7?O4OF 7>D474> ?GGL5. �>4?<EL New Brunswick                     

?>?4445F 6=GFDL 7D4=<FO ?D>6<=F<<, E>FO 4> MF>7> =5 ?>?444?4. 
�D<<5G4=<5: $47<5D =44?<E5= 8 ?G=>F>6 (! �G=>F-MF> 1\72 4N=<4 <?< 1\28 E4=F<<5FD4). �>744 6O 
G65?<G<645F5 <?< G<5=LL45F5 <4ELF45, D47<5D =44?<E< =5 <5=O5FLEO. 

" -5?>=<F5 =4 <=EFDG<5=F �5D5<5EF<FL(Pan) 

" �45?N44O 74 =44?<ELN =4 ?D>6<=F<< Quebec (>6555>) ?5D5<5EF<F5 >4DFG =4 =5-
5>?LL>5 D4EEF>O=<5 =4 6>EF>> , GF>5O 5O?> 6<4=> 5>?LL5 ?>65DE=>EF< �F?4=F<G5-
E>>7> >>54=4. �F?GEF<F5 >=>?>G <OL<. 

" �5D5<5EF<F5 5M5 =5<=>7> 74?44=55. 
�>744 ?D>6<=F<O ?5D5<5M45FEO 74 ?D545?O >5?4EF< >F>5D465=<O =44?<EL ?5D546<745FLEO 6>-
EF>G=55, GF>5O >EF464FLEO 6<4<<>= %5=G4E 6>7<>6=> 6O 6<4<F5 5>?55 >4=>= =44?<E<. 
,47 3:'44?5=<5 ?>6F>DONM<EEO =44?<E5= 

� MF>< L475 6O GEF4=>6<F5 64L5 ?5D6>5 ?D46<?> D47<5M5=<O =44?<E5=, G>4746 ArcMap =5 ?>>4-
7O64FL 4G5?<DGNM<=EO =44?<E< 

" �5D5=4<F5 > 74>?44>5 >4=444. 
" �F>D>=F5 E6>=EF64 4?O E?>O ?D>6<=F<<. -5?>=<F5 =4 74>?44>5 �44?<E<. 
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�<4?>7>6>5 >>=> %6>=EF64 E?>O (Layer Propertics)- MF> >4<= <7 FD5E E?>E>5>6 ?>?GG<FL 4>EFG? 
> DG=>F<>=4?L=O< 6>7<>6=>EFO< ?> D47<5M5=<N =44?<E5=. 

" � ?56>< =<6=5< G7?G 4<4?>7>6>7> >>=4 M5?>=<F5 =4 %6>=EF64 D47<5M5=<O (Placement 

Propertics). 

" � 4<4?>7>6>< >>=5 E6>=EF64 D47<5M5=<O (Placement Propertics).M5?>=<F5 =4 74>?44>5 
D47<5M5=<5 (Placement) 5E?< =5>5E>4<<>. 

" �=<7G 4<4?>7>6>7> >>=4 6O55D<F5 >?F<N '44?OFL 4G5?<DGNM<=EO =44?<E<. 
" -5?>=<F5 �� 6 >5><E >F>DOFOE 4<4?>7>6OE >>=4E. 

�?O >464>= ?D>6<=F<< 6 F5DD<F>D<< >F>5D4645FEO >4=4 =44?<EL =5746<E<<> >F F>7>, <7 E>>?L-
><E G4EF5= >=< E>EF>OF. 
,47 4: �7<5=5=<5 4FD<5GF>6, <E?>?L7G5<OE 4?O =44?<E5= 

�<5=4 =5>>F>DOE ?D>6<=F<= E?<L>>< 4?<==O5 < =5 ?><5M4NFEO 6 7D4=<FO ?D>6<=F<< ?D< M>E-
F5=F5 >4DFO =4 6EN EFD4=G. � MF>< L475 6O <7<5=<F5 4FD<5GF, >>F>DO= <E?>?L7G5FEO 4?O =44?<-
E5=. 

" �F>D>=F5 F45?<FG 4FD<5GF>6 4?O E?>O �D>6<=F<<. 
�FD<5GF PROV E>45D6<F G=<>4?L=O5 46GE5G>65==O5 >5>7=4G5=<O. �O <7<5=<F5 ?4D4<5FDO 
=44?<E5= =4 MF>F 4FD<5GF. 

" �4>D>=F5 F45?<FG 4FD<5GF>6. 
" �F>D>=F5 E6>=EF64 4?O E?>O �D>6<=F<< < G554<F5EL, GF> 6O5D4=4 74>?44>4 �44?<E< (La-

bels). 

" �7 6O?444NM57> E?<E>4 ?>?5 =44?<E< (Label Field) 6O55D<F5 PROV -5?>=<F5 ��. �<5=4 
?D>6<=F<< < F5DD<F>D<= 74<5=5=O 46GE5G>65==O<< >>44<<. 

,47 5: �7<5=5=<5 E<<6>?4 =44?<E< 

� MF>< L475 6O =4G=5F5 <E?>?L7>64FL ?4=5?L <=EFDG<5=F>6 =44?<E< (Labeling). 

�4=5?L <=EFDG<5=F>6 �44?<E<-MF> 5>?55 MDD5>F<6=O= <=F5DD5=E 4?O 4>EFG?4 > DG=>F<>=4?L-
=O< 6>7<>6=>EFO< =44?<E5=, G5< 4<4?>7>6>5 >>=> %6>=EF64 E?>O (Layer Propertics)>E>55==> >>-
744 6O ?>4?<EO645F5 =5E>>?L>> E?>56 =4 >4DF5. 

" � <5N �<4 (View) G>46<F5 �4=5?< <=EFDG<5=F>6 (Toolbars) < 6O55D<F5 �44?<E< 
(Labeling) 

�F>5D464NFEO ?4=5?L <=EFDG<5=F>6 �44?<E< (Labeling) 

" �E?< 6O E>F<F5, ?D<>D5?<F5 ?4=5?L <=EFDG<5=F>6 > >>=G ArcMap. 

" -5?>=<F5 =4 >=>?>5 �5=5465D =44?<E5= (Label Manager) 

�>744 6O 74445F5 E6>=EF64 =44?<E5= 6 4<4?>7>6>< >>=5 %6>=EF64 E?>O (layer Propertics) 6O <>65-
F5 D45>F4FL >4=>6D5<5==> F>?L>> E >4=<< E?>5<. � <5=5465D5 =44?<E5= (Label Manager) G 64E 
5EFL 4>EFG? >> 6E5< E?>O< =4 >4DF5 6 >4=>< 4<4?>7>6>< >>=5. 
�>?5 �?4EEO =44?<E5= (Label Classes) =4 ?56>= EF>D>=5 ?>>47O645F 64< >464O= E?>= =4 >4DF5. 
�5N5>FO E?>56 E 6>?NG5==O<< D?46>4<< ?>4?<E4=O. �>4 <<5=5< E?>O E >FEFG?>< ?5D5G<E?5=O 
>?4EEO =44?<E5= E?>O. %=4G4?4 ?> G<>?G4=<N G >464>7> E?>O >4<= >?4EE =44?<E5=, =47O645<O= 
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Default, => <>6=> 4>546?OFL 5M5. �?4EEO =44?<E5= ?>76>?ONF 64< D47?<G4FL =44?<E< 6=GFD< 
E?>O. �4?D<<5D, 5E?< 5O 6O E>F5?<, GF>5O >DG?=O5 7>D>44 <<5?< 5>?55 >DG?=O5 =44?<E<, G5< 
=55>?LL<5 7>D>44, 64< =G6=> 5O?> 5O 464 >?4EE4 =44?<E5= 4?O E?>O 7>D>4>6. 

" � ?>?5 �?4EEO =44?<E5= M5?>=<F5 =4 >?4EE5 =44?<E5= ?> G<>?G4=<N Default ?>4 E?>5< 
�D>6<=F<<, GF>5O 6O45?<FL 57>. 

 
&4><< >5D47>< 6O G>47O645F5 E >4><< >?4EE>< =44?<E5= 6O E>F<F5 D45>F4FL. 

" � >5?4EF< &5>EF>6>= E<<6>? (Text Symbol) M5?>=<F5 =4 F65F=>< >644D4F<>5 < <7<5=<F5 
F65F =4 Nubuck Tan (EFD>>4 9, EF>?55F 3) 

" -5?>=<F5 =4 >=>?>5 �>?G6<D=O= (bold) 

" �7<5=<F5 D47<5D LD<DF4 E 8 =4 6 F>G5>. 
" -5?>=<F5 �D<<5=<FL (Apply) < ?5D5<5EF<F5 �5=5465D =44?<E5= (Label Manager) E >F>5-

D465=<O >4DFO. 
�44?<E< >F>5D464NFEO =>6O<< E<<6>?4<<. $47<5D 6 F>G5> <>65F ?>>474FLEO E?<L>>< <4?5=L-
><<<, => MF> 746<E<F >F F>7>, E>>?L>> E?>56 6O ??4=<DG5F5 >F>5D47<FL < ?>4?<E4FL. 
,47 6: �7GG5=<5 E6>=EF6 D47<5M5=<O =44?<E5= 4?O ?>?<7>=>6 

' =44?<E5= 4?O >5N5>F>6 ?>?<7>=>6 >7D4=<G5==>5 G<E?> >?F<= D47<5M5=<O. �>  EGM5EF6G, 
=44?<EL ?>?4445F 6=GFDL ?>?<7>=4, < ArcMap D47<5M45F 55 F4> >4> <>65F. �O <>65F5 6O5D4FL 
D47<5M4FL ?< =44?<E< 7>D<7>=F4?L=> <?< ?> ?DO<>= (4?O ArcMap MF> =5 >4=> < F>65 ?> ?DO<>=, 
>7=4G45F ?>4 G7?>< E>>F65FEF6GNM<< E4<>= 4?<==>= >E< >5N5>F4 ?>?<7>=4) 

" � <5=5465D5 =44?<E5= (Label Manager) 6 >5?4EF< %6>=EF64 D47<5M5=<O (Placement Proper-

tics) 6>?NG<F5 D?46>>, GF>5O D47<5M4FL =44?<EL F>?L>> 6=GFD< ?>?<7>=4. -5?>=<F5 ��, 
GF>5O 74>DOFL �5=5465D =44?<E5= (Label Manager) 

�44?<EL PE (>EFD>6 ?D<=F4 -4G4D44) < NS (�>64O L>F?4=4<O) <EG57?<. �?O D47<5M5=<O MF<E 
=44?<E5= 557 ?5D5E5G5=<O >>=FGD4 ?>?<7>=4 =54>EF4F>G=> <5EF4. 
�4 ??>F=> ?>4?<E4==>= >4DF5 5O645F E?>6=> ?>=OFL, >4><5 =44?<E< 5O?< E>DOFO <7-74 >>=-
D?<>F>6 ?4D4<5FD>6 E6>=EF6 D47<5M5=<O. �4 ?4=5?< <=EFDG<5=F>6 �44?<E< (labeling) 5EFL <=-
EFDG<5=F, >>F>DO= ?>>47O645F E>DOFO5 =44?<E<. 

" �4 ?4=5?< <=EFDG<5=F>6 �44?<E< (Labeling) M5?>=<F5 =4 >=>?>5 �>>474FL =5D47<5M5=-
=O5 =44?<E< (View Unplaced Labels) �5D47<5M5==O5 =44?<E< >F>5D464NFLEO >D4E=O<. 

" -5?>=<F5 =4 >=>?>5 E=>64 GF>5O >F>?NG<FL =5D47<5M5==O5 =44?<E<. 
" �F>D>=F5 �5=5465D =44?<E5= (Label Manager) < >F>?NG<F5 D?46>> 4?O D47<5M5=<O 

=44?<E5= F>?L>> 6=GFD< ?>?<7>=4. -5?>=<F5 ��. 
 

,47 7:�7GG5=<5 ?D<E6>5=<O 65E>6 =44?<EO< 

� MF>< L475 6O 6>?NG<F5 5>?LL5 E?>56. �4F5< 6O G6<4<F5, >4> E ?><>MLN <7<5=5=<O 65E>6 
<>6=> 6?<OFL =4 =44?<E<, GF>5O >=< =5 ?5D5E5>4?< >5L5>FO. 

" �?NG<F5 E?>< �DG?=O5 7>D>44, D5><, >7UD4<< =4F<>=4?L=O5 ?4D><. 
�G45< =445OFLEO, GF> =5>>F>DO5 =44?<E< ?D>6<=F<< >F>5D464NFEO ?>65DE >5N5>F>6. �4?D<<5D, 
=44?<EL $� <>65F ?5D5>DO64FL EF>?<FG ?D>6<=F<<-,4D?>7F4G=, 4 =44?<EL SK <>65F G4EF<G=> 
74>DO64FL �4F<>=4?L=O= ?4D> �D<=F4 �?L55DF4. 
�5 O6?O5FLEO >L<5>>=, 5E?< =44?<E< >F>5D464NFEO =4 >5N5>F4E. �4=4>> >5OG=> =5 =G6=>, GF>-
5O =44?<E< >4=>7> E?>O 74>DO64?< >5N5>FO <7 4DG7>7>. 
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" �4 ?4=5?< <=EFDG<5=F>6 �44?<E< M5?>=<F5 =4 >=>?>5 ?D>E6>5=<5 65E>6 =44?<EO< (Label 

Weight Ranking) 

 

� EF>?5F5 %?>= (Layer) ?5D5G<E?5=O E?>< >4DFO. �5E4 >5L5>F>6 < =44?<E5= <>6=> =4EFD4<64FL 
>4> ?D46<?>,=44?<EL =5 D47<5M45FLEO ?>65DE >5L5>F4 E D46=O<< <?< 5>?LL<< 65E><. �> 
G<>?G4=<N 65E 6E5E >5L5>F>60 �5F, 46 5E 6E5E =44?<E5= 6OE>><=.-F> >7=4G45F, GF> =44?<E< 
?N5>7> E?>O <>7GF D47<5M4FLEO =4 >5L5>F5 ?N5>7> E?>O 557 >7D4=<G5=<=. 

" �?O E?>O �DG?=O5 7>D>44_ Default �75D4-Default < =4F<>=4?L=O5 ?4D><- Default. 

" -5?>=<F5 �� 

�5>>F>DO5 =44?<E< <7<5=<?< D4E?>?>65=<5 

 

� MF>< L475 6O 4>546<F5 6F>D>= >?4EE =44?<E5= 6 E?>= ?D>6<=F<<. -F>F 6F>D>= >?4EE =44?<E5= 
5G45F <E?>?L7>64FLEO =4 >DG?=> <4ELF45=>= >4DF5. %5=G4E 6O E>7444<F5 >?4EE, 4 74F5< 6 
E?54GNM5< L475 GEF4=>6<F5 4<4?47>= <4ELF45>6. 

" �F>D>=F5 <5=5465D =44?<E5= (Label Manager) 

" � ?>?5 �?4EEO =44?<E5= (Label Classes) M5?>=<F5 =4 E?>5 �D>6<=F<< (-5?>=<F5 =4 <<5-
=< E?>O =44 <<5=5< >?4EE4 =44?<E5=) 

 
" � >5?4EF< �>546<FL >?4EE =44?<E5= E?D464 =455D<F5 �DG?=><4EL45=O5 6 >4G5EF65 =4764-

=<O >?4EE4. 
" -5?>=<F5 4>546<FL 

�>6O= >?4EE =44?<E5= ?>O6<?EO ?>4 E?>5< �D>6<=F<< 

" �>4 E?>5< ?D>6<=F<< M5?>=<F5 ?D46>= >=>?>< =4 >?4EE5 =44?<E5= Default < 6O55D<F5 
�5D5<5EF<FL >?4EE (Rename Class) 

" � 4<4?>7>6>< >>=5 �5D5<<5=>64FL >?4EE =44?<E5= =455D<F5 �5?>><4ELF45=O5 = < M5?>-
=<F5 ��. 

 
" � ?>?5 �?4EEO =44?<E5= (Label classes) M5?>=<F5 =4 >?4EE5 �DG?=><4ELF45=O5. 

%5=G4E 57> E6>=EF64 F4><5 65, >4> < G >?4EE4 �5?>><4ELF45=O5->= ?D>EF> G=4E?54>64? E6>=EF64 
EGM5EF6GNM57> >?4EE4 =44?<E5=. 

" � >5?4EF< &5>EF (Text String) <7<5=<F5 4FD<5GF E PROV =4 NAME. 

" -5?>=<F5 =4 >=>?>5 �>?G6<D=O= (Bold) GF>5O G5D4FL ?>?G6<D=>5 =4G5DF4=<5. 
" -5?>=<F5 %<<6>? (Symbol) 6 >>=5 �O5>D E<<6>? (Symbol Selector) -5?>=<F5 E6>=EF64  
" � 4<4?>7>6>< >>=5 $544>F>D M5?>=<F5 =4 74>?44>5 $>D<4F<D>64=<5 F5>EF4  (Formated 

Text). 

" �7<5=<F5 $4EEF>O=<5 <564G E<<6>?4<< (Character spacing) E 0 4> 48. 
" -5?>=<F5 �� 6 4<4?>7>6>< >>=5 $544>F>D < �O5>D E<<6>?4 

" -5?>=<F5 �D<<5=<FL < ?5D5<5EF<F5 �5=5465D =44?<E5= E >4DFO. 
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�54 =45>D4 =44?<E5= >F>5D464NFEO =4 >4DF5. -F> ?>>4 =5 E>6E5< F> GF> 6O E>F<F5 � 64< =G6=>, 
GF>5O >?4EEO =44?<E5= >F>5D464?<EL 6 D47=OE <4ELF454E. 
 

,47 9: 'EF4=>6>4 4<4?47>=4 <4ELF45>6 

� MF>< L475 6O GEF4=>6<F5 4<4?47>=O <4ELF45>6 4?O E?>56 �D>6<=F<<. �>744 6O G<5=LL45F5 
<7>5D465=<5 >4DFO,6O E>F<F5 6<45FL 46GE5G>65==O5 E>>D4M5=<O. �>744 6O G65?<G<645F5, 6O 
E>F<F5 6<45FL ?>?=>5 <<O. 

" � �5=5465D5 =44?<E5= (Label Manager) 6 ?>?5 >?4EEO =44?<E5= (Label Classes)M5?>=<F5 
=4 >?4EE5 =44?<E5= �5?>><4ELF45=O5, GF>5O 6O45?<FL 57>. 

" �>4 >5?4EFLN %6>=EF64 D47<5M5=<O (Placement Propertics) M5?>=<F5 �<4?47>= <4ELF45>6 
(Scale Range)  

" � 4<4?>7>6>< >>=5 �<4?47>= <4ELF45>6 (Scale Range) 6O55D<F5 >?F<N =5 ?>>47O64FL 
=44?<E< (Don�t show labels when zoomed) 

" � ?>?5 �DG?=55 (In Beyond) 6654<F5 15 000 000. 

-F> 4=4?>7<G=> F><G, >4> D4=55 6O GEF4=46?<64?< 4<4?47>= <4ELF45>6 4?O E?>O �MD>?>DFO. 
" -5?>=<F5 �� 

�5?>><4ELF45=O5 =44?<E<(46GE5G>65==O5 E>>D4M5=<O) 5G4GF >F>5D464FLEO ?>>4 <4ELF45 >4D-
FO <5?LG5 1:15 000 000 �>744 <4ELF45 ?5D5=45F MF> 7=4G5=<5 =44?<E< >F>?NG4FLEO. %5=G4E 64< 
=44> 7444FL E>>F65FEF6GNM55 7=4G5=<5 4?O >DG?=><4ELF45=O5 =44?<E5=. 

" � ?>?5 �?4EEO =44?<E5= (label Classes) M5?>=<F5 =4 >?4EE5 =44?<E5= �DG?=><4ELF45=O5. 
" -5?>=<F5 �<4?47>= <4ELF45>6 (Scale Range) M5?>=<F5 =4 >?F<< �5 ?>>47O64FL =44?<E<  
" � ?>?5 �5?LG5 (Out Beyond) =455D<F5 14 999 999 -5?>=<F5 �� 

" -5?>=<F5 �� 6 �5=5465D5 =44?<E5= (label Manager) 

�4L F5>GM<= <4EF45 >4DFO ?D<<5D=> 1:30 000 000 %>>F65FEF65==>, �DG?=><4ELF45=O5 =44?<E< 
=5 5G4GF >F>5D464FLEO. 

" � ?>?5 �4ELF45 >4DFO =4 ?4=5?< <=EFDG<5=F>6 %F4=44DF=O5 =455D<F5 10000000 < 
=46<<F5 Enter >4DF4 ?D<5?<7<FEO, < 6O G6<4<F5 ?>?=O5 <<5=4 ?D>6<=F<< 4 =5 E>>D4M5-
=<O. 

" '65?<G<64=F5(Zoom in) < G<5=LL4=F5 (out) >4DFG GF>5O ?5D5E5>4FL 7=4G5=<5 E<5=O <4E-
LF45>6 ?>>4 =5 G554<F5EL GF> MF> 45=EF6<F5?L=> D45>F45F. 

" �>744 6O 74>>=G<F5, ?5D5=4<F5 > 74>?44>5 �4=444. 
 

,47 10: E>744=<5 =44?<E5= 4?O >DG?=OE 7>D>4>6 E <E?>?L7>64=<5< 74?D>E4 SQL 

� MF>< L475 6O ?>4?<L<F5 E?>= �DG?=O5 7>D>44, <E?>?L7GO 74?D>E SQL GF>5O >FD<?LF6D>64FL 
>4><5 =44?<E< 5G4GF >F>5D464FLEO. 

" �F>D>=F5 �5=5465D =44?<E5= 

" � ?>?5 �?4EEO =44?<E5= (Label Classes) 6>?NG<F5 D?4>> E> E?>5< �DG?=O5 7>D>44.GF>5O 
6>?NG<FL =7> =44?<E< 

" -5?>=<F5 =4 >?4EE5 =44?<E5= Default ?>4 E?>5< >DG?=O5 7>D>44, GF>5O 6O45?<FL 57>.6 
>5?4EF< %6>=EF64 D47<5M5=<O >5D4F<F5 6=<<4=<5 =4 4<47D4<<G D47<5M5=<O. 

 
%=4G4?4 ArcMap ?>?OF45FLEO ?><5EF<FL =44?<EL E65DEG < E?D464 F>G5G=>7> >5L5>F4 (?>?>65=<5 
1)�E?< GF> F> ?D5?OFE6FG5F MF><G, >= ?OF45FLEO D47<5EF<FL 6 ?>?>65=<OE 2. � F4> ?>E?54=<= 
64D<4=F, >= 5G45F ?OF4FLEO D47<5EF<FL 6 ?>7<F<OE >F<5G5==OE 3. 

" � >5?4EF< &5>EF G554<F5EL GF> 4?O �>?O GEF4=>6?5=> NAME 

" -5?>=<F5 �� 6 �5=5465D5 =44?<E5= (Label Manager) 

 

�4L< D57G?LF4FO <>7GF 5OFL =5<=>7> 4DG7<<< => 6O 4>?6=O G6<45FL =5>>F>D>5 G<E? 
?>4?<E4==OE 7>D>4>6 6 F> 6D5<O >4> 4DG7<5 7>D>44 5G4GF 557 =44?<E5=. 
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" -5?>=<F5 =4 >=>?>5 �>>474FL =5D47<5M5==O5 =44?<E<(View Unplaced Labels) E=>64 GF>-
5O E?DOF4FL =5D47<5M5==O5 =44?<E<. 

" �F>D>=F5 �5=5465D =44?<E5= (Label Manager) 

" �>4 >5?4EFLN E6>=EF64 D47<5M5=<5 M5?>=<F5 SQL-74?D>E (SQL Query) GF>5O >F>DOFL 
4<4?>7>6>5 >>=> SQL-74?D>E (SQL Query) 

" � >>=5 =465DEG 46464O M5?>=<F5 CAPITAL. �<O ?>?O 4>546<?>EL 6 >>=> M5?>=<F5 =4 
>?5D4F>D5 $46=> 

" -5?>=<F5 �>?GG<FL 7=4G5=<5 (Get Unique Values) 74F5< 46464O M5?>=<F5 Y 

" '554<F<EL GF> 64L5 6OD465=<5 E>6?444NF E F5< GF> =4 D<EG=>5. �E?< =5F,6O45?<5F 
6OD465=<5, G44?<F5 57> < E>744=F5 57> 74=>6>. 

 
" -5?>=<F5 �� -5?>=<F5 ?D<<5=<FL ?D<<5=<FL 6 �5=5465D5 =44?<E5= < ?5D5<5EF<F5 

�5=5465D =44?<E5= (Label Manager) E >4DFO. 
�>4?<E4=O F>?L>> EF>?<FO. 
�>7<>6=> =5 6E5 =44?<E< EF>?<F >F>5D465=O (=4?D<<5D &>D>=F> E>>D5= 6E57> =5F) -F> D57G?L-
F4F 6O?>?=5=<O ?D46<? D47<5M5=<O =44?<E5= 4 =5 64L57> 74?D>E4 SQL 6O =4EFD><F5 ?D46<?4 F4> 
GF>5O >F>5D464?<EL 6E5 EF>?<FO. �4=4>> E=4G4?4 6O GEF4=>6<F5 =G6=O= E<<6>? =44?<E<. 
 

,47 11:�O5>D E<<6>?4 =44?<E< EF>?<F >F>5D465=O 

" �5=5465D =44?<E5= 6 >5?4EF< &5>EF <7<5=<F5 F65F F5>EF4 =4 Gray 60% (EFD>>4 7 EF>?55F 
1) 

" �7<5=<F5 D47<5D LD<DF4 =4 8,25 

" %45?4=F5 F5>EF ?>?G6<D=O< 

" -5?>=<F5 %<<6>?  
" � >>=5 6O5>D $544>F>D M5?>=<F5 =4 74>?44>5 �4E>4 

" �7<5=<F5 EF<?L <4E>< =4 �4?> 

" �7<5=<F5 D47<5D 74?> =4 1 

" -5?>=<F5 �� 6>6E5E >F>DOFOE 4<4?>7>6OE >>=4E 6>?NG4O �5=5465D =44?<E5= 

� -5?>=<F5 =4 >=>?>5 ?>>474FL =5D47<5M5==O5 =44?<E< (view Unplaeed Labels) E=>64, GF>-
5O E?DOF4FL =5D47<5M5==O5 =44?<E<. 

� �E?< G 64E 5EFL =5D47<5M5==O5 =44?<E<, ?5D5=4<F5 > E?54GNM5<G L47G. �E?< G 64E =5F 
=5D47<5M5==OE =44?<E5=, ?D>?GEF<F5 E?54GNM<= L47. 

,47 12: �4EFD>=>4 65E>6 =44?<E5= 

� MF>< L475 6O <7<5=<F5 65E4 =44?<E5= F4>, GF>5O 5OFL G65D5==O<< 6 F>< GF> =44?<E< 4?O 6E5E 
EF>?<F >F>5D464NFEO 

-=4 ?4=5?< <=EFDG<5=F>6 �44?<E< M5?>=<F5 =4 >=>?>5 �D<E6>5=<5 65E>6 =44?<EO<. 
-�7<5=<F5 65E >5N5>F>6 4?O �75D4 � DefaultE �OE>><= =4 %D54=<= 

-M5?>=<F5 �D<<5=<FL < ?5D5<5EF<F5 4<4?>7>6>5 >>=> E >4DFO. 
 

�E?< =44?<EL Toronto 6E5 5M5 =5 >F>5D4645FLEO <7<5=<F5 6E5 >5L5>FO =4 �<6=<= <?< 4465 =4 
�5F, 5E?< =5>5E>4<<>. 

" %45?4=F5 F4><5 65 <7<5=5=<O 4?O 65E>6 >5N5>F>6 <7 ?N5OE 4DG7<E E?>56, 5E?< <7 74 =<E 
=44?<E< <>7GF =5 >F>5D464NFEO. 

�>7<>6=> 5G45F E?>6=> E45?4FL F4> GF>5O 6E5 =44?<E< >F>5D464?<EL. �E?< F4> 6O <>65F5 46<-
74FLEO 44?LL5-EGFL 6 F><, GF>5O 6O G6<45?<, GF> 6O <>65F5 =4EFD4<64FL >F>5D465=<5 =44?<E5= 
,<7<5=OO 65E4 >5N5>F>6 

" �>744 6O 74>>=G<F5 M5?>=<F5 �� 6 4<4?>7>6>< >>=5 �E5 =44?<E< 

,47 13: �7GG5=<5 E6>=EF6 D47<5M5=<O =44?<E5= 4?O F>G5> 
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� MF>< L475 6O M>E?>DF<DG5F5 E <7<5=5=<5< ?D54?>GF<F5?L=OE ?>7<F<= 4?O D47<5M5=<O =44?<-
E5= DO4>< E F>G5G=O<< >5N5>F4<< 

" �F>D>=F5 �5=5465D �44?<E5=  
" � ?>?5 �?4EEO =44?<E5= G554<F5EL, GF> 6O5D4= >?4EE Default ?>4 E?>5< �DG?=O5 7>D>44 

" � >5?4EF< %6>=EF64 D47<5M5=<O M5?>=<F5 $47<5M5=<5 

�F>DO645FEO 4<4?>7>6>5 �>=> $47<5M5=<O =44?<E5= 4?O F>G5G=OE >5L5>F>6 ?>>47O64O D47?<G-
=O5 4<47D4<<O ?D<>D<F5F>6 D47<5M5=<O. �<47D4<<4 ?> G<>?G4=<N-�D54?>GF<F5?L=5= E?D464 
665DEG 

�D>>DGF<F5 665DE < M5?>=<F5 %?D464 ?GGL5 6=<7G 

 
 

" -5?>=<F5 �� 6 4<4?>7>6>< >>=5 $47<5M5=<O =44?<E5= 4?O F>G5G=OE >5N5>F>6 (Initial 

point pacement)  

" -5?>=<F5 �D<<5=<FL 6 �5=5465D5 =44?<E5= < ?5D5<5EF<F5 57> E >4DFO  
$47<5M5=<5 =5E>>?L><E =44?<E5= <7<5=<?>EL .�5>>F>DO5 =44?<E< F5?5DL =5 >F>5D464NFEO ?>-
F><G GF> =5E>>?L>> ?>7<F<= 74?D5M5=O 

" -5?>=<F5 $47<5M5=<5 E=>64 < <7<5=<F5 E6>=EF64 D47<5M5=<O >5D4F=> =4 �D54?>GF<-
F5?L=O5 E?D464 665DEG 

" -5?>=<F5 �� 6 >5>E >F>DOFOE 4<4?>7>6OE >>=4E 

" -5?>=<F5 <5=N �<4 G>46<F5 ?4=5?< <=EFDG<5=F>6 < M5?>=<F5 �44?<E< GF>5O 74>DOFL 
?4=5?L <=EFDG<5=F>6 �44?<E<. 

" �E?< 6O E>F<F5 E>744FL =44?<E< 4?O ?<=5==OE >5L5>F>6 ?5D5E>4<F5 > 4>?>?=<F5?L=><G 
E?54GNM5<G L47G. �=4G5 E>ED4=<F5 4>>G<5=F >4DFO 6 ?4?>5 \Student\DESK2\Exircise06 

>4> MyCanadaLabels < 74>D>=F5 ArcMap. 

,47 14:( �>?>?=<F5?L=>)�44?<E< ?<=5==OE >5N5>F>6 

%>744=<5 =44?<E5= 4?O ?<=<< >E>55==> <7>7=GFOE < =5D>6=OE F4><E >4> D5>< <>65F 5OFL E?>6-
=55 G5< E>744=<5 =44?<E5= 4?O F>G5> <?< ?>?<7>=>6. �>?6=O ?< 6O <E?>?L7>64FL ?>FDOE4NM<5 
=44?<E< 64>?L ?<=<<? 5E?< =5F F> 745 4>?6=4 D47<5M4FLEO =44?<EL ?4>?6=4 ?< =44?<EL ?>6F>-
DOFL D>D<G <7>7=GF>= ?<=<< <?< MF> E45?45F F5>EF FDG4=>G<F45<O<? � MF>< L475 6O <7GG<F5 
=5>>F>DO5 E6>=EF64 =44?<E5= 4?O >5L5>F>6 ?<=<< 6O F4>65 <E?>?L7G5F5 FD5F<= E?>E>5 4>EFG?4 > 
DG=>F<>=4?L=>EF< =44?<E5= G5D57 >>=F5>F=>5 <5=N DD5=<4 44==OE. 

" � F45?<F5 E>45D64=<O M5?>=<F5 ?D46>= >=>?>>= =4 E?>5 $5>< < 6O55D<F5 �44?<E4FL >5N-
5>FO  �F>5D464NFEO =44?<E< D5> E> E6>=EF64<< ?> G<>?G4=<N. �5 6E5 D5>< =44?<E4=O. 

" � >>=5 �?4EEO =44?<E5= M5?>=<F5 =4 >?4EE5 =44?<E5= Default ?>4 E?>5< $5>< GF>5O 6O-
45?<FL 57> 

" � >5?4EF< &5>EF (Text Symbol) M5?>=<F5 %<<6>? GF>5O >F>DOFL >>=> 6O5>D E<<6>?4  
 

� >>=5 �O5>D E<<6>?4 6O55D<F5 River 

 

� -5?>=<F5 ?D<<5=<FL (Apply) 6 �5=5465D5 =44?<E5= (Label manager) < G55D<F5 57> E >4D-
FO. 
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� �5=5465D5 =44?<E5= (Label manager) 6 >5?4EF< %6>=EF64 D47<5M5=<O (Placement Propertics) 6 
D4745?5 �>?>65=<5 (Positice) 6>?NG5= D?46>> �44 (Above). -F> >7D4=<G<645F D47<5M5=<5 
=44?<E< ?>?>65=<5< F>?L>> =44 >5N5>F>< D5>< (E5=G4E 6O G6<4<F5 , GF> MF> 7=4G<F) 

� � >5?4EF< E6>=EF64 D47<5M5=<O (Placement Propertics) 4?O �>?>65=<= (Position) 6>?NG<F5 
D?46>< =4 ?<=<< (On the line) < ?>4 (Below) E5=G4E 6E5 FD< D?46>4 6>?NG5=O. 

� -5?>=<F5 ?D<<5=<FL (Apply) < >F>46<=LF5 �5=5465D =44?<E5= (Label Manager) 6 EF>D>-
=G. 

&5?5DL =44?<E< <>7GF D47<5M4FLEO =4 ?N5>= EF>D>=5 ?<=<< <?< ?DO<> =4 =5=, < 6O 4>?6=O 
G6<45FL, GF> ?>O6<?<EL =44?<E<, >>F>DO5 D4=LL5 5O?< =5D47<5M5==O<< �5>>F>DO5 4DG7<5 
=44?<E< 4>?6=O ?5D5<5EF<FLEO 6 5>?55 G44G=O5 ?>?>65=<O. 

� � �5=5465D5 =44?<E5= (Label Manager) -5?>=<F5 %6>=EF64  (Propertics) � 4<4?>7>6>< 
>>=5 %6>=EF64 D47<5M5=<O (Placement Propertics) =46<<F5 =4 6>?44>G $47<5M5=<5 
(Placement) 5E?< =5>5E>4<<> 

� >5?4EF< �>?>65=<5 (Position) >5D4F<F5 6=<<4=<5 , GF> 4?O =<E?444NM57> E?<E>4 %<EF5<O 
>D<5=F4F<< (Orientation systems) GEF4=>6?5=>  %FD4=<F4 (Page) ?4D4<5FDO =44 (above) < ?>4 (be-

low) >7=4G45F, GF> =44?<E< >F>5D464NFEO =44 <?< ?>4 ?<=<5= >F=>E<F5?L=> 65DE4 EFD4=<FO D<-
EG=>> 6 4<4?>7>6>< >>=5 <??NEFD<DG5F 7=4G5=<5 ?4D4<5FD>6. 

� �7<5=<F5 E<EF5<G >D<5=F4F<< =4 ?<=<< (Line) 

-F>F ?4D4<5FD >D<5=F<DG5F =44?<E< E>>F65FEF65==> =4?D46?5=<N >F<DD>6>< ?<=<<, 4 =5 >F=>-
E<F5?L=> EFD4=<FO. 

� -5?>=<F5 �F<5=4 (Cancel) 6 4<4?>7>6>< >>=5 %6>=EF64 D47<5M5=<O (Placement 

Propertics) 

� � <5=5465D5 =44?<E5= (Label manager) 6 >5?4EF< %6>=EF64 D47<5M5=<O (Placement Proper-

tics) <7<5=<F5 >D<5=F4F<N E �4D4?5?L=> (Parallel) =4 �4>?L ?<=<< (Curved). 

� �F>?NG<F5 D?46>< 4?O ?>?>65=<= �4 ?<=<< (on the line) < �>4 (Below) GF>5O 5O? 6>?N-
G5= F>?L>> D?46>> =44 (Above) 

� -5?>=<F5 �� 6 �5=5465D5 =44?<E5= (Label manager) 

&5?5DL F5>EF =44?<E< ?>6F>DO5F D>D<G >5N5>F4 

� %>ED4=<F5 4>>G<5=F >4DFO 6 ?4?>5 /Student/DESK2/Exircise06 ?>4 =4764=<5< MyCana-

daLabels 

� �4>D>=F5 ArcMap 

�4>?NG5=<5 

�44?<EO64=<5 445F 64< 6>7<>6=>EFL =4EFD4<64FL, => =5 >>=FD>?<D>64FL ?>?=>EFLN D47<5M5=<5 
F5>EF4 =4 64L5= >4DF5. �E?< >>=5G=O=  D57G?LF4F-<=F5D4>F<6=4O >4DF4,F> 6O <>65F5 <E?>?L7>-
64FL =44?<E<, F4> >4> ArcMap ?>76>?O5F =4EFD><FL D47<5M5=<5 F5>EF4 =4 ?5FG >>F>D>5 5G45F 
?D<5<?5<> ?D< ?N5>< <4ELF455 < M>EF5=F5 >4DFO. 
 

 

�D4>F<G5E>4O D45>F4 736-37 

 

�>FG4?<74F<O <=D>D<4F<>==OE GG5F=OE 54<=<F 6 %�% �>=EG?LF4=F+ 

$45>F4 E =>D<4F<6=O<< 4>>G<5=F4<< 

�>DO4>> D45>FO 

1. �?O 74?GE>4 %<EF5<O =4=4<F5 =4 M>D4=5 OD?O> «�>=EG?LF4=F �?NE» < 46>==O< M5?G>>< <OL< >F-
>D>=F5 ?D>7D4<<G. �5D54 64<< ?>O6<FEO EF4DF>6>5 >>=> �>=EG?LF4=F �?NE, 745 =5>5E>4<<> E45?4FL 6O5>D. 

2. �O55D<F5 D4745? «�4>>=>44F5?LEF6>», E>45D64M<= =>D<4F<6=O5 4>>G<5=FO $>EE<=E>>= $545D4F<<. 
%?<E>> D4745?>6 <=D>D<4F<>==>7> <4EE<64 ?D54EF46?5= 6 ?D46>= G4EF< EF4DF>6>7> 

>>=4; 
3. �F>D>=F5 F5>EF>6O= D544>F>D MS WORD. 

4. � F5>EF>6>< D544>F>D5 E>744=F5 F45?<FG >F65F>6 E?54GNM57> 

6<44 (F45?. 35.1).      &45?<F4 35.1  
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5. �D><7654<F5 ?><E> 4>>G<5=F>6 6 %�% «�>=EG?LF4=F �?NE» < D57G?LF4FO ?><E>4 (>>?<G5EF6> 

=4=45==OE 4>>G<5=F>6) 74D<>E<DG=F5 6 F45?. 35.1 F5>EF>6>7> D544>F>D4. 
6. %>744=F5 D4=?  < E>ED4=<F5  F45?<FG >F65F>6. 

 

�444=<5 35.1. �4=F< ?D<>47 �<=D<=4 >F 10.12.2002 7 126= «�5 GF65D645=<< �>?>65=<O ?> 5GE74?F5D-
E>><G GG5FG «'G5F D<=4=E>6OE 6?>65=<=» ��' 19/02». 
�D4F>4O E?D46>4. �D< =4?<G<< G 4>>G<5=F4 5>?LL>7> >>?<G5EF64 <765EF=OE D5>6<7<F>6 =4G<=4=F5 D>D<<-
D>64FL ?><E>>6O= 74?D>E E 7444=<O =><5D4 4>>G<5=F4, ?>F><G GF> ?><E> ?> =><5DG 445F E4<O= ?GGL<= 
D57G?LF4F. 

 

��$/���  ���%��. 

1.�4E>4OEL 6 ?D>7D4<<5 «�>=EG?LF4=F �?NE», 6O55D<F5 >><4=4G  �4DF>G>4 ?><E>4 (6 65DE=5= 
G4EF< M>D4=4). �5D54 64<< >F>D>5FEO >>=> �4DF>G>4 ?><E>4 4>>G<5=F4, 6 >>F>DGN 6=>EOFEO 
D5>6<7<FO 4>>G<5=F4 4?O >D74=<74F<< 57> ?><E>4 (D<E. 35.1); 
2.�G<EF<F5 �4DF>G>G ?><E>4, 5E?< MF> =5>5E>4<<> ( >><4=4>=  �G<EF<FL >4DF>G>G);  

3.'EF4=>6<F5 D?46>< =4?D>F<6 >464>7> GEF4=>6?5==>7> <=D>D<4F<>==>7> 54=>4. �E?< D?46><  
=5 GEF4=>6?5=O, F> ?><E> 5G45F ?D><76>4<FLEO F>?L>> 6 D4745?5 «�4>>=>44F5?LEF6>»; 
4.'EF4=>6<F5 >GDE>D =4 ?>?5 �><5D;  
5.�455D<F5 =4 >?46<4FGD5 126=. 
 

 

 

$ < E . 3 5 . 1          � 4 D F > G > 4  ? > < E > 4  

� D 4 F > 4 O  E ? D 4 6 > 4 .  �4> F>?L>> 6O =4G=5F5 =45<D4FL =><5D, >F>D>5FEO E?>64DL (E?<E>>) =><5-
D>6 4>>G<5=F>6. &5>D5F<G5E>< 6O <>65F5 6O5D4FL <7 MF>7> E?<E>4 =><5D 6DGG=GN, ?5D5<5M4OEL 
E ?><>MLN EFD5?>> 665DE-6=<7, => =45D4FL 57> E >?46<4FGDO 5G45F 7>D474> 5OEFD55. 
�E?< 6O =45<D45F5 =5EGM5EF6GNM<= =><5D, E<<6>?O >F<5G4NFEO >D4E=O< F65F><. �E?< 6O 
>L<5?<EL ?D< 66>45, =46<<F5 >?46<LG [Backspace], GF>5O EF5D5FL ?>E?54=<= =45D4==O= E<<-

6>?; 
6. �46<<F5 >=>?>G ��, GF>5O 66545==O= =><5D 126= ?>O6<?EO 6 �4DF>G>5 ?><E>4;  
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7. �4D<>E<DG=F5 G<E?> =4=45==OE 4>>G<5=F>6 6 F45?. 35.1 F5>EF>6>7> D544>F>D4, 6<4<<>5 6 
>>=5 $57G?LF4FO ?><E>4 (E<. D<E. 35.1). � =4L5< 7444=<< D57G?LF4FO ?><E>4 E?54GNM<5: 6 
5475 44==OE <<55FEO 10 4>>G<5=F>6  ?> =4L5<G 74?D>EG; 

8. �46<<F5 >?46<LG [F9] <?< >=>?>G �>EFD><FL E?<E>>  4?O D>D<<D>64=<O E?<E>4 4>>G-
<5=F>6. 

�444=<5 35.2. �4=F< 4>>G<5=FO, ?D> >>F>DO5 <765EF=>, GF> 6 =><5D5 ?5D6O5 FD< F<DDO 126, 
74 =<<< E?54G5F =5>>F>D4O 5G>64, 76GG4M4O =4 E?GE, >4> � <?< �. 

� D 4 F > 4 O  E ? D 4 6 > 4 .  'F> 45?4FL 6 E?GG45, >>744 6O F>G=> =5 7=45F5 =><5D? �4?D<<5D, =><5D 
4>>G<5=F4 <765EF5= =4 E?GE, 4 E4<> =4?<E4=<5 =><5D4 =5?>=OF=>: 126=, 126-=, 126/=. <?< 126<. � 
?>4>5=OE E<FG4F<OE ?><>745F $<?LFD E?>64DO. 
�455D<F5 G4EFL =><5D4, 6 >>F>D>= 6O G65D5=O, < G>46<F5, GF> FD55G5FEO >FD<?LFD>64FL: =><5D4, 
>>F>DO5 =4G<=4NFEO E 66545==>= EFD>>< (�4G4?> E?>64) <?< ?D>EF> E>45D64F <E 6 ?N5>< <5-
EF5 E?>64 (�N5>5 6E>645=<5).  

 

��$/���  ���%�� 

1.�G<EF<F5 �4DF>G>G ?><E>4, 5E?< MF> =5>5E>4<<>.  
2. 'EF4=>6<F5 >GDE>D =4 ?>?5 �><5D;   

3. �455D<F5 =4 >?46<4FGD5 126. 
�D>7D4<<4 46F><4F<G5E>< >F>D>5F $<?LFD E?>64DO; 
�=<<4=<5! �5D4F<F5 6=<<4=<5, GF> ?D><EE>4<F, >>744 6O =45<D45F5 126. � E?>64D5 (E?<E>5) 
>EF4NFEO F>?L>> F5 =><5D4, >>F>DO5 =4G<=4NFEO E F<DD 126. �E?< 6O =5 G65D5=O, >4><5 5G>6O < 
>4><< >5D47>< (G5D57 F<D5, 4D>5L <?< E?<F=>) E>45D64FEO 6 =><5D5, <>6=> 6O5D4FL E ?><>MLN 
>?46<L< [Insert] 6E5 ?>E>6<5 =><5D4, G>4746 F5< E4<O< =5E>>?L>> 64D<4=F>6; 

4. �D<<5=<F5 $<?LFD E?>64DO, GF>5O >EF46<FL =4G<=4NM<5EO E >?D545?5==OE E<<6>?>6 =>-
<5D4 (�4G4?> E?>64);  

5.�O55D<F5 E ?><>MLN >?46<L< [Insert] 6E5 ?>E>6<5 =><5D4; G>4746 F5< E4<O< =5E>>?L>> 64-
D<4=F>6. %<EF5<4 =4=45F =5 >4<=, 4 =5E>>?L>> 4>>G<5=F>6. �4< >EF4=5FEO 557?> ?D>E<>FD5FL 
E?<E>> < =4=F< 6 =5< =5>5E>4<<O= 4>>G<5=F. -F4 6>7<>6=>EFL =4 ?D4>F<>5 >G5=L F5==4, F4> >4> 
?D>5564FL 7?474<< ?> =4764=<O< 5 � 10 =4=45==OE 4>>G<5=F>6 5OEFD55, G5< ?>45<D4FL =><5D 
4>>G<5=F; >>744 >= F>G=> =5 <765EF5=; 

6.�4D<>E<DG=F5 >>?<G5EF6> =4=45==OE 4>>G<5=F>6, >>F>D>5 6<4=> 6 >>=5 $��'�,&�&/ ���%-
��, 6 F45?. 35.1 F5>EF>6>7> D544>F>D4. 

�444=<5 35.3. �4=F< ?D<>47 �<=D<=4 «�5 GF65D645=<< �>?>65=<O ?> 5GE74?F5DE>><G GG5FG 
«'G5F D<=4=E>6OE 6?>65=<=» �� 19/02» (5G45< <E>4FL F>F 65 4>>G<5=F, GF> < 6 7444=<< 35.1, 
npe4?>?474O, GF> 57> =><5D =5<765EF5=). 

 

�>DO4>> ?><E>4 

1.�G<EF<F5 ��$&�'�' ���%��; 

2.�6464O M5?>=<F5 <OLLN ?> ?>?N �������� ���'���&�;  

3. �4G=<F5 =45<D4FL E?>6> «?>?>65=<5», ?>>4 >GDE>D =5 >EF4=>6<FEO =4 E?>65 «�������*». 
� D 4F> 4O  E? D 46> 4 .  � E?>64D5 ?>?O �������� ���'���&� <=>7<5 E?>64 74>4=G<64NFEO E<<-

6>?>< «*», >>F>DO= 74<5=O5F >>>=G4=<5 E?>64 < ?>76>?O5F <E>4FL E?>64 E ?N5O< >>>=G4=<5<, 
GF> >G5=L G4>5=>, F4> >4> <E>><>5 E?>6> <>65F 6EFD5G4FLEO 6 =4764=<OE 4>>G<5=F>6 6 D47?<G=OE 
7D4<<4F<G5E><E D>D<4E; 

4.�46<<F5 >?46<LG [Ins] =4 >?46<4FGD5, GF>5O >F<5F<FL 6O5D4==>5 E?>6>. �5D4F<F5 6=<-

<4=<5, GF> E?>6> «�>?>65=*» ?>O6<?>EL 6 =<6=5= G4EF< >>=4 �������� ���'���&� >4> 6O5-

D4==>5 E?>6>; 
5. �4G=<F5 =45<D4FL E?>6> «D<=4=E>6OE», ?>>4 >GDE>D =5 GEF 4 =>6 <F EO  = 4  E?>65 «$ � -

���%*»; 
6.�46<<F5 >?46<LG [Ins] =4 >?46<4FGD5, GF>5O >F<5F<FL 6O5D4==>5 E?>6>; 
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7.�4G=<F5 =45<D4FL E?>6> «6?>-  

65=<=», ?>>4 >GDE>D =5 GEF4=>-     $<E. 35.2. �O5>D E?>64 

6<FEO =4 E?>65 «������*»; 
8. �����&� �����,' [INS] �� ������&'$�, '&��/ �&��&�&, �/�$����� %���� ($�%. 35.2); 

9. '%&�����&� '%����� �; 

10.�����&� �����'   �/�$�&,; 
11. �����/ -�����&� �� ���.   ��� ���'���&�; 

12. ����$�&� %���� «�$����» � �����&� �����'  �/�$�&,; 
13. �����/  -�����&�  �� ���. ���%� �� %&�&'%'; 

14. '%&�����&� �'$%�$ �� ����%, «�%� ��&/, �$��� '&$�&��,�% %��' � �� �%&'���,�% � 
%��'»; 

15. �����&� �����'   �/�$�&,; 
16. �����&� �����,' [F9] ��� �����'   ��%&$��&, %��%��   ��/ $�$��$�����/ %��%�� 

���'���&��; 

17. ��$��%�$'�&�  ����'�%&�� �������/%  ���'���&��. 

�444=<5 35.4. ���&� ��%&$'�&�� (� &�� '�%�� � �$�����/�) ��% $$. 
�>DO4>> ?><E>4  

1. �'�%&�&� ��$&�'�' ���%��; 
2.%�����&� ������� -��'�� �/,,. �� ���. �$��/�,�� �$���; 
3.����$�&� ��% � �����&� �����,' [ENTER]; 

4. �����/ -�����&� �� ���.   ��� ���'���&�; 

5. �����&� � %����$, ���/,  ��'��&� ����$�&� %���� «��%&$'�&�/», �$� -&�� �$�������& $��,&$�-
&�/ � �$��$���� �&��$�& �%� ���/ ���.-�%%/ ��%&$'�&�� ($�%. 35.3); 

6. �����,�� [INS] �/��$�&� «��%&$'�&�.» � «�$�����'.  ��%&$'�&�.»; 

7. �/��$�&� ����'�%��� '%����� ���; 

8. -�����&� �� ������  �/�$�&,; 
9. �����&� �����'  ��%&$��&, %��%��   ��/ $�$��$�����/ %��%�� ���'���&��; 

10. ��$��%�$'�&� $��'�,&�&/ ���%�� � &���. 35.1. 

 

�444=<5 35.5. ���&� ���%&�'.-�� ���'���&/, ��&�$/� $��'��$'.& ���$�% �� ��������� 
�������� ��������������/ � �&��,���� �$����� $�%%��%��� $���$�&�� � $$��&��. 

� $ � & � � /  % � $ � � � � .  �%���,����&, ��/ ���%�� %���� «�����» �  ����   &���&��� � %���� 
«$$��&�/» ($$��&*), ������/ ��� �  ���� &��%& ���'���&�   (%���� ��/ ���%�� ����$��&� ��� 
����'����!). �%���,����&, ����  %&�&'% ���'���&�. 

 

�444=<5 35.6. ���&� ���%&�'.-'. $����&�. ������ «� $���$��,��� �.���&� �� 2005 

���» � ��������/ � ���'. 

� $ � & � � /  % � $ � � � � .  �%���,����&, %���� «2005, �.��*», � �����/ �% � ���� �������� 
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���'���&�, � ���'���� «�����» � ����   ��� ���'���&�. �%���,����&, ����   %&�&'%      4>-
>G<5=F4. 

 

 

 

 

 

 

 

 

�D4>F<G5E>4O D45>F4 738 

 

�6>4, >5D45>F>4, ?><E> < 6O6>4 =5>5E>4<<>= <=D>D<4F<< 

 

&5?L 74=OF<O: <7GG<FL >E=>6=O5 GEFD>=EF64 ��, <E =47=4G5=<5 < 674<<>E6O7L; <7GG<FL >E=>6-
=>5 < ?D<>?44=>5 ?D>7D4<<=>5 >55E?5G5=<5 ��. 

&5>D5F<G5E><5 >E=>6O D45>FO: 
�E=>6=O5 GEFD>=EF64 ��. 

�D5645 6E57>, >><?LNF5D, E>7?4E=> ?D<=F<?4< D>= �5=<4=4, 4>?65= <<5FL E?54GNM<5 
GEFD>=EF64: 

1)  4D<D<5F<G5E><-?>7<G5E>>5 GEFD>=EF6>, 6O?>?=ONM55 4D<D<5F<G5E><5 < ?>7<G5E><5 >?5D4F<<; 
2)  GEFD>=EF6> G?D46?5=<O, >>F>D>5 >D74=<7G5F ?D>F5EE 6O?>?=5=<O ?D>7D4<<; 
3)  74?><<=4NM55 GEFD>=EF6>, <?< ?4<OFL 4?O ED4=5=<O ?D>7D4<< < 44==OE; 
4)  6=5L=<5 GEFD>=EF64 4?O 66>44-6O6>44 <=D>D<4F<<. 

�4<OFL >><?LNF5D4 4>?6=4 E>EF>OFL <7 =5>>F>D>7> >>?<G5EF64 ?D>=G<5D>64==OE OG55>, 
6 >464>= <7 >>F>DOE <>7GF =4E>4<FLEO <?< >5D454FO645<O5 44==O5, <?< <=EFDG>F<< ?D>7D4<<. 
�E5 OG5=>< ?4<OF< 4>?6=O 5OFL >4<=4>>6> ?57>> 4>EFG?=O 4?O 4DG7<E GEFD>=EF6 >><?LNF5D4. 

%?54G5F 74<5F<FL, GF> 6 EE5<5 GEFD>=EF64 E>6D5<5==OE �� 4D<D<5F<G5E>>-?>7<G5E>>5 
GEFD>=EF6> < GEFD>=EF6> G?D46?5=<O, >4> ?D46<?>, >5N54<=5=O 6 54<=>5 GEFD>=EF6> � F5=-
FD4?L=O= ?D>F5EE>D.  

 

 

 

 

 

 

 

 

$47?<G=O5 
GEFD>=EF64 �� E6O74=O 
<564G E>5>= >4=4?4<< 
?5D544G< <=D>D<4F<<. 
�7 6=5L=57> <<D4 <=-

D>D<4F<O ?>EFG?45F 6 >><?LNF5D G5D57 GEFD>=EF64 66>44. �>EFG?<6L4O <=D>D<4F<O ?>?4445F 
6> 6=GFD5==NN ?4<OFL. �E?< FD55G5FEO 4?<F5?L=>5 55 ED4=5=<5, F> <7 6=GFD5==5= ?4<OF< >=4 
?5D5?<EO645FEO 6> 6=5L=NN. �5D45>F>4 <=D>D<4F<< >EGM5EF6?O5FEO ?D>F5EE>D>< ?D< =5?D5-
DO6=>= E6O7< E 6=GFD5==5= ?4<OFLN: >FFG44 <76?5>4NFEO <EE>4=O5 44==O5, FG44 65 ?><5M4NFEO 
D57G?LF4FO <E >5D45>F><. �7 6=GFD5==5= ?4<OF< <=D>D<4F<O <>65F 5OFL ?5D544=4 6> 6=5L=<= 
<<D G5D57 GEFD>=EF64 6O6>44. 



98 

 

$45>F4 ?N5>7> >><?LNF5D4 >EGM5EF6?O5FEO 5?47>44DO 674<<>E6O7< 46GE >><?>=5=F>6: 4?-
?4D4F=>= G4EF< (hardware) < ?D>7D4<<=>7> >55E?5G5=<O (software).  

 

 

 

 

 

 

 

 

 

 

 

 

 

%<EF5<=O= 5?>> 
E ?><>MLN D47N5<>6 (=4 
744=5= EF5=>5) < M?5>-

FD<G5E><E >455?5= E6O74= E> 6E5<< GEFD>=EF64<< 66>44 < 6O6>44 <=D>D<4F<<. 
� E>EF46 E<EF5<=>7> 5?>>4 6E>4OF E?54GNM<5 >E=>6=O5 DG=>F<>=4?L=O5 G4EF<: ?D>F5E-

E>D, >?5D4F<6=>5 74?><<=4NM55 GEFD>=EF6>, ?>EF>O==>5 74?><<=4NM55 GEFD>=EF6>, 464 GEFD>=-
EF64 4?O D45>FO E 7<5><<< <47=<F=O<< 4<E>4<<, 74?><<=4NM55 GEFD>=EF6> =4 65EF>>< <47=<F-
=>< 4<E>5, 4>?>?=<F5?L=O5 M?5>FD>==O5 EE5<O, >55E?5G<64NM<5 E6O7L E<EF5<=>7> 5?>>4 E 
>EF4?L=O<< GEFD>=EF64<< >><?LNF5D4. 

'EFD>=EF6> 4?O D45>FO E 7<5><<< <47=<F=O<< 4<E>4<< =47O645FEO F4>65 =4>>?<F5?5< =4 
7<5><E <47=<F=OE 4<E>4E, 4 E4<< 7<5><5 4<E>< =47O64NF F4>65 4<E>5F4<< <?< D?>??<-4<E>4<<. 
�4?><<=4NM55 GEFD>=EF6> =4 65EF>>< <47=<F=>< 4<E>5 =47O64NF =4>>?<F5?L =4 65EF>>< 4<E>5 
<?< =4>>?<F5?L F<?4 �<=G5EF5D. 
�4<5G4=<5:  6 D47=OE ?<F5D4FGD=OE <EF>G=<>4E <EF>D<O ?>O6?5=<O 44==OE F5D<<=>6  44?5>> =5 
>4=>7=4G=4, F5< =5 <5=55, MF< F5D<<=O >>>=G4F5?L=> GF65D4<?<EL 6> 6E5< <<D5.  
�D>F5EE>D. 

�D>F5EE>D � >E=>6=>= 5?>>, E ?><>MLN >>F>D>7> >><?LNF5D D5L45F ?>EF46?5==O5 ?5D54 
=<< 7444G<. �D>F5EE>D <>65F 6O?>?=OFL >?D545?5==O= =45>D >><4=4, E>EF46?ONM<= F4> =47O-
645<O= 6=GFD5==<= <4L<==O= O7O> >><?LNF5D4. � >><4=45 6 74>>4<D>64==>< 6<45 G>47O645FEO, 
>4>GN >?5D4F<N =G6=> 6O?>?=<FL ?D>F5EE>D><, 745 ED4=OFEO 44==O5, >>F>DO5 5G4GF GG4EF6>-
64FL 6 44==>= >?5D4F<< < >G44 =5>5E>4<<> 74?<E4FL D57G?LF4F >?5D4F<<. 

�D>F5EE ?D54EF46?5=<O D5L5=<O 7444G< 6 ?>E?54>64F5?L=>EFL >><4=4, 6E>4OM<E 6 E<EF5-
<G >><4=4 ?D>F5EE>D4 =47O645FEO ?D>7D4<<<D>64=<5<, 4 E4<4 ?>E?54>64F5?L=>EFL >><4=4 =47O-
645FEO ?D>7D4<<>= D5L5=<O 7444G<. 

�>6=> E>474FL, GF> ?D>F5EE>D >><?LNF5D4 � MF> 46F><4F, >>F>DO= G?D46?O5FEO >><4=44-
<< ?D>7D4<<O. 

�4=>= <7 646=5=L<E E4D4>F5D<EF<> ?D>F5EE>D4 O6?O5FEO 57> 5OEFD>45=EF6<5. �>E>>?L>G 
>><4=4O, 6E>4OM<5 6 =45>D >><4=4 ?D>F5EE>D4, D47=O5 ?> E?>6=>EF< 6O?>?=O5<OE 45=EF6<=, F> 
< 6D5<O 6O?>?=5=<O ?D>F5EE>D>< D47?<G=OE >><4=4 D47?<G45FEO 6 =5E>>?L>> D47. �>MF><G 74 
54<=<FG, E4D4>F5D<7GNMGN 5OEFD>45=EF6<5 ?D>F5EE>D4 ?D<=OF >FD57>> 6D5<5=<, 74 >>F>DO= 
?D>F5EE>D 6O?>?=O5F M?5<5=F4D=>5 45=EF6<5. -F> F4> =47O645<O= <4L<==O= F4>F. �OEFD>45=-
EF6<5 ?D>F5EE>D>6 <7<5DO5FEO 6 <<??<>=4E 75DF (<57475DF4E) � 6 <<??<>=4E MF<E <4L<==OE F4>-
F>6 6 E5>G=4G.  

� G<E?G 646=5=L<E E4D4>F5D<EF<> ?D>F5EE>D4 >F=>E<FEO < D47DO4=>EFL >5D454FO645<OE 
?D>F5EE>D>< 44==OE. '5< 5>?LL5 D47DO4=>EFL, F5< 6OL5 F>G=>EFL >5D45>F>< 44==OE. �5D6O5 
64D<4=FO >><?LNF5D>6 IBM PC 5O?< 16-D47DO4=O<<. �4 ?>E?54=<5 7>4O MF< 16-D47DO4=O5 >><-
?LNF5DO 6OF5E=ONFEO 5>?55 E>65DL5==O<<, 32-D47DO4=O<<. 
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%>474==>5 ?>OE=<< E?54GNM<< ?D<<5D><. �GEFL <O GF>-F> <7<5D<?< (F5<?5D4FGDG, 
6?46=>EFL, 4?<=G >FD57>4 < F.4.). '5< F>G=55 <O <7<5DO5< 65?<G<=G, F5< 5>?LL5 D47DO4>6 5G45F 
<<5FL <7>5D465=<5 MF>= 65?<G<=O. �4?D<<5D, 4?<=G >FD57>4 <>6=> ?D54EF46<FL E F>G=>EFLN 4> 
<5FD4, 4> E4=F<<5FD4, 4> <<??<<5FD4, < F.4., < G5< F>G=55 5G45F ?D54EF46?5=4 MF4 65?<G<=4, F5< 
5>?LL5 6 E6>5< <7>5D465=<< >=4 5G45F <<5FL D47DO4>6. 

�D>F5EE>D 4?O >><?LNF5D>6 IBM PC ?D54EF46?O5F E>5>= >4=G <<>D>EE5<G. &4><5 ?D>F5E-
E>DO =47O64NFEO >4=>>D<EF4?L=O<< <<>D>?D>F5EE>D4<<. �<>D>?D>F5EE>DO 4?O >><?LNF5D>6 
IBM PC D47D454FO64NFEO < ?>EF46?ONFEO <765EF=>= 4<5D<>4=E>>= D<D<>= Intel.  
�?5D4F<6=>5 74?><<=4NM55 GEFD>=EF6>. 

�?5D4F<6=>5 74?><<=4NM55 GEFD>=EF6> (��') � MF> <4EE<6 OG55> E =5>5E>4<<O<< EE5-
<4<< G?D46?5=<O, ?D54=47=4G5==O= 4?O 6D5<5==>7> ED4=5=<O >><4=4 ?D>7D4<<O, <EE>4=OE 
44==OE < D57G?LF4F>6 >5D45>F><.  

� ?D>F5EE5 D5L5=<O F>= <?< <=>= 7444G< ?D>F5EE>D ?>EF>O==> >5M45FEO E ��', E >4=>= 
EF>D>=O, 6O5<D4O ?>>G5D54=> >><4=4O ?D>7D4<<O < 44==O5, >>F>DO5 =5>5E>4<<O 4?O 6O?>?-
=5=<O >><4=4 ?D>7D4<<O <, E 4DG7>= EF>D>=O, 74?<EO64O 6 OG5=>< D57G?LF4FO 6O?>?=5=<O >>-
<4=4. ��', >4> ?D46<?>, D54?<7>64=> 6 6<45 =5E>>?L><E <<>D>EE5< < GEF4=46?<645FEO =4 >4=>= 
??4F5 6<5EF5 E <<>D>?D>F5EE>D><. 

�46=>= E4D4>F5D<EF<>>= >><?LNF5D4 6 F5?>< O6?O5FEO 5<>>EFL ��', >>F>D4O D4>F<G5E>< 
74445F >>?<G5EF6> OG55> 6 ��'. '5< 5>?LL5 5<>>EFL ��', F5< 5>?55 >5N5<=4O ?D>7D4<<4 < 
5>?LL55 G<E?> 44==OE <>7GF 5OFL 6 =5= D47<5M5=O. � MF> 7=4G<F, GF> E G65?<G5=<5< 5<>>EF< 
��' D57>> G65?<G<645FEO E?>6=>EFL D5L45<OE 7444G. 

�4<5G4=<5: &4><< >5D47><, <>M=>EFL >><?LNF5D4 >?D545?O5FEO 6 >E=>6=>< 46G<O 7?46-
=O<< ?4D4<5FD4<<: D47DO4=>EFLN ?D>F5EE>D4 < 65?<G<=>= 5<>>EF< ��'. 

�D<=OF> 74 54<=<FG <7<5D5=<O 5<>>EF< ��' <E?>?L7>64FL 54=F (8 46><G=OE D47DO4>6) < 
57> ?D><76>4=O5 65?<G<=O � ><?>54=F (�54=F), <57454=F (�54=F) < F.4. 1 �54=F D465= 1024 54=-
F4, 4 1 �54=F � 1024 �54=F4. 

�5D6O5 <>45?< IBM PC, ?>O6<6L<5EO 6 =4G4?5 80-E 7>4>6, G4EF> <<5?< =55>?LL>= >5N5< 
��' � 256 �54=F <?< 384 �54=F4. 

� ?>E?54=55 6D5<O EF><<>EFL <<>D>EE5< ��' 7=4G<F5?L=> E=<7<?4EL < ?>MF><G 6E5 >><-
?LNF5DO IBM PC EF4?< E=4564FLEO ��' 5<>>EFLN >F 640 �54=F < 6OL5. 

�46=> 7=4FL, GF> ��' 6 >><?LNF5D4E M=5D7>746<E<<O � 4465 ?D< >D4F>>6D5<5==>< >F-
>?NG5=<< ?<F4=<O <=D>D<4F<O, 74?<E4==4O 6 ��', ?D>?4445F. 
�>EF>O==>5 74?><<=4NM55 GEFD>=EF6>. 

�>EF>O==>5 74?><<=4NM55 GEFD>=EF6> (��') ?D54EF46?O5F E>5>= F4>65 >4> < ��' <4E-
E<6 OG55> E> EE5<4<< G?D46?5=<O. �=D>D<4F<O 6 OG5=>< ��' 74=>E<FEO 74D4=55 D47 < =46E5744 
<?< =4 746>45-<77>F>6<F5?5, <?< 6 E?5F<4?<7<D>64==OE >D74=<74F<OE E ?><>MLN E?5F<4?L=OE 
GEF4=>6>>, =47O645<OE ?D>7D4<<4F>D4<<. &4><< >5D47><, 6 ?D>F5EE5 DG=>F<>=<D>64=<O >><-
?LNF5D4, ?> <5D5 =44>5=>EF<, <7 7444==OE OG55> ��' <=D>D<4F<O F>?L>> EG<FO645FEO 6 4DG7<5 
GEFD>=EF64. 

� ��' ED4=OFEO E?5F<4?L=O5 E?G655=O5 ?D>7D4<<O < 44==O5, >>F>DO5 6O?>?=ONF E?5-
F<4?L=O5 E<EF5<=O5 DG=>F<<. 

�>=EFDG>F<6=>, <<>D>EE5<O ��' D47<5M4NFEO 6<5EF5 E <<>D>EE5<4<< ��' < ?D>F5EE>D4 
=4 >4=>= ??4F5. 

 

�4>>?<F5?< =4 7<5><E <47=<F=OE 4<E>4E. 
�<5><= <47=<F=O= 4<E> (���) >>=EFDG>F<6=> D47<5M5= 6=GFD< 74M<F=>7> ??4EF<4EE>6>-

7> ?4>5F4, 6<5EF5 E ?4>5F>< 6EF46?O5FEO 6 M5?L >4D<4=4 =4 ?<F56>= ?4=5?< E<EF5<=>7> 5?>>4 < 
6D4M45FEO 6=GFD< >4D<4=4 4<E>>6>4>< E ?><>MLN E?5F<4?L=>7> ?D<E?>E>5?5=<O. ' >>=65DF4 
5EFL ?D>4>?7>64F4O ?D>D57L, G5D57 >>F>DGN <47=<F=4O 7>?>6>4 =4>>?<F5?O >>=F4>F<DG5F E ?>-
65DE=>EFLN 7<5>>7> <47=<F=>7> 4<E>4 ?D< 6O?>?=5=<< >?5D4F<= GF5=<O-74?<E<. 
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�>E<F5?5< <=D>D<4F<< =4 7<5>>< <47=<F=>< 4<E>5 O6?ONFEO G7><5 <47=<F=O5 4>D>6><. 
%?5F<4?L=O= <5E4=<7< 6 =4>>?<F5?5 >55E?5G<645F ?5D5<5M5=<5 <47=<F=>= 7>?>6>< E 4>D>6>< 
=4 4>D>6>G, GF> >55E?5G<645F >5E?G6<64=<5 6E5E 4>D>65> >4=>= 7>?>6>>=. 

�46=>= E4D4>F5D<EF<>>= 7<5>>7> <47=<F=>7> 4<E>4 O6?O5FEO <4>E<<4?L=4O 5<>>EFL ED4-
=OM5=EO =4 =5< <=D>D<4F<<. �<E>5FO 4<4<5FD>< 89 << 6O?GE>4NFEO 6 >E=>6=>< <?< 5<>>EFLN 
1,44 �54=F, <?< 5<>>EFLN 720 �54=F. 

�4 4<E>5F4E D47<5D>< 3,5 4N=<4 <<55FEO E?5F<4?L=O= ?5D5>?NG4F5?L � 74M5?>4, D47D5-
L4NM4O <?< 74?D5M4NM4O 74?<EL =4 4<E>5FG � MF> G5D=O= >644D4F<> 6 =<6=5< ?56>< G7?G 
4<E>5FO. �4?<EL =4 4<E>5FG D47D5L5=4, 5E?< >F65DEF<5, 74>DO645<>5 74M5?>>=, 74>DOF>, < 74-
?D5M5=4, 5E?< MF> >F65DEF<5 >F>DOF>. 
�4>>?<F5?< =4 65EF>>< 4<E>5 F<?4 �<=G5EF5D. 

�4>>?<F5?< =4 65EF>>< 4<E>5 (>=< 65 65EF><5 4<E><, >=< 65 6<=G5EF5DO) ?D54=47=4-
G5=O 4?O ?>EF>O==>7> ED4=5=<O <=D>D<4F<<, <E?>?L7G5<>= ?D< D45>F5 E >><?LNF5D><: ?D>-
7D4<< >?5D4F<>==>= E<EF5<O, G4EF> <E?>?L7G5<OE ?4>5F>6 ?D>7D4<<, D544>F>D>6 4>>G<5=F>6, 
FD4=E?OF>D>6 E O7O>>6 ?D>7D4<<<D>64=<O < F.4. �7 6E5E GEFD>=EF6 ED4=5=<O 44==OE (5E?< =5 
EG<F4FL >?5D4F<6=GN ?4<OFL) 65EF><5 4<E>< >55E?5G<64NF =4<5>?55 5OEFDO= 4>EFG? > 44==O< 
(>5OG=> 4-10 <<??<E5>G=4, <E), 6OE>><5 E>>D>EF< GF5=<O < 74?<E< 44==OE (5>?55 5 �54=F/E). 

�5EF><= 4<E> <<55FEO ?D4>F<G5E>< 6> 6E5E E>6D5<5==OE ��. �>7<>6=4 GEF4=>6>4 < =5-
E>>?L><E 65EF><E 4<E>>6 (<=>744 MF> G65?<G<645F 5OEFD>45=EF6<5 >><?LNF5D4 <?< >5E>4<FEO 
45L56?5). �> E?5F<4?L=>= =>65=L5= F5E=>?>7<< 6 >>D>5>5 E 6OE>>>= EF5?5=LN 75D<5F<74F<< 
(GF>5O =5 ?>?4?< 6>6=GFDL 4465 <5?LG4=L<5 G4EF<FO ?O?<) ?><5M5=O < 65EF><= <47=<F=O= 
4<E> (=4 4ND4?N<<=<56>=, EF5>?O==>= >E=>65), < 4<E>>6>4, 6D4M4NM<= 4<E>, < GEFD>=EF6> 4?O 
?5D5<5M5=<O 7>?>6>>, < EE5<O G?D46?5=<O. -F<< >55E?5G<64NFEO < <4?O5 7454D<FO, < 55ELG<-
=>EFL D45>FO, < 6OE>>4O =4456=>EFL 6 D45>F5, < 5>?LL4O 5<>>EFL ED4=5=<O <=D>D<4F<<. 

%4D4>F5D<EF<><: 5<>>EFL, 5OEFD>45=EF6<5, <=F5DD5=E. 

�E=>6=4O E4D4>F5D<EF<>4 65EF>>7> 4<E>4 � MF> 57> 5<>>EFL, F> 5EFL >>?<G5EF6> <=D>D-
<4F<<, D47<5M45<>= =4 4<E>5. �<E>< E 5<>>EFLN 4> 1 �54=F EG<F4NFEO GEF4D56L<<<, >=< G65 =5 
?D><76>4OFEO. �4>E<<4?L=4O 5<>>EFL 4<E>>6 E5=G4E � 100 �54=F < 5>?55. �<>>EFL 65EF>>7> 
4<E>4 (F>G=55, EG<<4D=4O 5<>>EFL GEF4=>6?5==OE 6 >><?LNF5D5 65EF><E 4<E>>6) 6> <=>7>< 
>?D545?O5F 4<4?47>= ?D<<5=5=<O >><?LNF5D4 

%>>D>EFL D45>FO 4<E>4 E4D4>F5D<7G5FEO 46G<O ?>>474F5?O<<: 6D5<5=5< 4>EFG?4 > 44=-
=O< =4 4<E>5 < E>>D>EFLN GF5=<O/74?<E< 44==OE =4 4<E>5. 

�=F5DD5=EO 4<E>>6. �>?LL<=EF6> E>6D5<5==OE 4<E>>6 <<55F <=F5DD5=E EIDE, MF> 7=4-
G<F, GF> 44==O5 4<E>< 4>?6=O ?>4>?NG4FLEO > >>=FD>??5D4< F<?4 EIDE. �D4>F<G5E>< 6E5 6O-
?GE>45<O5 E5=G4E >><?LNF5DO <<5NF =4 <4F5D<=E>>= ??4F5 6EFD>5==O= >>=FD>??5D EIDE. 

EIDE->>=FD>??5D >55E?5G<645F ?>4>?NG5=<5 4> G5FOD5E GEFD>=EF6 � 65EF><E 4<E>>6, 4<E>>6>-
4>6 4?O >><?4>F-4<E>>6 < 4D. �?O >5OG=OE ?>?L7>64F5?5= MF>7> 6?>?=5 4>EF4F>G=>. 

 

 

 

 

'EFD>=EF64 66>44-6O6>44 <=D>D<4F<<. 
� EF4=44DF=O< GEFD>=EF64< 66>44-6O6>44 <=D>D<4F<< 6 >><?LNF5D4E IBM PC >F=>EOFEO: 

6<45><>=<F>D (<?< ?D>EF> <>=<F>D), ?5G4F4NM55 GEFD>=EF6> (?D<=F5D), 5?>> >?46<4FGDO, <4=<-
?G?OF>D F<?4 «�OLL». 

�D><5 ?5D5G<E?5==OE GEFD>=EF6 ?5DE>=4?L=O5 >><?LNF5DO IBM PC <>7GF 5OFL 4>G>><-
??5>F>64=O F4><<< GEFD>=EF64<< 66>44-6O6>44, >4> 7D4D<G5E><5 ??4=L5FO, E>4=5DO, 7D4D>?>-
EFD><F5?< (??>FF5DO), <>45<O < D4>EO < F.4.. 

'EFD>=EF64 66>44-6O6>44 E6O74=O E ?D>F5EE>D>< G5D57 E?5F<4?L=O5 M?5>FD>==O5 GEFD>=-
EF64, ?>?GG<6L<E =4764=<5 ?>DF>6 66>44-6O6>44. �<5NFEO E?5F<4?<7<D>64==O5 ?>DFO, G5D57 
>>F>DO5 ?D><EE>4<F >5<5= 44==O<< E 6=GFD5==<<< GEFD>=EF64<< (��', ��', =4>>?<F5?O<< =4 
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7<5><E <47=<F=OE 4<E>4E), < ?>DFO >5M57> =47=4G5=<O, > >>F>DO< <>7GF ?>4E>54<=OFLEO 4>?>?-
=<F5?L=O5 GEFD>=EF64 66>44-6O6>44 (?D<=F5D, «<OLL», <>45< < F.4.). 

�>DFO >5M57> =47=4G5=<O 5O64NF 46GE 6<4>6: ?4D4??5?L=O5 < ?>E?54>64F5?L=O5. 
�4D4??5?L=O= ?>DF ?>76>?O5F >5<5=<64FLEO 44==O<< >4=>6D5<5==> =5E>>?L><<< D47DO-

44<< (>4> <<=<<G<, ?>54=F=>); ?>E?54>64F5?L=O= ?>DF 6O6>4<F <=D>D<4F<N 4?O 4DG7>7> 
GEFD>=EF64 ?>E?54>64F5?L=> D47DO4 74 D47DO4><. 
�>=<F>DO. 

�>=<F>DO >><?LNF5D>6 IBM PC ?D54EF46?ONF E>5>= GEFD>=EF64 4?O 6O6>44 =4 M>D4= 
E<<6>?L=>= < 7D4D<G5E>>= <=D>D<4F<<. 

-?5>FD>==O5 EE5<O >><?LNF5D4, >55E?5G<64NM<5 D>D<<D>64=<5 6<45>E<7=4?4 < F5< E4-
<O< >?D545?ONM<5 <7>5D465=<5,   ?>>47O645<>5   <>=<F>D><,   =47O64NFEO   6<45>>>=FD>??5-
D><.     

�<45>>>=FD>??5D >5OG=> 6O?>?=O5FEO 6 6<45 E?5F<4?L=>= ??4FO,   6EF46?O5<>=  6   D47N-
5<   E<EF5<=>=   L<=O >><?LNF5D4, => =4 =5>>F>DOE >><?LNF5D4E >= 6E>4<F 6 E>EF46 E<EF5<=>= 
(<4F5D<=E>>=) ??4FO.   �<45>>>=FD>??5D  ?>?GG45F  >F  <<>D>?D>F5EE>D4 >><?LNF5D4 >><4=4O 
?> D>D<<D>64=<N <7>5D465=<O, >>=EFDG<DG5F MF> <7>5D465=<5 6 E6>5= E?G655=>= ?4<OF< � 6<-
45>?4<OF<, < >4=>6D5<5==> ?D5>5D47G5F E>45D6<<>5 6<45>?4<OF< 6 E<7=4?, ?>44645<O= =4 <>-
=<F>D � 6<45>E<7=4?.  

%4D4>F5D<EF<>< ?D<<5=O5<>7> <>=<F>D4 6> <=>7>< >?D545?ONFEO <E?>?L7G5<O< 7D4D<-
G5E><< 444?F5D><. 
�?>> >?46<4FGDO. 

�?>> >?46<4FGDO IBM PC ?D54=47=4G5= 4?O DGG=>7> 66>44 6 >><?LNF5D <=D>D<4F<< >F 
?>?L7>64F5?O. �F <>45?< > <>45?< G<E?> >?46<L =4 >?46<4FGD5, 4 F4>65 <E D4E?>?>65=<5, <>7GF 
<5=OFLEO, => =47=4G5=<5 >4<=4>>6OE >?46<L, 5EF5EF65==> E>6?4445F. 
�D<=F5DO. 

�D<=F5D (?5G4F4NM55 GEFD>=EF6>) ?D54=47=4G5= 4?O 6O6>44 <=D>D<4F<< =4 5G<47G. 
�5OG=> ?D<=F5DO <>7GF 6O6>4<FL =5 F>?L>> F5>EF>6GN <=D>D<4F<N, => F4>65 D<EG=>< < 7D4-
D<><. �4=< ?D<=F5DO ?>76>?ONF ?5G4F4FL F>?L>> 6 >4=>< F65F5 (G5D=><), 4DG7<5 <>7GF 6O6>-
4<FL F4>65 < F65F=O5 <7>5D465=<O. 

�4FD<G=O5 ?D<=F5DO.  

�D<=F<? ?5G4F< <4FD<G=OE ?D<=F5D>6 F4>>6: ?5G4F4NM4O 7>?>6>4 ?D<=F5D4 E>45D6<F 
65DF<>4?L=O= DO4 F>=><E <5F4??<G5E><E EF5D6=5= (<7>?>>). �>?>6>4 46<65FEO 64>?L ?5G4F45<>= 
EFD>><, 4 EF5D6=< 6 =G6=O= <><5=F G44DONF ?> 5G<475 G5D57 >D4EOMGN ?5=FG. -F> < >55E?5G<-
645F D>D<<D>64=<5 =4 5G<475 E<<6>?>6 < <7>5D465=<=. 

%FDG==O5 ?D<=F5DO. � EFDG==OE ?D<=F5D4E <7>5D465=<5 D>D<<DG5FEO <<>D> >4??O<< 
E?5F<4?L=OE G5D=<?, 6O5D4EO645<OE =4 5G<47G G5D57 E>??4 6 ?5G4F4NM5= 7>?>6>5. �4> < 6 <4F-
D<G=OE ?D<=F5D4E, ?5G4F4NM4O 7>?>6>4 EFDG==>7> ?D<=F5D4 46<65FEO ?> 7>D<7>=F4?<, 4 ?> 
>>>=G4=<< ?5G4F< >464>= 7>D<7>=F4?L=>= ?>?>EO <7>5D465=<O 5G<474 ?D>46<745FEO ?> 65DF<>4-
?<.  

�475D=O5 ?D<=F5DO. �475D=O5 ?D<=F5DO >55E?5G<64NF =4<?GGL55 (5?<7>>5 > F<?>7D4D-
E>><G) >4G5EF6> G5D=>-55?>= ?5G4F<, 4 F65F=O5 ?475D=O5 ?D<=F5DO � F4>65 < >G5=L 6OE>>>5 >4-
G5EF6> F65F=>= ?5G4F<. � ?475D=OE ?D<=F5D4E <E?>?L7G5FEO ?D<=F<? >E5D>7D4D<<: <7>5D465=<5 
?5D5=>E<FEO =4 5G<47G E> E?5F<4?L=>7> 54D454=4, > >>F>D><G M?5>FD<G5E>< ?D<FO7<64NFEO G4-
EF<G>< >D4E>< (F>=5D4). �F?<G<5 >F >5OG=>7> >>?<D>64?L=>7> 4??4D4F4 E>EF><F 6 F><, GF> ?5G4-
F4NM<= 54D454= M?5>FD<7G5FEO E ?><>MLN ?475D4 ?> >><4=44< <7 >><?LNF5D4.  
�4=<?G?OF>D F<?4 «�OLL».  

�OLL � <4=<?G?OF>D 4?O 66>44 <=D>D<4F<< 6 >><?LNF5D. �4764=<5 «<OLL» GEFD>=EF6> 
?>?GG<?> 74 E6>= 6=5L=<= 6<4 � <4?5=L>4O E5D5=L>4O >>D>5>G>4 (GGFL 5>?LL5 E?<G5G=>7> >>-
D>5>4) E 46G<O-FD5<O >?46<L4<< =4 >>D?GE5 < E 4?<==O< L=GD>< 4?O ?>4>?NG5=<O > E<EF5<=>-
<G 5?>>G. 
%>4=5DO. 



102 

 

%>4=5D � GEFD>=EF6> 4?O EG<FO64=<O 7D4D<G5E>>= < F5>EF>6>= <=D>D<4F<< =5?>ED54-
EF65==> E ?<EF4. �<5NFEO ?D>7D4<<O, >>F>DO5 D4E?>7=4NF DG>>?<E=O= F5>EF ?D< 66>45 E ?><>-
MLN E>4=5D4. %>4=5DO 45?OFEO =4 ??4=L5F=O5 < DGG=O5. %>4=5DO ??4=L5F=>7> F<?4 >5D454FO-
64NF F5>EF F5?<>><. $GG=O< E>4=5D>< =5>5E>4<<> 66>4<FL <=D>D<4F<N E ?<EF4 ?> G4EFO<, ?D>-
6>4O 6DGG=GN E>4=5D>< ?> E>>F65FEF6GNM<< <5EF4< ?<EF4. 

�D>7D4<<=>5 >55E?5G5=<5 (��) � E>6>>G?=>EFL ?D>7D4<<, ?>76>?ONM4O >D74=<7>64FL 
D5L5=<5 D47=>>5D47=OE 7444G =4 ��. �� ?D<=OF> D4745?OFL =4 464 >E=>6=OE >?4EE4: E<EF5<=O5 
< ?D<>?44=O5 ?D>7D4<<O.  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

%<EF5<=O5 ?D>7D4<<O. 
 � MF><G >?4EEG �� >F=>EOF E?54GNM<5 7DG??O: 

1) �?5D4F<>==O5 E<EF5<O (�%) � 7?46=4O G4EFL E<EF5<=>7> �� � ?D>7D4<<O, >55E?5G<64NM<5 
>D74=<74F<N ?D>F5EE4 >5D45>F>< <=D>D<4F<<, D4E?D545?5=<5 D5EGDE>6 ?4<OF< >><?LNF5D4, 
E?>E>5 >5M5=<O G5?>65>4 E >><?LNF5D>< (<=F5DD5=E). 

2) �D4=65DO � E?5F<4?L=O5 ?D>7D4<<O, G?D46?ONM<5 D45>F>= GEFD>=EF6 66>44/6O6>44 < >?5D4F<6-
=>= ?4<OFLN. 

3) �?5D4F<>==O5 >5>?>G>< � ED54EF64, >55E?5G<64NM<5 ?D>EF>FG < =47?O4=>EFL 6 >5M5=<< G5?>-
65>4 E �% ��. 

4) 'F<?<FO � ?D>7D4<<O, >55E?5G<64NM<5 >5E?G6<64=<5 E>EF46=OE G4EF5= �� < E?5F<4?L=OE 
7444G. 

5) %<EF5<O (O7O><) ?D>7D4<<<D>64=<O � ?D>7D4<<O, ?D54=47=4G5==O5 4?O E>744=<O =>6OE ?D>-
7D4<< 6> 6E5E >?4EE4E ��. 

�D<>?44=O5 ?D>7D4<<O ?D<E>4OF =4 ?><>ML G5?>65>G 6 57> ?D>D5EE<>=4?L=>= 45OF5?L-
=>EF<, ?D< >5GG5=<< < =5 FD55GNF >F =57> E?5F<4?L=OE 7=4=<= 6 >5?4EF< <=D>D<4F<><. 

&D55>64=<O > >FGUFG: 
1. �4?<L<F5 >D4F><= >>=E?5>F ?> F5>D5F<G5E><< E6545=<O<, <7?>65==O< 6OL5. 

2. �4?<L<F5, <7 >4><E G4EF5= E>EF><F ��, =4 >>F>D>< 6O D45>F45F5. 
3. �4?<L<F5, >4><5 >E=>6=O5 < ?D<>?44=O5 ?D>7D4<<O (=5E>>?L>>) GEF4=>6?5=O =4 �4L5< ��. 

�>=FD>?L=O5 6>?D>EO. 
�4<5G4=<5: ?D< ?>47>F>6>5 <E?>?L7>64FL ?5>F<>==O= <4F5D<4?!!! 

1. �47>6<F5 6=5L=<5 GEFD>=EF64 ��. 
2. �47>6<F5 6=GFD5==<5 GEFD>=EF64 ��. 
3. �?O G57> ?D54=47=4G5= ?D>F5EE>D < >4>>6O 57> E4D4>F5D<EF<><? 

4. 'F> F4>>5 6<45>>>=FD>??5D? 

5. ��' < ��' � MF> >5O74F5?L=O5 GEFD>=EF64? 

6. � GU< >F?<G<5 ��' < ��'? 

7. 'F> F4>>5 ?D<=F5DO, >4><E F<?>6 >=< 5O64NF? 

8. �?<L<F5 ?D<=F<? ?5G4F< <4FD<G=OE ?D<=F5D>6. 
9. �?<L<F5 ?D<=F<? ?5G4F< EFDG==OE ?D<=F5D>6. 
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10. �4>>= ?D<=F<? ?5G4F< <E?>?L7G5FEO 6 ?475D=OE ?D<=F5D4E. 
11. �?O G57> =G6=O 4<E>>6>4O? 

12. �?O G57> =G6=O 6<=G5EF5DO? 

13. �4><<< E4D4>F5D<EF<>4<< >F?<G4NFEO 4DG7 >F 4DG74 6<=G5EF5DO? 

14. 'F> F4>>5 <>45< < D4>E-<>45<? 

15. �4>>6 ?D<=F<? D45>FO ??>FF5D4? 

16. �4 >4><5 >E=>6=O5 >?4EEO ?D<=OF> D4745?OFL ��? 

17. 'F> 6>?NG45F 6 E55O E<EF5<=>5 ��? 

18. �4><5 ?D>7D4<<O 6E>4OF 6 ?D<>?44=>5 ��? 

19. �?O G57> =G6=4 >?5D4F<>==4O E<EF5<4 ��? 

20. 'F> F4>>5 4D4=65DO < 4?O G57> >=< <E?>?L7GNFEO? 

21. 'F> F4>>5 GF<?<FO < >4><5 F<?O GF<?<F G4M5 6E57> <E?>?L7GNFEO? 

22. 'F> 6>?NG45F 6 E55O E<EF5<4 ?D>7D4<<<D>64=<O? 

23. �4><5 ?D<>?44=O5 ?D>7D4<<O =4<5>?55 L<D>>> D4E?D>EFD4=5=O? 

24. �?O G57> ?D<<5=ONFEO F5>EF>6O5 D544>F>DO, ?D<654<F5 ?D<<5D? 

25. �?O G57> <E?>?L7GNFEO F45?<G=O5 ?D>F5EE>DO, ?D<654<F5 ?D<<5D? 

26. �?O G57> ?D54=47=4G5=O <744F5?LE><5 E<EF5<O, ?D<654<F5 ?D<<5D? 

27. �?O G57> =G6=O ?D>7D4<<O ?>47>F>6>< ?D575=F4F<=, ?D<654<F5 ?D<<5D? 

28. �?O G57> E?G64F 7D4D<G5E><5 D544>F>DO, ?D<654<F5 ?D<<5D? 

29. 'F> ?>76>?ONF 45?4FL =4 �� ?D>7D4<<O 4?O 4=<<4F<< < 4?O E>744=<O >><?LNF5D=>7> 6<45>, 
?D<654<F5 ?D<<5DO? 

30. �?O G57> ?D54=47=4G5=O 5GE74?F5DE><5 ?D>7D4<<O < ?D46>6O5 ��, ?D<654<F5 ?D<<5DO? 

31. 'F> ?>76>?ONF 45?4FL =4 �� ?5DE>=4?L=O5 <=D>D<4F<>==O5 <5=5465DO < ?D>7D4<<O ??4=<D>-
64=<O, ?D<654<F5 ?D<<5DO? 

32. 'F> ?>76>?ONF 45?4FL =4 �� ?D>7D4<<O D4E?>7=464=<O E<<6>?>6 < ?D>7D4<<O-?5D56>4G<><, 
?D<654<F5 ?D<<5DO? 

33. �?O G57> ?D<<5=ONFEO %'�� < %��$, ?D<654<F5 ?D<<5DO? 

 

 

�D4>F<G5E>4O D45>F4 739 

�><E> <=D>D<4F<< ?> 74?D>E4< 

 

1. �F>DOFL Internet Explorer 46>==O< M5?>>< ��� ?> 7=4G>G =4 D45>G5< EF>?5. 
2. �65EF< 6 44D5E=GN EFD>>G 

http://top140.com/fantasy/library/tolkien.htm 

3. �> ?>?GG5==O< <4F5D<4?4< 6OOE=<FL, 745 < >>744 D>4<?EO �6.$.$.&>?><5= (46F>D >=<7< 
«�?4EF5?<= >>?LF4»). 

4. %>>?<D>64FL ?>?GG5==O5 44==O5 < 6EF46<FL ?>4 =><5D>< 1 6 D4=?  F5>EF>6>7> ?D>F5EE>D4 
Microsoft Word 2003. 

 

2 �5D546<65=<5 ?> 7<?5DEEO?>4< ?><E>>6>7> >4F4?>74. 
 

1. �65EF< 6 44D5E=GN EFD>>G � www.list.ru (=4764=<5 ?><E>>6>7> >4F4?>74).ENTER. 

2. �O5D4FL DG5D<>G «�G?LFGD4 < <E>GEEF6>», ?5D5=F< ?> 7<?5DEEO?>5 - F54FD 

3. �5D5=F< ?> 7<?5DEEO?>5 � 4D4<4F<G5E><= F54FD. 
4. �5D5=4U< ?> 7<?5DEEO?>5 «�>?LL>= �D4<4F<G5E><= &54FD». 
5. �4 E4=F5 F54FD4 =4=F< 7<?5DEEO?>G «�EF>D<O» 

6. � ?>?GG5==>< <4F5D<4?5 =4=4<F5 44FG >E=>64=<O 5>?LL>7> F54FD4. 
7. %>>?<D>64FL ?>?GG5==O5 44==O5 < 6EF46<FL ?>4 =><5D>< 2 6 D4=?  F5>EF>6>7> ?D>F5EE>D4 

Microsoft Word 2003. 
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3 �><E> ?> >?NG56O< E?>64< 6 ?><E>>6>< >4F4?>75. 
 

1. � F45?<F5 ?D<6545=O 74?D>EO > ?><E>>6><G E5D65DG Yandex. �?O >464>7> =><5D4 G>46<-
F5 >>?<G5EF6> EFD4=<F, >>F>DO5 =4=4UF ?><E>>6O= E5D65D ?> >464><G 74?D>EG. 
 

1 �D<=F5DO&E>4=5DO&?D>4464 

2 �D<=F5DO&?D>4464 

3 �D<=F5DO | ?D>4464 

4 �D<=F5DO | E>4=5DO | ?D>4464 

 

2. $57G?LF4FO D45>FO 6 ?>DO4>5 G5O64=<O ?>4 =><5D>< 3 6=5E<F5 6 F5>EF>6O= D4=?. 
 

 

4 &6>DG5E>4O G4EFL ?D4>F<G5E>>= D45>FO. 
 

1. �E?>?L7GO G4>5=O= 4?O 64E F<? ?><E>4, E4<>EF>OF5?L=> 6O?>?=<F5 E?54GNM55 7444=<5: 
� E5F< �=F5D=5F FD55G5FEO =4=F< <=D>D<4F<N > 5>?LL>= 55?>= 4>G?5 (>4DE4D>4>=). %D>D<G?<-
DG=F5 74?D>E > ?><E>>6>= E<EF5<5 E <E?>?L7>64=<5< O7O>4 74?D>E>6 F4>, GF>5O 5O?4 =4=45=4 
<=D>D<4F<O > D<7<G5E><E 44==OE 4>G?O (D47<5DO 4>G?O, 65E, D47<5DO 7G5>6,  ?D>4>?6<F5?L-
=>EFL 6<7=< < F.4.) < <5EF4E >5<F4=<O. 
 

2. -F4?O ?><E>4 ?D>?<L<F5 6 F5>EF>6>< D4=?5. 
3. �>?GG5==GN <=D>D<4F<N ?>4 =><5D>< 4 D47<5EF<F5 6 F>< 65 F5>EF>6>< D4=?5, GF> < 

?G=>FO 1-3. 

 

%>ED4=<F5 F5>EF>6O= D4=? E D57G?LF4F4<< D45>FO ?>4 E6>5= D4<<?<5= < >F?D46LF5 6 E5F5-
6GN ?4?>G. 

 

 

 

�D4>F<G5E>4O D45>F4 740 

�7GG5=<5 <5F>4>6 >?4EE<D<>4F<< >5D45>F>< 75>457<G5E>>= <=D>D<4F<< 

 

�E?< =5>5E>4<<> D4765D=<F5 ArcMap < ?5D5=4<F5 > 74>?44>5 �4=444 

,47 2:�>=65DF4F<O =44?<E5= 6 4==>F4F<< 547O 75>44==OE  
� MF>< L475 6O >>=65DF<DG5F5 =44?<E< E?>O �DG?=O5 7>D>44 6 4==>F4F<< 547O 75>44=-

=OE. -F> 4>6>?L=> D4E?D>EFD4=5==4O ?D4>F<>4 � =4G<=4FL D45>FG E =44?<EO<< (?>F><G GF> 
=44?<E< G4>5=O), 74F5< ?>765 >>=65DF<D>64FL <E 6 4==>F4F<< (?>F><G GF> 4==>F4F<< 5>?55 F>G-
=O).  

o � F45?<F5 E>45D64=<O M5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �DG?=O5 7>D>44 < 6O55-
D<F5 �>=65DF<D>64FL =44?<E< 6 4==>F4F<<.  



105 

 

 
o -5?>=<F5 �>=65DF<D>64FL.  
�>744 >>=65DF4F<O 7465DL<FLEO, >4DFO 5G45F 6O7?O45FL F4> 65, >4> < D4=LL5, => ?D><7>-

L?< <7<5=5=<O � =44?<E< 7>D>4>6 5O?< 74<5=5=O 4==>F4F<O<<. �>6O= E?>= 
�DG?=O5_�>D>44Anno 5O? 4>546?5= 6 =4G4?> F45?<FO E>45D64=<O.  

o � F45?<F5 E>45D64=<O >F>?NG<F5 E?>= �DG?=O5_�>D>44Anno < 6>?NG<F5 57> E=>-
64.  

�<4<<>EFL 4==>F4F<< G?D46?O5FEO F4> 65, >4> < G 4DG7<E E?>56. �>744 5O?< 4>546?5=O 
4==>F4F<<, ArcMap 46F><>F<G5E>< >F>?NG<? =44?<E< E?>O �DG?=O5_�>D>44.  

,47 3:�7GG5=<5 >?4EE>6 ?D>EFD4=EF65==OE >5N5>F>6 �DG?=O5_�>D>44Anno 6 
ArcCatalog  

� MF>< L475 6O ?D>E<>FD<F5 >?4EE ?D>EFD4=EF65==OE >5N5>F>6 6 ArcCatalog.  

o �4?GEF<F5 ArcCatalog.  

o �5D5=4<F5 > ?4?>5 \Student\DESK2\Exercise06.  

o $4E>D>=F5 547G 75>44==OE Canada. 

�O 4>?6=O G6<45FL >?4EE �DG?=O5_�>D>44Anno, D4E?>?>65==O= ED54< 4DG7<E >?4EE>6 
?> 4?D46<F=><G ?>DO4>G. �E?< 6O =5 6<4<F5 57>, M5?>=<F5 =4 Canada.gdb 6 45D565 �4F4?>74, 74-
F5< M5?>=<F5 �<4 < 6O55D<F5 �5=>6<FL.  

o �D>E<>FD<F5 75>7D4D<N >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 �DG?=O5_�>D>44Anno.  

�7> <>6=> ?D>E<4FD<64FL, >4> < ?N5>= >?4EE ?D>EFD4=EF65==OE >5N5>F>6, 74 <E>?NG5=<-
5< F>7>, GF> «>5N5>FO» - MF> EFD>>< F5>EF4.  

o �D>E<>FD<F5 F45?<FG �DG?=O5_�>D>44Anno < 4FD<5GFO.  
' 4==>F4F<< 547O 75>44==OE 5EFL ?>?5 Shape, < MF> ?>?<7>=4?L=O= >?4EE ?D>EFD4=EF65=-

=OE >5N5>F>6. �>?LL4O G4EFL 4DG7<E 4FD<5GF>6 ED4=<F E6>=EF64 F5>EF4 ?>E>6<5 =4 F5, >>F>DO5 
6O GEF4=46?<64?< 4?O =44?<E5= 6 �5=5465D5 =44?<E5=.  

o �4>D>=F5 ArcCatalog. 

,47 4:�7GG5=<5 6?<O=<O 547>6>7> <4ELF454 

� >F?<G<< >F 4DG7<E >?4EE>6 >5N5>F>6 <?< E?>56, G 4==>F4F<= 547O 75>44==OE 5EFL 6EFD>-
5==O= 547>6O= <4ELF45. %6>=EF64 D47<5D LD<DF4 < D4EEF>O=<5 <564G E<<6>?4<< >EF4NFEO D46-
=O<< 7444==O< ?D< 547>6>< <4ELF455, => >=< ?D>?>DF<>=4?L=> <7<5=ONFEO, >>744 6O G65?<G<-
645F5 <?< G<5=LL45F5 >4DFG. 

o � ArcMap ?5D5=4<F5 > 74>?44>5 �EFD>6 �D<=F4 -4G4D44.  
�==>F4F<< 7>D>4>6 E5=G4E >G5=L 5>?LL<5. �44?<E< ?D>6<=F<= E>>F65FEF65==> =5 G65?<-

G5=O. ' 4==>F4F<= 5EFL 547>6O= <4ELF45, ?>F><G GF> >=< 5O?< E>744=O 4?O <E?>?L7>64=<O 6 
>?D545?5==>< <4ELF455, 6 >F?<G<5 >F =44?<E5=, >>F>DO5 >4<=4>>6O ?D< 6E5E <4ELF454E.  

o �5D5=4<F5 > 74>?44>5 �4=444. 
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,47 5:$544>F<D>64=<5 4==>F4F<< 547O 75>44==OE  
ArcGIS =5 445F 64< E?GG4==> >FD544>F<D>64FL >5N5>F. �O 65 =5 E>F<F5 E?GG4==> <7<5=<FL 

DGE?> D5>< <?< ?5D5=5EF< 7>D>4? &4> 65 < 4?O 4==>F4F<< 547O 75>44==OE � >=4 4>?6=4 >EF464FL-
EO =4 <5EF5, ?>>4 6O O6=> =5 ?>?OF45F5EL ?5D5=5EF< 55. � MF>< L475 6O G6<4<F5, GF> <7<5=5=<O 
4==>F4F<< 547O 75>44==OE ?D><EE>4<F 6 E54=E5 D544>F<D>64=<O. �>744 6O 5G4<F5 D544>F<D>64FL 
75>7D4D<G5E><5 >5N5>FO 6 E?54GNM5< G?D46=5=<<, 6O G7=45F5 5>?LL5 > ED545 D544>F<D>64=<O.  

�O 4>?6=O >F>5D47<FL ?4=5?L <=EFDG<5=F>6 $544>F>D, GF>5O =4G4FL D544>F<D>64=<5.  
o �4 ?4=5?< <=EFDG<5=F>6 %F4=44DF=O5 M5?>=<F5 =4 >=>?>5 �4=5?L D544>F<D>64=<O 

, GF>5O 55 >F>5D47<FL. 
o �>?NG<F5 ?4=5?L <=EFDG<5=F>6 �==>F4F<<. �>4E>47>4: � <5=N �<4 G>46<F5 �4-

=5?L <=EFDG<5=F>6 < 6O55D<F5 �==>F4F<<.  
-F> E?5F<4?L=4O ?4=5?L <=EFDG<5=F>6 4?O D45>FO E 4==>F4F<O<< 547O 75>44==OE. �=>?>< 

< <=EFDG<5=FO =4 >55<E ?4=5?OE =54>EFG?=O, ?>>4 6O =5 =4G=5F5 E54=E D544>F<D>64=<O.  
o $4E?>?>6<F5 >55 ?4=5?< F4<, 745 64< G4>5=>. �>4E>47>4: F4> >4> >55 ?4=5?< 4?<=-

=O5, 6O <>65F5 ?D<>D5?<FL <E ?>4 ?4=5?LN %F4=44DF=O5.  
�D<>D5??5=<5 ?4=5?5= <=EFDG<5=F>6 <>65F <7<5=<FL D47<5D >F>5D465=<O >4DFO, E>>F-

65FEF65==> < <4ELF45 >4DFO. �4> 6O G7=4?< 6 ?D54O4GM5< L475, 4==>F4F<< E>744NFEO 4?O >?D5-
45?5==>7> <4ELF454.  

o 'EF4=>6<F5 <4ELF45 D46=O< 547>6><G <4ELF45G 4==>F4F<=, >>F>DO= 6O 74?<E4?< 
6 L475 2.  

o �4 ?4=5?< <=EFDG<5=F>6 $544>F>D 6 <5=N $544>F>D 6O55D<F5 �4G4FL D544>F<D>64-
=<5.  

�D< MF>< >F>DO645FEO E54=E D544>F<D>64=<O.  
o � F45?<F5 E>45D64=<O M5?>=<F5 ?D46>= >=>?>>= =4 E?>5 �DG?=O5_�>D>44Anno, 

G>46<F5 �O5>D>4 < M5?>=<F5 %45?4FL F>?L>> MF>F E?>= 4>EFG?=O< 4?O 6O5>D><.  
o �4 ?4=5?< <=EFDG<5=F>6 �==>F4F<O M5?>=<F5 =4 <=EFDG<5=F5 $544>F<D>64FL 4=-

=>F4F<N .  

o $4EFO=<F5 ?DO<>G7>?L=<> 6>>DG7 F5>EF4 4==>F4F<<, GF>5O 6O5D4FL 57>. 
o �O5D4==4O 4==>F4F<O >F>5D4645FEO E OD>>-7>?G5O< ?DO<>G7>?L=<>>< 6>>DG7 =55.  
o $4E?>?>6<F5 G>474F5?L <OL< =44 6O5D4==>= 4==>F4F<5=, 74F5< M5?>=<F5 < ?5D5-

F4M<F5 >G44-=<5G4L 6 >F45?L=>5 <5EF>, =4?D<<5D, 6 >>D5EF=>EF< �D5=?4=4<<.  
-F> >E=>6=>= E?>E>5 4?O <7<5=5=<O D4E?>?>65=<O >5N5>F>6-4==>F4F<=. 
o �4 ?4=5?< <=EFDG<5=F>6 %F4=44DF=O5 M5?>=<F5 =4 >=>?>5 �F<5=<FL . 

�==>F4F<O 65D=G?4EL 6 E6>5 <EE>4=>5 ?>?>65=<5 < >EF4?4EL 6O5D4==>=.  
o -5?>=<F5 ?D46>= >=>?>>= =4 6O5D4==>= 4==>F4F<< < 6O55D<F5 �FD<5GFO.  
o � 4<4?>7>6>< >>=5 �FD<5GFO M5?>=<F5 =4 74>?44>5 �==>F4F<O, 5E?< =5>5E>4<<>.  
�=<7G 4<4?>7>6>7> >>=4 <7<5=<F5 >4><5-=<5G4L E6>=EF64, =4?D<<5D F65F < D47<5D LD<D-

F4.  
o -5?>=<F5 �D<<5=<FL, 74F5< 74>D>=F5 4<4?>7>6>5 >>=> �FD<5GFO, GF>5O G6<45FL 

<7<5=5=<O =4 >4DF5. % 4==>F4F<O<< 6O <>65F5 <7<5=<FL D47<5M5=<5 < E6>=EF64 >464>= >F45?L-
=>= 4==>F4F<<.  

o -5?>=<F5 =4 >=>?>5 �F<5=<FL.  
�==>F4F<O 65D=G?4EL > E6>5<G <EE>4=><G 6<4G.  
o �E?>?L7G=F5 <=EFDG<5=F $544>F<D>64FL 4==>F4F<N, GF>5O =5<=>7> ?5D5<5EF<FL 

>5N5>FO-4==>F4F<<.  
o �>744 6O 74>>=G<F5, 6 <5=N $544>F>D E=>64 6O55D<F5 �465DL<FL D544>F<D>64=<5. 

�D< MF>< E5EE<O D544>F<D>64=<O 7465DL<FLEO.  
o �4 ?4=5?< <=EFDG<5=F>6 %F4=44DF=O5 M5?>=<F5 =4 >=>?>5 �4=5?L D544>F<D>64=<O, 

GF>5O 6O>?NG<FL ?4=5?L <=EFDG<5=F>6 $544>F>D.  
o �4>D>=F5 ?4=5?L <=EFDG<5=F>6 �==>F4F<O. �>4E>47>4: �E?>?L7G=F5 <5=N �<4.  
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,47 6:%>744=<5 4==>F4F<= >4DFO  
� MF>< L475 6O E>7444<F5 4==>F4F<N >4DFO 4?O �G47>=>64 74?<64. -F>F 74?<6 =5 O6?O5FEO 

>5N5>F>< >4>>7>-?<5> <7 E?>56 =4 >4DF5, ?>MF><G 4?O =55 =56>7<>6=> E75=5D<D>64FL =44?<EL.  
o �4 ?4=5?< <=EFDG<5=F>6 $<E>64=<5 M5?>=<F5 =4 <=EFDG<5=F5 �>6O= F5>EF . 

o �><5EF<F5 64L G>474F5?L <OL< 745-=<5G4L =44 �G47>=>6O< 74?<6>< < M5?>=<F5, 
GF>5O >F>DOFL ?>?5 66>44 F5>EF4.  

o � ?>?5 66>44 F5>EF4 =455D<F5 �G47>=>6 74?<6 < =46<<F5 Enter. 

�==>F4F<O >4DFO E5=G4E E>744=4 E> E6>=EF64<< ?> G<>?G4=<N, GEF4=>6?5==O<< =4 ?4=5-
?< $<E>64=<5 (E>>D5= 6E57> MF> Arial, 10 ?G=>F>6, G5D=O=). 

o �4 ?4=5?< <=EFDG<5=F>6 $<E>64=<5 G554<F5EL, GF> 6O5D4= <=EFDG<5=F �O5D4FL 
M?5<5=FO  

o -5?>=<F5 =4 F5>EF5 �G47>=E><= 74?<6 (<?< D4EFO=<F5 D4<>G>G 6>>DG7 =57>), GF>5O 
6O5D4FL 57>. &5>EF >>DG65= OD>>-7>?G5>= ?G=>F<D=>= ?<=<5=.  

o -5?>=<F5 ?D46>= >=>?>>= =4 6O5D4==>< F5>EF5 < 6O55D<F5 %6>=EF64.  
o �F>D>=F5 4<4?>7>6>5 >>=> %6>=EF64 < M5?>=<F5 =4 74>?44>5 &5>EF, 5E?< =5>5E>4<-

<>.  

o � ?D46>< =<6=5< G7?G 4<4?>7>6>7> >>=4 M5?>=<F5 �7<5=<FL E<<6>?, GF>5O >F-
>DOFL >>=> �O5>D E<<6>?4.  

o �D>>DGF<F5 6=<7 < M5?>=<F5 =4 7444==>< 74D4=55 F5>EF>6>< E<<6>?5 Sea (=44> 
?D>>DGF<FL ?D<<5D=> =4 >4=G FD5FL E?<E>4). -5?>=<F5 �� 6 >>=5 �O5>D E<<6>?4.  

o -5?>=<F5 6 F5>EF>6>< ?>?5, GF>5O >GDE>D >>474?EO <564G E?>64<< <�G47>=>6= < 
<74?<6=.  

o '44?<F5 ?D>55? <564G E?>64<<. (�46<<F5 Delete <?< Backspace, 6 746<E<<>EF< >F 
?>?>65=<O >GDE>D4.) 

o -5?>=<F5 Enter, GF>5O F5>EF 5O? D4E?>?>65= 6 465 EFD>><.  
o -5?>=<F5 =4 >=>?>5 �> F5=FDG  , GF>5O 6OD>6=OFL F5>EF ?> E5D54<=5.  
�OD46=<64=<5  =5 74<5F=> 6 F5>EF>6>< ?>?5, => 6O G6<4<F5 57> =4 >4DF5.  
o -5?>=<F5 ��.  
o $4E?>?>6<F5 6O5D4==O= F5>EF F4<, 745 64< =D46<FEO.  
o -5?>=<F5 745-=<5G4L =4 >4DF5, GF>5O >F<5=<FL 6O5>D>G.  
,47 7: '?D46?5=<5 4==>F4F<O<< >4DFO  
�==>F4F<< >4DFO <>6=> ?><5M4FL 6 7DG??O, GF>5O G?D>EF<FL G?D46?5=<5 <<<. �DG??O 

4==>F4F<= <>6=> 6>?NG4FL <?< >F>?NG4FL 6<5EF5 E >?D545?5==O<< E?>64<<, <>6=> ?D<E6><FL 
<< 4<4?47>=O <4ELF45>6 < 547>6O= <4ELF45. �> G<>?G4=<N 6E5 4==>F4F<< >4DFO ?>?444NF 6 
54<=EF65==GN 7DG??G <Default>. �4=4>> 6O <>65F5 D5L<FL ?><5M4FL 4==>F4F<< 6>4=OE >5N5>-
F>6 6 >4=G 7DG??G, =4?D<<5D, 4 4==>F4F<< 4?O 7>D 6 4DG7GN.  

o '45D6<64O >?46<LG Ctrl, >F>?NG<F5 ?N5>= E?>= 6 F45?<F5 E>45D64=<O.  
�E5 >F>?NG<?<EL. �4 >4DF5 =<G57> =5 >F>5D4645FEO, >D><5 4==>F4F<< �G47>=>6 74?<6. �> 

G<>?G4=<N, 4==>F4F<< >4DFO =5 E6O74=O =< E >4><< E?>5<.  
o '45D6<64O >?46<LG Ctrl, 6>?NG<F5 ?N5>= E?>=. �E5 E?>< 6>?NG5=O.  
o � F45?<F5 E>45D64=<O M5?>=<F5 ?D46>= >=>?>>= =4 DD5=<5 44==OE %?>< < 6O55-

D5F5 %6>=EF64.  
o � 4<4?>7>6>< >>=5 %6>=EF64 DD5=<4 44==OE M5?>=<F5 =4 74>?44>5 �DG??O 4==>-

F4F<=.  
�45EL ?5D5G<E?5=O 6E5 7DG??O 4==>F4F<=. � =4L5< E?GG45 745EL F>?L>> 7DG??4 ?> G<>?-

G4=<N <Default>. 

o �F>?NG<F5 D?46>> DO4>< E <Default>, GF>5O >F>?NG<FL 7DG??G 4==>F4F<=.  
o -5?>=<F5 �D<<5=<FL < ?5D5<5EF<F5 4<4?>7>6>5 >>=> %6>=EF64 DD5=<4 44==OE E 

>4DFO. �==>F4F<O �G47>=>6 74?<6 5>?LL5 =5 >F>5D4645FEO.  
o �>?NG<F5 D?46>> <Default> < M5?>=<F5 �D<<5=<FL, GF>5O 6>?NG<FL 4==>F4F<N 

>5D4F=>.  
o -5?>=<F5 �� 6 4<4?>7>6>< >>=5 %6>=EF64 DD5=<4 44==OE.  
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o %>ED4=<F5 4>>G<5=F >4DFO 6 ?4?>5 \Student\DESK2\Exercise06 >4> MyCanadaAnno.  

o �4>D>=F5 ArcMap.  

�4>?NG5=<5 

�E?< E>7445F5 >4DFG, >>F>D4O 5G45F <744=4 6 >?D545?5==>< <4ELF455, F> 6 >4>>=-F> <>-
<5=F 6 ?D>F5EE5 ?>47>F>6>< >4DFO (>5OG=> ?>GF< 6 >>=F5) 6O 74E>F<F5 ?D56D4F<FL F5>EF 6 4==>-
F4F<<. �==>F4F<< 44NF 64< ?>?=O= >>=FD>?L =44 D47<5M5=<5<, ?>MF><G <>6=> E45?4FL F4>, 
GF>5O F5>EF E>D>L> 6O7?O45? ?D< =G6=>< <4ELF455 < M>EF5=F5. �==>F4F<< F4>65 G?D>M4NF D5-
44>F<D>64=<5 >F45?L=OE ?>4?<E5=. �5OG=> 6O =4G<=45F5 E E>744=<O =44?<E5=, GF>5O ?>?GG<FL 
?>4?<E< 6 G5D=>6>< 6<45, 4 74F5< >>=65DF<DG5F5 <E 6 4==>F4F<<.  

�E?>?L7G=F5 4==>F4F<< 547O 75>44==OE, 5E?< =4 >4DF5 <=>7> F5>EF4 (E>F=< =4764=<=) <?< 
6O ??4=<DG5F5 <E?>?L7>64FL <E 6 4DG7<E >4DF4E. �==>F4F<< 547O 75>44==OE >F>5D464NFEO 5>?55 
5OEFD>, G5< 4==>F4F<< >4DFO. �E?>?L7G=F5 4==>F4F<< >4DFO, 5E?< 6O 4>546?O5F5 6E57> =5E>>?L-
>> ?>4?<E5= < 64< =5 =44> <E?>?L7>64FL <E 6 4DG7>= >4DF5 <?< 64< =5 E?>6=> E>744FL <E 74=>6>.  
 

 

 

 

 

 

 

 

 

�D4>F<G5E>4O D45>F4 741-42 

�>EFD>5=<5 F<DD>6>= <>45?< >>=FGD>6 < D5?L5D4 

%>744=<5 SQL 74?D>E4 4?O >F>5D465=<O >F45?L=OE =44?<E5=. 
'?D46=5=<5 7�: �D>5F<D>64=<5 44==OE «=4 ?5FG»  
�D5<O 6O?>?=5=<O 20 <<=GF 

� MF>< G?D46=5=<< 6O 5G45F5 D45>F4FL E 44==O<< 6 D47=OE E<EF5<4E >>>D4<=4F < G6<4<-
F5, >4> ArcMap <>65F E>7?4E>6O64FL F4><5 44==O5 E ?><>MLN ?5D5?D>5F<D>64=<O «=4 ?5FG».  

� MF>< G?D46=5=<< 6O:  
÷ �7GG<F5 E<EF5<O >>>D4<=4F 44==OE, <E?>?L7GO D47?<G=O5 <5F>4O 6 ArcCatalog < 

ArcMap  

÷ �7GG<F5 ?5D5?D>5F<D>64=<5 «=4 ?5FG» ?D< 4>546?5=<< E?>56 E D47?<G=O<< E<EF5-
<4<< >>>D4<=4F 6> DD5=< 44==OE.  

÷ �7<5=<F5 E<EF5<G >>>D4<=4F 6> DD5=< 44==OE.  
÷ �>=4<F5 6 %?D46>G=GN E<EF5<G ArcGIS Desktop < ?D>E<>FD<F5 F4< <=D>D<4F<N > 

?D>5>F<OE >4DFO < E<EF5<4E >>>D4<=4F 

÷ �>?>?=<F5?L=> <E?>?L7G5F5 <=EFDG<5=F �D>5F<D>64FL, GF>5O <7<5=<FL EE>4=GN 
E<EF5<G >>>D4<=4F >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6. 

,47 1:�7GG5=<5 E<EF5< >>>D4<=4F >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 6 ArcCatalog  

� MF>< L475 6O ?D>E<>FD<F5 >?4EE ?D>EFD4=EF65==OE >5N5>F>6 6 ArcCatalog < <7GG<F5 57> 
?D>EFD4=EF65==O5 <5F444==O5, GF>5O G6<45FL, >4>4O G =57> E<EF5<4 >>>D4<=4F.  

o �4?GEF<F5 ArcCatalog. 

o � 45D565 �4F4?>74 D4E>D>=F5 ?>4>?NG5=<5 > ?4?>5 \Student\DESK2. $4E>D>=F5 ?4?-
>G Exercise07 < 547G 75>44==OE World. 

�D>E<>FD<F5 75>7D4D<N >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 Countries 

-F> <>65F 5OFL =5>G56<4=>, => 75>7D4D<O >?4EE4 D4EFO=GF4 E 6>EF>>4 =4 74?44. $>EE<O < 
�4=444, =4?D<<5D, L<D5 < 5>?55 E64FO E E565D4 =4 N7, 5< 6O ?D<6O>?< 6<45FL.  

o �?O4O =4 EFD>>G E>EF>O=<O 6=<7G 6 ?D46>< =<6=5< G7?G >>=4 ?D<?>65=<O, ?5D5<5-
M4=F5 G>474F5?L <OL< ?> >F>5D465=<N >4DFO.  

� M>EF5=F5 44==OE 7=4G5=<O <5=ONFEO >F 90 4> -90 6 =4?D46?5=<< E E565D4 =4 N7 < >F 180 
4> -180 6 =4?D46?5=<< E 6>EF>>4 =4 74?44. -F> 4<4?47>= 7=4G5=<= L<D>FO < 4>?7>FO.  
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o -5?>=<F5 =4 74>?44>5 �5F444==O5.  
o � <5F444==OE M5?>=<F5 =4 7>?G5>= 74>?44>5 Spatial (�D>EFD4=EF65==O5).  
�<O 75>7D4D<G5E>>= E<EF5<O >>>D4<=4F GCS_WGS_1984. �45EL =5F E<EF5<O >>>D4<=4F 

?D>5>F<<.  
�D<<5G4=<5: World Geodetic System of 1984, E>>D4M5==> WGS84, MF> L<D>>> <E?>?L7G5-

<4O 75>7D4D<G5E>4O E<EF5<4 >>>D4<=4F.  
o �DO<> ?>4 <<5=5< E<EF5<O >>>D4<=4F M5?>=<F5 =4 75?5=>< D4745?5 Details (�>-

4D>5=55).  
�4<=<FO >>>D4<=4F � 45EOF<G=O5 7D44GEO. �=4G5=<5 L<D>FO < 4>?7>FO 6OD464NFEO 6 45-

EOF<G=>= D>D<5, 4 =5 6 7D44GE4E, <<=GF4E < E5>G=44E.  
o �D>E<>FD<F5 >?4EE ?D>EFD4=EF65==OE >5N5>F>6 CanadaProvinces < ?D>65DLF5 57> 

?D>EFD4=EF65==O5 <5F444==O5.  
�5>7D4D<G5E>4O E<EF5<4 >>>D4<=4F 4?O MF>7> >?4EE4 >E=>64=4 =4 North American Datum of 

1983 (NAD83). %<EF5<4 >>>D4<=4F ?D>5>F<< � ?D>5>F<O Albers Equal Area ($46=>65?<>4O �?L-
55DE4), >?F<<<7<D>64==4O 4?O �4=44O. 

,47 3: <7GG5=<5 E<EF5< >>>D4<=4F 6 ArcMap  
� MF>< L475 6O G6<4<F5, >4> ?>?GG<FL <=D>D<4F<N > E<EF5<5 >>>D4<=4F E?>O 6 ArcMap. 

>4> ?D<<5=<FL E<EF5<G >>>D4<=4F >> DD5=<G 44==OE. 
o �4?GEF<F5 ArcMap. � >>=e 74?GE>4 ArcMap 6O55D<F5 >?F<N % =>6>= ?GEF>= >4DF>=. 

-5?>=<F5 OK.  
o �E?< =5>5E>4<<>, D4765D=<F5 >>=> ArcMap.  
o -5?>=<F5 =4 >=>?>5 �>546<FL 44==O5  

o �>546LF5 =4 >4DFG E?>= Countries (EFD4oma) <7 547O 75>44==OE World (M<p) <7 ?4?-
><  \Student\DESK2\Exercisco7.  

o �F>D>=F5 E6>=EF64 4?O E?>O Countries < M5?>=<F5 =4 74>?44>5 �EF>G=<> (Source).  
�=D>D<4F<O > E<EF5<5 >>>D4<=4F E?>O (=4 E4<>< 45?5 - 57> >?4EE4 ?D>EFD4=EF65==OE >5N-

5>F>6) >F>5D4645FEO 6 >5?4EF< �EF>G=<> 44==OE (Data Source).  
o -5?>=<F5 �F<5=4 (Cancel) 6 4<4?>7>6>< >>=5 %6>=EF64 E?>O (Layer Properties).  
o �F>D>=F5 E6>=EF64 DD5=<4 44==OE %?>< (Layers) < M5?>=<F5 =4 74>?44>5 %<EF5<4  

>>>D4<=4F (Coordinate System).  
' DD5=<4 44==OE F>65 5EFL E<EF5<4 >>>D4<=4F, =5746<E<<4O >F 57> E?>56. �=4 ?>>474=4 

665DEG 4<4?>7>6>7> >>=4 < F4>65 6 ?4?>5 <custom>. � =4L5< E?GG45 E<EF5<4 >>>D4<=4F F4>4O 65, 
>4> < G E?>O Countries. -F> ?D><7>L?> ?>F><G, GF> DD5=< 44==OE 46F><4F<G5E>< ?D<=<<45F E<-
EF5<G >>>D4<=4F ?5D6>7> 4>546?O5<>7> 6 =57> E?>O.  

 

o -5?>=<F5 �F<5=4 (Cancel) 6 4<4?>7>6>< >>=5 %6>=EF64 DD5=<4 44==OE (Data 
Frame Properties).  

 

,47 4: �>5a5?5=<5 4DG7>7> E?>O > DD5=<G 44==OE  
� MF>< L475 6O G6<4<F5, >4> Arc�4D <>65F E>7?4E>6O64FL 44==O5 E D47?<G=O<< E<EF5-

<4<< >>>D4<=4F E ?><>MLN ?5D5?D>5F<D>64=<O «=4 ?5FG».  
 

o �>546LF5 Continents > >4DF5 547O 75>44==OE World.  
 

�>=F<=5=F4 ?>?=>EFLN E>6?4?< E> E?>5< EFD4=. -F> <>65F ?>>474FLEO G4<6<F5?L=O<, F4> 
>4> >>=F<=5=FO 6O7?O45?< ?>-4DG7><G, >>744 6O <E ?D>E<4FD<64?< 6 ArcCatalog. 

o �F>D>=F5 E6>=EF64 DD5=<4 44==OE. 
o �E?< =5>5E>4<<>, M5?>=<F5 =4 74>?44>5 %<EF5<4 >>>D4<=4F (Coordinate System). 
o � �<6=5< >>=5 D4E>D>=F5 ?4?>G %?><. $4E>D>=F5 ?4?>G Continents < ?4?>G  

Countrics. 
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� ?4?>5 %?>< 6O G6<4<F5 «D>4=O5» E<EF5<O >>>D4<=4F 4?O >464>7> E?>O, ?D<EGFEF6GN-
M57> 6> DD5=<5 44==OE. %>FO G E?>O Continents E<EF5<4 >>>D4<=4F 6 ?D>5>F<<, >= E>6?4445F E> 
E?>5< Countrics, G >>F>D>7> F4>>6>= =5F. %?>= Continents 5O? ?5D5?D>5F<D>64= «=4 ?5FG». 

�D<<5G4=<5: �4==O5 =47O64NFEO «=5?D>5F<D>64==O5», >>744 G =<E F>?L>> 7D4D<G5E>4O 
E<EF5<4 >>>D4<=4F .  

o -5?>=<F5 �F<5=4 6 4<4?>7>6>< >>=5 %6>=EF64 DD5=<4 44==OE.  
,47 5:�EF46>4 =>6>7> DD5=<4 44==OE E 4DG7>= E<EF5<>= >>>D4<=4F  
o � <5=N �EF46>4 6O55D<F5 $D5=< 44==OE.  
� >4DFG 4>546<?EO =>6O= ?GEF>= DD5=< 44==OE, >>F>DO= EF4? 4>F<6=O<.  
o %>>?<DG=F5 < 6EF46LF5 E?>= Continents <7 DD5=<4 44==OE %?>< 6 =>6O= ?GEF>= 

DD5=< 44==OE. �>4E>47>4: M5?>=<F5 ?D46>= >=>?>>= =4 E?>5 6 F45?<F5 E>45D64=<O, 74F5< ?D4-
6>= >=>?>>= =4 =>6>< DD5=<5 44==OE. �O <>65F5 6<45FL, GF> 6 =>6>< DD5=<5 44==OE 6O7?O4OF 
F4>, >4> >=< 6O7?O45?< 6 ArcCatalog.  

o �F>D>=F5 E6>=EF64 =>6>7> DD5=<4 44==OE < M5?>=<F5 =4 74>?44>5 %<EF5<4 >>>D-
4<=4F. 

-F><G DD5=<G 44==OE ?D<E6>5=4 E<EF5<4 >>>D4<=4F ?D>5>F<< E?>O Continents (>>F>D4O 
>E=>64=4 =4 ?D>5>F<< Eckert VI)  

o -5?>=<F5 �F<5=4 6 4<4?>7>6>< >>=5 %6>=EF64 DD5=<4 44==OE.  
o %>>?<DG=F5 < 6EF46LF5 E?>= Countrics <7 DD5=<4 44==OE %?>< 6 =>6O= ?GEF>= 

DD5=< 44==OE. %=>64 44==O5 E>6?444NF, F>?L>> E5=G4E 6 E<EF5<5 >>>D4<=4F Eckert VI (->>5DF4 
VI). %?>= Countrics 5O? ?5D5?D>5F<D>64= «=4 ?5FG».  

,47 6:�>546?5=<5 4>?>?=<F5?L=OE E?>56 6> DD5=< 44==OE  
o �>546LF5 E?>< Major Cities < WorldBackground 6 =>6O= DD5=< 44==OE =4 5475 75>-

44==OE World.  

o -5?>=<F5 745-=<5G4L =4 55?>< ?D>EFD4=EF65 F45?<FO E>45D64=<O, GF>5O >F<5=<FL 
6O5>D E?>56, >>F>DO5 6O F>?L>> GF> 4>546<?<.  

o $4EEF46LF5 E?>< 6 F45?<F5 E>45D64=<O DD5=<4 44==OE �>6O= DD5=< 44==OE 6 E?5-
4GNM5< ?>DO4>5 E65DEG 6=<7:  

÷ Major Cities 

÷ Countrics 

÷ Continents 

÷ WorldBackground 

o �E?< 6O E>F<F5, GEF4=>6<F5 GE?>6=O5 >5>7=4G5=<O 4?O MF<E E?>56.  
�>?D>E 1: �4>4O «D>4=4O» E<EF5<4 >>>D4<=4F ?D>5>F<< E?>O Major Cities?  

�>?D>E 2: �4>4O «D>4=4O» 75>7D4D<G5E>4O E<EF5<4 >>>D4<=4F ?D>5>F<< E?>O Major Cities? 

�>4E>47>4: �>E<>FD<F5 E6>=EF64 E?>O, 4 =5 E6>=EF64 DD5=<4 44==OE.  
%?>O Major Cities 5O? ?5D5?D>5F<D>64= «=4 ?5FG» <7 >4=>= E<EF5<O >>>D4<=4F ?D>5>F<< 6 

4DG7GN.  
o �E?< G 64E 5EFL >F>DOFO5 4<4?>7>6O5 >>=4, 74>D>=F5 <E.  
,47 7: �7<5=5=<5 E<EF5<O >>>D4<=4F DD5=<4 44==OE 

$D5=< 44==OE ?D<=<<45F E<EF5<G >>>D4<=4F ?5D6>7> 4>546?O5<>7> 6 =57> E?>O. �O <>-
65F5 <7<5=<FL E<EF5<G >>>D4<=4F DD5=<4 44==OE =4 ?N5GN 4DG7GN � 6E5 E?>< 5G4GF ?5D5?D>-
5F<D>64=O «=4 ?5FG» 4?O E>7?4E>64=<O 44==OE.  

o �F>D>=F5 E6>=EF64 4?O =>6>7> DD5=<4 44==OE. �E?< =5>5E>4<<>, M5?>=<F5 =4 74-
>?44>5 %<EF5<O >>>D4<=4F.  

o � D4745?5 �O55D<F5 E<EF5<G >>>D4<=4F D4E>D>=F5 ?4?>G �D54>?D545?5==O5, 74F5< 
?4?>G Projected Coordinate Systems (%<EF5<4 >>>D4<=4F ?D>5>F<<). 

%<EF5<O >>>D4<=4F 5>?LL5= G4EF< E<EF5<4F<7<D>64=O 75>7D4D<G5E><. �>4E>4OMGN E<-
EF5<G >>>D4<=4F 4?O 7?>54?L=OE 44==OE =44> <E>4FL 6 ?4?>5 World; 4?O >>=F<=5=F4 � 6 ?4?>5 
Continental, < F4> 44?55.  

o $4E>D>=F5 ?4?>G World < ?D>>DGF<F5 E?<E>> E<EF5< >>>D4<=4F ?D>5>F<<.  
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o �5D5<5EF<F5 4<4?>7>6>5 >>=> %6>=EF64 DD5=<4 44==OE 6 G7>? M>D4=4, 745 >=> =5 
5G45F <5L4FL.  

o -5?>=<F5 =4 >4=>= <7 E<EF5< >>>D4<=4F 6 ?4?>5 World < M5?>=<F5 �D<<5=<FL. 
�4DF4 ?5D5D<E>6O645FEO 6 =>6>= E<EF5<5 >>>D4<=4F. �E5 E?>< 6> DD5=<5 44==OE 5O?< ?5D5?D>-
5F<D>64=O «=4 ?5FG». �<O 6O5D4==>= E<EF5<O >>>D4<=4F ?>O6?O5FEO 6 D4745?5 &5>GM4O E<EF5<4 
>>>D4<=4F 4<4?>7>6>7> >>=4 %6>=EF64 DD5=<4 44==OE.  

o � 4<4?>7>6>< >>=5 %6>=EF64 DD5=<4 44==OE M5?>=<F5 =4 E<EF5<5 >>>D4<=4F Rob-

inson ($>5<=E>=4, E<. ?4?>G World) < M5?>=<F5 ��.  
 

,47 8: �>?GG5=<5 E?D46>G=>= <=D>D<4F<< > ?D>5>F<OE >4DFO < E<EF5<4E >>>D4<-
=4F  

�47>6O5 7=4=<O > E<EF5<4E >>>D4<=4F ?><>7GF 64<. �GGL55, E G57> <>6=> =4G4FL � MF> 
%?D46>G=4O E<EF5<4 ArcGIS Desktop, 745 5EFL F5?O= D4745? > >4DF>7D4D<G5E><E ?D>5>F<OE >4DFO 
< E<EF5<4E >>>D4<=4F. 

o � <5=N %?D46>4 6O55D<F5 %?D46>4 ArcGIS Desktop. 

o �E?< =5>5E>4<<>, =4 ?4=5?< =46<74F<< E?564 M5?>=<F5 =4 74>?44>5 %>45D64=<5.  
o $4E>D>=F5 D4745? �4DF>7D4D<G5E><5 ?D>5>F<< < E<EF5<O >>>D4<=4F, < 6 =5< � 

�>445D6<645<O5 >4DF>7D4D<G5E><5 ?D>5>F<<. 
� E?<E>5 ?>445D6<645<OE ?D>5>F<= ?D>>DGF<F5 6=<7 < >F>D>=F5 EFD4=<FG > ?D>5>F<< 

$>5<=E>=4. �45EL D4EE>47O645FEO > F><, >4> ?>EFD>5=4 6O5D4==4O ?D>5>F<O < 745 55 ?GGL5 6E57> 
<E?>?L7>64FL. �4>D>=F5 >>=> %?D46><. 

,47 9: �>546?5=<5 E?>O CanadaProvinces 

� MF>< L475 6O G6<4<F5, GF> ?D><EE>4<F ?D< 4>546?5=<< E?>O E 75>7D4D<G5E>>= E<EF5<>= 
>>>D4<=4F, >F?<G=>= >F E<EF5<O >>>D4<=4F DD5=<4 44==OE.  

o �>546LF5 E?>= CanadaProvinces <7 547O 75>44==OE World. �>O6?O5FEO >>=> ?D54G-
?D5645=<O.  

�O ?>?GG45F5 F4>>5 ?D54G?D5645=<5, >>744 ?OF45F5EL <E?>?L7>64FL 6 >4=>< DD5=<5 44=-
=OE D47=O5 75>7D4D<G5E><5 E<EF5<O >>>D4<=4F.  

�5D5?D>5F<D>64=<5 «=4 ?5FG» 46F><4F<G5E>< =5 <E?D46?O5F D47?<G<O <564G 75>7D4D<G5-
E><<< E<EF5<4<< >>>D4<=4F. 'F>5O <E E>7?4E>64FL, =G6=> 45=EF6<5, =47O645<>5 757D4D<G5E><5 
?D5>5D47>64=<5.  

�D<<5G4=<5: �>?55 ?>4D>5=> 75>7D4D<G5E><5 ?D5>5D47>D64=<O D4EE<4FD<64NFEO 6 >GDE5 
ArcGIS Desktop III: $45>G<5 ?D>F5EEO < 4=4?<7O.  

o -5?>=<F5 �4>DOFL. 
%?>= CanadaProvinces 4>546?5= 6 >4DFG, < ?D< 557?>< ?D>E<>FD5 E 75>7D4D<5= >5N5>F>6 

6E5 6 ?>DO4>5. &4> =4 E>>?L>> 646=> 75>7D4D<G5E>>5 ?D5>5D47>64=<5? $47?<G<O <564G 75>7D4D<-
G5E><<< E<EF5<4<< >>>D4<=4F >5OG=> =5 74<5F=O ?D< <5?><E <4ELF454E. '4EF> D47=<F4 4?O 
>?D545?5==>= F>G>< E>EF46?O5F =5E>>?L>> <5FD>6, <?< 45EOF>>6 <5FD>6. �G45F ?< F4>4O D47=<F4 
7=4G<F5?L=>= � 746<E<F >F 64L5= F5?<.  

o %>ED4=<F5 >4DFG 6 ?4?>5 \Student\DESK2\Exercisco7 ?>4 =4764=<5< MyCoordi-

nateSystem.  

o %65D=<F5 >>=> ArcMap. 

o �E?< 6O E>F<F5 ?D>5F<D>64FL 44=O =4 4<E>5, ?5D5E>4<F5 > E?54GNM5<G 4>?>?=<-
F5?L=><G L47G. �=4G5 74>D>=F5  ArcCatalog.  

  

,47 10: (�>?>?=<F5?L=>) �D>5F<D>64=<5 44==OE =4 4<E>5 

 

&4> >4>  ArcMap ?5D5?D>5F<DG5F 44==O5 «=4 ?5GG». 64L< >?4EEO ?D>EFD4=EF65==OE >5N-
5>F>6  

=5>5O74F5?L=> 4>?6=O 5OFL 6 >4=>= E<EF5<5 >>>D4<=4F. �4=4>> MF> E>D>L<= >?OF 
G?D46?5=<O 
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44==O<<, >>F>DO= <>65F ?><>GL 64< <75564FL E?>6=>EF5= ?D< D544>F<D>64=<< 44==OE. 
&4>65,  

F4>>5 D4EL<D5==>5 ?>6545=<5 547O 75>44==OE, >4> F<?>?>7<O, FD55G5F, GF>5O GG4EF6GN-
M<5 6 =5= =45>DO 44==OE 5O?< 6 >4=>= E<EF5<5 >>>D4<=4F. �O <>65F5 <7<5=<FL <EE>4=GN E<-
EF5<G >>>D4<=4F >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 E ?><>MLN  <=EFDG<5=F4 �D>5F<D>64FL. 

 

o � ArcCatalog M5?>=<F5 =4 >=>?>5 �>>474FL/%?DOF4FL >>=> ArcToolbox , GF>5O 
>F>DOFL ArcToolbox F<. 

�D<<5G4=<5: ArcToolbox <>6=> >F>DOFL >4> <7 ArcCatalog, F4> < <7 ArcMap . 

o $4E>D>=F5 =45>D <=EFDG<5=F>6 �=EFDG<5=FO G?D46?5=<O 44==O<<. 
o $4E>D>=F5 7DG??G <=EFDG<5=F>6 �D>5>F<< < ?D5>5D47>64=<O  
o $4E>D>=F5 7DG??G <=EFDG<5=F>6 �D>EFD4=EF65==O= >5N5>F. 
o �6464O M5?>=<F5 =4 <=EFDG<5=F5 �5D5?D>5F<D>64FL, GF>5O >F>DOFL 57>. 
o -5?>=<F5 =4 >=>?>5 �57>D DO4>< c ?>?5< �E>4=>= =45>D >?4EE>6 >5N5>F>6 <?< 

>?4EE >5N5>F>6. �5D5=4<F5 > 5475 75>44==OE World 6 ?4?>5 

\Student\DESK2\Exercisco7. 

o �>546LF5 >?4EE >5N5>F>6 Countries. 
�> G<>?G4=<N 6OE>4=>= >?4EE >5N5>F>6 5G45F E>744= 6 MF>< 65 <5EF5. �<O 6OE>4=>7> 

>?4EE4 G<>?G4=<N Countri5s _Project 

o -5?>=<F5 =4 >=>?>5 %6>=EF64 ?D>EFD4=EF65==>= ?D<6O7><  DO4>< E ?>?5< 
�OE>4=4O E<EF5<4 >>>D4<=4F. 

� 4<4?>7>6>< >>=5 %6>=EF64 ?D>EFD4=EF65==>= ?D<6O7>< 6O <>65F5 6O5D4FL E<EF5<G >>-
>D4<=4F <?< <<?>DF<D>64FL E<EF5<G <7 4DG7>7> >?4EE4 >5N5>F>6. � =4L5< E?GG45 ?D54?>?>6<<, 
GF> 6O E>F<F5 ?5D5?D>5F<D>64FL E?>= Countries - >>F>DO= E5=G4E 6 75>7D4D<G5E>>= E<EF5<5 >>-
>D4<=4F � 6 FG 65 E<EF5<G, GF> < E?>= Continents. 

o -5?>=<F5 �<?>DF (Import). �5D5=4<F5, 5E?< =5>5E>4<<>, > 5475 75>44==OE World 6 
?4?>5 

\Student\DESK2\Exercisco7. 

o -5?>=<F5 Continents, 74F5< M5?>=<F5 �>546<FL (Add). 
�<4?>7>6>5 >>=> 74?>?=5=> ?4D4<5FD4<< E<EF5<4<< >>>D4<=4F 

o -5?>=<F5 �> 6 4<4?>7>6>< >>=5 %6>=EF64 ?D>EFD4=EF65==>= ?D<6O7><. 
o %D46=<F5 64L5 4<4?>7>6>5 >>=> �D>5F<D>64FL E> E?54GNM<< D<EG=>><, GF>5O 

?D>65D<FL, GF> 6E5 74?>?=5=> ?D46<?L=>. 
 

 
 

o -5?>=<F5 OK. GF>5O 74?GEF<FL <=EFDG<5=F. 
o �>744 <=EFDG<5=F 7465DL<F D45>FG, 74>D>=F5 >>=> E E>>5M5=<5< > E>45 6O?>?=5-

=<O. 
� �5D565 >4F4?>74 ?>O6<?EO =>6O= >?4EE ?D>EFD4=EF65==OE >5N5>F>6 Countri5s _Project. 

�E?< 6O =5 6<4<F5 57>, M5?>=<F5 =4 5475 75>44==OE World 6 45D565 �4F4?>74, 74F5< 6 <5=N �<4 
(View) < 

6O55D<F5 �5=>6<FL. 
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o �4>D>=F5 >>=> ArcToolbox. 
o �D>E<>FD<F5 75>7D4D<N =>6>7> >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6. 
�7> 75>7D4D<O ?>E>64 =4 >?4EE ?D>EFD4=EF65==OE >5N5>F>6 Continents - >4> < 4>?6=> 

5OFL. 
o �D>E<>FD<F5 >?4EE ?D>EFD4=EF65==OE >5N5>F>6 Countri5s. 

�= F4>>= 65, >4> < 5O? D4=LL5. �>744 6O ?5D5?D>5F<DG5F5 >?4EE ?D>EFD4=EF65==OE >5N-
5>F>6. 

6E5744 E>7445FEO =>6O= >?4EE. �EE>4=O5 44==O5 =5 <5=ONFEO. 
o �4>D>=F5 ArcCatalog. 

 

�4>?NG5=<5 

 

�>>D4<=4FO � MF> =5>FN5<?5<4O G4EFL ?D>EFD4=EF65==OE 44==OE, �?D545?ONM4O D>D<G 
< <5EF>?>?565=<5. ' >464>7> >?4EE4 ?D>EFD4=EF65==OE >5N5>F>6 5EFL E<EF5<4 >>>D4<=4F, >>F>-
D4O 

>?<EO645F E?5F<D<G5E><5 E6>=EF64 >>>D4<=4F. �EFL =5E>>?L>> E?>E>5>6 G7=4FL E<EF5<G 
>>>D4<=4F, >>F>DGN ?>?L7G5F >?4EE ?D>EFD4=EF65==OE >5N5>F>6. �7GG5=<5 <5F444==OE 6 
ArcCatalog - E>D>L<= E?>E>5. 

 

'4EF> 5O645F =G6=> E>5D4FN 44==O5 E D47=O<< E<EF5<4<< >>>D4<=4F 6 >4=G >4DFG. � EG4-
EFLN. 

E<EF5<O >>>D4<=4F <4F5<4F<G5E>< >>=65DF<DG5<O. �>744 6O 4>546?O5F5 E?>< 6> DD5=< 
44==O<, 

>=< 6E5 >>=65DF<DGNFEO 6 >5MGN E<EF5<G >>>D4<=4F (>>F>DGN 6O <>65F5 6O5D4FL) -F>F 
?D>F5EE =47O645FEO ?5D5?D>5F<D>64=<5< «=4 ?5FG» < ?D><EE>4<F 46F><4F<G5E><. �D< MF>< >>>D-
4<=4FO, ED4=<<O5 E >5N5>F4<< 6 >?4EE5 ?D>EFD4=EF65==OE >5N5>F>6 =4 4<E>5, =5 <5=ONFEO, >>-
>D4<=4FO >>=65DF<DGNFEO F>?L>> 6 >F45?L=>< DD5=<5 44==OE < >F45?L=>< 4>>G<5=F5 >4DFO. 
&4>65 6>7<>6=> >>=65DF<D>64FL E<EF5<G >>>D4<=4F >?4EE4 >5N5>F>6 =4 4<E>5, <E?>?L7GO 

<=EFDG<5=FO ?D>5F<D>64=<O 6 ArcToolbox. 
 

�D4>F<G5E>4O D45>F4 743 

$544>F<D>64=<5 4==>F4F<= 547O 75>44==OE 
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-5?>=<F5 �>546<FL 
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�45>D4F>D=4O D45>F4 744 

�F<DD>6>4 =>6>7> ?<=5==>7> < ?>?<7>=4?L=>7> ?D>EFD4=EF65==>7> >5N5>F4 < >5=>6?5=<5 
4FD<5GF>6. 

 

 
�4<O>4=<5 6>?NG<FEO >4> F>?L>> 6O ?>EF46<F5 74?>G>G 6 >>=5 �4D4<5FDO 74<O>4=<O. 
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�7GG5=<5 ?4D4<5FD>6 74<O>4=<O. 
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�7<5=5=<5 65DL<= ?D>EFD4=EF65==>7> >5N5>F4. 

 

 
-F> =5 F>F GG4EF>>, >>F>DO= 6O >F<DD>64?<, MF> G4EFL ?D>EFD4=EF65==>7> >5N5>F4-D5>< G65 5O?4 
=4=5E5=4 =4 >4DFG. 
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�F<DD>6>4 =>6>7> ?>?<7>=4?L=>7> ?D>EFD4=EF65==>7> >5N5>F4 < >5=>6?5=<5 4FD<5GF>6. 
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�OG<E?5=<5 4FD<5GF<6=OE 7=4G5=<=. 
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-5?>=<F5 ��. 
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�D4>F<G5E>4O D45>F4 7 45,46,47 

$45>F4 E F>?>?>7<5= >4DFO 
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�5D5G5=L D5>><5=4G5<OE GG55=OE <744=<=, <=F5D=5F-D5EGDE>6, 4>?>?=<F5?L=>= ?<F5D4FG-
DO 

 

�E=>6=4O ?<F5D4FGD4: 

1. �>?>F>64, �. �. , $. �. %>>7>D564, �5>457<O E >E=>64<< >444EFD4: GG55=<> 4?O 6G7>6 / � 2 �5 <74., 
<E?D. � �.: �>445<<G5E><= ?D>5>F, 2019. - 413 E. 
�>?>?=<F5?L=4O ?<F5D4FGD4: 

�64=>6 �. �. �>EG44DEF65==>5 < <G=<F<?4?L=>5 G?D46?5=<5 E <E?>?L7>64=<5< <=D>D<4F<>==OE 
F5E=>?>7<= / �.�. �64=>6, �.�. �>D>5>64. - �.: ��$$�-�, 2016. - 383 E. �>7>6>D 7 4971 M5E >F 
11.01.2021 znanium.com 

�D>7D4<<=>5 >55E?5G5=<5 < �=F5D=5F-D5EGDEO : 
��%-?4>5FO E DG>>6>4EF64<< 4?O ?>?L7>64F5?5=: 
ArcGIS GD>65=L ArcINFO E ?D<?>65=<O<<, Mapinfo Professional, ArcView 3.x.(6E5 ESRI Inc, 

%,�), Adobe Illustrator, Adobe Photoshop, Adobe InDesign,  CorelDraw,  Corel PHOTO-PAINT, Ea-

zy Trace.   

�5D<>4<>4: �744=<O ��%-4EE>F<4F<<: ��%-5N??5F5=L (6OE>4<F 6 D47 6 7>4),  >4F4?>7<, 6>?NG4-
NM<5 E4D4>F5D<EF<>< ?D>7D4<<=>7> >55E?5G5=<O; 6GD=4? ��%->5>7D5=<5  
 

 

 


